APPENDIX Detailed Tables by Medical Group and Clinic

DEPRESSION CARE IN MINNESOTA: ADULTS & ADOLESCENTS

2020 REPORT





# TABLE OF CONTENTS

#### 2 SCREENING MEASURES BY MEDICAL GROUP

- 2 Adolescent Mental Health and/or Depression Screening
- 5 Adult Depression PHQ-9/PHQ-9M Utilization
- 8 Adolescent Depression PHQ-9/PHQ-9M Utilization

#### 10 DEPRESSION OUTCOME MEASURES BY MEDICAL GROUP

- 10 Adult Depression Six Month Follow-up
- 13 Adult Depression Response at Six Months
- 16 Adult Depression Remission at Six Months
- **19** Adult Depression 12 Month Follow-up
- 22 Adult Depression Response at 12 Months
- 25 Adult Depression Remission at 12 Months
- 28 Adolescent Depression Six Month Follow-up
- 30 Adolescent Depression Response at Six Months
- 32 Adolescent Depression Remission at Six Months
- 34 Adolescent Depression 12 Month Follow-up
- 36 Adolescent Depression Response at 12 Months
- 38 Adolescent Depression Remission at 12 Months

#### 40 SCREENING MEASURES BY CLINIC

- 40 Adolescent Mental Health and/or Depression Screening
- 61 Adult Depression PHQ-9/PHQ-9M Utilization
- 84 Adolescent Depression PHQ-9/PHQ-9M Utilization

#### 91 DEPRESSION OUTCOME MEASURES BY CLINIC

- 91 Adult Depression Six Month Follow-up
- 112 Adult Depression Response at Six Months
- 133 Adult Depression Remission at Six Months
- 154 Adult Depression 12 Month Follow-up
- 175 Adult Depression Response at 12 Months
- **196** Adult Depression Remission at 12 Months
- 217 Adolescent Depression Six Month Follow-up
- 222 Adolescent Depression Response at Six Months
- 227 Adolescent Depression Remission at Six Months
- 232 Adolescent Depression 12 Month Follow-up
- 237 Adolescent Depression Response at 12 Months
- 242 Adolescent Depression Remission at 12 Months

## DEPRESSION SCREENING MEASURES BY MEDICAL GROUP Adolescent Mental Health and/or Depression Screening

2019 Measurement Year (Reported in 2020)

Medical Group Name	Health	Denominator	Rate	95% CI	95% CI
STATEWIDE AVERAGE	Score	166,311	88.7%	Lower	Upper
AALFA Family Clinic	*	242	100.0%	98.4%	100.0%
Advanced Medical Clinic		80	95.0%	87.8%	98.0%
All About Children Pediatrics - Children's Health	•				
Network		570	99.3%	98.2%	99.7%
Allina Health		16,684	91.9%	91.5%	92.3%
Alomere Health		747	93.2%	91.1%	94.8%
Altru Health System		2,005	56.3%	54.1%	58.4%
Amery Hospital and Clinic	•	522	87.5%	84.4%	90.1%
Apple Valley Medical Clinic		254	79.9%	74.6%	84.4%
Appleton Area Health Services	•	30	96.7%	83.3%	99.4%
Avera Medical Group		1,138	78.6%	76.1%	80.8%
CCM Health		130	97.7%	93.4%	99.2%
Cedar Riverside People's Center	•	229	91.7%	87.4%	94.6%
CentraCare Health		6,863	93.6%	93.0%	94.2%
Central Pediatrics		3,467	100.0%	99.8%	100.0%
Child and Teen Medical Center	*	1,059	100.0%	99.6%	100.0%
Children's Minnesota	*	13,067	100.0%	100.0%	100.0%
Cromwell Medical Clinic PLLC - IHN	•	46	95.7%	85.5%	98.8%
Cuyuna Regional Medical Center	•	408	88.5%	85.0%	91.2%
Dawson Clinic	*	86	100.0%	95.7%	100.0%
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)		60	98.3%	91.1%	99.7%
Eagan Valley Pediatrics		508	97.8%	96.2%	98.8%
Entira Family Clinics (formerly Family Health Services MN)	▼	1,219	82.4%	80.1%	84.4%
Essentia Health		9,344	93.9%	93.4%	94.3%
Fairview Health Services		13,290	94.0%	93.6%	94.4%
Fairview Mesaba Clinics	•	469	87.0%	83.6%	89.7%
Family Practice Medical Center of Willmar		374	10.2%	7.5%	13.6%
Glencoe Regional Health Services		407	96.1%	93.7%	97.6%
Glenwood Medical Center		44	47.7%	33.8%	62.1%
Grand Itasca Clinic		574	95.3%	93.2%	96.7%
Granite Falls Municipal Hospital & Manor Clinic	•	75	94.7%	87.1%	97.9%
Grow Pediatrics		161	97.5%	93.8%	99.0%

★ Top performer 🔰 🔺 Above statewide average

Average

ge 🛛 🔻 Below statewide average

verage CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Modical Crown Name	dical Group Name Health	Deneminator	Dete	95% CI	95% CI
Medical Group Name	Score	Denominator	Rate	Lower	Upper
STATEWIDE AVERAGE	Γ	166,311	88.7%		
Gundersen Health System	•	208	88.9%	84.0%	92.5%
HealthPartners Central Minnesota Clinics	•	622	89.6%	86.9%	91.7%
HealthPartners Clinics		13,144	89.5%	89.0%	90.0%
Hennepin Healthcare		2,142	32.1%	30.1%	34.1%
Hutchinson Health		537	85.8%	82.6%	88.5%
Indian Health Board of Minneapolis	•	89	89.9%	81.9%	94.6%
Kittson Healthcare Clinic		33	66.7%	49.6%	80.3%
Lac Qui Parle Clinic	*	55	100.0%	93.5%	100.0%
Lake Region Healthcare		600	92.3%	89.9%	94.2%
Lake View Clinic - Two Harbors	V	89	71.9%	61.8%	80.2%
Lakewood Health Center Clinic	•	52	84.6%	72.5%	92.0%
Lakewood Health System		529	97.0%	95.1%	98.1%
Mankato Clinic, Ltd.		1,967	94.5%	93.4%	95.4%
Mayo Clinic		2,410	97.9%	97.2%	98.4%
Mayo Clinic Health System	•	4,474	89.5%	88.5%	90.3%
Mendakota Pediatrics Ltd		251	97.6%	94.9%	98.9%
Mille Lacs Health System	•	182	90.1%	84.9%	93.7%
Native American Community Clinic		62	41.9%	30.5%	54.3%
Neighborhood Healthsource		226	50.0%	43.5%	56.5%
North Memorial	•	1,771	89.9%	88.5%	91.3%
North Valley Health Center		43	0.0%	0.0%	8.2%
Northfield Hospital + Clinics		536	96.3%	94.3%	97.6%
NorthPoint Health & Wellness Center		487	85.6%	82.2%	88.5%
Northwest Family Physicians		334	76.9%	72.1%	81.1%
Olmsted Medical Center	•	1,648	89.7%	88.1%	91.1%
Open Cities Health Center	•	105	89.5%	82.2%	94.0%
Open Door Health Center		68	79.4%	68.4%	87.3%
Ortonville Area Health Services-Northside Medical Clinic	•	134	90.3%	84.1%	94.2%
Park Nicollet Health Services	•	13,088	88.2%	87.6%	88.8%
Pediatric & Young Adult Medicine	*	1,737	100.0%	99.8%	100.0%
Pediatric Services - Children's Physician Network	*	1,514	100.0%	99.7%	100.0%
Perham Health		347	79.5%	75.0%	83.4%
Prairie Ridge Hospital & Health Services		89	62.9%	52.5%	72.2%
Renville County Hospital and Clinics		157	94.9%	90.3%	97.4%
RiverView Health		334	58.4%	53.0%	63.5%
Riverwood Healthcare Center		229	66.4%	60.0%	72.2%
Sanford Health		19,275	72.1%	71.5%	72.7%
Sartell Pediatrics - IHN		427	97.2%	95.2%	98.4%

• Average **V** Below statewide average

CI = Confidence interval

Medical Group Name	Health	Denominator	Rate	95% CI	95% CI
	Score	Denominator	Nate	Lower	Upper
STATEWIDE AVERAGE		166,311	88.7%		
Sawtooth Mountain Clinic	•	96	84.4%	75.8%	90.3%
Scenic Rivers Health Services		137	81.8%	74.4%	87.3%
Sibley Medical Center DBA Ridgeview Sibley Medical Center	•	44	93.2%	81.8%	97.7%
Sleepy Eye Medical Center		85	71.8%	61.4%	80.2%
South Lake Pediatrics		3,542	99.1%	98.7%	99.4%
Southdale Pediatric Associates, Ltd		5,102	97.7%	97.2%	98.0%
Southside Community Health Services		210	97.6%	94.5%	99.0%
St. Croix Regional Medical Center		681	68.9%	65.3%	72.2%
St. Luke's Clinics		1,588	86.9%	85.2%	88.5%
Stellis Health, PA		1,656	82.2%	80.3%	84.0%
Swift County Benson Health Services		129	96.9%	92.3%	98.8%
Tri-County Health Care		412	84.0%	80.1%	87.2%
United Family Medicine		315	71.7%	66.5%	76.4%
Unity Family Healthcare, Family Medical Center		521	96.9%	95.1%	98.1%
University of Minnesota Physicians		1,183	93.7%	92.1%	94.9%
Voyage Healthcare	•	550	89.3%	86.4%	91.6%
Wayzata Children's Clinic		2,695	98.7%	98.2%	99.1%
Welia Health	•	381	90.8%	87.5%	93.3%
West Side Community Health Services		1,012	66.2%	63.2%	69.1%
Westfields Hospital and Clinic	٠	492	88.8%	85.7%	91.3%
Williams Integracare Clinic		117	82.9%	75.1%	88.7%
Winona Health Services		638	98.1%	96.7%	98.9%

Above statewide average Average Below statewide average CI = Confidence interval 📌 Top performer NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

4 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

#### Adult Depression - PHQ-9/PHQ-9M Utilization

2019 Measurement Year (Reported in 2020)

Medical Group Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE		248,162	77.7%	201101	oppei
AALFA Family Clinic		137	95.6%	90.8%	98.0%
Advanced Medical Clinic	▼	102	20.6%	13.9%	29.4%
Allina Health		28,911	89.2%	88.8%	89.5%
Allina Health Apple Valley		648	87.8%	85.1%	90.1%
Alomere Health		1,191	95.0%	93.6%	96.1%
Altru Health System	▼	3,079	17.5%	16.2%	18.9%
Amery Hospital and Clinic		635	92.1%	89.8%	94.0%
Appleton Area Health Services		156	88.5%	82.5%	92.6%
Associated Clinic of Psychology		2,694	85.7%	84.3%	87.0%
Bluestone Physician Services	$\bullet$	1,106	24.0%	21.5%	26.6%
Boynton Health Service		2,216	98.5%	97.9%	98.9%
Catholic Charities Behavioral Health Clinic	*	172	100.0%	97.8%	100.0%
CCM Health	*	855	100.0%	99.6%	100.0%
Cedar Riverside People's Center		162	84.6%	78.2%	89.3%
CentraCare Health		10,759	93.7%	93.2%	94.1%
Children's Minnesota	*	217	100.0%	98.3%	100.0%
Cromwell Medical Clinic PLLC - IHN	•	83	55.4%	44.7%	65.6%
Cuyuna Regional Medical Center		681	93.2%	91.1%	94.9%
Dawson Clinic	$\bullet$	405	43.7%	39.0%	48.6%
Dr. VM Baich, PA	•	32	81.3%	64.7%	91.1%
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	▼	358	61.5%	56.3%	66.3%
Edina Sports Health & Wellness	$\mathbf{V}$	529	42.2%	38.0%	46.4%
Entira Family Clinics (formerly Family Health Services MN)	•	3,578	78.9%	77.5%	80.2%
Essentia Health	▼	15,090	65.5%	64.7%	66.3%
Fairview Health Services		22,452	79.9%	79.4%	80.4%
Fairview Mesaba Clinics		1,243	83.3%	81.1%	85.2%
Family Practice Medical Center of Willmar		214	97.2%	94.0%	98.7%
France Avenue Family Physicians - Minnesota Healthcare Network		867	97.0%	95.6%	97.9%
Glencoe Regional Health Services		616	95.8%	93.9%	97.1%
Glenwood Medical Center	▼	948	13.8%	11.8%	16.2%
Grand Itasca Clinic		742	83.2%	80.3%	85.7%
Granite Falls Municipal Hospital & Manor Clinic	▼	287	20.9%	16.6%	26.0%
Gundersen Health System		412	84.7%	80.9%	87.9%
Gundersen Saint Elizabeths Hospital and Clinics	*	169	100.0%	97.8%	100.0%

🖈 Top performer 💫 🔺 Above statewide average

Average

Below statewide average

ge CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

#### 

Medical Group Name	Health	Denominator	Rate	95% CI	95% CI
	Score	Denominator		Lower	Upper
STATEWIDE AVERAGE		248,162	77.7%		
HealthPartners Central Minnesota Clinics		862	89.4%	87.2%	91.3%
HealthPartners Clinics		12,718	89.9%	89.4%	90.4%
Hendricks Community Hospital Association	*	30	100.0%	88.6%	100.0%
Hennepin Healthcare		7,724	85.2%	84.4%	85.9%
Hutchinson Health		779	82.3%	79.4%	84.8%
Indian Health Board of Minneapolis	•	128	84.4%	77.1%	89.7%
Kittson Healthcare Clinic		93	68.8%	58.8%	77.3%
Lac Qui Parle Clinic		138	95.7%	90.8%	98.0%
Lake Region Healthcare		2,452	50.4%	48.5%	52.4%
Lake Superior Community Health Center	•	314	73.6%	68.4%	78.1%
Lake View Clinic - Two Harbors		165	86.1%	80.0%	90.5%
Lakeland Mental Health Center		2,014	70.9%	68.8%	72.8%
Lakewood Health Center Clinic		34	35.3%	21.5%	52.1%
Lakewood Health System	•	1,122	78.8%	76.3%	81.1%
Madelia Community Hospital & Clinic		141	86.5%	79.9%	91.2%
Mankato Clinic, Ltd.		3,337	95.1%	94.4%	95.8%
Mayo Clinic		7,890	83.9%	83.0%	84.7%
Mayo Clinic Health System		11,851	76.9%	76.1%	77.6%
Mental Health Resources		120	45.0%	36.4%	53.9%
Mille Lacs Health System		255	58.8%	52.7%	64.7%
Minnesota Mental Health Clinics (Eagan, Apple					
Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)		1,950	88.3%	86.8%	89.7%
Natalis Counseling & Psychology Solutions		247	98.8%	96.5%	99.6%
Native American Community Clinic		310	99.0%	97.2%	99.7%
Neighborhood Healthsource		60	90.0%	79.9%	95.3%
North Memorial	•	4,008	76.6%	75.2%	77.9%
North Valley Health Center		102	0.0%	0.0%	3.6%
Northern Psychiatric Associates	▼	387	70.3%	65.5%	74.6%
Northfield Hospital + Clinics	*	667	100.0%	99.4%	100.0%
NorthPoint Health & Wellness Center		7,359	41.3%	40.2%	42.4%
Northwest Family Physicians		1,630	39.3%	36.9%	41.7%
Northwestern Mental Health Center	•	1,051	77.7%	75.1%	80.1%
Olivia Hospital & Clinic		204	90.7%	85.9%	94.0%
Olmsted Medical Center		5,198	79.6%	78.4%	80.6%
Open Cities Health Center		418	37.1%	32.6%	41.8%
Open Door Health Center	٠	285	82.1%	77.2%	86.1%
Ortonville Area Health Services-Northside Medical Clinic		259	87.6%	83.1%	91.1%
Park Nicollet Health Services		20,853	90.1%	89.7%	90.5%
People Incorporated Stark Mental Health Clinic		1,540	86.1%	84.3%	87.7%

Average

Below statewide average

CI = Confidence interval

Medical Group Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE		248,162	77.7%		oppo.
Perham Health		693	82.5%	79.5%	85.2%
Planned Parenthood Minnesota, North Dakota,		05	20 50/	21.20/	20.20/
South Dakota		95	29.5%	21.2%	39.3%
Prairie Ridge Hospital & Health Services		109	40.4%	31.6%	49.8%
Rainy Lake Medical Center		120	65.8%	57.0%	73.7%
Ramsey County Mental Health		388	36.3%	31.7%	41.2%
Richfield Medical Group		190	71.1%	64.2%	77.0%
Ridgeview Clinics		1,059	70.7%	67.9%	73.4%
RiverView Health		154	48.1%	40.3%	55.9%
Riverwood Healthcare Center		826	90.0%	87.7%	91.8%
Sanford Health		23,653	66.0%	65.4%	66.6%
Sawtooth Mountain Clinic		239	61.9%	55.6%	67.8%
Scandia Clinic		76	40.8%	30.4%	52.0%
Scenic Rivers Health Services		260	60.4%	54.3%	66.1%
Sibley Medical Center DBA Ridgeview Sibley Medical Center		132	84.8%	77.8%	90.0%
Sleepy Eye Medical Center		143	36.4%	28.9%	44.5%
South Lake Pediatrics	•	93	76.3%	66.8%	83.8%
Southdale Pediatric Associates, Ltd		217	53.9%	47.3%	60.4%
Southside Community Health Services	*	50	100.0%	92.9%	100.0%
Southwestern Mental Health Center	*	253	100.0%	98.5%	100.0%
St. Croix Regional Medical Center		2,546	89.2%	88.0%	90.4%
St. Luke's Clinics		2,855	54.8%	53.0%	56.6%
Stellis Health, PA		1,326	75.3%	72.9%	77.6%
Synergy Family Physicians, P.A		66	59.1%	47.0%	70.1%
The Emily Program		923	69.6%	66.5%	72.4%
Tri-County Health Care		711	97.8%	96.4%	98.6%
United Family Medicine		613	94.8%	92.7%	96.3%
Unity Family Healthcare, Family Medical Center		821	93.8%	91.9%	95.2%
University of Minnesota Physicians	•	2,949	77.4%	75.8%	78.9%
Voyage Healthcare		2,011	38.7%	36.6%	40.8%
Wayzata Children's Clinic	•	67	79.1%	67.9%	87.1%
Welia Health		630	84.0%	80.9%	86.6%
West Side Community Health Services		629	64.1%	60.2%	67.7%
Westfields Hospital and Clinic		284	91.2%	87.3%	94.0%
Williams Integracare Clinic		162	90.7%	85.3%	94.3%
Winona Health Services		1,904	68.7%	66.6%	70.7%
Woodland Centers		385	95.3%	92.7%	97.0%

📌 Top performer

Above statewide average

• Average **V** Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

7 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

## Adolescent Depression - PHQ-9/PHQ-9M Utilization

2019 Measurement Year (Reported in 2020)

Medical Group Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE	50010	19,574	78.4%	Lower	opper
Allina Health		1,751	92.9%	91.6%	94.0%
Alomere Health		86	98.8%	93.7%	99.8%
Altru Health System	•	321	31.5%	26.6%	36.7%
Amery Hospital and Clinic		47	93.6%	82.8%	97.8%
Associated Clinic of Psychology	•	131	84.7%	77.6%	89.9%
CentraCare Health		1,171	96.4%	95.2%	97.3%
Children's Minnesota	*	532	100.0%	99.3%	100.0%
Cuyuna Regional Medical Center		43	93.0%	81.4%	97.6%
Eagan Valley Pediatrics	*	53	100.0%	93.2%	100.0%
Entira Family Clinics (formerly Family Health		139	89.9%	83.8%	93.9%
Services MN)					
Essentia Health		1,290	84.3%	82.3%	86.2%
Fairview Health Services		848	87.6%	85.2%	89.7%
Fairview Mesaba Clinics		63	88.9%	78.8%	94.5%
Grand Itasca Clinic		48	93.8%	83.2%	97.9%
HealthPartners Central Minnesota Clinics		61	96.7%	88.8%	99.1%
HealthPartners Clinics		593	91.9%	89.4%	93.8%
Hennepin Healthcare		715	99.4%	98.6%	99.8%
Hutchinson Health		87	67.8%	57.4%	76.7%
Lake Region Healthcare		131	91.6%	85.6%	95.2%
Lakeland Mental Health Center	$\bullet$	295	57.3%	51.6%	62.8%
Lakewood Health System	•	118	81.4%	73.4%	87.4%
Mankato Clinic, Ltd.		342	96.5%	94.0%	98.0%
Mayo Clinic	•	869	78.7%	75.9%	81.3%
Mayo Clinic Health System		784	86.5%	83.9%	88.7%
Minnesota Mental Health Clinics (Eagan, Apple					
Valley, Edina, Lakeville, Maplewood, Minneapolis,		452	85.4%	81.8%	88.4%
Woodbury)					
North Memorial		103	87.4%	79.6%	92.5%
Northfield Hospital + Clinics	*	60	100.0%	94.0%	100.0%
NorthPoint Health & Wellness Center	$\bullet$	830	51.2%	47.8%	54.6%
Northwest Family Physicians	▼	50	24.0%	14.3%	37.4%
Northwestern Mental Health Center		373	83.1%	79.0%	86.6%
Olmsted Medical Center	•	324	75.3%	70.3%	79.7%
Open Door Health Center	•	41	73.2%	58.1%	84.3%
Park Nicollet Health Services		995	91.4%	89.4%	92.9%
People Incorporated Stark Mental Health Clinic	V	47	23.4%	13.6%	37.2%

★ Top performer 🔰 🔺 Above statewide average

Average

e 🛛 🔻 Below statewide average

rage CI = Confidence interval

Medical Group Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE		19,574	78.4%		
Ridgeview Clinics		48	93.8%	83.2%	97.9%
Riverwood Healthcare Center		47	93.6%	82.8%	97.8%
Sanford Health		2,129	55.6%	53.5%	57.7%
Sartell Pediatrics - IHN	*	33	100.0%	89.6%	100.0%
South Lake Pediatrics		191	88.0%	82.6%	91.8%
Southdale Pediatric Associates, Ltd	$\bullet$	285	64.9%	59.2%	70.2%
St. Croix Regional Medical Center		216	93.5%	89.4%	96.1%
St. Luke's Clinics	$\bullet$	152	39.5%	32.1%	47.4%
Stellis Health, PA	•	152	84.9%	78.3%	89.7%
The Emily Program		506	66.0%	61.8%	70.0%
Tri-County Health Care	*	62	100.0%	94.2%	100.0%
United Family Medicine		42	92.9%	81.0%	97.5%
Unity Family Healthcare, Family Medical Center		52	98.1%	89.9%	99.7%
University of Minnesota Physicians	$\bullet$	276	66.7%	60.9%	72.0%
Voyage Healthcare	٠	47	80.9%	67.5%	89.6%
Wayzata Children's Clinic	•	142	78.2%	70.7%	84.2%
Welia Health	*	34	100.0%	89.8%	100.0%
Winona Health Services	▼	146	4.1%	1.9%	8.7%
Woodland Centers		33	97.0%	84.7%	99.5%
Zumbro Valley Health Center		562	36.7%	32.8%	40.7%

Above statewide average Average Below statewide average CI = Confidence interval 📌 Top performer NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

9 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

## DEPRESSION OUTCOME MEASURES BY MEDICAL GROUP Adult Depression - Six Month Follow-up

2020 report year (2019 dates of service)

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		120,344	48.5%		
AALFA Family Clinic		160	38.8%	48.3%	0.80
Advanced Medical Clinic	•	74	36.5%	47.5%	0.77
Allina Health		16,572	43.3%	49.8%	0.87
Alomere Health	•	529	48.6%	49.8%	0.98
Altru Health System		492	28.3%	48.7%	0.58
Amery Hospital and Clinic	*	357	69.2%	48.7%	1.42
Apple Valley Medical Clinic		422	37.0%	50.4%	0.73
Associated Clinic of Psychology	•	2,990	48.5%	47.2%	1.03
Bluestone Physician Services	▼	41	12.2%	53.1%	0.23
Boynton Health Service		1,907	48.5%	42.5%	1.14
Catholic Charities Behavioral Health Clinic		79	30.4%	48.2%	0.63
CCM Health		103	16.5%	48.1%	0.34
Cedar Riverside People's Center		143	24.5%	44.0%	0.56
CentraCare Health		4,959	45.1%	48.4%	0.93
Children's Minnesota		142	20.4%	45.6%	0.45
Cuyuna Regional Medical Center		370	32.7%	49.4%	0.66
Dawson Clinic		87	35.6%	49.5%	0.72
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	▼	346	29.2%	43.1%	0.68
Edina Sports Health & Wellness		118	30.5%	49.3%	0.62
Entira Family Clinics (formerly Family Health Services MN)		2,013	61.2%	49.2%	1.24
Essentia Health	*	7,869	65.8%	48.1%	1.37
Fairview Health Services		13,445	47.5%	49.7%	0.95
Fairview Mesaba Clinics		759	62.3%	48.2%	1.29
Family Practice Medical Center of Willmar		166	16.3%	47.5%	0.34
France Avenue Family Physicians - Minnesota Healthcare Network	▼	94	30.9%	49.5%	0.62
Glencoe Regional Health Services	•	333	45.7%	50.5%	0.90
Glenwood Medical Center		62	4.8%	48.6%	0.10
Grand Itasca Clinic		677	42.0%	48.3%	0.87
Granite Falls Municipal Hospital & Manor Clinic		39	10.3%	48.5%	0.21
Gundersen Health System	•	193	53.9%	48.8%	1.11

Above statewide average ★ Top performer

Average

▼ Below statewide average CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		120,344	48.5%		
HealthPartners Central Minnesota Clinics	*	652	73.3%	47.9%	1.53
HealthPartners Clinics		7,470	63.0%	49.4%	1.27
Hendricks Community Hospital Association		57	12.3%	51.3%	0.24
Hennepin Healthcare		1,494	17.3%	44.4%	0.39
Hutchinson Health	V	554	32.3%	49.5%	0.65
Indian Health Board of Minneapolis		104	18.3%	41.3%	0.44
Kittson Healthcare Clinic		42	11.9%	47.4%	0.25
Lac Qui Parle Clinic		36	30.6%	50.2%	0.61
Lake Region Healthcare		502	58.2%	50.3%	1.16
Lake Superior Community Health Center	•	303	43.2%	44.6%	0.97
Lake View Clinic - Two Harbors		82	15.9%	48.2%	0.33
Lakeland Mental Health Center		1,134	51.2%	47.5%	1.08
Lakewood Health System		635	37.2%	46.1%	0.81
Madelia Community Hospital & Clinic	•	52	53.9%	46.9%	1.15
Mankato Clinic, Ltd.		1,490	62.8%	48.2%	1.30
Mayo Clinic	•	3,109	47.8%	49.3%	0.97
Mayo Clinic Health System		4,478	45.9%	48.8%	0.94
Mental Health Resources	•	47	42.6%	47.6%	0.89
Mille Lacs Health System	$\mathbf{\nabla}$	145	25.5%	49.7%	0.51
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	•	1,194	50.2%	47.6%	1.05
Natalis Counseling & Psychology Solutions		356	16.0%	41.3%	0.39
Native American Community Clinic	•	232	47.4%	43.2%	1.10
Neighborhood Healthsource		137	27.0%	41.8%	0.65
North Memorial		1,909	23.6%	47.8%	0.49
Northern Psychiatric Associates		343	35.9%	49.1%	0.73
Northfield Hospital + Clinics		225	14.2%	49.7%	0.29
NorthPoint Health & Wellness Center	•	677	42.0%	41.1%	1.02
Northwest Family Physicians	V	468	11.8%	49.6%	0.24
Northwestern Mental Health Center	•	393	51.2%	46.6%	1.10
Olmsted Medical Center		1,971	51.1%	45.7%	1.12
Open Cities Health Center		237	8.4%	43.8%	0.19
Open Door Health Center	$\bullet$	162	28.4%	42.4%	0.67
Ortonville Area Health Services-Northside Medical Clinic		148	61.5%	48.5%	1.27
Park Nicollet Health Services	*	10,572	68.1%	50.0%	1.36
People Incorporated Stark Mental Health Clinic		775	23.5%	45.8%	0.51

Average

Below statewide average

CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		120,344	48.5%		
Perham Health	V	259	35.5%	46.9%	0.76
Planned Parenthood Minnesota, North Dakota,		120	0.0%	41.8%	0.00
South Dakota	•				
Prairie Ridge Hospital & Health Services		75	20.0%	47.8%	0.42
Rainy Lake Medical Center		62	8.1%	47.2%	0.17
Ramsey County Mental Health	▼	198	16.7%	44.5%	0.38
Renville County Hospital and Clinics		92	30.4%	48.0%	0.63
Richfield Medical Group		173	18.5%	52.4%	0.35
RiverView Health		101	12.9%	46.3%	0.28
Riverwood Healthcare Center	$\bullet$	318	27.0%	50.2%	0.54
Sanford Health		9,420	51.9%	48.2%	1.08
Sawtooth Mountain Clinic		87	31.0%	49.2%	0.63
Scandia Clinic		51	11.8%	48.2%	0.24
Scenic Rivers Health Services		147	36.7%	49.4%	0.74
Sibley Medical Center DBA Ridgeview Sibley Medical Center	•	83	42.2%	49.1%	0.86
South Lake Pediatrics		69	30.4%	45.6%	0.67
Southdale Pediatric Associates, Ltd		137	28.5%	44.1%	0.65
Southside Community Health Services		71	23.9%	40.7%	0.59
Southwestern Mental Health Center		311	32.2%	47.0%	0.68
St. Croix Regional Medical Center		705	35.6%	50.0%	0.71
St. Luke's Clinics		1,067	38.1%	48.5%	0.79
Stellis Health, PA		882	32.5%	49.5%	0.66
Synergy Family Physicians, P.A		47	14.9%	47.0%	0.32
The Emily Program		308	25.3%	46.6%	0.54
Tri-County Health Care	•	406	44.8%	48.8%	0.92
United Family Medicine		596	42.8%	46.5%	0.92
Unity Family Healthcare, Family Medical Center		533	31.7%	48.3%	0.66
University of Minnesota Physicians		2,266	34.4%	44.7%	0.77
Voyage Healthcare		918	27.7%	50.1%	0.55
Welia Health		572	48.3%	49.0%	0.99
West Side Community Health Services		419	34.1%	42.0%	0.81
Westfields Hospital and Clinic	*	266	72.6%	49.4%	1.47
Williams Integracare Clinic		107	32.7%	46.8%	0.70
Winona Health Services	<b>V</b>	775	40.5%	48.8%	0.83
Woodland Centers		304	47.7%	47.2%	1.01
Zumbro Valley Health Center		59	50.9%	48.1%	1.01

Average

Below statewide average

CI = Confidence interval

## Adult Depression - Response at Six Months

2020 report year (2019 dates of service)

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		120,344	19.4%		
AALFA Family Clinic		160	11.3%	20.0%	0.56
Advanced Medical Clinic		74	1.4%	15.4%	0.09
Allina Health		16,572	15.8%	20.2%	0.78
Alomere Health	•	529	19.7%	19.8%	0.99
Altru Health System		492	9.8%	20.1%	0.49
Amery Hospital and Clinic		357	26.9%	19.9%	1.35
Apple Valley Medical Clinic		422	17.1%	21.7%	0.79
Associated Clinic of Psychology		2,990	15.1%	18.1%	0.84
Bluestone Physician Services		41	7.3%	19.8%	0.37
Boynton Health Service		1,907	20.0%	16.5%	1.21
Catholic Charities Behavioral Health Clinic		79	8.9%	17.7%	0.50
CCM Health		103	11.7%	20.3%	0.57
Cedar Riverside People's Center		143	6.3%	14.7%	0.43
CentraCare Health		4,959	17.5%	19.0%	0.92
Children's Minnesota		142	7.0%	18.5%	0.38
Cuyuna Regional Medical Center		370	11.4%	19.2%	0.59
Dawson Clinic	•	87	13.8%	19.6%	0.70
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	•	346	7.8%	14.6%	0.54
Edina Sports Health & Wellness		118	13.6%	20.6%	0.66
Entira Family Clinics (formerly Family Health Services MN)	*	2,013	29.2%	19.8%	1.47
Essentia Health	*	7,869	31.0%	18.8%	1.65
Fairview Health Services	•	13,445	19.3%	20.0%	0.97
Fairview Mesaba Clinics		759	21.2%	18.0%	1.18
Family Practice Medical Center of Willmar		166	7.8%	18.6%	0.42
France Avenue Family Physicians - Minnesota Healthcare Network	•	94	11.7%	20.9%	0.56
Glencoe Regional Health Services		333	15.0%	20.1%	0.75
Glenwood Medical Center		62	1.6%	19.3%	0.08
Grand Itasca Clinic		677	20.1%	18.5%	1.09
Granite Falls Municipal Hospital & Manor Clinic		39	0.0%	18.9%	0.00
Gundersen Health System		193	20.7%	19.9%	1.04
HealthPartners Central Minnesota Clinics	*	652	32.8%	18.7%	1.76
HealthPartners Clinics		7,470	27.8%	20.1%	1.39

Above statewide average ★ Top performer

Average

Below statewide average

CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE	I	120,344	19.4%		
Hendricks Community Hospital Association		57	7.0%	20.9%	0.34
Hennepin Healthcare		1,494	4.3%	16.5%	0.26
Hutchinson Health		554	9.6%	19.8%	0.48
Indian Health Board of Minneapolis		104	3.9%	14.0%	0.28
Kittson Healthcare Clinic	•	42	9.5%	21.0%	0.45
Lac Qui Parle Clinic	•	36	13.9%	19.7%	0.71
Lake Region Healthcare		502	26.3%	19.5%	1.35
Lake Superior Community Health Center	$\bullet$	303	9.9%	16.6%	0.60
Lake View Clinic - Two Harbors		82	6.1%	19.7%	0.31
Lakeland Mental Health Center		1,134	11.6%	17.6%	0.66
Lakewood Health System	•	635	18.9%	17.5%	1.08
Madelia Community Hospital & Clinic	•	52	19.2%	17.9%	1.08
Mankato Clinic, Ltd.		1,490	24.6%	19.3%	1.27
Mayo Clinic		3,109	23.0%	20.6%	1.11
Mayo Clinic Health System	•	4,478	18.6%	19.6%	0.95
Mental Health Resources		47	8.5%	15.2%	0.56
Mille Lacs Health System		145	11.7%	18.5%	0.63
Minnesota Mental Health Clinics (Eagan, Apple					
Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	▼	1,194	14.7%	19.5%	0.75
Natalis Counseling & Psychology Solutions		356	5.9%	16.0%	0.37
Native American Community Clinic	•	232	15.1%	13.8%	1.09
Neighborhood Healthsource	$\bullet$	137	8.8%	15.4%	0.57
North Memorial	$\mathbf{V}$	1,909	8.4%	19.3%	0.43
Northern Psychiatric Associates	$\bullet$	343	7.3%	19.1%	0.38
Northfield Hospital + Clinics		225	6.2%	21.2%	0.29
NorthPoint Health & Wellness Center		677	8.4%	13.9%	0.60
Northwest Family Physicians		468	3.2%	20.3%	0.16
Northwestern Mental Health Center	•	393	16.3%	17.4%	0.93
Olmsted Medical Center		1,971	21.0%	18.3%	1.15
Open Cities Health Center	•	237	1.7%	14.8%	0.11
Open Door Health Center	$\mathbf{V}$	162	7.4%	16.0%	0.46
Ortonville Area Health Services-Northside Medical Clinic	*	148	31.8%	19.6%	1.62
Park Nicollet Health Services		10,572	29.4%	20.6%	1.42
People Incorporated Stark Mental Health Clinic		775	6.1%	16.2%	0.38
Perham Health		259	15.1%	19.1%	0.79

🖈 Top performer 💫 🔺 Above statewide average

Average

age 🛛 🔻

Below statewide average

erage CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		120,344	19.4%		
Planned Parenthood Minnesota, North Dakota,		120	0.0%	14.8%	0.00
South Dakota	•	120	0.070	14.070	0.00
Prairie Ridge Hospital & Health Services		75	9.3%	18.7%	0.50
Rainy Lake Medical Center		62	3.2%	17.0%	0.19
Ramsey County Mental Health		198	2.5%	14.6%	0.17
Renville County Hospital and Clinics		92	7.6%	17.8%	0.43
Richfield Medical Group		173	7.5%	22.2%	0.34
RiverView Health		101	5.9%	18.8%	0.32
Riverwood Healthcare Center		318	8.5%	18.9%	0.45
Sanford Health		9,420	21.3%	19.7%	1.09
Sawtooth Mountain Clinic		87	6.9%	19.2%	0.36
Scandia Clinic		51	2.0%	19.9%	0.10
Scenic Rivers Health Services	•	147	14.3%	19.3%	0.74
Sibley Medical Center DBA Ridgeview Sibley Medical Center	•	83	19.3%	19.5%	0.99
South Lake Pediatrics	•	69	10.1%	18.9%	0.54
Southdale Pediatric Associates, Ltd	▼	137	10.2%	18.1%	0.57
Southside Community Health Services	•	71	14.1%	15.4%	0.91
Southwestern Mental Health Center	$\mathbf{V}$	311	7.1%	17.1%	0.41
St. Croix Regional Medical Center	$\mathbf{V}$	705	11.5%	20.0%	0.57
St. Luke's Clinics		1,067	10.1%	19.0%	0.53
Stellis Health, PA		882	13.2%	20.5%	0.64
Synergy Family Physicians, P.A		47	2.1%	19.0%	0.11
The Emily Program		308	6.8%	20.1%	0.34
Tri-County Health Care		406	11.6%	18.3%	0.63
United Family Medicine		596	12.9%	16.7%	0.77
Unity Family Healthcare, Family Medical Center		533	10.5%	18.5%	0.57
University of Minnesota Physicians		2,266	9.9%	17.1%	0.58
Voyage Healthcare		918	7.1%	20.6%	0.34
Welia Health	•	572	17.3%	18.8%	0.92
West Side Community Health Services		419	9.8%	15.3%	0.64
Westfields Hospital and Clinic	*	266	37.2%	20.9%	1.78
Williams Integracare Clinic	•	107	13.1%	18.7%	0.70
Winona Health Services	▼	775	13.9%	19.2%	0.72
Woodland Centers		304	11.5%	17.1%	0.67
Zumbro Valley Health Center	٠	59	22.0%	17.7%	1.24

Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

15 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

## Adult Depression - Remission at Six Months

2020 report year (2019 dates of service)

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE	_	120,344	11.3%		-
AALFA Family Clinic		160	5.6%	12.1%	0.46
Advanced Medical Clinic		74	0.0%	7.5%	0.00
Allina Health		16,572	8.4%	11.9%	0.70
Alomere Health	•	529	13.6%	11.9%	1.15
Altru Health System		492	5.3%	11.2%	0.47
Amery Hospital and Clinic		357	15.4%	11.3%	1.36
Apple Valley Medical Clinic	•	422	11.9%	12.9%	0.92
Associated Clinic of Psychology		2,990	7.3%	10.2%	0.72
Bluestone Physician Services	•	41	4.9%	13.0%	0.37
Boynton Health Service	•	1,907	9.6%	9.3%	1.03
Catholic Charities Behavioral Health Clinic	•	79	3.8%	9.5%	0.40
CCM Health	•	103	6.8%	12.3%	0.55
Cedar Riverside People's Center		143	2.1%	8.1%	0.26
CentraCare Health	•	4,959	10.3%	11.1%	0.93
Children's Minnesota		142	4.9%	10.5%	0.47
Cuyuna Regional Medical Center		370	6.2%	11.0%	0.56
Dawson Clinic	•	87	9.2%	11.7%	0.79
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	▼	346	2.0%	7.8%	0.26
Edina Sports Health & Wellness	•	118	8.5%	12.5%	0.68
Entira Family Clinics (formerly Family Health Services MN)	*	2,013	19.9%	11.8%	1.69
Essentia Health	*	7,869	20.0%	10.8%	1.84
Fairview Health Services	•	13,445	11.3%	11.8%	0.96
Fairview Mesaba Clinics	•	759	11.9%	10.2%	1.16
Family Practice Medical Center of Willmar		166	6.0%	11.0%	0.55
France Avenue Family Physicians - Minnesota		0.4	0.60/	10.00/	0.74
Healthcare Network	•	94	9.6%	12.9%	0.74
Glencoe Regional Health Services		333	7.5%	12.3%	0.61
Glenwood Medical Center		62	0.0%	10.7%	0.00
Grand Itasca Clinic		677	14.9%	10.8%	1.38
Granite Falls Municipal Hospital & Manor Clinic		39	0.0%	10.8%	0.00
Gundersen Health System	•	193	10.4%	12.2%	0.85
HealthPartners Central Minnesota Clinics	*	652	17.8%	10.4%	1.72
HealthPartners Clinics		7,470	16.3%	11.7%	1.39

Above statewide average ★ Top performer

Average

Below statewide average

CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		120,344	11.3%		
Hendricks Community Hospital Association	•	57	7.0%	12.5%	0.56
Hennepin Healthcare		1,494	2.1%	8.9%	0.24
Hutchinson Health		554	4.3%	11.6%	0.37
Indian Health Board of Minneapolis	•	104	2.9%	7.2%	0.40
Kittson Healthcare Clinic	•	42	9.5%	11.6%	0.82
Lac Qui Parle Clinic	•	36	13.9%	11.5%	1.21
Lake Region Healthcare		502	15.7%	12.0%	1.31
Lake Superior Community Health Center		303	4.6%	8.8%	0.52
Lake View Clinic - Two Harbors		82	1.2%	10.9%	0.11
Lakeland Mental Health Center		1,134	5.0%	9.8%	0.51
Lakewood Health System	•	635	11.8%	10.1%	1.17
Madelia Community Hospital & Clinic	•	52	11.5%	10.1%	1.14
Mankato Clinic, Ltd.		1,490	15.2%	11.6%	1.31
Mayo Clinic		3,109	13.4%	12.0%	1.11
Mayo Clinic Health System	•	4,478	10.8%	11.4%	0.95
Mental Health Resources	•	47	4.3%	8.4%	0.50
Mille Lacs Health System		145	5.5%	10.6%	0.52
Minnesota Mental Health Clinics (Eagan, Apple					
Valley, Edina, Lakeville, Maplewood, Minneapolis,		1,194	7.5%	10.9%	0.69
Woodbury)					
Natalis Counseling & Psychology Solutions		356	1.4%	8.8%	0.16
Native American Community Clinic	•	232	5.6%	7.5%	0.75
Neighborhood Healthsource		137	3.7%	8.4%	0.44
North Memorial	▼	1,909	4.8%	11.0%	0.44
Northern Psychiatric Associates	$\mathbf{\nabla}$	343	3.5%	11.1%	0.32
Northfield Hospital + Clinics		225	3.1%	12.5%	0.25
NorthPoint Health & Wellness Center	▼	677	4.7%	7.4%	0.64
Northwest Family Physicians	$\mathbf{V}$	468	2.1%	12.2%	0.18
Northwestern Mental Health Center	•	393	8.7%	9.4%	0.92
Olmsted Medical Center		1,971	14.8%	11.0%	1.34
Open Cities Health Center		237	0.0%	7.8%	0.00
Open Door Health Center		162	3.1%	8.7%	0.35
Ortonville Area Health Services-Northside Medical		140		11 50/	
Clinic	•	148	15.5%	11.5%	1.35
Park Nicollet Health Services	*	10,572	17.9%	12.4%	1.44
People Incorporated Stark Mental Health Clinic		775	3.0%	8.6%	0.35
Perham Health		259	8.5%	11.2%	0.76

Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

17 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		120,344	11.3%		
Planned Parenthood Minnesota, North Dakota,		120	0.0%	7.7%	0.00
South Dakota	•	120	0.070	1.170	0.00
Prairie Ridge Hospital & Health Services		75	4.0%	10.5%	0.38
Rainy Lake Medical Center		62	1.6%	9.5%	0.17
Ramsey County Mental Health		198	1.0%	7.4%	0.14
Renville County Hospital and Clinics	•	92	5.4%	10.4%	0.52
Richfield Medical Group		173	4.6%	14.1%	0.33
RiverView Health		101	4.0%	10.2%	0.39
Riverwood Healthcare Center		318	4.7%	11.2%	0.42
Sanford Health		9,420	12.7%	11.5%	1.11
Sawtooth Mountain Clinic		87	4.6%	11.8%	0.39
Scandia Clinic		51	2.0%	11.5%	0.17
Scenic Rivers Health Services	▼	147	5.4%	11.1%	0.49
Sibley Medical Center DBA Ridgeview Sibley Medical Center	•	83	8.4%	11.5%	0.73
South Lake Pediatrics		69	2.9%	11.3%	0.26
Southdale Pediatric Associates, Ltd	▼	137	5.1%	10.7%	0.48
Southside Community Health Services	•	71	8.5%	8.3%	1.02
Southwestern Mental Health Center		311	3.5%	9.7%	0.37
St. Croix Regional Medical Center		705	6.4%	11.7%	0.55
St. Luke's Clinics		1,067	4.7%	11.0%	0.43
Stellis Health, PA	V	882	7.5%	12.0%	0.62
Synergy Family Physicians, P.A		47	2.1%	11.2%	0.19
The Emily Program	V	308	2.9%	10.5%	0.28
Tri-County Health Care		406	4.7%	10.4%	0.45
United Family Medicine	•	596	7.2%	9.3%	0.78
Unity Family Healthcare, Family Medical Center		533	4.7%	10.6%	0.44
University of Minnesota Physicians		2,266	3.9%	9.3%	0.42
Voyage Healthcare	$\bullet$	918	3.3%	12.2%	0.27
Welia Health	•	572	9.1%	10.7%	0.85
West Side Community Health Services	•	419	4.5%	7.9%	0.57
Westfields Hospital and Clinic	*	266	25.2%	12.1%	2.09
Williams Integracare Clinic	•	107	7.5%	10.2%	0.73
Winona Health Services		775	8.1%	11.3%	0.72
Woodland Centers	•	304	7.2%	9.6%	0.75
Zumbro Valley Health Center	•	59	8.5%	10.3%	0.83

Average

Below statewide average CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

18 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

## Adult Depression - 12 Month Follow-up

2019 Measurement Year (Reported in 2020)

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE	1	120,344	41.8%		
AALFA Family Clinic	•	160	40.0%	41.8%	0.96
Advanced Medical Clinic		74	18.9%	40.8%	0.46
Allina Health		16,572	41.5%	43.0%	0.97
Alomere Health	•	529	40.5%	43.2%	0.94
Altru Health System		492	19.1%	41.7%	0.46
Amery Hospital and Clinic	*	357	63.0%	42.2%	1.49
Apple Valley Medical Clinic		422	35.1%	43.8%	0.80
Associated Clinic of Psychology		2,990	37.5%	40.1%	0.93
Bluestone Physician Services	•	41	41.5%	47.9%	0.87
Boynton Health Service	•	1,907	33.1%	34.5%	0.96
Catholic Charities Behavioral Health Clinic		79	19.0%	41.0%	0.46
CCM Health		103	1.9%	41.9%	0.05
Cedar Riverside People's Center		143	18.2%	37.7%	0.48
CentraCare Health		4,959	16.5%	41.6%	0.40
Children's Minnesota		142	20.4%	37.1%	0.55
Cuyuna Regional Medical Center	•	370	38.9%	42.8%	0.91
Dawson Clinic	•	87	39.1%	42.7%	0.91
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	▼	346	20.5%	36.0%	0.57
Edina Sports Health & Wellness	•	118	34.8%	42.7%	0.81
Entira Family Clinics (formerly Family Health Services MN)		2,013	57.8%	42.9%	1.35
Essentia Health	*	7,869	62.6%	41.4%	1.51
Fairview Health Services		13,445	32.4%	43.1%	0.75
Fairview Mesaba Clinics		759	49.9%	41.3%	1.21
Family Practice Medical Center of Willmar		166	14.5%	40.7%	0.36
France Avenue Family Physicians - Minnesota Healthcare Network	▼	94	30.9%	43.3%	0.71
Glencoe Regional Health Services		333	51.1%	43.7%	1.17
Glenwood Medical Center		62	6.5%	41.7%	0.15
Grand Itasca Clinic		677	30.1%	41.9%	0.72
Granite Falls Municipal Hospital & Manor Clinic		39	7.7%	42.1%	0.18
Gundersen Health System	•	193	45.6%	43.1%	1.06
HealthPartners Central Minnesota Clinics	*	652	62.7%	40.7%	1.54
HealthPartners Clinics		7,470	59.4%	42.8%	1.39

Above statewide average ★ Top performer

Average

Below statewide average

CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE	1	120,344	41.8%		
Hendricks Community Hospital Association	▼	57	1.8%	45.4%	0.04
Hennepin Healthcare	V	1,494	16.9%	37.6%	0.45
Hutchinson Health		554	36.1%	42.6%	0.85
Indian Health Board of Minneapolis		104	24.0%	34.6%	0.69
Kittson Healthcare Clinic	$\bullet$	42	16.7%	41.2%	0.40
Lac Qui Parle Clinic	•	36	38.9%	43.2%	0.90
Lake Region Healthcare		502	51.0%	43.8%	1.16
Lake Superior Community Health Center	•	303	41.9%	38.3%	1.09
Lake View Clinic - Two Harbors		82	13.4%	41.2%	0.33
Lakeland Mental Health Center		1,134	46.5%	40.2%	1.16
Lakewood Health System		635	44.3%	39.8%	1.11
Madelia Community Hospital & Clinic	•	52	36.5%	40.1%	0.91
Mankato Clinic, Ltd.	*	1,490	63.5%	41.5%	1.53
Mayo Clinic	•	3,109	41.0%	42.7%	0.96
Mayo Clinic Health System		4,478	39.6%	42.1%	0.94
Mental Health Resources	•	47	29.8%	40.5%	0.74
Mille Lacs Health System	▼	145	31.0%	43.1%	0.72
Minnesota Mental Health Clinics (Eagan, Apple					
Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	•	1,194	38.9%	40.3%	0.96
Natalis Counseling & Psychology Solutions		356	5.1%	34.7%	0.15
Native American Community Clinic		232	46.1%	36.5%	1.26
Neighborhood Healthsource	▼	137	24.8%	36.0%	0.69
North Memorial		1,909	24.9%	41.2%	0.60
Northern Psychiatric Associates	$\mathbf{V}$	343	30.9%	42.2%	0.73
Northfield Hospital + Clinics		225	27.1%	43.0%	0.63
NorthPoint Health & Wellness Center	•	677	33.7%	35.1%	0.96
Northwest Family Physicians		468	23.3%	43.5%	0.54
Northwestern Mental Health Center	•	393	43.5%	39.2%	1.11
Olmsted Medical Center		1,971	51.0%	40.3%	1.27
Open Cities Health Center	$\bullet$	237	13.5%	37.4%	0.36
Open Door Health Center	•	162	36.4%	36.1%	1.01
Ortonville Area Health Services-Northside Medical Clinic		148	56.8%	42.1%	1.35
Park Nicollet Health Services		10,572	62.5%	43.3%	1.44
People Incorporated Stark Mental Health Clinic	•	775	18.7%	38.3%	0.49
Perham Health		259	10.0%	40.5%	0.25

Average

Below statewide average

CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		120,344	41.8%		
Planned Parenthood Minnesota, North Dakota,		120	0.8%	33.5%	0.02
South Dakota	-				
Prairie Ridge Hospital & Health Services		75	13.3%	41.0%	0.33
Rainy Lake Medical Center		62	9.7%	40.2%	0.24
Ramsey County Mental Health		198	12.1%	37.3%	0.33
Renville County Hospital and Clinics		92	27.2%	40.2%	0.68
Richfield Medical Group		173	1.7%	46.9%	0.04
RiverView Health		101	9.9%	39.3%	0.25
Riverwood Healthcare Center		318	33.7%	43.8%	0.77
Sanford Health		9,420	46.0%	41.7%	1.10
Sawtooth Mountain Clinic	•	87	47.1%	42.8%	1.10
Scandia Clinic		51	3.9%	41.8%	0.09
Scenic Rivers Health Services		147	32.0%	43.1%	0.74
Sibley Medical Center DBA Ridgeview Sibley Medical Center	•	83	34.9%	43.3%	0.81
South Lake Pediatrics	•	69	29.0%	37.3%	0.78
Southdale Pediatric Associates, Ltd		137	19.0%	35.9%	0.53
Southside Community Health Services		71	21.1%	35.1%	0.60
Southwestern Mental Health Center		311	20.9%	39.8%	0.53
St. Croix Regional Medical Center	•	705	41.8%	43.6%	0.96
St. Luke's Clinics		1,067	30.3%	41.9%	0.72
Stellis Health, PA		882	26.8%	42.5%	0.63
Synergy Family Physicians, P.A		47	14.9%	40.2%	0.37
The Emily Program		308	21.8%	39.1%	0.56
Tri-County Health Care		406	46.8%	41.8%	1.12
United Family Medicine		596	38.8%	39.7%	0.98
Unity Family Healthcare, Family Medical Center		533	35.5%	41.4%	0.86
University of Minnesota Physicians		2,266	20.2%	37.7%	0.53
Voyage Healthcare		918	24.2%	43.8%	0.55
Welia Health		572	40.6%	42.2%	0.96
West Side Community Health Services		419	25.3%	36.3%	0.70
Westfields Hospital and Clinic	*	266	66.9%	42.6%	1.57
Williams Integracare Clinic		107	20.6%	39.4%	0.52
Winona Health Services	•	775	40.9%	42.1%	0.52
Woodland Centers		304	40.9%	42.1%	1.08
	-				
Zumbro Valley Health Center		59	15.3%	40.8%	0.37

Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

21 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

## Adult Depression - Response at 12 Months

2020 report year (2019 dates of service)

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE	_	120,344	17.0%		-
AALFA Family Clinic	•	160	15.0%	17.5%	0.86
Advanced Medical Clinic		74	1.4%	13.5%	0.10
Allina Health		16,572	14.9%	17.8%	0.84
Alomere Health	•	529	16.8%	17.5%	0.96
Altru Health System		492	5.9%	17.5%	0.34
Amery Hospital and Clinic		357	25.8%	17.5%	1.48
Apple Valley Medical Clinic	•	422	17.3%	19.1%	0.91
Associated Clinic of Psychology		2,990	11.4%	15.7%	0.73
Bluestone Physician Services	•	41	24.4%	18.1%	1.35
Boynton Health Service	•	1,907	12.2%	13.6%	0.90
Catholic Charities Behavioral Health Clinic		79	3.8%	15.4%	0.25
CCM Health		103	1.0%	17.9%	0.05
Cedar Riverside People's Center		143	5.6%	12.8%	0.44
CentraCare Health		4,959	5.8%	16.6%	0.35
Children's Minnesota		142	8.5%	15.4%	0.55
Cuyuna Regional Medical Center	•	370	16.8%	16.9%	0.99
Dawson Clinic	•	87	17.2%	17.3%	1.00
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	▼	346	5.5%	12.5%	0.44
Edina Sports Health & Wellness		118	11.9%	18.1%	0.66
Entira Family Clinics (formerly Family Health Services MN)	*	2,013	29.1%	17.5%	1.66
Essentia Health	*	7,869	30.8%	16.5%	1.86
Fairview Health Services		13,445	12.9%	17.6%	0.73
Fairview Mesaba Clinics	•	759	16.2%	15.7%	1.03
Family Practice Medical Center of Willmar		166	7.8%	16.1%	0.49
France Avenue Family Physicians - Minnesota Healthcare Network	▼	94	11.7%	18.5%	0.63
Glencoe Regional Health Services	•	333	18.0%	17.7%	1.02
Glenwood Medical Center		62	1.6%	16.9%	0.10
Grand Itasca Clinic	•	677	15.1%	16.3%	0.93
Granite Falls Municipal Hospital & Manor Clinic		39	5.1%	16.8%	0.31
Gundersen Health System	•	193	17.1%	17.9%	0.96
HealthPartners Central Minnesota Clinics	*	652	28.4%	16.2%	1.75
HealthPartners Clinics		7,470	26.6%	17.6%	1.51

Above statewide average ★ Top performer

Average

Below statewide average

CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		120,344	17.0%		
Hendricks Community Hospital Association		57	1.8%	18.8%	0.09
Hennepin Healthcare		1,494	5.1%	14.2%	0.36
Hutchinson Health		554	10.7%	17.4%	0.61
Indian Health Board of Minneapolis	•	104	8.7%	12.0%	0.72
Kittson Healthcare Clinic		42	7.1%	18.5%	0.39
Lac Qui Parle Clinic	•	36	22.2%	17.2%	1.29
Lake Region Healthcare		502	23.7%	17.3%	1.37
Lake Superior Community Health Center		303	10.9%	14.6%	0.75
Lake View Clinic - Two Harbors		82	4.9%	17.1%	0.29
Lakeland Mental Health Center	$\bullet$	1,134	11.1%	15.2%	0.73
Lakewood Health System		635	19.8%	15.4%	1.29
Madelia Community Hospital & Clinic	•	52	19.2%	15.6%	1.23
Mankato Clinic, Ltd.	*	1,490	26.1%	16.9%	1.54
Mayo Clinic		3,109	20.0%	18.1%	1.10
Mayo Clinic Health System		4,478	15.8%	17.2%	0.92
Mental Health Resources	▼	47	4.3%	13.2%	0.32
Mille Lacs Health System		145	10.3%	16.3%	0.64
Minnesota Mental Health Clinics (Eagan, Apple					
Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)		1,194	10.8%	16.8%	0.64
Natalis Counseling & Psychology Solutions		356	1.4%	13.4%	0.10
Native American Community Clinic	•	232	15.5%	11.9%	1.30
Neighborhood Healthsource	•	137	8.8%	13.5%	0.65
North Memorial		1,909	10.9%	16.9%	0.65
Northern Psychiatric Associates		343	8.2%	16.7%	0.49
Northfield Hospital + Clinics		225	12.0%	18.6%	0.65
NorthPoint Health & Wellness Center	▼	677	5.2%	12.2%	0.42
Northwest Family Physicians		468	7.3%	18.0%	0.40
Northwestern Mental Health Center		393	10.9%	15.0%	0.73
Olmsted Medical Center		1,971	23.6%	16.5%	1.44
Open Cities Health Center		237	4.6%	12.9%	0.36
Open Door Health Center	$\mathbf{V}$	162	8.6%	14.0%	0.62
Ortonville Area Health Services-Northside Medical Clinic	•	148	23.7%	17.3%	1.37
Park Nicollet Health Services		10,572	27.6%	18.2%	1.52
People Incorporated Stark Mental Health Clinic	•	775	5.0%	13.8%	0.36
Perham Health		259	2.3%	16.8%	0.14

Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

23 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		120,344	17.0%		
Planned Parenthood Minnesota, North Dakota,		120	0.0%	12.2%	0.00
South Dakota	•	120	0.070	12.270	0.00
Prairie Ridge Hospital & Health Services		75	8.0%	16.3%	0.49
Rainy Lake Medical Center		62	1.6%	14.8%	0.11
Ramsey County Mental Health		198	1.0%	12.6%	0.08
Renville County Hospital and Clinics	•	92	8.7%	15.3%	0.57
Richfield Medical Group		173	0.6%	20.1%	0.03
RiverView Health		101	2.0%	16.3%	0.12
Riverwood Healthcare Center	•	318	14.5%	16.8%	0.86
Sanford Health		9,420	19.4%	17.3%	1.12
Sawtooth Mountain Clinic	•	87	18.4%	17.0%	1.08
Scandia Clinic		51	0.0%	17.4%	0.00
Scenic Rivers Health Services		147	8.2%	17.2%	0.47
Sibley Medical Center DBA Ridgeview Sibley Medical Center	•	83	14.5%	17.6%	0.82
South Lake Pediatrics	•	69	8.7%	15.8%	0.55
Southdale Pediatric Associates, Ltd	▼	137	5.8%	15.0%	0.39
Southside Community Health Services	•	71	11.3%	13.7%	0.83
Southwestern Mental Health Center		311	5.5%	14.8%	0.37
St. Croix Regional Medical Center	$\mathbf{V}$	705	13.8%	17.7%	0.78
St. Luke's Clinics		1,067	9.1%	16.7%	0.54
Stellis Health, PA		882	10.3%	17.9%	0.58
Synergy Family Physicians, P.A		47	6.4%	16.5%	0.39
The Emily Program		308	5.8%	17.2%	0.34
Tri-County Health Care	•	406	18.5%	16.0%	1.16
United Family Medicine	•	596	12.1%	14.5%	0.83
Unity Family Healthcare, Family Medical Center	▼	533	9.8%	16.1%	0.61
University of Minnesota Physicians	$\mathbf{V}$	2,266	6.4%	14.6%	0.44
Voyage Healthcare		918	7.5%	18.3%	0.41
Welia Health	$\mathbf{V}$	572	12.4%	16.5%	0.75
West Side Community Health Services		419	7.9%	13.5%	0.58
Westfields Hospital and Clinic	*	266	32.7%	18.3%	1.78
Williams Integracare Clinic		107	9.4%	16.0%	0.58
Winona Health Services		775	16.1%	16.9%	0.96
Woodland Centers		304	7.9%	14.8%	0.53
Zumbro Valley Health Center		59	1.7%	15.3%	0.11

Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

24 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

## Adult Depression - Remission at 12 Months

2020 report year (2019 dates of service)

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		120,344	10.1%		
AALFA Family Clinic		160	6.3%	10.9%	0.57
Advanced Medical Clinic		74	0.0%	6.7%	0.00
Allina Health		16,572	7.7%	10.7%	0.72
Alomere Health	•	529	10.6%	10.7%	0.99
Altru Health System		492	2.4%	10.0%	0.24
Amery Hospital and Clinic		357	15.7%	10.2%	1.54
Apple Valley Medical Clinic	•	422	11.4%	11.7%	0.97
Associated Clinic of Psychology		2,990	6.5%	9.1%	0.71
Bluestone Physician Services	•	41	14.6%	11.8%	1.24
Boynton Health Service		1,907	6.0%	8.0%	0.76
Catholic Charities Behavioral Health Clinic		79	2.5%	8.4%	0.30
CCM Health		103	0.0%	11.1%	0.00
Cedar Riverside People's Center	•	143	4.2%	7.2%	0.58
CentraCare Health		4,959	3.4%	9.9%	0.34
Children's Minnesota	•	142	8.5%	9.1%	0.93
Cuyuna Regional Medical Center	•	370	9.7%	9.9%	0.98
Dawson Clinic	•	87	10.3%	10.4%	0.99
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	▼	346	0.6%	6.9%	0.08
Edina Sports Health & Wellness	•	118	11.0%	11.2%	0.98
Entira Family Clinics (formerly Family Health Services MN)	*	2,013	18.9%	10.7%	1.78
Essentia Health	*	7,869	20.8%	9.8%	2.14
Fairview Health Services		13,445	7.7%	10.7%	0.72
Fairview Mesaba Clinics	•	759	8.6%	9.2%	0.94
Family Practice Medical Center of Willmar	•	166	6.0%	9.8%	0.62
France Avenue Family Physicians - Minnesota		0.4	0 50/		0.70
Healthcare Network	•	94	8.5%	11.7%	0.73
Glencoe Regional Health Services	•	333	9.6%	11.1%	0.87
Glenwood Medical Center		62	1.6%	9.6%	0.17
Grand Itasca Clinic		677	12.4%	9.7%	1.28
Granite Falls Municipal Hospital & Manor Clinic	•	39	5.1%	9.8%	0.53
Gundersen Health System	•	193	11.4%	11.3%	1.01
HealthPartners Central Minnesota Clinics	*	652	16.9%	9.3%	1.82
HealthPartners Clinics		7,470	15.9%	10.6%	1.50

Above statewide average ★ Top performer

Average

Below statewide average

CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		120,344	10.1%		
Hendricks Community Hospital Association		57	1.8%	11.4%	0.15
Hennepin Healthcare		1,494	2.8%	7.9%	0.35
Hutchinson Health		554	4.7%	10.4%	0.45
Indian Health Board of Minneapolis	•	104	3.9%	6.4%	0.61
Kittson Healthcare Clinic		42	0.0%	10.5%	0.00
Lac Qui Parle Clinic	•	36	13.9%	10.2%	1.37
Lake Region Healthcare	•	502	12.6%	10.8%	1.17
Lake Superior Community Health Center	•	303	5.3%	8.0%	0.66
Lake View Clinic - Two Harbors		82	1.2%	9.7%	0.13
Lakeland Mental Health Center		1,134	4.7%	8.6%	0.54
Lakewood Health System		635	11.7%	9.1%	1.28
Madelia Community Hospital & Clinic	•	52	9.6%	9.1%	1.06
Mankato Clinic, Ltd.		1,490	16.9%	10.4%	1.61
Mayo Clinic		3,109	12.1%	10.9%	1.12
Mayo Clinic Health System		4,478	9.1%	10.2%	0.89
Mental Health Resources	•	47	4.3%	7.4%	0.57
Mille Lacs Health System	•	145	6.9%	9.5%	0.73
Minnesota Mental Health Clinics (Eagan, Apple					
Valley, Edina, Lakeville, Maplewood, Minneapolis,		1,194	5.2%	9.7%	0.54
Woodbury)					
Natalis Counseling & Psychology Solutions		356	0.8%	7.6%	0.11
Native American Community Clinic	•	232	6.0%	6.6%	0.92
Neighborhood Healthsource	•	137	5.8%	7.7%	0.76
North Memorial		1,909	6.2%	9.9%	0.62
Northern Psychiatric Associates		343	3.5%	9.9%	0.35
Northfield Hospital + Clinics		225	4.9%	11.3%	0.43
NorthPoint Health & Wellness Center		677	2.4%	6.7%	0.35
Northwest Family Physicians		468	4.3%	11.1%	0.39
Northwestern Mental Health Center		393	5.1%	8.3%	0.62
Olmsted Medical Center	*	1,971	17.0%	10.1%	1.67
Open Cities Health Center		237	1.3%	7.0%	0.18
Open Door Health Center		162	3.7%	7.9%	0.47
Ortonville Area Health Services-Northside Medical Clinic	•	148	11.5%	10.4%	1.11
Park Nicollet Health Services		10,572	17.6%	11.2%	1.58
People Incorporated Stark Mental Health Clinic		775	2.5%	7.5%	0.33
Perham Health		259	1.5%	10.1%	0.15

Average

Below statewide average

CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		120,344	10.1%		
Planned Parenthood Minnesota, North Dakota,		120	0.0%	6.6%	0.00
South Dakota	•	120	0.070	0.070	0.00
Prairie Ridge Hospital & Health Services	•	75	5.3%	9.3%	0.57
Rainy Lake Medical Center		62	1.6%	8.4%	0.19
Ramsey County Mental Health		198	0.5%	6.5%	0.08
Renville County Hospital and Clinics	•	92	6.5%	9.1%	0.72
Richfield Medical Group		173	0.6%	12.9%	0.04
RiverView Health		101	2.0%	9.1%	0.22
Riverwood Healthcare Center		318	6.0%	10.1%	0.59
Sanford Health		9,420	11.6%	10.4%	1.12
Sawtooth Mountain Clinic	•	87	9.2%	10.6%	0.87
Scandia Clinic		51	0.0%	10.4%	0.00
Scenic Rivers Health Services		147	3.4%	10.0%	0.34
Sibley Medical Center DBA Ridgeview Sibley Medical Center	•	83	10.8%	10.6%	1.02
South Lake Pediatrics	▼	69	2.9%	9.7%	0.30
Southdale Pediatric Associates, Ltd	▼	137	4.4%	9.2%	0.48
Southside Community Health Services	•	71	7.0%	7.6%	0.93
Southwestern Mental Health Center		311	2.9%	8.5%	0.34
St. Croix Regional Medical Center		705	7.7%	10.6%	0.73
St. Luke's Clinics	V	1,067	5.3%	9.9%	0.53
Stellis Health, PA		882	5.6%	10.8%	0.52
Synergy Family Physicians, P.A	•	47	4.3%	10.0%	0.43
The Emily Program	V	308	1.3%	9.4%	0.14
Tri-County Health Care	•	406	8.6%	9.3%	0.93
United Family Medicine		596	5.5%	8.3%	0.67
Unity Family Healthcare, Family Medical Center		533	5.6%	9.5%	0.60
University of Minnesota Physicians		2,266	2.9%	8.2%	0.35
Voyage Healthcare		918	3.9%	11.1%	0.35
Welia Health	V	572	6.3%	9.6%	0.65
West Side Community Health Services		419	4.3%	7.3%	0.59
Westfields Hospital and Clinic	*	266	22.9%	10.9%	2.11
Williams Integracare Clinic		107	2.8%	9.1%	0.31
Winona Health Services	•	775	8.5%	10.1%	0.85
Woodland Centers		304	2.6%	8.5%	0.31
Zumbro Valley Health Center		59	1.7%	9.0%	0.19

Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

27 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

## Adolescent Depression - Six Month Follow-up

2020 report year (2019 dates of service)

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	43.4%		
Allina Health		1,712	50.4%	44.3%	1.14
Alomere Health	*	63	61.9%	44.0%	1.41
Altru Health System	•	36	8.3%	43.2%	0.19
Amery Hospital and Clinic	•	48	45.8%	41.5%	1.10
Associated Clinic of Psychology	•	124	46.8%	43.2%	1.08
CentraCare Health	*	905	57.8%	42.5%	1.36
Children's Minnesota	•	299	37.1%	45.1%	0.82
Cuyuna Regional Medical Center	•	42	28.6%	41.1%	0.69
Entira Family Clinics (formerly Family Health Services MN)		138	53.6%	43.4%	1.23
Essentia Health	▼	437	30.4%	41.1%	0.74
Fairview Health Services		821	40.1%	45.1%	0.89
Fairview Mesaba Clinics	•	53	47.2%	40.6%	1.16
Glencoe Regional Health Services	*	50	56.0%	44.2%	1.27
Grand Itasca Clinic	•	55	38.2%	41.3%	0.93
HealthPartners Central Minnesota Clinics	•	52	38.5%	42.6%	0.90
HealthPartners Clinics	•	772	43.7%	43.8%	1.00
Hennepin Healthcare		77	15.6%	38.9%	0.40
Lake Region Healthcare	•	76	52.6%	43.2%	1.22
Lakeland Mental Health Center	•	153	35.3%	41.9%	0.84
Mankato Clinic, Ltd.	*	220	70.5%	42.5%	1.66
Mayo Clinic	•	354	46.9%	44.5%	1.05
Mayo Clinic Health System	•	717	39.6%	43.3%	0.91
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)		426	50.0%	43.6%	1.15
North Memorial	$\bullet$	101	24.8%	41.9%	0.59
Northfield Hospital + Clinics	•	41	17.1%	41.1%	0.42
NorthPoint Health & Wellness Center	•	86	39.5%	35.0%	1.13
Northwestern Mental Health Center	•	53	49.1%	42.3%	1.16
Olmsted Medical Center	•	145	37.9%	40.7%	0.93
Park Nicollet Health Services		890	56.3%	44.8%	1.26
Perham Health	•	35	28.6%	42.5%	0.67
Sanford Health	▼	955	34.1%	43.1%	0.79
South Lake Pediatrics	٠	200	48.0%	45.6%	1.05

★ Top performer 🔰 🔺 Above statewide average

Average

e 🛛 🔻 Below statewide average

ige CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	43.4%		
Southdale Pediatric Associates, Ltd		341	32.3%	44.5%	0.73
St. Croix Regional Medical Center	•	80	46.3%	43.7%	1.06
St. Luke's Clinics	$\bullet$	67	0.0%	40.9%	0.00
Stellis Health, PA	$\bullet$	153	34.6%	44.8%	0.77
The Emily Program	•	31	45.2%	44.1%	1.03
Tri-County Health Care	*	32	59.4%	43.1%	1.38
Unity Family Healthcare, Family Medical Center	٠	65	38.5%	42.0%	0.92
University of Minnesota Physicians	$\bullet$	73	19.2%	38.7%	0.50
Voyage Healthcare	•	47	25.5%	44.8%	0.57
Wayzata Children's Clinic	$\bullet$	67	13.4%	46.7%	0.29
Welia Health	٠	61	44.3%	39.0%	1.13
Winona Health Services		31	16.1%	42.8%	0.38

▲ Above statewide average Average Below statewide average CI = Confidence interval 📌 Top performer NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

29 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

### Adolescent Depression - Response at Six Months

2020 report year (2019 dates of service)

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	15.5%		
Allina Health	•	1,712	16.4%	15.7%	1.04
Alomere Health	•	63	23.8%	15.4%	1.55
Altru Health System		36	2.8%	15.7%	0.18
Amery Hospital and Clinic	•	48	20.8%	14.6%	1.42
Associated Clinic of Psychology	•	124	15.3%	15.3%	1.00
CentraCare Health	*	905	22.3%	15.0%	1.49
Children's Minnesota	•	299	14.4%	15.9%	0.90
Cuyuna Regional Medical Center	$\mathbf{V}$	42	2.4%	14.4%	0.17
Entira Family Clinics (formerly Family Health Services MN)	*	138	24.6%	15.6%	1.58
Essentia Health	•	437	13.3%	15.1%	0.88
Fairview Health Services	•	821	13.8%	16.3%	0.85
Fairview Mesaba Clinics	•	53	20.8%	14.8%	1.40
Glencoe Regional Health Services	٠	50	20.0%	15.6%	1.28
Grand Itasca Clinic	•	55	14.6%	15.3%	0.95
HealthPartners Central Minnesota Clinics	•	52	13.5%	15.2%	0.89
HealthPartners Clinics	•	772	14.3%	15.6%	0.91
Hennepin Healthcare	▼	77	3.9%	13.6%	0.29
Lake Region Healthcare	•	76	15.8%	15.0%	1.05
Lakeland Mental Health Center	▼	153	9.2%	14.9%	0.62
Mankato Clinic, Ltd.	*	220	27.7%	15.0%	1.84
Mayo Clinic	•	354	17.8%	15.9%	1.12
Mayo Clinic Health System	٠	717	15.3%	15.3%	1.00
Minnesota Mental Health Clinics (Eagan, Apple					
Valley, Edina, Lakeville, Maplewood, Minneapolis,	•	426	15.5%	15.7%	0.99
Woodbury)					
North Memorial		101	6.9%	15.1%	0.46
Northfield Hospital + Clinics		41	4.9%	14.6%	0.33
NorthPoint Health & Wellness Center	•	86	17.4%	12.9%	1.35
Northwestern Mental Health Center	•	53	24.5%	15.1%	1.62
Olmsted Medical Center	•	145	12.4%	14.5%	0.86
Park Nicollet Health Services	•	890	17.8%	15.8%	1.12
Perham Health	•	35	8.6%	15.5%	0.55
Sanford Health	•	955	14.4%	15.5%	0.93
South Lake Pediatrics		200	15.5%	16.3%	0.95

★ Top performer 🔰 🔺 Above statewide average

Average

e 🛛 🔻 Below statewide average

e average CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	15.5%		
Southdale Pediatric Associates, Ltd		341	11.1%	15.8%	0.70
St. Croix Regional Medical Center	•	80	18.8%	15.6%	1.20
St. Luke's Clinics	$\mathbf{\bullet}$	67	0.0%	14.6%	0.00
Stellis Health, PA	•	153	12.4%	15.9%	0.78
The Emily Program	•	31	9.7%	16.1%	0.60
Tri-County Health Care	•	32	21.9%	15.6%	1.40
Unity Family Healthcare, Family Medical Center	•	65	15.4%	14.6%	1.05
University of Minnesota Physicians	•	73	6.9%	14.0%	0.49
Voyage Healthcare	•	47	8.5%	15.9%	0.53
Wayzata Children's Clinic	•	67	10.5%	16.6%	0.63
Welia Health	•	61	18.0%	14.2%	1.27
Winona Health Services	•	31	6.5%	15.3%	0.42

▲ Above statewide average • Average **V** Below statewide average CI = Confidence interval ★ Top performer NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

31 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

### Adolescent Depression - Remission at Six Months

2020 report year (2019 dates of service)

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	8.0%		
Allina Health	•	1,712	7.9%	8.1%	0.97
Alomere Health	•	63	17.5%	8.0%	2.19
Altru Health System	▼	36	0.0%	8.8%	0.00
Amery Hospital and Clinic	•	48	8.3%	7.1%	1.17
Associated Clinic of Psychology	•	124	8.1%	8.2%	0.98
CentraCare Health	*	905	12.5%	7.9%	1.58
Children's Minnesota	•	299	8.7%	8.8%	0.99
Cuyuna Regional Medical Center	$\mathbf{V}$	42	0.0%	6.9%	0.00
Entira Family Clinics (formerly Family Health Services MN)	*	138	14.5%	8.3%	1.75
Essentia Health	•	437	6.6%	7.6%	0.87
Fairview Health Services	•	821	7.2%	8.4%	0.85
Fairview Mesaba Clinics	•	53	13.2%	7.6%	1.75
Glencoe Regional Health Services	•	50	10.0%	8.1%	1.23
Grand Itasca Clinic	•	55	5.5%	7.6%	0.71
HealthPartners Central Minnesota Clinics	•	52	7.7%	7.5%	1.03
HealthPartners Clinics	▼	772	5.8%	7.9%	0.74
Hennepin Healthcare	▼	77	0.0%	6.6%	0.00
Lake Region Healthcare	•	76	11.8%	8.2%	1.44
Lakeland Mental Health Center	•	153	6.5%	7.4%	0.89
Mankato Clinic, Ltd.	*	220	15.5%	8.2%	1.88
Mayo Clinic	•	354	9.6%	8.5%	1.13
Mayo Clinic Health System	•	717	7.3%	8.1%	0.90
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	•	426	6.8%	7.9%	0.86
North Memorial	٠	101	5.0%	7.3%	0.68
Northfield Hospital + Clinics	$\mathbf{V}$	41	0.0%	7.5%	0.00
NorthPoint Health & Wellness Center	•	86	11.6%	6.6%	1.76
Northwestern Mental Health Center	•	53	15.1%	7.6%	1.99
Olmsted Medical Center	•	145	7.6%	7.4%	1.02
Park Nicollet Health Services	•	890	8.7%	8.2%	1.06
Perham Health	•	35	2.9%	7.4%	0.38
Sanford Health	*	955	8.1%	7.8%	1.04
South Lake Pediatrics		200	6.5%	8.7%	0.75

★ Top performer 🔰 🔺 Above statewide average

e 🔹 🔍 Average

e 🛛 🔻 Below statewide average

average CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	8.0%		
Southdale Pediatric Associates, Ltd		341	5.0%	8.6%	0.58
St. Croix Regional Medical Center	•	80	10.0%	8.0%	1.25
St. Luke's Clinics		67	0.0%	7.9%	0.00
Stellis Health, PA	•	153	8.5%	8.0%	1.06
The Emily Program	•	31	9.7%	8.0%	1.21
Tri-County Health Care	•	32	9.4%	7.6%	1.24
Unity Family Healthcare, Family Medical Center	•	65	9.2%	7.8%	1.18
University of Minnesota Physicians	•	73	4.1%	6.7%	0.62
Voyage Healthcare	•	47	4.3%	8.4%	0.51
Wayzata Children's Clinic	•	67	6.0%	8.8%	0.68
Welia Health	•	61	9.8%	7.2%	1.38
Winona Health Services	•	31	3.2%	7.4%	0.44

▲ Above statewide average Average Below statewide average CI = Confidence interval 📌 Top performer NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

33 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

## Adolescent Depression - 12 Month Follow-up

2020 report year (2019 dates of service)

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	38.9%		
Allina Health	•	1,712	39.2%	40.1%	0.98
Alomere Health	*	63	57.1%	39.7%	1.44
Altru Health System	▼	36	5.6%	38.8%	0.14
Amery Hospital and Clinic	•	48	43.8%	37.1%	1.18
Associated Clinic of Psychology		124	27.4%	38.7%	0.71
CentraCare Health		905	45.9%	37.6%	1.22
Children's Minnesota	•	299	39.8%	41.0%	0.97
Cuyuna Regional Medical Center	•	42	31.0%	36.6%	0.85
Entira Family Clinics (formerly Family Health Services MN)		138	52.9%	38.6%	1.37
Essentia Health	V	437	28.2%	36.3%	0.78
Fairview Health Services		821	44.6%	41.0%	1.09
Fairview Mesaba Clinics	•	53	39.6%	36.1%	1.10
Glencoe Regional Health Services	•	50	38.0%	40.1%	0.95
Grand Itasca Clinic	V	55	20.0%	36.6%	0.55
HealthPartners Central Minnesota Clinics	•	52	38.5%	38.4%	1.00
HealthPartners Clinics		772	43.0%	39.6%	1.09
Hennepin Healthcare	▼	77	16.9%	34.3%	0.49
Lake Region Healthcare	*	76	55.3%	38.8%	1.42
Lakeland Mental Health Center	•	153	37.3%	36.9%	1.01
Mankato Clinic, Ltd.	*	220	63.2%	38.3%	1.65
Mayo Clinic	•	354	43.8%	40.3%	1.09
Mayo Clinic Health System	•	717	36.3%	39.2%	0.93
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	•	426	35.7%	38.6%	0.92
North Memorial	V	101	20.8%	36.9%	0.56
Northfield Hospital + Clinics	•	41	0.0%	34.6%	0.00
NorthPoint Health & Wellness Center	•	86	29.1%	30.3%	0.96
Northwestern Mental Health Center	•	53	30.2%	37.9%	0.80
Olmsted Medical Center	•	145	40.0%	35.4%	1.13
Park Nicollet Health Services	*	890	56.3%	40.5%	1.39
Perham Health	•	35	25.7%	37.4%	0.69
Sanford Health		955	28.9%	38.6%	0.75

Above statewide average ★ Top performer

Average

▼ Below statewide average

CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	38.9%		
South Lake Pediatrics	•	200	42.0%	40.9%	1.03
Southdale Pediatric Associates, Ltd		341	30.5%	39.7%	0.77
St. Croix Regional Medical Center	•	80	43.8%	39.7%	1.10
St. Luke's Clinics		67	11.9%	35.7%	0.33
Stellis Health, PA	$\mathbf{\bullet}$	153	25.5%	40.3%	0.63
The Emily Program	•	31	32.3%	39.1%	0.82
Tri-County Health Care	*	32	56.3%	39.0%	1.44
Unity Family Healthcare, Family Medical Center	•	65	40.0%	37.6%	1.07
University of Minnesota Physicians	•	73	23.3%	34.0%	0.69
Voyage Healthcare	•	47	38.3%	40.7%	0.94
Wayzata Children's Clinic	•	67	41.8%	42.7%	0.98
Welia Health	•	61	42.6%	31.9%	1.34
Winona Health Services		31	16.1%	38.0%	0.42

▲ Above statewide average • Average **V** Below statewide average CI = Confidence interval 📌 Top performer NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

35 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

## Adolescent Depression - Response at 12 Months

2020 report year (2019 dates of service)

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	14.5%		
Allina Health		1,712	12.3%	14.9%	0.83
Alomere Health	•	63	22.2%	14.5%	1.53
Altru Health System		36	2.8%	13.9%	0.20
Amery Hospital and Clinic	•	48	18.8%	13.8%	1.36
Associated Clinic of Psychology	•	124	12.1%	14.4%	0.84
CentraCare Health		905	18.6%	14.0%	1.33
Children's Minnesota	•	299	13.7%	15.3%	0.90
Cuyuna Regional Medical Center	•	42	21.4%	13.4%	1.61
Entira Family Clinics (formerly Family Health Services MN)	*	138	26.1%	14.8%	1.77
Essentia Health	▼	437	8.9%	13.5%	0.66
Fairview Health Services	•	821	16.4%	15.3%	1.07
Fairview Mesaba Clinics	•	53	9.4%	13.2%	0.71
Glencoe Regional Health Services	•	50	16.0%	14.6%	1.10
Grand Itasca Clinic	•	55	9.1%	13.7%	0.66
HealthPartners Central Minnesota Clinics	•	52	21.2%	14.0%	1.51
HealthPartners Clinics	•	772	15.5%	14.7%	1.05
Hennepin Healthcare	▼	77	5.2%	12.5%	0.42
Lake Region Healthcare	*	76	25.0%	14.1%	1.77
Lakeland Mental Health Center	•	153	16.3%	14.0%	1.17
Mankato Clinic, Ltd.	*	220	29.1%	14.0%	2.08
Mayo Clinic	•	354	18.6%	15.0%	1.25
Mayo Clinic Health System	•	717	13.4%	14.4%	0.93
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	•	426	11.5%	14.9%	0.77
North Memorial	•	101	9.9%	14.1%	0.70
Northfield Hospital + Clinics	•	41	0.0%	13.9%	0.00
NorthPoint Health & Wellness Center	•	86	12.8%	10.8%	1.18
Northwestern Mental Health Center	•	53	11.3%	13.7%	0.83
Olmsted Medical Center	•	145	15.9%	13.2%	1.20
Park Nicollet Health Services	*	890	21.8%	15.1%	1.44
Perham Health		35	11.4%	14.3%	0.80
Sanford Health		955	11.2%	14.4%	0.78
South Lake Pediatrics	•	200	15.0%	15.6%	0.96

★ Top performer 🔰 🔺 Above statewide average

e 🛛 🗨 Average

ge 🛛 🔻 Below statewide average

e average CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	14.5%		
Southdale Pediatric Associates, Ltd		341	9.1%	15.2%	0.60
St. Croix Regional Medical Center	•	80	16.3%	14.5%	1.12
St. Luke's Clinics		67	3.0%	13.6%	0.22
Stellis Health, PA	$\mathbf{\nabla}$	153	5.9%	15.2%	0.39
The Emily Program	•	31	9.7%	15.3%	0.63
Tri-County Health Care	•	32	18.8%	14.4%	1.30
Unity Family Healthcare, Family Medical Center	•	65	16.9%	13.5%	1.25
University of Minnesota Physicians	$\mathbf{V}$	73	2.7%	12.6%	0.22
Voyage Healthcare	•	47	19.2%	15.3%	1.25
Wayzata Children's Clinic	•	67	14.9%	16.0%	0.93
Welia Health	*	61	21.3%	13.1%	1.62
Winona Health Services		31	0.0%	14.4%	0.00

▲ Above statewide average Average Below statewide average CI = Confidence interval 📌 Top performer NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

37 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

©2020 MN Community Measurement. All Rights Reserved.

## Adolescent Depression - Remission at 12 Months

2020 report year (2019 dates of service)

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	7.8%		
Allina Health		1,712	5.3%	8.0%	0.66
Alomere Health	•	63	12.7%	7.9%	1.61
Altru Health System	•	36	2.8%	7.7%	0.36
Amery Hospital and Clinic	•	48	6.3%	7.2%	0.87
Associated Clinic of Psychology	٠	124	6.5%	8.1%	0.80
CentraCare Health		905	11.5%	7.7%	1.49
Children's Minnesota	٠	299	8.0%	8.7%	0.92
Cuyuna Regional Medical Center	*	42	16.7%	7.0%	2.40
Entira Family Clinics (formerly Family Health Services MN)	*	138	18.1%	8.1%	2.24
Essentia Health	•	437	4.8%	7.0%	0.69
Fairview Health Services		821	9.1%	8.1%	1.13
Fairview Mesaba Clinics	•	53	5.7%	7.0%	0.81
Glencoe Regional Health Services	•	50	10.0%	8.0%	1.25
Grand Itasca Clinic	•	55	5.5%	7.0%	0.78
HealthPartners Central Minnesota Clinics	•	52	11.5%	7.3%	1.59
HealthPartners Clinics	•	772	7.3%	7.9%	0.92
Hennepin Healthcare	•	77	2.6%	6.6%	0.40
Lake Region Healthcare	•	76	10.5%	8.0%	1.32
Lakeland Mental Health Center	•	153	7.2%	7.3%	0.99
Mankato Clinic, Ltd.	*	220	16.4%	7.8%	2.09
Mayo Clinic		354	11.0%	8.3%	1.34
Mayo Clinic Health System	•	717	7.7%	7.9%	0.97
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	•	426	5.2%	7.8%	0.66
North Memorial	•	101	5.9%	7.3%	0.81
Northfield Hospital + Clinics	•	41	0.0%	7.7%	0.00
NorthPoint Health & Wellness Center	•	86	7.0%	5.7%	1.22
Northwestern Mental Health Center	•	53	7.6%	7.2%	1.05
Olmsted Medical Center	*	145	11.0%	7.1%	1.55
Park Nicollet Health Services	*	890	12.5%	8.2%	1.52
Perham Health	•	35	5.7%	7.3%	0.79
Sanford Health	٠	955	5.5%	7.6%	0.72

Above statewide average ★ Top performer

Average

Below statewide average

CI = Confidence interval

Medical Group Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	7.8%		
South Lake Pediatrics	•	200	10.5%	8.7%	1.21
Southdale Pediatric Associates, Ltd		341	4.4%	8.5%	0.52
St. Croix Regional Medical Center	•	80	8.8%	7.7%	1.14
St. Luke's Clinics	•	67	3.0%	7.8%	0.39
Stellis Health, PA		153	1.3%	8.0%	0.16
The Emily Program	٠	31	3.2%	8.0%	0.40
Tri-County Health Care	•	32	3.1%	7.1%	0.44
Unity Family Healthcare, Family Medical Center	٠	65	10.8%	7.6%	1.42
University of Minnesota Physicians	•	73	2.7%	6.5%	0.42
Voyage Healthcare	٠	47	10.6%	8.3%	1.28
Wayzata Children's Clinic	•	67	11.9%	8.7%	1.37
Welia Health	•	61	13.1%	7.1%	1.84
Winona Health Services		31	0.0%	7.3%	0.00

★ Top performer ▲ Above statewide average ● Average ▼ Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

39 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

©2020 MN Community Measurement. All Rights Reserved.

## DEPRESSION SCREENING MEASURES BY CLINIC Adolescent Mental Health and/or Depression Screening

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health	Denominator	Rate	95% CI	95% CI
		Score			Lower	Upper
STATEWIDE AVERAGE			166,311	88.7%		l
AALFA Family Clinic	AALFA Family Clinic-MHN	*	242	100.0%	98.4%	100.0%
Advanced Medical Clinic	Advanced Medical Clinic, Inc.	•	80	95.0%	87.8%	98.0%
All About Children Pediatrics -	All About Children Pediatrics,		570	99.3%	98.2%	99.7%
Children's Health Network	P.A.					
Allina Health	Allina Health - Annandale	•	139	89.9%	83.8%	93.9%
Allina Health	Allina Health - Bandana Square		777	94.0%	92.0%	95.4%
Allina Health	Allina Health - Blaine	•	259	88.0%	83.5%	91.4%
Allina Health	Allina Health - Bloomington		437	95.4%	93.0%	97.0%
Allina Health	Allina Health - Brooklyn Park	•	176	92.6%	87.8%	95.6%
Allina Health	Allina Health - Buffalo		266	95.5%	92.3%	97.4%
Allina Health	Allina Health - Buffalo Crossroads	•	244	91.8%	87.7%	94.6%
Allina Health	Allina Health - Burnsville	•	118	88.1%	81.1%	92.8%
Allina Health	Allina Health - Cambridge		878	92.3%	90.3%	93.8%
Allina Health	Allina Health - Centennial Lakes	•	90	90.0%	82.1%	94.6%
Allina Health	Allina Health - Champlin		549	94.4%	92.1%	96.0%
Allina Health	Allina Health - Chaska	•	215	92.1%	87.7%	95.0%
Allina Health	Allina Health - Cokato		111	95.5%	89.9%	98.1%
Allina Health	Allina Health - Coon Rapids		1,789	94.4%	93.2%	95.4%
Allina Health	Allina Health - Cottage Grove		656	92.5%	90.3%	94.3%
Allina Health	Allina Health - Dean Lakes	$\bullet$	139	82.0%	74.8%	87.5%
Allina Health	Allina Health - Eagan		625	95.2%	93.2%	96.6%
Allina Health	Allina Health - East Lake Street	•	187	91.4%	86.6%	94.7%
Allina Health	Allina Health - Edina Family Physicians	•	133	85.0%	77.9%	90.0%
Allina Health	Allina Health - Elk River		475	96.8%	94.9%	98.1%
Allina Health	Allina Health - Faribault	•	564	90.2%	87.5%	92.4%
Allina Health	Allina Health - Farmington	•	235	92.3%	88.2%	95.1%
Allina Health	Allina Health - Forest Lake		413	93.5%	90.7%	95.5%
Allina Health	Allina Health - Fridley		171	95.9%	91.8%	98.0%
Allina Health	Allina Health - Hastings	•	642	90.7%	88.2%	92.7%
Allina Health	Allina Health - Highland Park	•	202	89.1%	84.1%	92.7%
Allina Health	Allina Health - Inver Grove Heights		230	93.0%	89.0%	95.7%
Allina Health	Allina Health - Isanti		170	93.5%	88.8%	96.3%
Allina Health	Allina Health - Lakeville	•	144	86.8%	80.3%	91.4%
Allina Health	Allina Health - Maple Grove		327	90.5%	86.9%	93.2%

🕇 Top performer

🔺 Above statewide average

▼ Below statewide average

1

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

• Average

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%		
Allina Health	Allina Health - Maplewood	▼	441	85.0%	81.4%	88.1%
Allina Health	Allina Health - New Ulm Medical Center		671	93.6%	91.5%	95.2%
Allina Health	Allina Health - Northfield		706	92.1%	89.8%	93.8%
Allina Health	Allina Health - Oakdale Clinic	*	82	100.0%	95.5%	100.0%
Allina Health	Allina Health - Plymouth	•	124	89.5%	82.9%	93.8%
Allina Health	Allina Health - Ramsey		543	93.9%	91.6%	95.6%
Allina Health	Allina Health - Richfield	•	288	87.5%	83.2%	90.8%
Allina Health	Allina Health - Savage		174	95.4%	91.2%	97.7%
Allina Health	Allina Health - Shakopee	•	217	86.2%	81.0%	90.1%
Allina Health	Allina Health - Shoreview		471	91.7%	88.9%	93.9%
Allina Health	Allina Health - St. Francis Health Services - Jordan	•	44	97.7%	88.2%	99.6%
Allina Health	Allina Health - St. Michael	•	275	86.5%	82.0%	90.1%
Allina Health	Allina Health - Vadnais Heights	•	71	91.5%	82.8%	96.1%
Allina Health	Allina Health - West St. Paul	$\bullet$	373	84.7%	80.7%	88.0%
Allina Health	Allina Health - Winthrop Area Clinic - New Ulm Med Ctr	•	46	91.3%	79.7%	96.6%
Allina Health	Allina Health - Woodbury	•	757	88.1%	85.6%	90.2%
Alomere Health	Alexandria Clinic, A Service of Alomere Health		683	93.6%	91.5%	95.2%
Alomere Health	Osakis Medical Clinic, A Service of Alomere Health	•	64	89.1%	79.1%	94.6%
Altru Health System	Altru Health System - Crookston	$\bullet$	97	79.4%	70.3%	86.2%
Altru Health System	Altru Health System - Devils Lake	▼	173	17.3%	12.4%	23.7%
Altru Health System	Altru Health System - East Grand Forks	▼	43	27.9%	16.7%	42.7%
Altru Health System	Altru Health System - Grand Forks	▼	1,455	58.3%	55.7%	60.8%
Altru Health System	Altru Health System - Roseau		122	56.6%	47.7%	65.0%
Altru Health System	Altru Health System - Warroad	•	54	85.2%	73.4%	92.3%
Amery Hospital and Clinic	AHC - Amery	•	324	88.0%	84.0%	91.1%
Amery Hospital and Clinic	AHC - Clear Lake		81	81.5%	71.7%	88.4%
Amery Hospital and Clinic	AHC - Luck	•	49	85.7%	73.3%	92.9%
Amery Hospital and Clinic	AHC - Turtle Lake	•	68	94.1%	85.8%	97.7%
Apple Valley Medical Clinic	Apple Valley Medical Clinic - Family Practice	▼	254	79.9%	74.6%	84.4%
Appleton Area Health Services	Appleton Clinic	٠	30	96.7%	83.3%	99.4%
Avera Medical Group	Avera - Pipestone County Medical Center	▼	146	71.9%	64.1%	78.6%
Avera Medical Group	Avera Medical Group - Marshall		575	75.3%	71.6%	78.7%

🔺 Above statewide average Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%		
Avera Medical Group	Avera Medical Group - Windom	•	83	84.3%	75.0%	90.6%
Avera Medical Group	Avera Medical Group - Worthington	٠	294	88.8%	84.7%	91.9%
Avera Medical Group	Tyler Medical Clinic - Avera		37	62.2%	46.1%	75.9%
CCM Health	CCM HEALTH		130	97.7%	93.4%	99.2%
Cedar Riverside People's Center	Cedar Riverside People's Center - People's Center Medical Clinic	•	229	91.7%	87.4%	94.6%
CentraCare Health	Carris Health - Litchfield East Clinic	•	126	92.1%	86.0%	95.6%
CentraCare Health	Carris Health - Litchfield West Clinic	•	122	91.0%	84.6%	94.9%
CentraCare Health	Carris Health - New London Clinic	٠	164	93.3%	88.4%	96.2%
CentraCare Health	Carris Health - Redwood Clinic	•	169	88.8%	83.1%	92.7%
CentraCare Health	Carris Health - Willmar Main Clinic	•	544	90.6%	87.9%	92.8%
CentraCare Health	Centracare Clinic - Albany		178	94.9%	90.7%	97.3%
CentraCare Health	CentraCare Clinic - Becker	•	155	92.9%	87.7%	96.0%
CentraCare Health	CentraCare Clinic - Big Lake	•	129	91.5%	85.4%	95.2%
CentraCare Health	CentraCare Clinic - Northway	•	245	91.4%	87.3%	94.3%
CentraCare Health	Centracare Clinic - SCMG Clearwater Medical Clinic	•	70	95.7%	88.1%	98.5%
CentraCare Health	Centracare Clinic - SCMG Cold Spring Medical Clinic	•	113	92.9%	86.6%	96.4%
CentraCare Health	Centracare Clinic - SCMG Northwest		665	93.8%	91.7%	95.4%
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South		425	96.9%	94.8%	98.2%
CentraCare Health	CentraCare Clinic - St. Joseph		67	97.0%	89.8%	99.2%
CentraCare Health	CentraCare Health - Family Health Center	•	192	85.9%	80.3%	90.2%
CentraCare Health	CentraCare Health - Long Prairie		172	95.3%	91.1%	97.6%
CentraCare Health	CentraCare Health - Melrose	•	206	88.8%	83.8%	92.4%
CentraCare Health	CentraCare Health - Paynesville Clinic		197	95.4%	91.5%	97.6%
CentraCare Health	CentraCare Health - Paynesville- Eden Valley	•	47	95.7%	85.8%	98.8%
CentraCare Health	CentraCare Health - Paynesville- Richmond	•	91	92.3%	85.0%	96.2%
CentraCare Health	CentraCare Health - Sauk Centre	٠	214	87.4%	82.3%	91.2%
CentraCare Health	CentraCare Health Plaza - Pediatrics		2,565	95.5%	94.6%	96.3%
Central Pediatrics	Central Pediatrics Roseville	*	1,114	100.0%	99.7%	100.0%

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%		
Central Pediatrics	Central Pediatrics Woodbury		2,353	100.0%	99.8%	100.0%
Child and Teen Medical Center	Child and Teen Medical Center- Blaine	*	536	100.0%	99.3%	100.0%
Child and Teen Medical Center	Child and Teen Medical Center- Fridley	*	523	100.0%	99.3%	100.0%
Children's Minnesota	Children's MN General Pediatric Clinic - Minneapolis	*	1,664	100.0%	99.8%	100.0%
Children's Minnesota	Children's MN General Pediatric Clinic - St. Paul	*	922	100.0%	99.6%	100.0%
Children's Minnesota	Children's MN Hugo Clinic	*	649	100.0%	99.4%	100.0%
Children's Minnesota	Children's MN Metropolitan Pediatric Specialists - Burnsville	*	1,408	100.0%	99.7%	100.0%
Children's Minnesota	Children's MN Metropolitan Pediatric Specialists - Edina	*	1,499	100.0%	99.7%	100.0%
Children's Minnesota	Children's MN Metropolitan Pediatric Specialists - Shakopee	*	1,217	100.0%	99.7%	100.0%
Children's Minnesota	Children's MN Partners in Pediatrics Brooklyn Park	*	1,023	100.0%	99.6%	100.0%
Children's Minnesota	Children's MN Partners in Pediatrics Calhoun	*	664	100.0%	99.4%	100.0%
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	*	1,393	100.0%	99.7%	100.0%
Children's Minnesota	Children's MN Partners in Pediatrics Plymouth	*	1,089	100.0%	99.6%	100.0%
Children's Minnesota	Children's MN Partners in Pediatrics Rogers	*	1,122	100.0%	99.7%	100.0%
Children's Minnesota	Children's MN West St. Paul Clinic	*	417	100.0%	99.1%	100.0%
Cromwell Medical Clinic PLLC - IHN	Cromwell Medical Clinic, PLLC	•	46	95.7%	85.5%	98.8%
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Baxter	▼	102	81.4%	72.7%	87.7%
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Crosby Clinic		258	94.6%	91.1%	96.7%
Dawson Clinic	Johnson Memorial Health Services - Dawson Clinic	*	84	100.0%	95.6%	100.0%
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	Duluth Family Medicine Clinic (formerly Duluth Family Practice Center)		60	98.3%	91.1%	99.7%
Eagan Valley Pediatrics	Eagan Valley Pediatrics		508	97.8%	96.2%	98.8%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Como/Roseville (formerly Family HealthServices Minnesota - Larpenteur Clinic)	•	100	87.0%	79.0%	92.2%

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%		
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - East Side (formerly Family HealthServices Minnesota - Maryland Clinic)	▼	215	80.9%	75.2%	85.6%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Highland (formerly Family HealthServices Minnesota - Highland Family Physicians)	•	92	83.7%	74.8%	89.9%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Inver Grove Heights (formerly Family HealthServices Minnesota - Inver Grove Heights)	▼	110	77.3%	68.6%	84.1%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - North St. Paul (formerly Family HealthServices Minnesota - North St. Paul Clinic)	•	125	88.0%	81.1%	92.6%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Shoreview (formerly Family HealthServices Minnesota - Shoreview)	▼	95	77.9%	68.6%	85.1%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Vadnais Heights (formerly Family HealthServices Minnesota - Vadnais Heights)	•	70	82.9%	72.4%	89.9%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - West St. Paul (formerly Family HealthServices Minnesota - Gorman Clinic)	▼	94	79.8%	70.6%	86.7%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - White Bear Lake/Banning Ave (formerly Family Health Services MN Banning Clinic)	▼	135	74.1%	66.1%	80.7%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Woodbury (formerly Family HealthServices Minnesota - Woodbury)	•	183	89.6%	84.4%	93.3%
Essentia Health	EH Central Baxter Clinic		987	98.1%	97.0%	98.8%
Essentia Health	EH Central Brainerd Clinic	*	167	100.0%	97.8%	100.0%
Essentia Health	EH Central Crosslake Clinic	*	46	100.0%	92.3%	100.0%
Essentia Health	EH Central Pequot Lakes Clinic	*	83	100.0%	95.6%	100.0%
Essentia Health	EH Central Pierz Clinic	*	54	100.0%	93.4%	100.0%
Essentia Health	EH Central Pillager Clinic	•	54	96.3%	87.5%	99.0%
Essentia Health	EH Central Pine River Clinic	*	59	100.0%	93.9%	100.0%
Essentia Health	EH East Ashland Clinic		237	48.9%	42.6%	55.3%
Essentia Health	EH East Deer River Clinic		59	94.9%	86.1%	98.3%

🔺 Above statewide average Average Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% CI	95% Cl
STATEWIDE AVERAGE		Score	166,311	88.7%	Lower	Upper
Essentia Health	EH East Duluth Clinic 1st St		1,461	93.6%	92.3%	94.8%
Essentia Health	EH East Ely Clinic		103	43.7%	34.5%	53.3%
Essentia Health	EH East Grand Rapids Clinic		102	95.1%	89.0%	97.9%
Essentia Health	EH East Hayward Clinic		222	82.4%	76.9%	86.9%
Essentia Health	EH East Hermantown Clinic		369	98.1%	96.1%	99.1%
Essentia Health	EH East Hibbing Clinic		94	98.9%	94.2%	99.8%
Essentia Health	EH East International Falls Clinic		121	97.5%	93.0%	99.2%
Essentia Health	EH East Lakeside Clinic		187	98.9%	96.2%	99.7%
Essentia Health	EH East Lakewalk Clinic		214	97.7%	94.6%	99.0%
Essentia Health	EH East Northern Pines Clinic	*	117	100.0%	96.8%	100.0%
Essentia Health	EH East Proctor Clinic	*	123	100.0%	97.0%	100.0%
Essentia Health	EH East Spooner Clinic		145	74.5%	66.8%	80.9%
Essentia Health	EH East Superior Clinic		259	97.7%	95.0%	98.9%
Essentia Health	EH East Virginia Clinic		222	97.3%	94.2%	98.8%
Essentia Health	EH East West Duluth Clinic		366	85.2%	81.2%	88.5%
Essentia Health	EH West 52nd Avenue Clinic	•	277	88.4%	84.1%	91.7%
Essentia Health	EH West 7 Day Clinic Osgood	*	37	100.0%	90.6%	100.0%
Essentia Health	EH West Ada Clinic	*	63	100.0%	94.3%	100.0%
Essentia Health	EH West Casselton Clinic	•	38	92.1%	79.2%	97.3%
Essentia Health	EH West Detroit Lakes Clinic		284	97.9%	95.5%	99.0%
Essentia Health	EH West Fosston Clinic		103	98.1%	93.2%	99.5%
Essentia Health	EH West Frazee Clinic	*	50	100.0%	92.9%	100.0%
Essentia Health	EH West Graceville Clinic	*	33	100.0%	89.6%	100.0%
Essentia Health	EH West Jamestown Clinic	*	147	100.0%	97.5%	100.0%
Essentia Health	EH West Lisbon	•	43	97.7%	87.9%	99.6%
Essentia Health	EH West Menahga Clinic	*	70	100.0%	94.8%	100.0%
Essentia Health	EH West Moorhead		190	97.9%	94.7%	99.2%
Essentia Health	EH West Park Rapids Clinic		318	99.1%	97.3%	99.7%
Essentia Health	EH West Pelican Rapids Clinic	•	43	97.7%	87.9%	99.6%
Essentia Health	EH West South University Clinic		873	93.9%	92.1%	95.3%
Essentia Health	EH West Valley City Clinic		169	99.4%	96.7%	99.9%
Essentia Health	EH West Wahpeton Clinic		168	99.4%	96.7%	99.9%
Essentia Health	EH West Walker Clinic	*	31	100.0%	89.0%	100.0%
Essentia Health	EH West West Acres Clinic	*	151	100.0%	97.5%	100.0%
Essentia Health	EH West West Fargo Clinic		267	99.3%	97.3%	99.8%
Fairview Health Services	HealthEast Clinic - Hugo		174	97.1%	93.4%	98.8%
Fairview Health Services	M Health Fairview Children's Clinic		926	97.7%	96.6%	98.5%
Fairview Health Services	M Health Fairview Clinic Andover		816	98.7%	97.6%	99.2%

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%		
Fairview Health Services	M Health Fairview Clinic Apple Valley		194	99.5%	97.1%	99.9%
Fairview Health Services	M Health Fairview Clinic Bass Lake	•	106	94.3%	88.2%	97.4%
Fairview Health Services	M Health Fairview Clinic Blaine	•	373	86.1%	82.2%	89.2%
Fairview Health Services	M Health Fairview Clinic Brooklyn Park		509	92.1%	89.5%	94.2%
Fairview Health Services	M Health Fairview Clinic Burnsville		607	99.3%	98.3%	99.7%
Fairview Health Services	M Health Fairview Clinic Chisago City	▼	85	80.0%	70.3%	87.1%
Fairview Health Services	M Health Fairview Clinic Columbia Heights		293	96.9%	94.3%	98.4%
Fairview Health Services	M Health Fairview Clinic Cottage Grove	▼	219	69.9%	63.5%	75.6%
Fairview Health Services	M Health Fairview Clinic Eagan		391	94.1%	91.3%	96.0%
Fairview Health Services	M Health Fairview Clinic Eden Prairie	•	164	87.2%	81.2%	91.5%
Fairview Health Services	M Health Fairview Clinic Elk River		536	98.9%	97.6%	99.5%
Fairview Health Services	M Health Fairview Clinic Farmington	*	176	100.0%	97.9%	100.0%
Fairview Health Services	M Health Fairview Clinic Fridley		241	97.1%	94.1%	98.6%
Fairview Health Services	M Health Fairview Clinic Grand Avenue	•	175	89.1%	83.7%	92.9%
Fairview Health Services	M Health Fairview Clinic Hiawatha		170	97.1%	93.3%	98.7%
Fairview Health Services	M Health Fairview Clinic Highland Park		163	96.9%	93.0%	98.7%
Fairview Health Services	M Health Fairview Clinic Hugo	•	131	93.1%	87.5%	96.3%
Fairview Health Services	M Health Fairview Clinic Lake Street	*	40	100.0%	91.2%	100.0%
Fairview Health Services	M Health Fairview Clinic Lakeville		145	94.5%	89.5%	97.2%
Fairview Health Services	M Health Fairview Clinic Lino Lakes		315	97.1%	94.7%	98.5%
Fairview Health Services	M Health Fairview Clinic Maplewood	٠	553	86.1%	82.9%	88.7%
Fairview Health Services	M Health Fairview Clinic Milaca		114	96.5%	91.3%	98.6%
Fairview Health Services	M Health Fairview Clinic New Brighton		236	96.2%	92.9%	98.0%
Fairview Health Services	M Health Fairview Clinic North Branch		299	99.0%	97.1%	99.7%

🔺 Above statewide average Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%		
Fairview Health Services	M Health Fairview Clinic Oakdale		188	95.2%	91.2%	97.5%
Fairview Health Services	M Health Fairview Clinic Oxboro		450	98.4%	96.8%	99.2%
Fairview Health Services	M Health Fairview Clinic Pine City	*	62	100.0%	94.2%	100.0%
Fairview Health Services	M Health Fairview Clinic Princeton		309	95.1%	92.1%	97.0%
Fairview Health Services	M Health Fairview Clinic Prior Lake	•	141	85.8%	79.1%	90.6%
Fairview Health Services	M Health Fairview Clinic Rice Street	٠	429	86.5%	82.9%	89.4%
Fairview Health Services	M Health Fairview Clinic Riverside	▼	70	72.9%	61.5%	81.9%
Fairview Health Services	M Health Fairview Clinic Rogers		83	96.4%	89.9%	98.8%
Fairview Health Services	M Health Fairview Clinic Roselawn	•	453	88.5%	85.3%	91.1%
Fairview Health Services	M Health Fairview Clinic Rosemount	*	324	100.0%	98.8%	100.0%
Fairview Health Services	M Health Fairview Clinic Roseville	٠	79	88.6%	79.7%	93.9%
Fairview Health Services	M Health Fairview Clinic Savage	•	108	84.3%	76.2%	89.9%
Fairview Health Services	M Health Fairview Clinic Tamarack		738	92.0%	89.8%	93.8%
Fairview Health Services	M Health Fairview Clinic Uptown		175	96.0%	92.0%	98.0%
Fairview Health Services	M Health Fairview Clinic Vadnais Heights	•	123	87.0%	79.9%	91.8%
Fairview Health Services	M Health Fairview Clinic Woodwinds		463	93.7%	91.1%	95.6%
Fairview Health Services	M Health Fairview Clinic Wyoming		557	95.0%	92.8%	96.5%
Fairview Health Services	M Health Fairview Clinic Xerxes	*	62	100.0%	94.2%	100.0%
Fairview Health Services	M Health Fairview Clinic Zimmerman		181	97.2%	93.7%	98.8%
Fairview Health Services	M Health Fairview Clinic Stillwater		143	95.8%	91.1%	98.1%
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	٠	299	91.3%	87.6%	94.0%
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Mountain Iron	▼	111	71.2%	62.1%	78.8%

🔺 Above statewide average

Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

47 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE	•		166,311	88.7%		
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Nashwauk	•	59	94.9%	86.1%	98.3%
Family Practice Medical Center of Willmar	Family Practice Medical Center of Willmar	▼	374	10.2%	7.5%	13.6%
Glencoe Regional Health Services	Glencoe Regional Health Services - Glencoe		330	96.4%	93.8%	97.9%
Glencoe Regional Health Services	Glencoe Regional Health Services - Lester Prairie	٠	56	94.6%	85.4%	98.2%
Glenwood Medical Center	Glenwood Medical Center	$\bullet$	32	50.0%	33.6%	66.4%
Grand Itasca Clinic	Grand Itasca Clinic		574	95.3%	93.2%	96.7%
Granite Falls Municipal Hospital & Manor Clinic	Granite Falls Health Clinic	•	75	94.7%	87.1%	97.9%
Grow Pediatrics	Grow Pediatrics - IGH		147	98.6%	95.2%	99.6%
Gundersen Health System	Gundersen Health System - Houston Clinic	•	54	88.9%	77.8%	94.8%
Gundersen Health System	Gundersen Health System - La Crescent Clinic		77	96.1%	89.2%	98.7%
Gundersen Health System	Gundersen Health System - Spring Grove Clinic	▼	64	79.7%	68.3%	87.7%
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics	٠	622	89.6%	86.9%	91.7%
HealthPartners Clinics	HealthPartners - Andover	$\bullet$	443	84.2%	80.5%	87.3%
HealthPartners Clinics	HealthPartners - Anoka		669	93.9%	91.8%	95.5%
HealthPartners Clinics	HealthPartners - Apple Valley		524	93.7%	91.3%	95.5%
HealthPartners Clinics	HealthPartners - Arden Hills		513	91.8%	89.1%	93.9%
HealthPartners Clinics	HealthPartners - Bloomington		363	92.6%	89.4%	94.8%
HealthPartners Clinics	HealthPartners - Brooklyn Center	▼	654	85.9%	83.1%	88.4%
HealthPartners Clinics	HealthPartners - Como		819	93.3%	91.4%	94.8%
HealthPartners Clinics	HealthPartners - Coon Rapids		578	92.7%	90.3%	94.6%
HealthPartners Clinics	HealthPartners - Cottage Grove		138	94.2%	89.0%	97.0%
HealthPartners Clinics	HealthPartners - Curve Crest Clinic	▼	1,547	83.6%	81.7%	85.4%
HealthPartners Clinics	HealthPartners - Eagan	•	221	86.9%	81.8%	90.7%
HealthPartners Clinics	HealthPartners - Elk River		668	92.2%	89.9%	94.0%
HealthPartners Clinics	HealthPartners - Highland Park	•	91	90.1%	82.3%	94.7%
HealthPartners Clinics	HealthPartners - Hugo		104	95.2%	89.2%	97.9%
HealthPartners Clinics	HealthPartners - Inver Grove Heights		361	95.6%	92.9%	97.3%
HealthPartners Clinics	HealthPartners - Lino Lakes	•	247	90.7%	86.4%	93.7%
HealthPartners Clinics	HealthPartners - Mahtomedi Clinic	•	134	93.3%	87.7%	96.4%

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE		50010	166,311	88.7%	Lower	oppei
HealthPartners Clinics	HealthPartners - Maplewood		640	92.3%	90.0%	94.2%
HealthPartners Clinics	HealthPartners - Midway	•	628	89.8%	87.2%	91.9%
HealthPartners Clinics	HealthPartners - Nokomis	•	114	83.3%	75.4%	89.1%
HealthPartners Clinics	HealthPartners - Riverside		384	85.4%	81.5%	88.6%
HealthPartners Clinics	HealthPartners - Roseville		170	94.7%	90.2%	97.2%
HealthPartners Clinics	HealthPartners - Somerset Clinic	•	290	88.3%	84.1%	91.5%
HealthPartners Clinics	HealthPartners - St Paul	•	667	83.2%	80.2%	85.9%
HealthPartners Clinics	HealthPartners - West	•	209	89.0%	84.0%	92.6%
HealthPartners Clinics	HealthPartners - White Bear Lake		670	91.9%	89.6%	93.8%
HealthPartners Clinics	HealthPartners - Woodbury	•	1,211	88.1%	86.2%	89.8%
Hennepin Healthcare	Hennepin Healthcare Brooklyn Park Clinic	▼	111	82.0%	73.8%	88.0%
Hennepin Healthcare	Hennepin Healthcare East Lake Clinic	٠	150	88.0%	81.8%	92.3%
Hennepin Healthcare	Hennepin Healthcare Golden Valley Clinic	•	72	90.3%	81.3%	95.2%
Hennepin Healthcare	Hennepin Healthcare Pediatric Clinic	▼	874	8.2%	6.6%	10.2%
Hennepin Healthcare	Hennepin Healthcare Richfield Clinic	▼	494	7.7%	5.7%	10.4%
Hennepin Healthcare	Hennepin Healthcare St. Anthony Village Clinic	▼	54	51.9%	38.9%	64.6%
Hennepin Healthcare	Hennepin Healthcare Whittier Clinic	▼	367	67.3%	62.3%	71.9%
Hutchinson Health	Hutchinson Health - Dassel Clinic	•	52	96.2%	87.0%	98.9%
Hutchinson Health	Hutchinson Health - Hutchinson Clinic	▼	485	84.7%	81.3%	87.7%
Indian Health Board of Minneapolis	Indian Health Board of Minneapolis	•	89	89.9%	81.9%	94.6%
Lac Qui Parle Clinic	Lac Qui Parle Clinic	*	55	100.0%	93.5%	100.0%
Lake Region Healthcare	Lake Region Healthcare - Barnesville Clinic	•	39	94.9%	83.1%	98.6%
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls		535	92.2%	89.6%	94.1%
Lake View Clinic - Two Harbors	Lake View Clinic - Two Harbors		89	71.9%	61.8%	80.2%
Lakewood Health Center Clinic	LakeWood Health Center Clinic	•	52	84.6%	72.5%	92.0%
Lakewood Health System	Lakewood Health System - Browerville Clinic	•	46	93.5%	82.5%	97.8%
Lakewood Health System	Lakewood Health System - Eagle Valley Clinic	٠	46	95.7%	85.5%	98.8%

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%		
Lakewood Health System	Lakewood Health System - Motley Clinic	*	71	100.0%	94.9%	100.0%
Lakewood Health System	Lakewood Health System - Pillager Clinic		115	98.3%	93.9%	99.5%
Lakewood Health System	Lakewood Health System - Staples Clinic		251	96.4%	93.3%	98.1%
Mankato Clinic, Ltd.	Mankato Clinic - Children's Health Center		1,154	94.2%	92.7%	95.4%
Mankato Clinic, Ltd.	Mankato Clinic - Daniel's Health Center		298	95.0%	91.9%	96.9%
Mankato Clinic, Ltd.	Mankato Clinic - Main Street	•	121	92.6%	86.5%	96.0%
Mankato Clinic, Ltd.	Mankato Clinic - North Mankato		161	94.4%	89.7%	97.0%
Mankato Clinic, Ltd.	Mankato Clinic - Wickersham Campus		207	98.1%	95.1%	99.2%
Mayo Clinic	Mayo Clinic - Baldwin Building, Family Medicine		268	96.3%	93.3%	98.0%
Mayo Clinic	Mayo Clinic - Baldwin Building, Pediatrics		903	97.7%	96.5%	98.5%
Mayo Clinic	Mayo Clinic - Kasson		172	98.8%	95.9%	99.7%
Mayo Clinic	Mayo Clinic - Northeast		500	98.4%	96.9%	99.2%
Mayo Clinic	Mayo Clinic - Northwest		330	98.2%	96.1%	99.2%
Mayo Clinic	Mayo Family Clinic Southeast		237	98.3%	95.7%	99.3%
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	•	375	90.4%	87.0%	93.0%
Mayo Clinic Health System	Mayo Clinic Health System Austin		519	91.5%	88.8%	93.6%
Mayo Clinic Health System	Mayo Clinic Health System Belle Plaine	*	37	100.0%	90.6%	100.0%
Mayo Clinic Health System	Mayo Clinic Health System Cannon Falls	•	84	86.9%	78.1%	92.5%
Mayo Clinic Health System	Mayo Clinic Health System Fairmont		163	95.7%	91.4%	97.9%
Mayo Clinic Health System	Mayo Clinic Health System Faribault Campus Location	•	278	85.6%	81.0%	89.3%
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in Caledonia	*	51	100.0%	93.0%	100.0%
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in LaCrescent	*	56	100.0%	93.6%	100.0%
Mayo Clinic Health System	Mayo Clinic Health System Janesville	•	50	82.0%	69.2%	90.2%

🔺 Above statewide average

 Average Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE	•		166,311	88.7%		
Mayo Clinic Health System	Mayo Clinic Health System Lake City	▼	57	59.6%	46.7%	71.4%
Mayo Clinic Health System	Mayo Clinic Health System Le Sueur	*	60	100.0%	94.0%	100.0%
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge	•	431	88.9%	85.5%	91.5%
Mayo Clinic Health System	Mayo Clinic Health System Mankato Northridge	•	199	86.4%	81.0%	90.5%
Mayo Clinic Health System	Mayo Clinic Health System Montgomery	•	63	92.1%	82.7%	96.6%
Mayo Clinic Health System	Mayo Clinic Health System New Prague		117	95.7%	90.4%	98.2%
Mayo Clinic Health System	Mayo Clinic Health System New Richland	▼	36	72.2%	56.0%	84.2%
Mayo Clinic Health System	Mayo Clinic Health System Owatonna		725	92.8%	90.7%	94.5%
Mayo Clinic Health System	Mayo Clinic Health System Plainview	•	36	80.6%	65.0%	90.2%
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	▼	473	80.1%	76.3%	83.5%
Mayo Clinic Health System	Mayo Clinic Health System Red Wing in Zumbrota	▼	84	77.4%	67.4%	85.0%
Mayo Clinic Health System	Mayo Clinic Health System Sherburn	*	42	100.0%	91.6%	100.0%
Mayo Clinic Health System	Mayo Clinic Health System Springfield		69	97.1%	90.0%	99.2%
Mayo Clinic Health System	Mayo Clinic Health System St. James		95	95.8%	89.7%	98.4%
Mayo Clinic Health System	Mayo Clinic Health System St. Peter	•	133	93.2%	87.6%	96.4%
Mayo Clinic Health System	Mayo Clinic Health System Waseca		95	96.8%	91.1%	98.9%
Mendakota Pediatrics Ltd	Mendakota Pediatrics		251	97.6%	94.9%	98.9%
Mille Lacs Health System	Mille Lacs Health System - Isle	•	45	97.8%	88.4%	99.6%
Mille Lacs Health System	Mille Lacs Health System - Onamia	•	110	90.9%	84.1%	95.0%
Native American Community Clinic	Native American Community Clinic	▼	62	41.9%	30.5%	54.3%
Neighborhood Healthsource	Neighborhood HealthSource - Central Clinic	•	81	40.7%	30.7%	51.6%
Neighborhood Healthsource	Neighborhood HealthSource - Fremont Clinic	▼	55	49.1%	36.4%	61.9%

🔺 Above statewide average

 Average Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%		
Neighborhood Healthsource	Neighborhood HealthSource - Sheridan Clinic	▼	90	58.9%	48.6%	68.5%
North Memorial	North Memorial Health - Minnetonka Medical Center	▼	86	77.9%	68.1%	85.4%
North Memorial	North Memorial Health Clinic - Blaine		504	94.8%	92.5%	96.5%
North Memorial	North Memorial Health Clinic - Brooklyn Center	▼	61	80.3%	68.7%	88.4%
North Memorial	North Memorial Health Clinic - Brooklyn Park	•	62	82.3%	71.0%	89.8%
North Memorial	North Memorial Health Clinic - Camden	•	71	93.0%	84.6%	97.0%
North Memorial	North Memorial Health Clinic - Elk River	•	139	89.9%	83.8%	93.9%
North Memorial	North Memorial Health Clinic - Fridley	•	181	90.1%	84.8%	93.6%
North Memorial	North Memorial Health Clinic - Golden Valley	•	104	87.5%	79.8%	92.5%
North Memorial	North Memorial Health Clinic - Maple Grove	•	134	83.6%	76.4%	88.9%
North Memorial	North Memorial Health Clinic - New Hope	•	164	90.9%	85.5%	94.4%
North Memorial	North Memorial Health Clinic - Roseville	▼	61	73.8%	61.6%	83.2%
North Memorial	North Memorial Health Clinic - St. Anthony		193	97.4%	94.1%	98.9%
North Valley Health Center	North Valley Health Center		43	0.0%	0.0%	8.2%
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Farmington Clinic		120	95.8%	90.6%	98.2%
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lakeville Clinic		137	95.6%	90.8%	98.0%
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lonsdale Clinic		51	98.0%	89.7%	99.7%
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Northfield Clinic		228	96.5%	93.2%	98.2%
NorthPoint Health & Wellness Center	NorthPoint Health & Wellness Center	▼	487	85.6%	82.2%	88.5%
Northwest Family Physicians	Northwest Family Physicians - Crystal	▼	156	64.7%	57.0%	71.8%
Northwest Family Physicians	Northwest Family Physicians - Plymouth	•	91	84.6%	75.8%	90.6%
Northwest Family Physicians	Northwest Family Physicians - Rogers	•	87	90.8%	82.9%	95.3%

🔺 Above statewide average Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%		
Olmsted Medical Center	Olmsted Medical Center - Byron Clinic		120	98.3%	94.1%	99.5%
Olmsted Medical Center	Olmsted Medical Center - Cannon Falls	•	46	82.6%	69.3%	90.9%
Olmsted Medical Center	Olmsted Medical Center - Chatfield Clinic	▼	39	74.4%	58.9%	85.4%
Olmsted Medical Center	Olmsted Medical Center - Lake City	•	55	94.5%	85.1%	98.1%
Olmsted Medical Center	Olmsted Medical Center - Pine Island Clinic	•	57	96.5%	88.1%	99.0%
Olmsted Medical Center	Olmsted Medical Center - Plainview Clinic		51	98.0%	89.7%	99.7%
Olmsted Medical Center	Olmsted Medical Center - Preston Clinic	•	66	92.4%	83.5%	96.7%
Olmsted Medical Center	Olmsted Medical Center - Rochester Northwest	▼	380	82.9%	78.8%	86.3%
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast		605	93.1%	90.7%	94.8%
Olmsted Medical Center	Olmsted Medical Center - St. Charles Clinic	•	64	95.3%	87.1%	98.4%
Olmsted Medical Center	Olmsted Medical Center - Stewartville Clinic	▼	99	77.8%	68.6%	84.8%
Olmsted Medical Center	Olmsted Medical Center - Wanamingo Clinic	•	30	100.0%	88.6%	100.0%
Open Cities Health Center	Open Cities Health (Dunlap) - Family Medicine	•	77	87.0%	77.7%	92.8%
Open Door Health Center	Open Door Health Center		68	79.4%	68.4%	87.3%
Ortonville Area Health Services- Northside Medical Clinic	Ortonville Area Health Services- Northside Medical Clinic	•	125	90.4%	84.0%	94.4%
Park Nicollet Health Services	Park Nicollet Clinic - Bloomington	•	453	91.4%	88.4%	93.6%
Park Nicollet Health Services	Park Nicollet Clinic - Brookdale	•	1,255	89.3%	87.5%	90.9%
Park Nicollet Health Services	Park Nicollet Clinic - Burnsville	•	947	88.6%	86.4%	90.5%
Park Nicollet Health Services	Park Nicollet Clinic - Carlson	•	709	87.2%	84.5%	89.4%
Park Nicollet Health Services	Park Nicollet Clinic - Champlin		373	92.8%	89.7%	95.0%
Park Nicollet Health Services	Park Nicollet Clinic - Chanhassen	•	1,117	86.8%	84.7%	88.7%
Park Nicollet Health Services	Park Nicollet Clinic - Creekside		79	96.2%	89.4%	98.7%
Park Nicollet Health Services	Park Nicollet Clinic - Eagan	٠	965	86.7%	84.4%	88.7%
Park Nicollet Health Services	Park Nicollet Clinic - Eden Prairie	•	218	90.4%	85.7%	93.6%
Park Nicollet Health Services	Park Nicollet Clinic - Golden Valley	•	84	88.1%	79.5%	93.4%
Park Nicollet Health Services	Park Nicollet Clinic - Lakeville		498	91.6%	88.8%	93.7%

🔺 Above statewide average Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%	201101	oppe.
	Park Nicollet Clinic - Maple	•			06.00/	00.40/
Park Nicollet Health Services	Grove	•	941	88.5%	86.3%	90.4%
Park Nicollet Health Services	Park Nicollet Clinic - Minneapolis	•	636	88.5%	85.8%	90.8%
Park Nicollet Health Services	Park Nicollet Clinic - Plymouth		758	85.4%	82.7%	87.7%
Park Nicollet Health Services	Park Nicollet Clinic - Prior Lake	•	394	87.8%	84.2%	90.7%
Park Nicollet Health Services	Park Nicollet Clinic - Rogers		377	93.9%	91.0%	95.9%
Park Nicollet Health Services	Park Nicollet Clinic - Shakopee	•	1,153	90.2%	88.3%	91.8%
Park Nicollet Health Services	Park Nicollet Clinic - Shorewood		113	98.2%	93.8%	99.5%
Park Nicollet Health Services	Park Nicollet Clinic - SmartCare	•	120	94.2%	88.4%	97.1%
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Family Medicine	٠	247	90.3%	85.9%	93.4%
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Pediatrics	▼	1,582	82.9%	80.9%	84.6%
Park Nicollet Health Services	Park Nicollet Clinic - Wayzata		69	81.2%	70.4%	88.6%
Pediatric & Young Adult Medicine	Pediatric and Young Adult Medicine, PA - Eagan	*	496	100.0%	99.2%	100.0%
Pediatric & Young Adult Medicine	Pediatric and Young Adult Medicine, PA - Hudson	*	199	100.0%	98.1%	100.0%
Pediatric & Young Adult Medicine	Pediatric and Young Adult Medicine, PA - Lake Elmo	*	208	100.0%	98.2%	100.0%
Pediatric & Young Adult Medicine	Pediatric and Young Adult Medicine, PA - Maplewood	*	349	100.0%	98.9%	100.0%
Pediatric & Young Adult Medicine	Pediatric and Young Adult Medicine, PA - St. Paul	*	485	100.0%	99.2%	100.0%
Pediatric Services - Children's						
Physician Network	Pediatric Services	*	1,514	100.0%	99.7%	100.0%
Perham Health	Perham Health Clinic		255	79.2%	73.8%	83.7%
Perham Health	Perham Health New York Mills Clinic	▼	69	79.7%	68.8%	87.5%
Prairie Ridge Hospital & Health Services	Prairie Ridge Hospital & Health Services - Elbow Lake	▼	56	80.4%	68.2%	88.7%
Prairie Ridge Hospital & Health Services	Prairie Ridge Hospital & Health Services - Morris	▼	31	32.3%	18.6%	49.9%
Renville County Hospital and Clinics	Renville County Hospital and Clinics - Hector	•	32	96.9%	84.3%	99.4%
Renville County Hospital and Clinics	Renville County Hospital and Clinics - Olivia	•	97	94.8%	88.5%	97.8%
Ridgeview Clinics	Ridgeview Belle Plaine Clinic	•	39	92.3%	79.7%	97.3%
Ridgeview Clinics	Ridgeview Chanhassen Clinic	•	55	96.4%	87.7%	99.0%
Ridgeview Clinics	Ridgeview Chaska Clinic	•	33	90.9%	76.4%	96.9%
Ridgeview Clinics	Ridgeview Delano Clinic	•	109	88.1%	80.7%	92.9%
Ridgeview Clinics	Ridgeview Excelsior Clinic	*	69	100.0%	94.7%	100.0%
Riugeview Cillics		<b>A</b>	69	100.0%	94.1%	100.0%

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE		50010	166,311	88.7%	Lower	оррсі
Ridgeview Clinics	Ridgeview Howard Lake Clinic	*	55	100.0%	93.5%	100.0%
RiverView Health	RiverView Clinic		334	58.4%	53.0%	63.5%
Riverwood Healthcare Center	Riverwood Aitkin Clinic	<b>V</b>	119	69.7%	61.0%	77.3%
Riverwood Healthcare Center	Riverwood McGregor Clinic	V	83	71.1%	60.6%	79.7%
Sanford Health	Sanford Aberdeen Children's Clinic	•	112	77.7%	69.1%	84.4%
Sanford Health	Sanford Aberdeen Clinic		195	65.1%	58.2%	71.5%
Sanford Health	Sanford Bagley Clinic		75	30.7%	21.4%	41.8%
Sanford Health	Sanford Bemidji 1611 Anne St Clinic - Family Medicine	•	53	90.6%	79.7%	95.9%
Sanford Health	Sanford Bemidji 1611 Anne St Clinic - Pediatrics	▼	331	69.8%	64.6%	74.5%
Sanford Health	Sanford Bemidji Main Clinic - Family Medicine	▼	380	81.6%	77.4%	85.2%
Sanford Health	Sanford Blackduck Clinic		50	42.0%	29.4%	55.8%
Sanford Health	Sanford Brandon Clinic	•	362	90.9%	87.5%	93.4%
Sanford Health	Sanford Canby Clinic	•	100	88.0%	80.2%	93.0%
Sanford Health	Sanford Canton Clinic		212	93.4%	89.2%	96.0%
Sanford Health	Sanford Cass Lake Clinic	•	31	80.6%	63.7%	90.8%
Sanford Health	Sanford Chamberlain Clinic		179	56.4%	49.1%	63.5%
Sanford Health	Sanford Children's Clinic 32nd & Ellis - Pediatrics	▼	221	73.8%	67.6%	79.1%
Sanford Health	Sanford Clear Lake Clinic		41	41.5%	27.8%	56.6%
Sanford Health	Sanford East Grand Forks Clinic		162	27.8%	21.5%	35.1%
Sanford Health	Sanford Edgerton Clinic		38	76.3%	60.8%	87.0%
Sanford Health	Sanford Fargo Broadway Clinic - Family Medicine Residency	•	46	84.8%	71.8%	92.4%
Sanford Health	Sanford Fargo Broadway Clinic - Pediatrics	•	199	93.0%	88.5%	95.8%
Sanford Health	Sanford Fargo Children's Southwest Clinic	▼	2,450	86.3%	84.9%	87.6%
Sanford Health	Sanford Fargo Children's Veterans Square Clinic	•	107	92.5%	85.9%	96.2%
Sanford Health	Sanford Fargo North Fargo Clinic	▼	144	71.5%	63.7%	78.3%
Sanford Health	Sanford Fargo Southpointe Clinic - Family Medicine	•	327	90.2%	86.5%	93.0%
Sanford Health	Sanford Fargo Veterans Square Clinic - Family Medicine	▼	197	62.9%	56.0%	69.4%
Sanford Health	Sanford Hartley Clinic		31	51.6%	34.8%	68.0%
Sanford Health	Sanford Hawley Clinic	•	73	82.2%	71.9%	89.3%
Sanford Health	Sanford Health Adrian Clinic	٠	66	84.8%	74.3%	91.6%

🔺 Above statewide average Average

🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%		
Sanford Health	Sanford Health Alexandria Broadway Clinic	▼	418	75.1%	70.8%	79.0%
Sanford Health	Sanford Health Beresford Clinic		125	80.8%	73.0%	86.7%
Sanford Health	Sanford Health Brookings Clinic	•	328	89.6%	85.9%	92.5%
Sanford Health	Sanford Health Detroit Lakes Clinic	▼	392	61.2%	56.3%	65.9%
Sanford Health	Sanford Health Edgeley Clinic		40	50.0%	35.2%	64.8%
Sanford Health	Sanford Health Enderlin Clinic		53	66.0%	52.6%	77.3%
Sanford Health	Sanford Health Estelline Clinic		31	58.1%	40.8%	73.6%
Sanford Health	Sanford Health Gwinner Clinic		48	75.0%	61.2%	85.1%
Sanford Health	Sanford Health Hartford Clinic		324	92.6%	89.2%	95.0%
Sanford Health	Sanford Health Hillsboro Clinic		153	82.4%	75.5%	87.6%
Sanford Health	Sanford Health Ipswich Clinic	•	71	85.9%	76.0%	92.2%
Sanford Health	Sanford Health Jamestown Clinic	▼	403	63.0%	58.2%	67.6%
Sanford Health	Sanford Health LaMoure Clinic		66	66.7%	54.7%	76.8%
Sanford Health	Sanford Health Lennox Clinic		78	37.2%	27.3%	48.3%
Sanford Health	Sanford Health Lidgerwood Clinic	▼	63	47.6%	35.8%	59.7%
Sanford Health	Sanford Health Lisbon Clinic		30	63.3%	45.5%	78.1%
Sanford Health	Sanford Health Mahnomen Clinic	•	34	82.4%	66.5%	91.7%
Sanford Health	Sanford Health Mitchell Clinic		268	71.6%	66.0%	76.7%
Sanford Health	Sanford Health Mountain Lake Clinic	•	67	82.1%	71.3%	89.4%
Sanford Health	Sanford Health Oakes Clinic		70	78.6%	67.6%	86.6%
Sanford Health	Sanford Health Parkers Prairie Clinic	•	51	96.1%	86.8%	98.9%
Sanford Health	Sanford Health Pelican Rapids Clinic	•	86	89.5%	81.3%	94.4%
Sanford Health	Sanford Health Pierre Clinic		68	45.6%	34.3%	57.3%
Sanford Health	Sanford Health Valley City Clinic	$\bullet$	203	80.8%	74.8%	85.6%
Sanford Health	Sanford Health Vermillion Clinic		194	37.1%	30.6%	44.1%
Sanford Health	Sanford Health Wahpeton Clinic		353	68.3%	63.2%	72.9%
Sanford Health	Sanford Health Walker Clinic		40	75.0%	59.8%	85.8%
Sanford Health	Sanford Health Watertown Clinic	▼	431	71.9%	67.5%	76.0%
Sanford Health	Sanford Health Wheaton Clinic	•	61	93.4%	84.3%	97.4%
Sanford Health	Sanford Health Windom Clinic		48	54.2%	40.3%	67.4%
Sanford Health	Sanford Jackson Clinic		78	47.4%	36.7%	58.4%
Sanford Health	Sanford Kimball Clinic	•	48	81.3%	68.1%	89.8%
Sanford Health	Sanford Lakefield Clinic		37	78.4%	62.8%	88.6%

🔺 Above statewide average Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%		oppo.
Sanford Health	Sanford Luverne Clinic	▼	327	57.8%	52.4%	63.0%
Sanford Health	Sanford Mayville Clinic		186	33.9%	27.5%	40.9%
Sanford Health	Sanford Moorhead Clinic - Family Medicine	•	205	82.0%	76.1%	86.6%
Sanford Health	Sanford Moorhead Clinic - Pediatrics	•	602	90.2%	87.6%	92.3%
Sanford Health	Sanford Rock Rapids Clinic		193	78.2%	71.9%	83.5%
Sanford Health	Sanford Sanborn Clinic		83	42.2%	32.1%	52.9%
Sanford Health	Sanford Sheldon Clinic		365	38.6%	33.8%	43.7%
Sanford Health	Sanford Sioux Falls 26th & Sycamore Family Medicine Clinic	▼	538	74.0%	70.1%	77.5%
Sanford Health	Sanford Sioux Falls 32nd & Ellis Family Medicine Clinic	▼	448	73.2%	68.9%	77.1%
Sanford Health	Sanford Sioux Falls 34th & Kiwanis Family Medicine Clinic	▼	278	38.8%	33.3%	44.7%
Sanford Health	Sanford Sioux Falls 49th & Oxbow Family Medicine Clinic	▼	541	56.2%	52.0%	60.3%
Sanford Health	Sanford Sioux Falls 4th & Sycamore Family Medicine Clinic	▼	328	57.6%	52.2%	62.9%
Sanford Health	Sanford Sioux Falls 69th & Louise Family Medicine Clinic	▼	187	82.4%	76.3%	87.1%
Sanford Health	Sanford Sioux Falls 69th & Minnesota Family Medicine Clinic	▼	764	25.7%	22.7%	28.9%
Sanford Health	Sanford Sioux Falls Children's 26th & Sycamore Clinic	▼	733	68.6%	65.2%	71.9%
Sanford Health	Sanford Sioux Falls Children's 69th & Louise Clinic	•	714	90.8%	88.4%	92.7%
Sanford Health	Sanford Sioux Falls Children's Clinic	▼	551	80.0%	76.5%	83.2%
Sanford Health	Sanford Thief River Falls Clinic		205	61.0%	54.2%	67.4%
Sanford Health	Sanford Tracy Clinic		96	95.8%	89.8%	98.4%
Sanford Health	Sanford Webster Clinic		47	55.3%	41.2%	68.6%
Sanford Health	Sanford West Fargo Clinic - Family Medicine	▼	278	84.9%	80.2%	88.6%
Sanford Health	Sanford West Fargo Clinic – Pediatrics		139	97.1%	92.8%	98.9%
Sanford Health	Sanford Westbrook Clinic	•	54	85.2%	73.4%	92.3%
Sanford Health	Sanford Worthington Clinic		262	76.0%	70.4%	80.7%
Sartell Pediatrics - IHN	Sartell Pediatrics		427	97.2%	95.2%	98.4%
Sawtooth Mountain Clinic	Sawtooth Mountain Clinic, Inc	٠	96	84.4%	75.8%	90.3%

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%		-
Scenic Rivers Health Services	Scenic Rivers Health Services - Bigfork	•	36	83.3%	68.1%	92.1%
Scenic Rivers Health Services	Scenic Rivers Health Services - Cook	•	41	85.4%	71.6%	93.1%
Sleepy Eye Medical Center	Sleepy Eye Medical Center		85	71.8%	61.4%	80.2%
South Lake Pediatrics	South Lake Pediatrics - Chaska	*	257	100.0%	98.5%	100.0%
South Lake Pediatrics	South Lake Pediatrics - Childrens West		474	97.7%	95.9%	98.7%
South Lake Pediatrics	South Lake Pediatrics - Eden Prairie		392	99.7%	98.6%	100.0%
South Lake Pediatrics	South Lake Pediatrics - Maple Grove		816	99.1%	98.2%	99.6%
South Lake Pediatrics	South Lake Pediatrics - Minnetonka		797	99.2%	98.4%	99.7%
South Lake Pediatrics	South Lake Pediatrics - Plymouth		806	99.1%	98.2%	99.6%
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville		1,987	97.5%	96.8%	98.1%
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Eden Prairie		1,102	98.7%	97.9%	99.2%
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina		2,013	97.2%	96.4%	97.9%
Southside Community Health Services	Southside Medical Clinic		210	97.6%	94.5%	99.0%
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Frederic Clinic	▼	133	75.9%	68.0%	82.4%
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Lindstrom Clinic	▼	98	63.3%	53.4%	72.1%
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic	▼	246	83.7%	78.6%	87.8%
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Unity Clinic	▼	68	72.1%	60.4%	81.3%
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Webster Clinic	▼	136	37.5%	29.8%	45.9%
St. Luke's Clinics	St Luke's Clinics-Chequamegon Clinic	▼	121	68.6%	59.9%	76.2%
St. Luke's Clinics	St Luke's Clinics-Denfeld		70	65.7%	54.0%	75.8%
St. Luke's Clinics	St Luke's Clinics-Hibbing Family Medical Clinic	▼	73	64.4%	52.9%	74.4%
St. Luke's Clinics	St Luke's Clinics-Laurentian		141	81.6%	74.4%	87.1%
St. Luke's Clinics	St Luke's Clinics-Lester River	•	77	94.8%	87.4%	98.0%
St. Luke's Clinics	St Luke's Clinics-Mariner Medical Clinic	*	102	100.0%	96.4%	100.0%

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%		
St. Luke's Clinics	St Luke's Clinics-Medical Arts Clinic	٠	37	81.1%	65.8%	90.5%
St. Luke's Clinics	St Luke's Clinics-Miller Creek		52	75.0%	61.8%	84.8%
St. Luke's Clinics	St Luke's Clinics-Mount Royal		173	74.6%	67.6%	80.5%
St. Luke's Clinics	St Luke's Clinics-P.S. Rudie Medical Clinic	٠	187	90.9%	85.9%	94.2%
St. Luke's Clinics	St Luke's Clinics-Pediatrics		539	98.7%	97.3%	99.4%
Stellis Health, PA	Stellis Health - Albertville-St. Michael Clinic	▼	244	74.6%	68.8%	79.6%
Stellis Health, PA	Stellis Health-Buffalo Clinic		716	73.9%	70.5%	77.0%
Stellis Health, PA	Stellis Health-Monticello Clinic		696	93.4%	91.3%	95.0%
Swift County Benson Health	Swift County Benson Health		100	00.00/	00.00/	00.00/
Services	Services-Rural Health Clinic		129	96.9%	92.3%	98.8%
Tri-County Health Care	Tri-County Health Care - Bertha Clinic	•	34	85.3%	69.9%	93.6%
Tri-County Health Care	Tri-County Health Care - Henning Clinic	•	52	88.5%	77.0%	94.6%
Tri-County Health Care	Tri-County Health Care - Ottertail Clinic	▼	31	77.4%	60.2%	88.6%
Tri-County Health Care	Tri-County Health Care - Sebeka Clinic	•	37	86.5%	72.0%	94.1%
Tri-County Health Care	Tri-County Health Care - Wadena Clinic	▼	233	84.1%	78.9%	88.3%
United Family Medicine	United Family Medicine		315	71.7%	66.5%	76.4%
Unity Family Healthcare, Family Medical Center	Community Medical Center Pierz	*	38	100.0%	90.8%	100.0%
Unity Family Healthcare, Family Medical Center	Family Medical Center		474	96.6%	94.6%	97.9%
University of Minnesota Physicians	University of Minnesota Health - Fairview Maple Grove Medical Center	٠	175	92.0%	87.0%	95.2%
University of Minnesota Physicians	University of Minnesota Health - Smiley's Family Medicine Clinic		175	98.9%	95.9%	99.7%
University of Minnesota Physicians	University of Minnesota Physicians - Bethesda Family Medicine Clinic		400	95.3%	92.7%	96.9%
University of Minnesota Physicians	University of Minnesota Physicians - Broadway Family Medicine Clinic		187	94.1%	89.8%	96.7%
University of Minnesota Physicians	University of Minnesota Physicians - Phalen Village Family Medicine Clinic	•	203	89.7%	84.7%	93.1%
Voyage Healthcare	Voyage Healthcare - Crystal		36	61.1%	44.9%	75.2%

🔺 Above statewide average Average Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			166,311	88.7%		
Voyage Healthcare	Voyage Healthcare - Maple Grove	•	179	89.4%	84.0%	93.1%
Voyage Healthcare	Voyage Healthcare - Osseo	•	167	92.8%	87.9%	95.8%
Voyage Healthcare	Voyage Healthcare - Plymouth	•	168	91.7%	86.5%	95.0%
Wayzata Children's Clinic	Wayzata Children's Clinic - Chaska		718	99.6%	98.8%	99.9%
Wayzata Children's Clinic	Wayzata Children's Clinic - Delano		333	98.8%	97.0%	99.5%
Wayzata Children's Clinic	Wayzata Children's Clinic - Maple Grove		201	98.0%	95.0%	99.2%
Wayzata Children's Clinic	Wayzata Children's Clinic - Minnetonka		888	97.7%	96.5%	98.5%
Wayzata Children's Clinic	Wayzata Children's Clinic - Spring Park		555	99.5%	98.4%	99.8%
Welia Health	Welia Health Hinckley	•	60	86.7%	75.8%	93.1%
Welia Health	Welia Health Mora	•	195	88.2%	82.9%	92.0%
Welia Health	Welia Health Pine City		126	96.8%	92.1%	98.8%
West Side Community Health Services	West Side Community Health Services - East Side Family Clinic	▼	482	62.0%	57.6%	66.3%
West Side Community Health Services	West Side Community Health Services - La Clinica	▼	430	66.0%	61.4%	70.4%
West Side Community Health Services	West Side Community Health Services - McDonough Homes Clinic	•	100	87.0%	79.0%	92.2%
Westfields Hospital and Clinic	Westfields Clinic	•	492	88.8%	85.7%	91.3%
Williams Integracare Clinic	Integracare Ltd dba Williams Clinic	▼	117	82.9%	75.1%	88.7%
Winona Health Services	Winona Health - Rushford Clinic	•	76	94.7%	87.2%	97.9%
Winona Health Services	Winona Health - Winona Clinic		562	98.6%	97.2%	99.3%

★ Top performer 🔺 Above statewide average Average Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

60 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

- L ъ I

## Adult Depression - PHQ-9/PHQ-9M Utilization

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health	Denominator	Rate	95% CI	95% CI
		Score			Lower	Upper
STATEWIDE AVERAGE			248,162	77.7%		
AALFA Family Clinic	AALFA Family Clinic-MHN		137	95.6%	90.8%	98.0%
Advanced Medical Clinic	Advanced Medical Clinic, Inc.		102	20.6%	13.9%	29.4%
	Allina Health - Abbott					
Allina Health	Northwestern General Medicine		715	91.2%	88.9%	93.1%
	Associates - Edina					
Allina Health	Allina Health - Allina Mental Health -		445	94.8%	92.4%	96.5%
	ANW	_	110	5 1.6 / 0	32.170	00.070
Allina Health	Allina Health - Allina Mental Health -		805	96.3%	94.7%	97.4%
	United	_	000	50.570	5 1.1 /0	51.170
Allina Health	Allina Health - Allina Mental Health -		657	99.5%	98.7%	99.8%
	Unity	-				
Allina Health	Allina Health - Annandale		113	94.7%	88.9%	97.5%
Allina Health	Allina Health - Bandana Square		1,098	90.3%	88.4%	91.9%
Allina Health	Allina Health - Blaine		355	89.0%	85.3%	91.9%
Allina Health	Allina Health - Bloomington		323	91.3%	87.8%	93.9%
Allina Health	Allina Health - Brooklyn Park		381	91.1%	87.8%	93.5%
Allina Health	Allina Health - Buffalo		322	93.2%	89.9%	95.4%
Allina Health	Allina Health - Buffalo Crossroads		459	90.0%	86.9%	92.4%
Allina Health	Allina Health - Burnsville		276	90.2%	86.1%	93.2%
Allina Health	Allina Health - Cambridge		1,158	87.7%	85.7%	89.5%
Allina Health	Allina Health - Centennial Lakes		758	89.8%	87.5%	91.8%
Allina Health	Allina Health - Champlin		588	88.6%	85.8%	90.9%
Allina Health	Allina Health - Chaska		257	86.8%	82.1%	90.4%
Allina Health	Allina Health - Cokato		112	91.1%	84.3%	95.1%
Allina Health	Allina Health - Coon Rapids		2,217	88.8%	87.4%	90.0%
Allina Health	Allina Health - Cottage Grove		527	83.1%	79.7%	86.1%
	Allina Health - Courage Kenny					
Allina Health	Rehabilitation Associates - Golden	▼	105	36.2%	27.6%	45.7%
	Valley					
Allina Health	Allina Health - Dean Lakes		171	86.0%	80.0%	90.4%
Allina Health	Allina Health - Eagan		656	93.8%	91.6%	95.4%
Allina Health	Allina Health - East Lake Street	٠	196	78.6%	72.3%	83.7%
	Allina Health - Edina Family		70.4	00 40/	77.20/	02 10/
Allina Health	Physicians	•	724	80.4%	77.3%	83.1%
Allina Health	Allina Health - Elk River		324	93.2%	89.9%	95.5%
Allina Health	Allina Health - Faribault		733	88.5%	86.0%	90.6%
Allina Health	Allina Health - Farmington		218	95.9%	92.3%	97.8%
Allina Health	Allina Health - Forest Lake		517	94.2%	91.8%	95.9%
Allina Health	Allina Health - Fridley		355	91.0%	87.6%	93.5%
Allina Health	Allina Health - Greenway	•	176	71.6%	64.5%	77.7%

🕇 Top performer

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

• Average

Medical Group Name	Clinic Name	Health	Denominator	Rate	95% CI	95% CI
		Score			Lower	Upper
STATEWIDE AVERAGE			248,162	77.7%		
Allina Health	Allina Health - Hastings		997	91.2%	89.3%	92.8%
Allina Health	Allina Health - Highland Park		293	88.4%	84.2%	91.6%
Allina Health	Allina Health - Hopkins	•	188	83.0%	77.0%	87.7%
Allina Health	Allina Health - Inver Grove Heights		367	92.6%	89.5%	94.9%
Allina Health	Allina Health - Isanti		347	91.9%	88.6%	94.4%
Allina Health	Allina Health - Isles		334	88.0%	84.1%	91.1%
Allina Health	Allina Health - Lakeville		340	82.6%	78.3%	86.3%
Allina Health	Allina Health - Maple Grove		257	95.3%	92.0%	97.3%
Allina Health	Allina Health - Maplewood		510	83.7%	80.3%	86.7%
Allina Health	Allina Health - New Ulm - Winthrop Area Clinic	•	40	85.0%	70.9%	92.9%
Allina Health	Allina Health - New Ulm Medical Center		1,023	88.6%	86.5%	90.4%
Allina Health	Allina Health - Nicollet Mall		318	85.2%	80.9%	88.7%
Allina Health	Allina Health - Northfield		920	92.6%	90.7%	94.1%
Allina Health	Allina Health - Oakdale Clinic		143	97.9%	94.0%	99.3%
Allina Health	Allina Health - Plymouth		681	82.5%	79.5%	85.2%
Allina Health	Allina Health - Ramsey	•	472	81.4%	77.6%	84.6%
Allina Health	Allina Health - Richfield		972	85.0%	82.6%	87.1%
Allina Health	Allina Health - Savage		244	93.9%	90.1%	96.2%
Allina Health	Allina Health - Shakopee		779	92.2%	90.1%	93.9%
Allina Health	Allina Health - Sharpe Dillon Cockson & Associates		270	87.8%	83.3%	91.2%
Allina Health	Allina Health - Shoreview		685	90.4%	87.9%	92.4%
Allina Health	Allina Health - St. Francis Health Services - Jordan		54	94.4%	84.9%	98.1%
Allina Health	Allina Health - St. Michael		237	97.0%	94.0%	98.6%
Allina Health	Allina Health - United Medical Specialties	٠	293	81.2%	76.4%	85.3%
Allina Health	Allina Health - Uptown		288	91.0%	87.1%	93.8%
Allina Health	Allina Health - Vadnais Heights		273	86.4%	81.9%	90.0%
Allina Health	Allina Health - West St. Paul		554	88.8%	85.9%	91.2%
Allina Health	Allina Health - Woodbury		1,285	90.2%	88.4%	91.7%
Allina Health Apple Valley	Apple Valley Medical Clinic - Family Practice		648	87.8%	85.1%	90.1%
Alomere Health	Alexandria Clinic, A Service of Alomere Health		1,191	95.0%	93.6%	96.1%
Altru Health System	Altru Health System - Crookston	•	252	24.6%	19.7%	30.3%
Altru Health System	Altru Health System - Devils Lake	V	256	12.5%	9.0%	17.1%
Altru Health System	Altru Health System - East Grand Forks	•	94	6.4%	3.0%	13.2%
Altru Health System	Altru Health System - Grand Forks	▼	2,055	16.3%	14.8%	18.0%

🔺 Above statewide average

• Average 🛛 🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

62 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			248,162	77.7%		
Altru Health System	Altru Health System - Red Lake Falls	▼	35	31.4%	18.6%	48.0%
Altru Health System	Altru Health System - Roseau	▼	234	19.2%	14.7%	24.8%
Altru Health System	Altru Health System - Warroad	▼	83	36.1%	26.6%	46.9%
Amery Hospital and Clinic	AHC - Amery		411	90.3%	87.0%	92.8%
Amery Hospital and Clinic	AHC - Behavioral Health Clinic		56	98.2%	90.6%	99.7%
Amery Hospital and Clinic	AHC - Clear Lake	*	34	100.0%	89.8%	100.0%
Amery Hospital and Clinic	AHC - Luck		96	91.7%	84.4%	95.7%
Amery Hospital and Clinic	AHC - Turtle Lake		38	97.4%	86.5%	99.5%
Appleton Area Health Services	Appleton Clinic		156	88.5%	82.5%	92.6%
Associated Clinic of Psychology	Associated Clinic of Psychology- Apple Valley		324	91.7%	88.1%	94.2%
Associated Clinic of Psychology	Associated Clinic of Psychology- Brooklyn Center	▼	281	56.2%	50.4%	61.9%
Associated Clinic of Psychology	Associated Clinic of Psychology- Minneapolis		907	82.4%	79.7%	84.7%
Associated Clinic of Psychology	Associated Clinic of Psychology-St Louis Park		660	96.7%	95.0%	97.8%
Associated Clinic of Psychology	Associated Clinic of Psychology- West St. Paul		522	89.8%	87.0%	92.2%
Bluestone Physician Services	Bluestone Physician Services	▼	1,106	24.0%	21.5%	26.6%
Boynton Health Service	Boynton Health Service		2,128	98.6%	98.0%	99.0%
Boynton Health Service	Boynton Health Service St. Paul		88	96.6%	90.5%	98.8%
Catholic Charities Behavioral Health Clinic	Catholic Charities Behavioral Health Clinic	*	172	100.0%	97.8%	100.0%
CCM Health	CCM HEALTH	*	855	100.0%	99.6%	100.0%
Cedar Riverside People's Center	Cedar Riverside People's Center - People's Center Medical Clinic		162	84.6%	78.2%	89.3%
CentraCare Health	Carris Health - Litchfield East Clinic	٠	128	82.0%	74.5%	87.7%
CentraCare Health	Carris Health - Litchfield West Clinic	•	150	76.0%	68.6%	82.1%
CentraCare Health	Carris Health - New London Clinic		252	86.5%	81.7%	90.2%
CentraCare Health	Carris Health - Redwood Clinic	•	266	78.6%	73.3%	83.1%
CentraCare Health	Carris Health - Rice Institute Outpatient	▼	341	57.5%	52.2%	62.6%
CentraCare Health	Carris Health - Willmar Main Clinic		626	84.3%	81.3%	87.0%
CentraCare Health	Centracare Clinic - Albany		287	95.1%	92.0%	97.1%
CentraCare Health	CentraCare Clinic - Becker		220	98.2%	95.4%	99.3%
CentraCare Health	CentraCare Clinic - Big Lake		238	96.2%	93.0%	98.0%
CentraCare Health	CentraCare Clinic - Northway		832	96.8%	95.3%	97.8%
CentraCare Health	Centracare Clinic - SCMG Clearwater Medical Clinic		143	97.9%	94.0%	99.3%

▲ Above statewide average ● Average

🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			248,162	77.7%		
CentraCare Health	Centracare Clinic - SCMG Cold Spring Medical Clinic		163	97.5%	93.9%	99.0%
CentraCare Health	Centracare Clinic - SCMG Northwest		1,762	97.7%	96.9%	98.3%
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South		756	99.3%	98.5%	99.7%
CentraCare Health	CentraCare Clinic - St. Joseph		320	96.3%	93.6%	97.8%
CentraCare Health	CentraCare Health - Family Health Center		465	95.5%	93.2%	97.0%
CentraCare Health	CentraCare Health - Long Prairie		189	96.3%	92.6%	98.2%
CentraCare Health	CentraCare Health - Melrose		299	98.3%	96.1%	99.3%
CentraCare Health	CentraCare Health - Paynesville Clinic		236	86.4%	81.5%	90.2%
CentraCare Health	CentraCare Health - Paynesville- Eden Valley	*	48	100.0%	92.6%	100.0%
CentraCare Health	CentraCare Health - Paynesville- Richmond		175	89.7%	84.3%	93.4%
CentraCare Health	CentraCare Health - Sauk Centre		306	94.1%	90.9%	96.2%
CentraCare Health	CentraCare Health Plaza - Internal Medicine		509	98.6%	97.2%	99.3%
CentraCare Health	CentraCare Health Plaza - Pediatrics		94	98.9%	94.2%	99.8%
CentraCare Health	CentraCare River Campus - Internal Medicine		701	98.3%	97.0%	99.0%
CentraCare Health	Coordinated Care Services	*	88	100.0%	95.8%	100.0%
CentraCare Health	St Cloud Hospital - Behavioral Health Clinic		1,126	96.5%	95.3%	97.5%
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	*	48	100.0%	92.6%	100.0%
Cromwell Medical Clinic PLLC - IHN	Cromwell Medical Clinic, PLLC	▼	83	55.4%	44.7%	65.6%
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Baxter		161	93.8%	88.9%	96.6%
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Crosby Clinic		457	95.0%	92.6%	96.6%
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Longville	٠	41	78.0%	63.3%	88.0%
Dawson Clinic	Johnson Memorial Health Services - Dawson Clinic	▼	400	43.5%	38.7%	48.4%
Dr. VM Baich, PA	Dr VM Baich, PA	•	32	81.3%	64.7%	91.1%
Duluth Family Medicine Clinic	Duluth Family Medicine Clinic					
(Formerly Duluth Family Practice Center)	(formerly Duluth Family Practice Center)	▼	358	61.5%	56.3%	66.3%
Edina Sports Health & Wellness	Edina Sports + Family Medicine	▼	529	42.2%	38.0%	46.4%

▲ Above statewide average Average ▼ Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

- L ъ I

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE		SCOLE	248,162	77.7%	Lowei	l obbei
	Entira Family Clinics -		210,202			
Entira Family Clinics (formerly Family Health Services MN)	Como/Roseville (formerly Family HealthServices Minnesota - Larpenteur Clinic)	•	215	73.5%	67.2%	78.9%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - East Side (formerly Family HealthServices Minnesota - Maryland Clinic)	•	202	74.8%	68.3%	80.2%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Highland (formerly Family HealthServices Minnesota - Highland Family Physicians)		251	91.6%	87.5%	94.5%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Inver Grove Heights (formerly Family HealthServices Minnesota - Inver Grove Heights)	•	436	63.1%	58.4%	67.5%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - North St. Paul (formerly Family HealthServices Minnesota - North St. Paul Clinic)		368	85.6%	81.6%	88.8%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Shoreview (formerly Family HealthServices Minnesota - Shoreview)		371	82.5%	78.3%	86.0%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Vadnais Heights (formerly Family HealthServices Minnesota - Vadnais Heights)	•	332	77.4%	72.6%	81.6%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - West St. Paul (formerly Family HealthServices Minnesota - Gorman Clinic)	٠	349	78.8%	74.2%	82.8%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - White Bear Lake/Banning Ave (formerly Family Health Services MN Banning Clinic)		424	84.4%	80.7%	87.6%
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Woodbury (formerly Family HealthServices Minnesota - Woodbury)	•	630	78.9%	75.5%	81.9%
Essentia Health	EH East Ashland Clinic	$\bullet$	363	45.2%	40.1%	50.3%
Essentia Health	EH East Baxter Clinic	▼	639	54.5%	50.6%	58.3%
Essentia Health	EH East Brainerd Clinic		592	44.8%	40.8%	48.8%
Essentia Health	EH East Crosslake Clinic		62	59.7%	47.3%	71.0%
Essentia Health	EH East Deer River Clinic		159	63.5%	55.8%	70.6%
Essentia Health	EH East Duluth Clinic		603	87.1%	84.2%	89.5%
Essentia Health	EH East Duluth Clinic 1st St	•	629 102	45.9%	42.1%	49.9%
Essentia Health	EH East Ely Clinic		192	35.4%	29.0%	42.4%

▲ Above statewide average Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health	Denominator	Rate	95% CI	95% CI
STATEWIDE AVERAGE		Score	248,162	77.7%	Lower	Upper
Essentia Health	EH East Grand Rapids Clinic	▼	248,162	68.4%	62.8%	73.4%
Essentia Health	EH East Hackensack Clinic	V	39	59.0%	43.4%	72.9%
Essentia Health	EH East Hayward Clinic	▼ ▼	358	51.1%	46.0%	56.3%
Essentia Health	EH East Hermantown Clinic	▼ ▼	561	60.6%	56.5%	64.6%
	EH East Hermantown Wellness	•	201	00.0%	50.5%	04.0%
Essentia Health	Clinic	•	32	81.3%	64.7%	91.1%
Essentia Health	EH East Hibbing Clinic		178	44.4%	37.3%	51.7%
Essentia Health	EH East International Falls Clinic		313	82.7%	78.2%	86.5%
Essentia Health	EH East Lakeland Psychiatry Clinic		338	71.0%	66.0%	75.6%
Essentia Health	EH East Lakeside Clinic		375	70.9%	66.1%	75.3%
Essentia Health	EH East Lakewalk Clinic		499	69.9%	65.8%	73.8%
Essentia Health	EH East Northern Pines Clinic		177	69.5%	62.4%	75.8%
Essentia Health	EH East Pequot Lakes Clinic	$\mathbf{\nabla}$	58	63.8%	50.9%	74.9%
Essentia Health	EH East Pierz Clinic	•	92	79.3%	70.0%	86.4%
Essentia Health	EH East Pillager Clinic		171	60.2%	52.8%	67.3%
Essentia Health	EH East Pine River Clinic		131	68.7%	60.3%	76.0%
Essentia Health	EH East Proctor Clinic		205	66.3%	59.6%	72.5%
Essentia Health	EH East Spooner Clinic		245	27.3%	22.1%	33.2%
Essentia Health	EH East Superior Clinic		839	58.5%	55.2%	61.8%
Essentia Health	EH East Virginia Clinic		442	60.4%	55.8%	64.9%
Essentia Health	EH East West Duluth Clinic		576	66.3%	62.4%	70.1%
Essentia Health	EH West 52nd Avenue Clinic		706	93.9%	91.9%	95.4%
Essentia Health	EH West 7 Day Clinic Osgood		101	92.1%	85.1%	95.9%
Essentia Health	EH West Ada Clinic		51	43.1%	30.5%	56.7%
Essentia Health	EH West Bagely Clinic		148	93.2%	88.0%	96.3%
Essentia Health	EH West Casselton Clinic		45	53.3%	39.1%	67.1%
Essentia Health	EH West Detroit Lakes Clinic	<b>V</b>	750	73.5%	70.2%	76.5%
Essentia Health	EH West Fosston Clinic	•	189	73.5%	66.8%	79.3%
Essentia Health	EH West Frazee Clinic		82	89.0%	80.4%	94.1%
Essentia Health	EH West Jamestown Clinic		261	70.1%	64.3%	75.3%
Essentia Health	EH West Lisbon	<b>V</b>	56	57.1%	44.1%	69.2%
Essentia Health	EH West Mahnomen Clinic	•	31	74.2%	56.8%	86.3%
Essentia Health	EH West Menahga Clinic	•	64	54.7%	42.6%	66.3%
Essentia Health	EH West Moorhead		568	75.2%		78.6%
Essentia Health	EH West Oklee Clinic	•	508		71.5%	
		▼ ▼		58.0%	44.2%	70.6%
Essentia Health	EH West Park Rapids Clinic		432	66.9%	62.3%	71.2%
Essentia Health	EH West Pelican Rapids Clinic		62 727	91.9%	82.5%	96.5%
Essentia Health	EH West South University Clinic	•	737	48.7%	45.1%	52.3%
Essentia Health	EH West Valley City Clinic	•	181	79.0%	72.5%	84.3%
Essentia Health	EH West Wahpeton Clinic	•	357	74.8%	70.0%	79.0%
Essentia Health	EH West Walker Clinic		85	65.9%	55.3%	75.1%
Essentia Health	EH West West Acres Clinic	•	456	80.7%	76.8%	84.1%
Essentia Health	EH West West Fargo Clinic	٠	378	77.0%	72.5%	80.9%

▲ Above statewide average Average

▼ Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			248,162	77.7%		oppe.
Fairview Health Services	HealthEast Clinic - Hugo	٠	174	75.3%	68.4%	81.1%
Fairview Health Services	HealthEast Outpatient Mental Health and Addiction Care Clinic- St. Joseph's Hospital	▼	165	54.5%	46.9%	62.0%
Fairview Health Services	M Health Fairview Clinic Andover		544	88.4%	85.5%	90.8%
Fairview Health Services	M Health Fairview Clinic Apple Valley		662	92.3%	90.0%	94.1%
Fairview Health Services	M Health Fairview Clinic Bass Lake		424	84.0%	80.2%	87.1%
Fairview Health Services	M Health Fairview Clinic Blaine	•	346	79.8%	75.2%	83.7%
Fairview Health Services	M Health Fairview Clinic Brooklyn ParkÂ		594	82.7%	79.4%	85.5%
Fairview Health Services	M Health Fairview Clinic Burnsville		818	86.6%	84.0%	88.7%
Fairview Health Services	M Health Fairview Clinic Chisago City		254	90.2%	85.9%	93.2%
Fairview Health Services	M Health Fairview Clinic Columbia Heights		632	85.4%	82.5%	88.0%
Fairview Health Services	M Health Fairview Clinic Cottage Grove		302	92.1%	88.4%	94.6%
Fairview Health Services	M Health Fairview Clinic Downtown St. Paul	▼	477	61.6%	57.2%	65.9%
Fairview Health Services	M Health Fairview Clinic Eagan	•	805	77.5%	74.5%	80.3%
Fairview Health Services	M Health Fairview Clinic Eden Prairie		468	92.3%	89.5%	94.4%
Fairview Health Services	M Health Fairview Clinic Edina	▼	674	73.4%	70.0%	76.6%
Fairview Health Services	M Health Fairview Clinic Elk River		586	95.6%	93.6%	97.0%
Fairview Health Services	M Health Fairview Clinic Farmington		300	92.3%	88.8%	94.8%
Fairview Health Services	M Health Fairview Clinic Fridley		638	86.8%	84.0%	89.2%
Fairview Health Services	M Health Fairview Clinic Grand Avenue	•	304	75.0%	69.8%	79.5%
Fairview Health Services	M Health Fairview Clinic Hiawatha		605	91.2%	88.7%	93.2%
Fairview Health Services	M Health Fairview Clinic Highland Park		512	86.7%	83.5%	89.4%
Fairview Health Services	M Health Fairview Clinic Hugo		281	87.5%	83.2%	90.9%
Fairview Health Services	M Health Fairview Clinic Integrated Primary Care	▼	205	34.6%	28.5%	41.4%
Fairview Health Services	M Health Fairview Clinic Lake Street	•	147	76.2%	68.7%	82.4%
Fairview Health Services	M Health Fairview Clinic Lakeville	٠	235	78.7%	73.1%	83.5%
Fairview Health Services	M Health Fairview Clinic Lino Lakes		314	85.0%	80.7%	88.6%
Fairview Health Services	M Health Fairview Clinic Maplewood	▼	295	69.8%	64.4%	74.8%
Fairview Health Services	M Health Fairview Clinic Milaca	•	254	78.7%	73.3%	83.3%

🔺 Above statewide average Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% CI	95% CI
STATEWIDE AVERAGE		Score	248,162	77.7%	Lower	Upper
	M Health Fairview Clinic New					
Fairview Health Services	Brighton		439	87.2%	83.8%	90.0%
Fairview Health Services	M Health Fairview Clinic North Branch		543	89.5%	86.6%	91.8%
Fairview Health Services	M Health Fairview Clinic Oakdale		576	74.0%	70.2%	77.4%
Fairview Health Services	M Health Fairview Clinic Oxboro	•	566	74.9%	71.2%	78.3%
Fairview Health Services	M Health Fairview Clinic Pine City		143	88.8%	82.6%	93.0%
Fairview Health Services	M Health Fairview Clinic Princeton		634	92.7%	90.5%	94.5%
Fairview Health Services	M Health Fairview Clinic Prior Lake		475	90.7%	87.8%	93.0%
Fairview Health Services	M Health Fairview Clinic Rice Street	•	254	76.0%	70.4%	80.8%
Fairview Health Services	M Health Fairview Clinic Riverside		357	70.9%	66.0%	75.3%
Fairview Health Services	M Health Fairview Clinic Rogers		286	97.9%	95.5%	99.0%
Fairview Health Services	M Health Fairview Clinic Roselawn	•	538	63.9%	59.8%	67.9%
Fairview Health Services	M Health Fairview Clinic Rosemount		229	89.1%	84.4%	92.5%
Fairview Health Services	M Health Fairview Clinic Roseville	•	248	82.3%	77.0%	86.5%
Fairview Health Services	M Health Fairview Clinic Savage		191	97.9%	94.7%	99.2%
Fairview Health Services	M Health Fairview Clinic Tamarack	•	365	75.9%	71.2%	80.0%
Fairview Health Services	M Health Fairview Clinic Uptown		607	82.9%	79.7%	85.7%
Fairview Health Services	M Health Fairview Clinic Vadnais		322	82.3%	77.8%	86.1%
Fairview Health Services	Heights M Health Fairview Clinic Woodwinds	▼	274	67.2%	61.4%	72.4%
Fairview Health Services	M Health Fairview Clinic Wyoming		874	88.7%	86.4%	90.6%
Fairview Health Services	M Health Fairview Clinic Xerxes		512	92.0%	89.3%	94.0%
Fairview Health Services	M Health Fairview Clinic Zimmerman		483	94.6%	92.2%	96.3%
Fairview Health Services	M Health Fairview Geriatric Services	▼	912	9.0%	7.3%	11.0%
Fairview Health Services	M Health Fairview Clinic Midway	•	290	73.4%	68.1%	78.2%
Fairview Health Services	M Health Fairview Clinic Stillwater		303	82.5%	77.8%	86.4%
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic -		774	84.2%	81.5%	86.6%
	Hibbing Range Regional Health Services					
Fairview Mesaba Clinics	dba Fairview Mesaba Clinic - Mountain Iron	٠	365	81.9%	77.6%	85.5%
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Nashwauk	•	104	80.8%	72.2%	87.2%
Family Practice Medical Center of Willmar	Family Practice Medical Center of Willmar		214	97.2%	94.0%	98.7%

▲ Above statewide average Average ▼ Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE		SCOLE	248,162	77.7%	Lowei	Opper
France Avenue Family Physicians -						
Minnesota Healthcare Network	France Avenue Family Physicians		867	97.0%	95.6%	97.9%
Glencoe Regional Health Services	Glencoe Regional Health Services - Glencoe		457	96.9%	94.9%	98.2%
Glencoe Regional Health Services	Glencoe Regional Health Services - Lester Prairie		121	97.5%	93.0%	99.2%
Glencoe Regional Health Services	Glencoe Regional Health Services - Stewart	٠	38	76.3%	60.8%	87.0%
Glenwood Medical Center	Brooten Medical Center		105	10.5%	6.0%	17.8%
Glenwood Medical Center	Glenwood Medical Center		766	13.7%	11.5%	16.3%
Glenwood Medical Center	Starbuck Medical Center		77	19.5%	12.2%	29.7%
Grand Itasca Clinic	Grand Itasca Clinic		742	83.2%	80.3%	85.7%
Granite Falls Municipal Hospital & Manor Clinic	Granite Falls Health Clinic	▼	287	20.9%	16.6%	26.0%
Gundersen Health System	Gundersen Health System - Harmony Clinic	•	42	83.3%	69.4%	91.7%
Gundersen Health System	Gundersen Health System - Houston Clinic		56	89.3%	78.5%	95.0%
Gundersen Health System	Gundersen Health System - La Crescent Clinic		239	85.4%	80.3%	89.3%
Gundersen Health System	Gundersen Health System - Spring Grove Clinic	•	75	80.0%	69.6%	87.5%
Gundersen Saint Elizabeths	Gundersen Saint Elizabeths	*	169	100.0%	97.8%	100.0%
Hospital and Clinics	Hospital and Clinics		105	100.070	51.070	100.0%
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics		862	89.4%	87.2%	91.3%
HealthPartners Clinics	HealthPartners - Andover		241	91.3%	87.0%	94.2%
HealthPartners Clinics	HealthPartners - Anoka		395	91.6%	88.5%	94.0%
HealthPartners Clinics	HealthPartners - Apple Valley		144	91.0%	85.2%	94.6%
HealthPartners Clinics	HealthPartners - Arden Hills		363	93.9%	91.0%	96.0%
HealthPartners Clinics	HealthPartners - Bloomington		217	87.6%	82.5%	91.3%
HealthPartners Clinics	HealthPartners - Brooklyn Center		164	85.4%	79.1%	90.0%
HealthPartners Clinics	HealthPartners - Como		633	82.0%	78.8%	84.8%
HealthPartners Clinics	HealthPartners - Coon Rapids		232	87.1%	82.1%	90.8%
HealthPartners Clinics	HealthPartners - Cottage Grove		56	91.1%	80.7%	96.1%
nealuipartners clinics	HealthPartners - Ctr for Internatl		50	91.1%	00.1%	90.1%
HealthPartners Clinics	Hith	▼	268	66.4%	60.6%	71.8%
HealthPartners Clinics	HealthPartners - Curve Crest Clinic		1,338	86.8%	84.9%	88.6%
HealthPartners Clinics	HealthPartners - Eagan		165	89.1%	83.4%	93.0%
HealthPartners Clinics	HealthPartners - Elk River		247	91.9%	87.8%	94.7%
HealthPartners Clinics	HealthPartners - Highland Park		78	87.2%	78.0%	92.9%
HealthPartners Clinics	HealthPartners - Hlth Ctr for Women		327	87.2%	83.1%	90.4%

▲ Above statewide average Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health	Denominator	Rate	95% CI	95% CI
		Score			Lower	Upper
STATEWIDE AVERAGE			248,162	77.7%		
HealthPartners Clinics	HealthPartners - Hugo		73	91.8%	83.2%	96.2%
HealthPartners Clinics	HealthPartners - Inver Grove Behav Hlth		570	93.9%	91.6%	95.6%
HealthPartners Clinics	HealthPartners - Inver Grove Heights		163	87.1%	81.1%	91.4%
HealthPartners Clinics	HealthPartners - Lakeview Campus	•	48	72.9%	59.0%	83.4%
HealthPartners Clinics	HealthPartners - Lino Lakes		172	94.2%	89.6%	96.8%
HealthPartners Clinics	HealthPartners - Mahtomedi Clinic		166	90.4%	84.9%	94.0%
HealthPartners Clinics	HealthPartners - Maplewood		462	93.5%	90.9%	95.4%
HealthPartners Clinics	HealthPartners - Midway	•	138	82.6%	75.4%	88.0%
HealthPartners Clinics	HealthPartners - Nokomis		167	84.4%	78.2%	89.1%
HealthPartners Clinics	HealthPartners - Regions BH Arden Hills		738	94.6%	92.7%	96.0%
HealthPartners Clinics	HealthPartners - Regions BH Maplewood		948	94.4%	92.8%	95.7%
HealthPartners Clinics	HealthPartners - Regions BH Woodbury		769	93.8%	91.8%	95.3%
HealthPartners Clinics	HealthPartners - Riverside		289	83.0%	78.3%	86.9%
HealthPartners Clinics	HealthPartners - Riverside Behav Hlth		474	92.6%	89.9%	94.6%
HealthPartners Clinics	HealthPartners - Roseville		230	95.7%	92.2%	97.6%
HealthPartners Clinics	HealthPartners - Somerset Clinic		213	92.5%	88.1%	95.3%
HealthPartners Clinics	HealthPartners - St Paul		381	84.5%	80.5%	87.8%
HealthPartners Clinics	HealthPartners - University Ave		179	86.0%	80.2%	90.4%
HealthPartners Clinics	HealthPartners - West		218	87.6%	82.6%	91.3%
HealthPartners Clinics	HealthPartners - West Behav Hlth		563	93.8%	91.5%	95.5%
HealthPartners Clinics	HealthPartners - White Bear Lake		271	93.7%	90.2%	96.0%
HealthPartners Clinics	HealthPartners - Woodbury		583	93.5%	91.2%	95.2%
Hendricks Community Hospital Association	Hendricks Clinic	*	30	100.0%	88.6%	100.0%
Hennepin Healthcare	Hennepin Healthcare Adult Psychiatry Clinic	▼	1,600	71.5%	69.2%	73.7%
Hennepin Healthcare	Hennepin Healthcare Brooklyn Park Clinic		1,005	93.6%	91.9%	95.0%
Hennepin Healthcare	Hennepin Healthcare Center for Senior Care		65	90.8%	81.3%	95.7%
Hennepin Healthcare	Hennepin Healthcare Clinics - Senior Care Clinic at Augustana	•	34	70.6%	53.8%	83.2%
Hennepin Healthcare	Hennepin Healthcare Coordinated Care Clinic	▼	222	67.1%	60.7%	73.0%
Hennepin Healthcare	Hennepin Healthcare Downtown Medicine Clinic		1,554	85.3%	83.4%	86.9%

🔺 Above statewide average Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			248,162	77.7%		
Hennepin Healthcare	Hennepin Healthcare East Lake Clinic		720	89.2%	86.7%	91.2%
Hennepin Healthcare	Hennepin Healthcare Golden Valley Clinic		518	91.1%	88.4%	93.3%
Hennepin Healthcare	Hennepin Healthcare North Loop Clinic and Pharmacy		199	94.5%	90.4%	96.9%
Hennepin Healthcare	Hennepin Healthcare Positive Care Clinic	•	79	84.8%	75.3%	91.1%
Hennepin Healthcare	Hennepin Healthcare Richfield Clinic		794	92.1%	90.0%	93.7%
Hennepin Healthcare	Hennepin Healthcare St. Anthony Village Clinic		99	92.9%	86.1%	96.5%
Hennepin Healthcare	Hennepin Healthcare Whittier Clinic		762	88.2%	85.7%	90.3%
Hutchinson Health	Hutchinson Health - Dassel Clinic		416	83.9%	80.1%	87.1%
Hutchinson Health	Hutchinson Health - Hutchinson Clinic	•	32	87.5%	71.9%	95.0%
Hutchinson Health	Hutchinson Health - Mental Health Clinic	•	331	79.8%	75.1%	83.7%
Indian Health Board of Minneapolis	Indian Health Board of Minneapolis	•	128	84.4%	77.1%	89.7%
Kittson Healthcare Clinic	Kittson Memorial Clinic - Hallock	٠	60	70.0%	57.5%	80.1%
Kittson Healthcare Clinic	Kittson Memorial Clinic - Karlstad	•	33	66.7%	49.6%	80.3%
Lac Qui Parle Clinic	Lac Qui Parle Clinic		138	95.7%	90.8%	98.0%
Lake Region Healthcare	Lake Region Healthcare - Ashby Clinic	▼	118	54.2%	45.3%	63.0%
Lake Region Healthcare	Lake Region Healthcare - Barnesville Clinic	▼	256	15.6%	11.7%	20.6%
Lake Region Healthcare	Lake Region Healthcare - Battle Lake Clinic	▼	94	48.9%	39.1%	58.9%
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls	▼	1,984	54.8%	52.6%	57.0%
Lake Superior Community Health Center	Lake Superior Community Health Center - Duluth	▼	112	60.7%	51.5%	69.3%
Lake Superior Community Health Center	Lake Superior Community Health Center-Superior	٠	202	80.7%	74.7%	85.5%
Lake View Clinic - Two Harbors	Lake View Clinic - Two Harbors		165	86.1%	80.0%	90.5%
Lakeland Mental Health Center	Lakeland Mental Health Center - Alexandria	▼	340	72.9%	68.0%	77.4%
Lakeland Mental Health Center	Lakeland Mental Health Center - Detroit Lakes	▼	219	67.1%	60.7%	73.0%
Lakeland Mental Health Center	Lakeland Mental Health Center - Fergus Falls	▼	626	65.7%	61.8%	69.3%

🔺 Above statewide average Average Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health	Denominator	Rate	95% CI	95% CI
		Score	240.162	77 70/	Lower	Upper
STATEWIDE AVERAGE	Labeland Mantal Haalth Canton		248,162	77.7%		1
Lakeland Mental Health Center	Lakeland Mental Health Center - Glenwood		65	61.5%	49.4%	72.4%
Lakeland Mental Health Center	Lakeland Mental Health Center - Moorhead	•	764	76.0%	72.9%	78.9%
Lakewood Health Center Clinic	LakeWood Health Center Clinic		34	35.3%	21.5%	52.1%
Lakewood Health System	Lakewood Health System - Browerville Clinic		59	94.9%	86.1%	98.3%
Lakewood Health System	Lakewood Health System - Eagle Valley Clinic		31	93.5%	79.3%	98.2%
Lakewood Health System	Lakewood Health System - Motley Clinic		91	95.6%	89.2%	98.3%
Lakewood Health System	Lakewood Health System - Pillager Clinic	•	217	79.3%	73.4%	84.1%
Lakewood Health System	Lakewood Health System - Staples Clinic	▼	724	74.6%	71.3%	77.6%
Madelia Community Hospital & Clinic	Madelia Community Hospital & Clinic		141	86.5%	79.9%	91.2%
Mankato Clinic, Ltd.	Mankato Clinic - Daniel's Health Center		228	84.6%	79.4%	88.8%
Mankato Clinic, Ltd.	Mankato Clinic - Department of Psychiatry & Psychology		1,489	98.7%	98.0%	99.2%
Mankato Clinic, Ltd.	Mankato Clinic - Lake Crystal		31	58.1%	40.8%	73.6%
Mankato Clinic, Ltd.	Mankato Clinic - Main Street		567	92.6%	90.1%	94.5%
Mankato Clinic, Ltd.	Mankato Clinic - Mapleton	•	84	83.3%	73.9%	89.8%
Mankato Clinic, Ltd.	Mankato Clinic - North Mankato		444	95.7%	93.4%	97.2%
Mankato Clinic, Ltd.	Mankato Clinic - Wickersham Campus		485	95.9%	93.7%	97.3%
Mayo Clinic	Mayo Clinic - Baldwin Building, Family Medicine		704	88.1%	85.5%	90.3%
Mayo Clinic	Mayo Clinic - Baldwin Building, Pediatrics	*	63	100.0%	94.3%	100.0%
Mayo Clinic	Mayo Clinic - Baldwin Building, Primary Care Internal Medicine	•	2,370	76.4%	74.6%	78.0%
Mayo Clinic	Mayo Clinic - Generose Building		743	94.2%	92.3%	95.7%
Mayo Clinic	Mayo Clinic - Kasson		348	94.5%	91.6%	96.5%
Mayo Clinic	Mayo Clinic - Northeast		683	90.9%	88.5%	92.9%
Mayo Clinic	Mayo Clinic - Northwest		508	93.3%	90.8%	95.2%
Mayo Clinic	Mayo Clinic - Speciality Practice	٠	1,879	77.7%	75.8%	79.5%
Mayo Clinic	Mayo Family Clinic Southeast		592	91.2%	88.7%	93.2%
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	▼	1,202	71.7%	69.1%	74.2%
Mayo Clinic Health System	Mayo Clinic Health System Austin		1,482	81.9%	79.9%	83.8%

🔺 Above statewide average

 Average Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

11111111111111111111 11 ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			248,162	77.7%		
Mayo Clinic Health System	Mayo Clinic Health System Belle Plaine	٠	88	80.7%	71.2%	87.6%
Mayo Clinic Health System	Mayo Clinic Health System Cannon Falls	٠	311	77.5%	72.5%	81.8%
Mayo Clinic Health System	Mayo Clinic Health System Fairmont	•	888	77.7%	74.8%	80.3%
Mayo Clinic Health System	Mayo Clinic Health System Faribault Campus Location	▼	327	66.7%	61.4%	71.6%
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in Caledonia	٠	115	70.4%	61.5%	78.0%
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in LaCrescent		105	88.6%	81.1%	93.3%
Mayo Clinic Health System	Mayo Clinic Health System Janesville	٠	31	74.2%	56.8%	86.3%
Mayo Clinic Health System	Mayo Clinic Health System Lake City	٠	247	81.0%	75.6%	85.4%
Mayo Clinic Health System	Mayo Clinic Health System Lake Crystal		65	92.3%	83.2%	96.7%
Mayo Clinic Health System	Mayo Clinic Health System Lamberton	▼	53	24.5%	14.9%	37.6%
Mayo Clinic Health System	Mayo Clinic Health System Le Sueur	•	210	72.9%	66.5%	78.4%
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge		1,343	88.6%	86.8%	90.2%
Mayo Clinic Health System	Mayo Clinic Health System Mankato Northridge	▼	581	73.0%	69.2%	76.4%
Mayo Clinic Health System	Mayo Clinic Health System Mankato Specialty Clinic	٠	286	82.2%	77.3%	86.2%
Mayo Clinic Health System	Mayo Clinic Health System Montgomery	٠	74	82.4%	72.2%	89.4%
Mayo Clinic Health System	Mayo Clinic Health System New Prague	٠	219	73.1%	66.8%	78.5%
Mayo Clinic Health System	Mayo Clinic Health System New Richland	٠	47	66.0%	51.7%	77.8%
Mayo Clinic Health System	Mayo Clinic Health System Owatonna	▼	1,374	74.7%	72.3%	76.9%
Mayo Clinic Health System	Mayo Clinic Health System Plainview	•	36	88.9%	74.7%	95.6%
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	▼	1,091	67.1%	64.3%	69.8%

🔺 Above statewide average

 Average Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

11111111111111111111 1 I 73 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

STATEWIDE AVERAGE       248,162       77.7%         Mayo Clinic Health System       Mayo Clinic Health System Red Wing in Zumbrota       ▲       152       86.2%       79.8%       90.8%         Mayo Clinic Health System       Springfield       ★       37       100.0%       90.6%       100.0%         Mayo Clinic Health System       Springfield       ★       37       100.0%       89.4%         Mayo Clinic Health System       Mayo Clinic Health System St. James       ▼       311       71.1%       65.8%       75.8%         Mayo Clinic Health System       Mayo Clinic Health System St. James       ▼       311       75.7%       71.6%       79.8%         Mayo Clinic Health System       Mayo Clinic Health System Vascea       ●       371       75.7%       71.6%       79.8%         Mayo Clinic Health System       Mayo Clinic Health System Wells       ●       66       75.8%       64.2%       83.5%         Mayo Clinic Health System       Mayo Clinic Health System Clinic       ▼       1100.0%       82.4%       53.9%       63.8%         Mayo Clinic Health System       Mayo Clinic Health System Wells       ●       66       44.9%       53.9%       63.8%       63.9%       63.9%       63.9%       63.9%       63.4%       53.9%	Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
Mayo Clinic Health System         Mayo Clinic Health System Red Wing in Zumbrota Mayo Clinic Health System Sherburn         A         152         86.2%         79.8%         90.8%           Mayo Clinic Health System Springfield         Mayo Clinic Health System Springfield         -         371         100.0%         90.6%         100.0%           Mayo Clinic Health System Springfield         -         132         84.1%         76.9%         89.4%           Mayo Clinic Health System Springfield         -         3711         71.1%         65.8%         75.8%           Mayo Clinic Health System St. James         -         3711         75.7%         71.6%         91.0%           Mayo Clinic Health System Mayo Clinic Health System Vatesca         -         3711         75.7%         71.6%         91.9%           Mayo Clinic Health System Mayo Clinic Health System Vatesca         -         666         75.8%         64.2%         53.9%           Mayo Clinic Health System Vatesca         -         1120         45.9%         36.4%         53.9%           Mille Lacs Health System Vatesca         -         133         48.5%         32.5%         64.2%           Mille Lacs Health System Vatesca         -         118         58.5%         49.5%         64.3%         53.9%         67.9%	STATEWIDE AVERAGE			248,162	77.7%		
Mayo Clinic Heatth System         Sherburn         Mayo Clinic Heatth System         Sherburn         Mayo Clinic Heatth System         100.0%         90.6%         100.0%           Mayo Clinic Heatth System         Springfield	Mayo Clinic Health System				86.2%	79.8%	90.8%
Mayo Linic Health SystemSpringfield<	Mayo Clinic Health System	-	*	37	100.0%	90.6%	100.0%
Mayo Llinic Health SystemJamesImageSaleSale71.1%65.8%72.8%Mayo Clinic Health SystemMayo Clinic Health System St. Peter50275.5%71.6%79.1%Mayo Clinic Health SystemMayo Clinic Health System37175.7%71.1%79.8%Mayo Clinic Health SystemMayo Clinic Health System44100.0%92.0%100.0%Mayo Clinic Health SystemMayo Clinic Health System6675.8%64.2%84.5%Mayo Clinic Health SystemMental Health Outreach ClinicV12045.0%35.6%73.7%Mille Lacs Health SystemMille Lacs Health System - GarrisonX8464.3%53.6%73.7%Mille Lacs Health SystemMille Lacs Health System - OnamiaV8464.3%53.6%73.7%Mille Lacs Health SystemMille Lacs Health System - OnamiaV111858.5%49.5%67.0%Minnesota Mental Health Clinics- Eagan Apple Valley, Edina, Lakeville, Maplewood,Minnesota Mental Health Clinics- Lakeville, Maplewood,Minnesota Mental Health Clinics- Lakeville, Maplewood,Minnesota Mental Health Clinics- Mannesota Mental Health Clinics- Maneepolis, Woodbury)Minnesota Mental Health Clinics- Maneepolis, Woodbury)Minnesota Mental Health Clinics- Maple Valley, Edina, Lakeville, Maplewood,Minnesota Mental Health Clinics- Maplewood,118486.4%80.7%90.6%Minnesota Mental Health Clinics- Maplewood, Minnesota Mental Health Clinics- Maplewood,Minnesota Mental Health Clinics- Maplewo	Mayo Clinic Health System	5	•	132	84.1%	76.9%	89.4%
Mayo Clinic Health SystemMayo Clinic Health System Waseca Mayo Clinic Health System Waterville37175.7%71.1%79.8%Mayo Clinic Health SystemMayo Clinic Health System Waterville44100.0%92.0%100.0%Mayo Clinic Health SystemMayo Clinic Health System Wells Mental Health Outreach Clinic12045.0%36.4%53.6%73.7%Mille Lacs Health SystemMille Lacs Health SystemMille Lacs Health System3348.5%32.5%64.8%Mille Lacs Health SystemMille Lacs Health SystemMille Lacs Health System3348.5%32.5%64.8%Mille Lacs Health SystemMille Lacs Health SystemMille Lacs Health System3464.3%53.6%73.7%Minesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville ClinicMinnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Manesota Mental Health Clinics- Manesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Manesota Mental Health Clinics- Manesota Mental Health Clinics- Manesota Mental Health Clinics- Maplewood, Minnesota Mental Health Clinics- Maplewood, Minnesota Mental Health Clinics- Maplewood, Minnesota Mental Health Clinics- Manesota Mental Health Clinics- Maplewood, Minnes	Mayo Clinic Health System		▼	311	71.1%	65.8%	75.8%
Mayo Clinic Health System WatervilleMayo Clinic Health System Waterville*44100.0%92.0%100.0%Mayo Clinic Health System WatervilleMayo Clinic Health System Wells6675.8%64.2%84.5%Mental Health Outreach Clinic Mille Lacs Health SystemV120045.0%36.4%53.6%Mille Lacs Health System Mille Lacs Health SystemV3348.5%32.5%64.8%Mille Lacs Health SystemMille Lacs Health System - Garrison Mille Lacs Health SystemV8466.3%53.6%73.7%Mille Lacs Health SystemMille Lacs Health System - Onamia Minnesota Mental Health Clinics Eagan ClinicV11858.5%49.5%67.0%Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Maplewood ClinicA114977.2%69.8%83.2%Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Maplewood ClinicA22199.5%97.5%99.9%Minnesota Mental Health Clinics- Woodbury OlinicMinnesota Mental Health Clinics- Woodbury ClinicA22199.5%97.5%99.9%<	Mayo Clinic Health System	Mayo Clinic Health System St. Peter	•	502	75.5%	71.6%	79.1%
Mayo Clinic Health SystemWatervilleImage watervilleImage watervilleIm	Mayo Clinic Health System	Mayo Clinic Health System Waseca	•	371	75.7%	71.1%	79.8%
Mental Health ResourcesMental Health Outreach Clinic▼12045.0%36.4%53.9%Mille Lacs Health SystemMille Lacs Health System - Garrison▼3348.5%32.5%64.8%Mille Lacs Health SystemMille Lacs Health System - Isle▼8464.3%53.6%73.7%Mille Lacs Health SystemMille Lacs Health System - Onamia▼11858.5%49.5%67.0%Minnesota Mental Health ClinicsMinnesota Mental Health Clinics - Eagan ClinicMinnesota Mental Health Clinics1,17389.8%87.9%91.4%Minneapolis, Woodbury)Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville Clinic14977.2%69.8%83.2%Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Maplewood Clinic18486.4%80.7%90.6%Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Maplewood ClinicA23990.0%85.5%93.2%Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury ClinicA214991.5%91.6%Minnesota Mental Health Clinics- Lakeville, Maplewood, Nordh Memorial	Mayo Clinic Health System		*	44	100.0%	92.0%	100.0%
Mille Lacs Health SystemMille Lacs Health System - GarrisonV3348.5%32.5%64.8%Mille Lacs Health SystemMille Lacs Health System - IsleV8464.3%53.6%73.7%Mille Lacs Health SystemMille Lacs Health System - OnamiaV11858.5%49.5%67.0%Minnesota Mental Health ClinicsMinnesota Mental Health Clinics - Eagan Clinic1,17389.8%87.9%91.4%Lakeville, Maplewood,Minnesota Mental Health Clinics-1,17389.8%87.9%91.6%Minnesota Mental Health ClinicsMinnesota Mental Health Clinics-20587.8%82.6%91.6%Lakeville, Maplewood,Minnesota Mental Health Clinics-Apple Valley, Edina,Minnesota Mental Health Clinics-14977.2%69.8%83.2%Lakeville, Maplewood,Minnesota Mental Health Clinics-Apple Valley, Edina,Minnesota Mental Health Clinics-18486.4%80.7%90.6%Lakeville, Maplewood,Minnesota Mental Health Clinics-Minnesota Mental Health Clinics-23990.0%85.5%93.2%Minneapolis, Woodbury)Minnesota Mental Health Clinics-Minnesota Mental Health Clinics-23990.0%85.5%93.2%Kaeville, Maplewood,Minnesota Mental Health Clinics-A22199.5%97.5%99.9%Natalis Counseling & PsychologyNatalis Counseling - Main LocationA22199.5%97.5%99.7%Native American Community ClinicNorth Memorial Health -0227 <td>Mayo Clinic Health System</td> <td>Mayo Clinic Health System Wells</td> <td>•</td> <td>66</td> <td>75.8%</td> <td>64.2%</td> <td>84.5%</td>	Mayo Clinic Health System	Mayo Clinic Health System Wells	•	66	75.8%	64.2%	84.5%
Mille Lacs Health SystemMille Lacs Health System - Isle▼8464.3%53.6%73.7%Mille Lacs Health SystemMille Lacs Health System - Onamia▼11858.5%49.5%67.0%Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Eagan ClinicA11.17389.8%87.9%91.4%Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Minnesota Mental Health Clinics- Mondbury)14977.2%69.8%83.2%Keagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota	Mental Health Resources	Mental Health Outreach Clinic		120	45.0%	36.4%	53.9%
Mille Lacs Health SystemMille Lacs Health System - OnamiaImage: The State	Mille Lacs Health System	Mille Lacs Health System - Garrison	$\mathbf{\nabla}$	33	48.5%	32.5%	64.8%
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Eagan ClinicA1,17389.8%87.9%91.4%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Wondbury ClinicA18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury ClinicA23990.0%85.5%93.2%Minnesota Mental Health Clinics- (Minneapolis, Woodbury)Minnesota Mental Health Clinics- Woodbury ClinicA31090.9%97.2%99.7% </td <td>Mille Lacs Health System</td> <td>-</td> <td><math>\mathbf{\bullet}</math></td> <td>84</td> <td>64.3%</td> <td>53.6%</td> <td>73.7%</td>	Mille Lacs Health System	-	$\mathbf{\bullet}$	84	64.3%	53.6%	73.7%
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Eagan ClinicA1,17389.8%87.9%91.4%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Wondbury ClinicA18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury ClinicA23990.0%85.5%93.2%Minnesota Mental Health Clinics- (Minneapolis, Woodbury)Minnesota Mental Health Clinics- Woodbury ClinicA31090.9%97.2%99.7% </td <td>Mille Lacs Health System</td> <td>Mille Lacs Health System - Onamia</td> <td></td> <td>118</td> <td>58.5%</td> <td>49.5%</td> <td>67.0%</td>	Mille Lacs Health System	Mille Lacs Health System - Onamia		118	58.5%	49.5%	67.0%
Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Maplewood ClinicA114977.2%69.8%83.2%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury)Minnesota Mental Health Clinics- Maplewood ClinicA18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury)A23990.0%85.5%93.2%Minnesota Mental Health Clinics- (Minnesota Mental Health Clinics- (Minnesota Mental Health Clinics- Woodbury)A31099.0%97.5%99.7%Minnesota Mental Health Clinics- (Minnesota Mental He	2	,					
Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Maplewood ClinicA114977.2%69.8%83.2%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury)Minnesota Mental Health Clinics- Maplewood ClinicA18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury)A23990.0%85.5%93.2%Minnesota Mental Health Clinics- (Minnesota Mental Health Clinics- (Minnesota Mental Health Clinics- Woodbury)A31099.0%97.5%99.7%Minnesota Mental Health Clinics- (Minnesota Mental He	(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics -			<b>a a a a a a a a a a</b>		<b>0</b> 4 4 9 4
Minneapolis, Woodbury) Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Maplewood ClinicA20587.8%82.6%83.2%Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Maplewood, Minnesota Mental Health Clinics- Maplewood, Minnesota Mental Health Clinics- Maplewood, Minnesota Mental Health Clinics- Minnesota Mental Health Clinics- Maplewood, Minnesota Mental Health Clinics- Maplewood, Minnesota Mental Health Clinics- Minnesota Mental Health Clinics- Maplewood, Minnesota Mental Health Clinics- Minnesota Mental Healt				1,173	89.8%	87.9%	91.4%
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics Lakeville, Maplewood, Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics Lakeville, Maplewood, Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury)Minnesota Mental Health Clinics- Maplewood ClinicA14977.2%69.8%83.2%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury ClinicA18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury)A23990.0%85.5%93.2%Natalis Counseling & Psychology SolutionsNatalis Counseling - Main Location North Memorial Health -A22199.5%97.5%99.7%North Memorial Health -31099.0%97.2%99.7%	•						
(Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Apple ValleyMinnesota Mental Health Clinics- Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville ClinicMinnesota Mental Health Clinics- Minnesota Mental Health Clinics- Maplewood, ClinicMinnesota Mental Health Clinics- Maplewood ClinicMinnesota Mental Health Clinics- Maplewood,Minnesota Mental Health Clinics- Maplewood,Minne							
Lakeville, Maplewood, Minneapolis, Woodbury)Apple ValleyA20587.8%82.6%91.6%Minneapolis, Woodbury)Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville Maplewood, Minnesota Mental Health Clinics Lakeville ClinicMinnesota Mental Health Clinics- Lakeville Clinic14977.2%69.8%83.2%Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Maplewood Clinic18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury)Minnesota Mental Health Clinics- Maplewood Clinic18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury)18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)Minnesota Mental Health Clinics- Woodbury Clinic23990.0%85.5%93.2%Minneapolis, Woodbury)Natalis Counseling - Main LocationA22199.5%97.5%99.9%Native American Community ClinicA31099.0%97.2%99.7%North Memorial Health -•22779.7%74.0%84.5%		Minnesota Mental Health Clinics-					
Minneapolis, Woodbury) Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics Lakeville ClinicMinnesota Mental Health Clinics- Lakeville Clinic14977.2%69.8%83.2%Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Clinic18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury ClinicA23990.0%85.5%93.2%Minnesota Mental Health Clinics- Uodbury ClinicNatalis Counseling - Main LocationA22199.5%97.5%99.9%Native American Community Clinic North Memorial Health -Minte Clinic A31099.0%97.2%99.7%				205	87.8%	82.6%	91.6%
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)Minnesota Mental Health Clinics- Lakeville Clinic14977.2%69.8%83.2%Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury)18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury Clinic18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)Minnesota Mental Health Clinics- Woodbury Clinic18486.4%85.5%93.2%Natalis Counseling & Psychology SolutionsNatalis Counseling - Main Location North Memorial Health -1099.0%97.5%99.7%North Memorial North Memorial Health -1022779.7%74.0%84.5%							
(Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)Minnesota Mental Health Clinics- Lakeville Clinic14977.2%69.8%83.2%Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)Minnesota Mental Health Clinics- Maplewood Clinic18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury Clinic18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury Clinic18486.4%80.7%90.6%Minnesota Mental Health Clinics- Woodbury ClinicMinnesota Mental Health Clinics- Woodbury Clinic23990.0%85.5%93.2%Natalis Counseling & Psychology SolutionsNatalis Counseling - Main LocationA22199.5%97.5%99.9%North Memorial Health -Minter American Community ClinicA31099.0%97.2%99.7%							
Lakeville, Maplewood, Minneapolis, Woodbury)Lakeville Clinic14911.2%69.8%83.2%Minneapolis, Woodbury)Minnesota Mental Health Clinics- Maplewood, Minneapolis, Woodbury)Minnesota Mental Health Clinics- Maplewood Clinic18486.4%80.7%90.6%Minnesota Mental Health Clinics- Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury Clinic18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Woodbury Clinic18486.4%85.5%93.2%Minnesota Mental Health Clinics- Woodbury ClinicMinnesota Mental Health Clinics- Woodbury Clinic23990.0%85.5%93.2%Natalis Counseling & Psychology SolutionsNatalis Counseling - Main Location North Memorial Health -10099.0%97.5%99.9%North Memorial Health -022779.7%74.0%84.5%		Minnesota Mental Health Clinics-					
Minneapolis, Woodbury) Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- Maplewood ClinicMinnesota Mental Health Clinics- Maplewood ClinicMater and the an			•	149	77.2%	69.8%	83.2%
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)Minnesota Mental Health Clinics- Maplewood Clinic18486.4%80.7%90.6%Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minnesota Mental Health Clinics- (Woodbury Clinic18486.4%80.7%90.6%Minnesota Mental Health Clinics- (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)Minnesota Mental Health Clinics- Woodbury Clinic18486.4%80.7%90.6%Natalis Counseling & Psychology SolutionsNatalis Counseling - Main Location Native American Community Clinic122199.5%97.5%99.9%North Memorial Health -Image: State American Community ClinicImage: State American Community Clinic31099.0%97.2%99.7%	· · ·						
(Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)Minnesota Mental Health Clinics- Maplewood Clinic18486.4%80.7%90.6%Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)Minnesota Mental Health Clinics- Woodbury ClinicA23990.0%85.5%93.2%Natalis Counseling & Psychology SolutionsNatalis Counseling - Main LocationA22199.5%97.5%99.9%Native American Community ClinicA31099.0%97.2%99.7%North Memorial Health -•22779.7%74.0%84.5%							
Lakeville, Maplewood, Minneapolis, Woodbury)Maplewood Clinic18418486.4%80.7%90.6%Minneapolis, Woodbury)Minnesota Mental Health ClinicsMinnesota Mental Health Clinics- Woodbury ClinicMinnesota Mental Health Clinics- Woodbury ClinicA23990.0%85.5%93.2%Natalis Counseling & Psychology SolutionsNatalis Counseling - Main Location Native American Community ClinicA22199.5%97.5%99.9%North Memorial Health -•22779.7%74.0%84.5%		Minnesota Mental Health Clinics-					
Minneapolis, Woodbury) Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury ClinicMinnesota Mental Health Clinics- Woodbury Clinic23990.0%85.5%93.2%Natalis Counseling & Psychology SolutionsNatalis Counseling - Main Location Native American Community ClinicA22199.5%97.5%99.9%North Memorial Health -Image: Counseling Health -Ima				184	86.4%	80.7%	90.6%
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)Minnesota Mental Health Clinics- Woodbury Clinic23990.0%85.5%93.2%Natalis Counseling & Psychology SolutionsNatalis Counseling - Main Location $\blacktriangle$ 22199.5%97.5%99.9%Native American Community ClinicNative American Community Clinic $\checkmark$ 31099.0%97.2%99.7%North Memorial Health - $\bullet$ 22779.7%74.0%84.5%							
(Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)Minnesota Mental Health Clinics- Woodbury Clinic23990.0%85.5%93.2%Natalis Counseling & Psychology SolutionsNatalis Counseling - Main Location $\blacktriangle$ 22199.5%97.5%99.9%Native American Community ClinicNative American Community Clinic $\blacktriangle$ 31099.0%97.2%99.7%North Memorial Health - $\bullet$ 22779.7%74.0%84.5%							
Lakeville, Maplewood, Minneapolis, Woodbury)Woodbury ClinicA23990.0%85.5%93.2%Natalis Counseling & Psychology SolutionsNatalis Counseling - Main LocationA22199.5%97.5%99.9%Native American Community Clinic North Memorial Health -North Memorial Health -31099.0%97.2%99.7%		Minnesota Mental Health Clinics-					
Minneapolis, Woodbury) Natalis Counseling & Psychology SolutionsNatalis Counseling - Main Location Natalis Counseling - Main Location $\triangle$ 22199.5%97.5%99.9%Native American Community Clinic North Memorial Health - $\triangle$ 31099.0%97.2%99.7%				239	90.0%	85.5%	93.2%
Natalis Counseling & Psychology SolutionsNatalis Counseling - Main Location $\triangle$ 22199.5%97.5%99.9%Native American Community Clinic North Memorial Health - $\triangle$ 31099.0%97.2%99.7%	•						
SolutionsNatalis Counseling - Main LocationA22199.5%97.5%99.9%Native American Community ClinicNative American Community ClinicA31099.0%97.2%99.7%North Memorial Health -•22779.7%74.0%84.5%							
Native American Community ClinicA31099.0%97.2%99.7%North Memorial Health -•22779.7%74.0%84.5%		Natalis Counseling - Main Location		221	99.5%	97.5%	99.9%
North Memorial Health - 227 79 7% 74 0% 84 5%		Native American Community Clinic		310	99.0%	97.2%	99.7%
North Memorial 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		-					
	North Memorial	Minnetonka Medical Center	•	227	79.7%	74.0%	84.5%

▲ Above statewide average Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			248,162	77.7%		
North Memorial	North Memorial Health Clinic - Blaine	▼	432	70.6%	66.1%	74.7%
North Memorial	North Memorial Health Clinic - Brooklyn Center	٠	181	79.6%	73.1%	84.8%
North Memorial	North Memorial Health Clinic - Brooklyn Park	▼	157	62.4%	54.6%	69.6%
North Memorial	North Memorial Health Clinic - Camden	•	141	83.7%	76.7%	88.9%
North Memorial	North Memorial Health Clinic - Downtown Minneapolis		200	91.0%	86.2%	94.2%
North Memorial	North Memorial Health Clinic - Elk River	•	280	78.6%	73.4%	83.0%
North Memorial	North Memorial Health Clinic - Fridley	•	428	75.9%	71.7%	79.7%
North Memorial	North Memorial Health Clinic - Golden Valley		287	82.9%	78.1%	86.8%
North Memorial	North Memorial Health Clinic - Maple Grove	•	205	76.1%	69.8%	81.4%
North Memorial	North Memorial Health Clinic - New Hope		366	84.7%	80.7%	88.0%
North Memorial	North Memorial Health Clinic - Roseville	٠	80	82.5%	72.7%	89.3%
North Memorial	North Memorial Health Clinic - St. Anthony	▼	346	72.0%	67.0%	76.4%
North Memorial	North Memorial Health Internal Medicine - Maple Grove	▼	182	47.3%	40.1%	54.5%
North Memorial	North Memorial Health Mental Health	٠	492	78.7%	74.8%	82.1%
North Valley Health Center	North Valley Health Center	▼	102	0.0%	0.0%	3.6%
Northern Psychiatric Associates	Northern Psychiatric Associates		387	70.3%	65.5%	74.6%
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Farmington Clinic	*	122	100.0%	96.9%	100.0%
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lakeville Clinic	*	127	100.0%	97.1%	100.0%
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lonsdale Clinic	*	82	100.0%	95.5%	100.0%
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Northfield Clinic	*	336	100.0%	98.9%	100.0%
NorthPoint Health & Wellness Center	NorthPoint Health & Wellness Center	▼	7,359	41.3%	40.2%	42.4%
Northwest Family Physicians	Northwest Family Physicians - Crystal	▼	879	35.5%	32.4%	38.7%

🔺 Above statewide average

 Average Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

11111111111111111111 1 I 75 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			248,162	77.7%		
Northwest Family Physicians	Northwest Family Physicians - Plymouth	▼	390	49.2%	44.3%	54.2%
Northwest Family Physicians	Northwest Family Physicians - Rogers	▼	361	37.7%	32.8%	42.8%
Northwestern Mental Health Center	Northwestern Mental Health Center	٠	1,051	77.7%	75.1%	80.1%
Olivia Hospital & Clinic	Hector Clinic		63	92.1%	82.7%	96.6%
Olivia Hospital & Clinic	Olivia Hospital & Clinic		100	91.0%	83.8%	95.2%
Olivia Hospital & Clinic	Renville Clinic	•	41	87.8%	74.5%	94.7%
Olmsted Medical Center	Olmsted Medical Center - Byron Clinic	٠	297	79.5%	74.5%	83.7%
Olmsted Medical Center	Olmsted Medical Center - Cannon Falls	▼	111	66.7%	57.5%	74.7%
Olmsted Medical Center	Olmsted Medical Center - Chatfield Clinic	▼	130	70.0%	61.6%	77.2%
Olmsted Medical Center	Olmsted Medical Center - Lake City		99	92.9%	86.1%	96.5%
Olmsted Medical Center	Olmsted Medical Center - Pine Island Clinic		165	84.2%	77.9%	89.0%
Olmsted Medical Center	Olmsted Medical Center - Plainview Clinic		126	85.7%	78.5%	90.8%
Olmsted Medical Center	Olmsted Medical Center - Preston Clinic	٠	151	80.1%	73.1%	85.7%
Olmsted Medical Center	Olmsted Medical Center - Rochester Northwest	•	634	78.7%	75.4%	81.7%
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast	٠	1,482	77.7%	75.5%	79.7%
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast - Psychiatry		1,096	88.0%	85.9%	89.8%
Olmsted Medical Center	Olmsted Medical Center - Skyway Clinic		159	84.3%	77.8%	89.1%
Olmsted Medical Center	Olmsted Medical Center - Spring Valley Clinic	▼	234	71.8%	65.7%	77.2%
Olmsted Medical Center	Olmsted Medical Center - St. Charles Clinic	▼	181	69.6%	62.6%	75.8%
Olmsted Medical Center	Olmsted Medical Center - Stewartville Clinic	▼	283	67.5%	61.8%	72.7%
Olmsted Medical Center	Olmsted Medical Center - Wanamingo Clinic	٠	49	81.6%	68.6%	90.0%
Open Cities Health Center	Open Cities Health (Dunlap) - Family Medicine	▼	288	30.2%	25.2%	35.7%
Open Cities Health Center	Open Cities Health Center(North End)- Family Medicine	▼	130	52.3%	43.8%	60.7%
Open Door Health Center	Open Door Health Center	٠	285	82.1%	77.2%	86.1%

🔺 Above statewide average Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE		JUIE	248,162	77.7%	LOWEI	opper
Ortonville Area Health Services-	Ortonville Area Health Services-					
Northside Medical Clinic	Northside Medical Clinic		246	88.2%	83.6%	91.7%
Park Nicollet Health Services	Park Nicollet Clinic - Bloomington		559	88.7%	85.8%	91.1%
Park Nicollet Health Services	Park Nicollet Clinic - Brookdale		716	93.4%	91.4%	95.0%
Park Nicollet Health Services	Park Nicollet Clinic - Burnsville		1,062	89.7%	87.8%	91.4%
Park Nicollet Health Services	Park Nicollet Clinic - Carlson		719	86.2%	83.5%	88.6%
Park Nicollet Health Services	Park Nicollet Clinic - Champlin		315	94.6%	91.5%	96.6%
Park Nicollet Health Services	Park Nicollet Clinic - Chanhassen	•	758	78.1%	75.0%	80.9%
Park Nicollet Health Services	Park Nicollet Clinic - Creekside		243	85.6%	80.6%	89.5%
Park Nicollet Health Services	Park Nicollet Clinic - Eagan		758	89.4%	87.1%	91.4%
Park Nicollet Health Services	Park Nicollet Clinic - Eden Prairie		532	92.9%	90.3%	94.8%
Park Nicollet Health Services	Park Nicollet Clinic - Golden Valley		724	87.2%	84.5%	89.4%
Park Nicollet Health Services	Park Nicollet Clinic - Lakeville		241	88.4%	83.7%	91.8%
Park Nicollet Health Services	Park Nicollet Clinic - Maple Grove		635	84.9%	81.9%	87.5%
Park Nicollet Health Services	Park Nicollet Clinic - Minneapolis		589	85.1%	82.0%	87.7%
Park Nicollet Health Services	Park Nicollet Clinic - Plymouth		748	91.4%	89.2%	93.2%
Park Nicollet Health Services	Park Nicollet Clinic - Prior Lake		342	90.4%	86.8%	93.0%
Park Nicollet Health Services			6,846	90.4% 94.6%	94.0%	95.1%
	Park Nicollet Clinic - Psychiatry		128	94.8% 85.9%	94.0% 78.9%	90.9%
Park Nicollet Health Services	Park Nicollet Clinic - Rogers					
Park Nicollet Health Services	Park Nicollet Clinic - Shakopee		817	93.3%	91.3%	94.8%
Park Nicollet Health Services	Park Nicollet Clinic - Shorewood		364	93.4%	90.4%	95.5%
Park Nicollet Health Services	Park Nicollet Clinic - SmartCare		213	93.9%	89.8%	96.4%
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Family Medicine		1,391	86.8%	85.0%	88.5%
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Internal Medicine		1,152	89.8%	88.0%	91.5%
Park Nicollet Health Services	Park Nicollet Clinic - Target Health and Well-Being Center		83	96.4%	89.9%	98.8%
Park Nicollet Health Services	Park Nicollet Clinic - Wayzata		445	89.2%	86.0%	91.8%
Park Nicollet Health Services	Park Nicollet Clinic - Women's Services	▼	445	61.8%	57.2%	66.2%
People Incorporated Stark Mental Health Clinic	Family Life Mental Health Center		828	81.8%	79.0%	84.2%
People Incorporated Stark Mental Health Clinic	Stark Clinic-York		157	93.0%	87.9%	96.0%
People Incorporated Stark Mental Health Clinic	Stark Mental Health Clinic		550	90.7%	88.0%	92.9%
Perham Health	Perham Health Clinic		581	82.1%	78.8%	85.0%
Perham Health	Perham Health New York Mills Clinic	•	93	81.7%	72.7%	88.3%
Planned Parenthood Minnesota, North Dakota, South Dakota	Planned Parenthood Minnesota, North Dakota, South Dakota - St Cloud	▼	41	26.8%	15.7%	41.9%

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			248,162	77.7%		
Prairie Ridge Hospital & Health	Prairie Ridge Hospital & Health		82	42.7%	22 50/	E2 E0/
Services	Services - Elbow Lake	•	82	42.1%	32.5%	53.5%
Rainy Lake Medical Center	Rainy Lake Medical Center - Rural Health Clinic	▼	99	66.7%	56.9%	75.2%
Ramsey County Mental Health	Ramsey County Mental Health Center	▼	388	36.3%	31.7%	41.2%
Richfield Medical Group	Richfield Medical Group		190	71.1%	64.2%	77.0%
Ridgeview Clinics	Ridgeview Belle Plaine Clinic	٠	48	79.2%	65.7%	88.3%
Ridgeview Clinics	Ridgeview Chanhassen Clinic		208	70.7%	64.2%	76.4%
Ridgeview Clinics	Ridgeview Chaska Clinic	▼	91	62.6%	52.4%	71.9%
Ridgeview Clinics	Ridgeview Delano Clinic	•	179	78.2%	71.6%	83.6%
Ridgeview Clinics	Ridgeview Excelsior Clinic	•	141	75.2%	67.4%	81.6%
Ridgeview Clinics	Ridgeview Howard Lake Clinic	٠	50	86.0%	73.8%	93.0%
Ridgeview Clinics	Ridgeview Westonka Clinic	•	285	58.6%	52.8%	64.2%
Ridgeview Clinics	Ridgeview Winsted Clinic		57	89.5%	78.9%	95.1%
RiverView Health	RiverView Clinic		154	48.1%	40.3%	55.9%
Riverwood Healthcare Center	Riverwood Aitkin Clinic		449	90.9%	87.8%	93.2%
Riverwood Healthcare Center	Riverwood Garrison Clinic		113	89.4%	82.4%	93.8%
Riverwood Healthcare Center	Riverwood McGregor Clinic		264	88.6%	84.2%	91.9%
Sanford Health	Sanford Aberdeen Clinic	<b>•</b>	694	51.2%	47.4%	54.9%
Sanford Health	Sanford Bagley Clinic	<b>V</b>	148	63.5%	55.5%	70.8%
Samora neatth	Sanford Bemidji 1611 Anne St Clinic	•	140	03.370	55.570	10.070
Sanford Health	- Behavioral Health	٠	61	86.9%	76.2%	93.2%
	Sanford Bemidji 1611 Anne St Clinic					
Sanford Health	- Family Medicine		123	52.0%	43.3%	60.7%
	Sanford Bemidji Main Clinic -					
Sanford Health	Family Medicine	٠	701	76.9%	73.6%	79.9%
Sanford Health	Sanford Bemidji Main Clinic - Internal Medicine	▼	205	64.9%	58.1%	71.1%
Sanford Health	Sanford Blackduck Clinic	٠	73	84.9%	75.0%	91.4%
Sanford Health	Sanford Brandon Clinic		30	46.7%	30.2%	63.9%
Sanford Health	Sanford Canby Clinic	٠	131	79.4%	71.7%	85.4%
Sanford Health	Sanford Canton Clinic	٠	115	85.2%	77.6%	90.6%
Sanford Health	Sanford Cass Lake Clinic		61	67.2%	54.7%	77.7%
Sanford Health	Sanford Chamberlain Clinic		30	23.3%	11.8%	40.9%
Sanford Health	Sanford Clear Lake Clinic	▼	74	64.9%	53.5%	74.8%
Sanford Health	Sanford East Grand Forks Clinic		312	39.7%	34.5%	45.3%
Sanford Health	Sanford Fargo Broadway Clinic - Family Medicine Residency		284	90.1%	86.1%	93.1%
Sanford Health	Sanford Fargo Broadway Clinic - Behavioral Health		849	82.3%	79.6%	84.8%
Sanford Health	Sanford Fargo Broadway Clinic -	•	199	38.2%	31.7%	45.1%
	Internal Medicine					

🔺 Above statewide average Average

🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

111111111111111 11 11 78 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			248,162	77.7%		
Sanford Health	Sanford Fargo Integrative Medicine Clinic - Family Medicine		224	86.2%	81.0%	90.1%
Sanford Health	Sanford Fargo Integrative Medicine Clinic - Internal Medicine	•	51	80.4%	67.5%	89.0%
Sanford Health	Sanford Fargo Internal Medicine Residency Clinic	▼	125	52.8%	44.1%	61.3%
Sanford Health	Sanford Fargo North Fargo Clinic		497	91.1%	88.3%	93.3%
Sanford Health	Sanford Fargo Professional Building - Behavioral Health		229	94.8%	91.1%	97.0%
Sanford Health	Sanford Fargo Roger Maris Cancer Center	•	33	78.8%	62.2%	89.3%
Sanford Health	Sanford Fargo South University Clinic - Specialty Clinics	٠	344	77.0%	72.3%	81.2%
Sanford Health	Sanford Fargo Southpointe Clinic - Family Medicine		816	86.2%	83.6%	88.4%
Sanford Health	Sanford Fargo Southpointe Clinic - Internal Medicine	٠	865	76.0%	73.0%	78.7%
Sanford Health	Sanford Fargo Veterans Square Clinic - Family Medicine		200	86.0%	80.5%	90.1%
Sanford Health	Sanford Hawley Clinic	•	107	72.9%	63.8%	80.4%
Sanford Health	Sanford Health Adrian Clinic	•	67	68.7%	56.8%	78.5%
Sanford Health	Sanford Health Alexandria Broadway Clinic	▼	833	64.0%	60.7%	67.2%
Sanford Health	Sanford Health Beresford Clinic		35	94.3%	81.4%	98.4%
Sanford Health	Sanford Health Brookings Clinic		310	68.1%	62.7%	73.0%
Sanford Health	Sanford Health Detroit Lakes Clinic	▼	1,222	57.4%	54.7%	60.2%
Sanford Health	Sanford Health Enderlin Clinic	•	45	77.8%	63.7%	87.5%
Sanford Health	Sanford Health Gwinner Clinic	•	53	79.2%	66.5%	88.0%
Sanford Health	Sanford Health Hartford Clinic	▼	34	55.9%	39.5%	71.1%
Sanford Health	Sanford Health Hillsboro Clinic	▼	80	61.3%	50.3%	71.2%
Sanford Health	Sanford Health Jamestown Clinic		691	60.2%	56.5%	63.8%
Sanford Health	Sanford Health Lisbon Clinic	٠	69	84.1%	73.7%	90.9%
Sanford Health	Sanford Health Mahnomen Clinic	•	94	71.3%	61.4%	79.4%
Sanford Health	Sanford Health Mountain Lake Clinic	•	77	85.7%	76.2%	91.8%
Sanford Health	Sanford Health Oakes Clinic	•	96	70.8%	61.1%	79.0%
Sanford Health	Sanford Health Parkers Prairie Clinic	٠	42	73.8%	58.9%	84.7%
Sanford Health	Sanford Health Pelican Rapids Clinic	٠	95	80.0%	70.9%	86.8%
Sanford Health	Sanford Health Pierre Clinic	$\bullet$	75	48.0%	37.1%	59.1%
Sanford Health	Sanford Health Valley City Clinic	▼	296	63.5%	57.9%	68.8%
Sanford Health	Sanford Health Vermillion Clinic	•	287	75.3%	70.0%	79.9%

▲ Above statewide average Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health	Denominator	Rate	95% CI	95% CI
		Score			Lower	Upper
STATEWIDE AVERAGE			248,162	77.7%	== +0/	00.10/
Sanford Health	Sanford Health Wahpeton Clinic		449	61.7%	57.1%	66.1%
Sanford Health	Sanford Health Walker Clinic		162	56.2%	48.5%	63.6%
Sanford Health	Sanford Health Watertown Clinic		310	55.5%	49.9%	60.9%
Sanford Health	Sanford Health Wheaton Clinic		57	63.2%	50.2%	74.5%
Sanford Health	Sanford Health Windom Clinic	•	69	84.1%	73.7%	90.9%
Sanford Health	Sanford Jackson Clinic		188	91.0%	86.0%	94.3%
Sanford Health	Sanford Lakefield Clinic		107	98.1%	93.4%	99.5%
Sanford Health	Sanford Luverne Clinic		265	25.7%	20.8%	31.2%
Sanford Health	Sanford Mayville Clinic	▼	83	61.4%	50.7%	71.2%
Sanford Health	Sanford Moorhead Clinic -		1,611	94.5%	93.2%	95.5%
Samora Health	Behavioral Health		1,011	94.5%	93.2%	95.5%
Sanford Health	Sanford Moorhead Clinic - Family Medicine		367	94.6%	91.7%	96.4%
	Sanford Moorhead Clinic - Internal					
Sanford Health	Medicine	▼	496	72.2%	68.1%	75.9%
Sanford Health	Sanford Rock Rapids Clinic		104	34.6%	26.2%	44.2%
Sanford Health	Sanford Sanborn Clinic		45	93.3%	82.1%	97.7%
Sanford Health	Sanford Sheldon Clinic		390	89.2%	85.8%	91.9%
	Sanford Sioux Falls 26th &					
Sanford Health	Sycamore Family Medicine Clinic		185	51.9%	44.7%	59.0%
	Sanford Sioux Falls 32nd & Ellis	_				
Sanford Health	Family Medicine Clinic		428	51.6%	46.9%	56.3%
	Sanford Sioux Falls 34th & Kiwanis	_				
Sanford Health	Family Medicine Clinic	▼	231	41.6%	35.4%	48.0%
	Sanford Sioux Falls 49th & Oxbow	_				
Sanford Health	Family Medicine Clinic		389	58.6%	53.7%	63.4%
	Sanford Sioux Falls 4th & Sycamore	_				
Sanford Health	Family Medicine Clinic		146	39.7%	32.2%	47.8%
	Sanford Sioux Falls 69th & Louise					
Sanford Health	Family Medicine Clinic	•	217	73.7%	67.5%	79.1%
	Sanford Sioux Falls 69th &					
Sanford Health	Minnesota Family Medicine Clinic		450	56.7%	52.1%	61.2%
	Sanford Sioux Falls Internal					
Sanford Health	Medicine Clinic		427	26.2%	22.3%	30.6%
	Sanford Sioux Falls Psychiatry &					
Sanford Health	Psychology Clinic		2,129	24.6%	22.8%	26.5%
	Sanford Sioux Falls Women's					
Sanford Health	Internal Medicine	•	167	71.9%	64.6%	78.1%
Sanford Health	Sanford Thief River Falls Clinic	•	479	42.4%	38.0%	46.8%
Sanford Health	Sanford Tracy Clinic	•	154	42.4 <i>%</i> 80.5%	73.6%	86.0%
Sanford Health	Sanford Webster Clinic	•	50	64.0%	50.1%	75.9%
	Sanford Webster Clinic - Family			0-1.0 /0	50.170	
Sanford Health	Medicine		718	85.7%	82.9%	88.0%
	Medicine					

▲ Above statewide average Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			248,162	77.7%		oppe.
Sanford Health	Sanford Westbrook Clinic		96	88.5%	80.6%	93.5%
Sanford Health	Sanford Worthington Clinic	٠	221	82.8%	77.3%	87.2%
Sawtooth Mountain Clinic	Sawtooth Mountain Clinic, Inc	▼	239	61.9%	55.6%	67.8%
Scandia Clinic	Scandia Clinic		76	40.8%	30.4%	52.0%
Scenic Rivers Health Services	Scenic Rivers Health Services - Bigfork	▼	119	53.8%	44.8%	62.5%
Scenic Rivers Health Services	Scenic Rivers Health Services - Cook	▼	90	66.7%	56.4%	75.5%
Sibley Medical Center DBA	Ridgeview Arlington Clinic		37	91.9%	78.7%	97.2%
Ridgeview Sibley Medical Center	Ridgeview Anington Clinic		51	91.9%	10.190	91.2%
Sibley Medical Center DBA	Ridgeview Gaylord Clinic	•	36	86.1%	71.3%	93.9%
Ridgeview Sibley Medical Center	Ridgeview daytord clinic	•	50	00.170	11.570	55.570
Sibley Medical Center DBA	Ridgeview Henderson Clinic	•	32	75.0%	57.9%	86.7%
Ridgeview Sibley Medical Center	5	-				
Sleepy Eye Medical Center	Sleepy Eye Medical Center		143	36.4%	28.9%	44.5%
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville	▼	144	54.9%	46.7%	62.8%
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Eden Prairie	▼	33	54.5%	38.0%	70.2%
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina	▼	40	50.0%	35.2%	64.8%
Southside Community Health		*	50	100.00/	02.00/	100.00/
Services	Southside Medical Clinic	<b>X</b>	50	100.0%	92.9%	100.0%
Southwestern Mental Health Center	Southwestern Mental Health Center-Worthington	*	253	100.0%	98.5%	100.0%
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Frederic Clinic		246	87.0%	82.2%	90.6%
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Lindstrom Clinic		313	87.5%	83.4%	90.7%
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic		1,362	92.7%	91.1%	93.9%
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Unity Clinic		363	90.1%	86.6%	92.8%
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Webster Clinic	•	262	74.4%	68.8%	79.3%
St. Luke's Clinics	St Luke's Clinics-Bay Area	٠	32	81.3%	64.7%	91.1%
St. Luke's Clinics	St Luke's Clinics-Chequamegon Clinic	▼	196	32.1%	26.0%	39.0%
St. Luke's Clinics	St Luke's Clinics-Denfeld	٠	184	79.9%	73.5%	85.0%
St. Luke's Clinics	St Luke's Clinics-Hibbing Family Medical Clinic	▼	199	51.3%	44.4%	58.1%
St. Luke's Clinics	St Luke's Clinics-Internal Medicine Associates	▼	469	33.7%	29.6%	38.1%

▲ Above statewide average Average

▼ Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			248,162	77.7%		
St. Luke's Clinics	St Luke's Clinics-Laurentian		180	27.8%	21.8%	34.7%
St. Luke's Clinics	St Luke's Clinics-Lester River	▼	109	40.4%	31.6%	49.8%
St. Luke's Clinics	St Luke's Clinics-Mariner Medical Clinic	•	134	79.9%	72.3%	85.8%
St. Luke's Clinics	St Luke's Clinics-Medical Arts Clinic	▼	121	51.2%	42.4%	60.0%
St. Luke's Clinics	St Luke's Clinics-Mental Health		521	87.3%	84.2%	89.9%
St. Luke's Clinics	St Luke's Clinics-Miller Creek		135	27.4%	20.6%	35.5%
St. Luke's Clinics	St Luke's Clinics-Mount Royal		254	45.3%	39.3%	51.4%
St. Luke's Clinics	St Luke's Clinics-P.S. Rudie Medical Clinic	▼	321	62.0%	56.6%	67.1%
Stellis Health, PA	Stellis Health - Albertville-St. Michael Clinic	•	210	72.9%	66.5%	78.4%
Stellis Health, PA	Stellis Health-Buffalo Clinic		614	68.2%	64.5%	71.8%
Stellis Health, PA	Stellis Health-Monticello Clinic		502	85.1%	81.7%	87.9%
Synergy Family Physicians, P.A	Synergy Family Physicians, P.A.		66	59.1%	47.0%	70.1%
The Emily Program	The Emily Program - St. Paul (Como)	•	85	80.0%	70.3%	87.1%
The Emily Program	The Emily Program - Woodbury (East Metro)	▼	808	68.7%	65.4%	71.8%
Tri-County Health Care	Tri-County Health Care - Bertha Clinic		38	97.4%	86.5%	99.5%
Tri-County Health Care	Tri-County Health Care - Henning Clinic		121	99.2%	95.5%	99.9%
Tri-County Health Care	Tri-County Health Care - Ottertail Clinic		57	98.2%	90.7%	99.7%
Tri-County Health Care	Tri-County Health Care - Wadena Clinic		463	97.4%	95.5%	98.5%
United Family Medicine	United Family Medicine		613	94.8%	92.7%	96.3%
Unity Family Healthcare, Family Medical Center	Family Medical Center		805	93.7%	91.8%	95.1%
University of Minnesota Physicians	University of Minnesota Health - Fairview Maple Grove Medical Center		339	86.7%	82.7%	89.9%
University of Minnesota Physicians	University of Minnesota Health - Mill City Clinic		189	94.7%	90.5%	97.1%
University of Minnesota Physicians	University of Minnesota Health - Primary Care Center	▼	424	68.4%	63.8%	72.6%
University of Minnesota Physicians	University of Minnesota Health - Psychiatry Clinic		709	86.7%	84.0%	89.0%
University of Minnesota Physicians	University of Minnesota Health - Smiley's Family Medicine Clinic	•	281	77.2%	72.0%	81.7%
University of Minnesota Physicians	University of Minnesota Health - Women's Health Specialists Clinic	•	100	77.0%	67.8%	84.2%

▲ Above statewide average Average ▼ Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

11 ъ I ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			248,162	77.7%		
University of Minnesota Physicians	University of Minnesota Physicians - Bethesda Family Medicine Clinic	•	166	77.1%	70.1%	82.8%
University of Minnesota Physicians	University of Minnesota Physicians - Broadway Family Medicine Clinic	•	324	73.8%	68.7%	78.3%
University of Minnesota Physicians	University of Minnesota Physicians - Center for Sexual Health	▼	215	59.1%	52.4%	65.4%
University of Minnesota Physicians	University of Minnesota Physicians - Phalen Village Family Medicine Clinic	▼	167	62.3%	54.7%	69.3%
Voyage Healthcare	Voyage Healthcare - Crystal	▼	397	36.3%	31.7%	41.1%
Voyage Healthcare	Voyage Healthcare - Maple Grove		600	44.8%	40.9%	48.8%
Voyage Healthcare	Voyage Healthcare - Osseo		486	39.7%	35.5%	44.1%
Voyage Healthcare	Voyage Healthcare - Plymouth		528	32.6%	28.7%	36.7%
Wayzata Children's Clinic	Wayzata Children's Clinic - Minnetonka	•	34	73.5%	56.9%	85.4%
Welia Health	Welia Health Hinckley	•	100	77.0%	67.8%	84.2%
Welia Health	Welia Health Mora		383	85.1%	81.2%	88.3%
Welia Health	Welia Health Pine City		147	85.7%	79.1%	90.5%
West Side Community Health	West Side Community Health		274	61.7%	55.8%	67.2%
Services	Services - East Side Family Clinic	•	214	61.7%	55.8%	67.2%
West Side Community Health Services	West Side Community Health Services - La Clinica	▼	307	65.5%	60.0%	70.6%
West Side Community Health Services	West Side Community Health Services - McDonough Homes Clinic	•	48	68.8%	54.7%	80.1%
Westfields Hospital and Clinic	Westfields Clinic		284	91.2%	87.3%	94.0%
Williams Integracare Clinic	Integracare Ltd dba Williams Clinic		162	90.7%	85.3%	94.3%
Winona Health Services	Winona Health - Rushford Clinic	▼	86	62.8%	52.2%	72.3%
Winona Health Services	Winona Health - Winona Clinic	▼	1,818	69.0%	66.8%	71.1%
Woodland Centers	Woodland Centers - Litchfield		88	94.3%	87.4%	97.5%
Woodland Centers	Woodland Centers - Montevideo		67	95.5%	87.6%	98.5%
Woodland Centers	Woodland Centers - Willmar		175	96.0%	92.0%	98.0%

★ Top performer ▲ Above statewide average Average ▼ Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

83 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

## Adolescent Depression - PHQ-9/PHQ-9M Utilization

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE		19,574	78.4%			
Allina Health	Allina Health - Allina Mental Health - ANW	٠	117	71.8%	63.0%	79.2%
Allina Health	Allina Health - Allina Mental Health - United	•	132	80.3%	72.7%	86.2%
Allina Health	Allina Health - Allina Mental Health - Unity		32	93.8%	79.9%	98.3%
Allina Health	Allina Health - Bandana Square	•	32	78.1%	61.2%	89.0%
Allina Health	Allina Health - Buffalo		56	98.2%	90.6%	99.7%
Allina Health	Allina Health - Cambridge		105	98.1%	93.3%	99.5%
Allina Health	Allina Health - Coon Rapids		180	94.4%	90.1%	97.0%
Allina Health	Allina Health - Cottage Grove		59	96.6%	88.5%	99.1%
Allina Health	Allina Health - Eagan		35	97.1%	85.5%	99.5%
Allina Health	Allina Health - Faribault		65	96.9%	89.5%	99.2%
Allina Health	Allina Health - Forest Lake	*	36	100.0%	90.4%	100.0%
Allina Health	Allina Health - Hastings		93	94.6%	88.0%	97.7%
Allina Health	Allina Health - Maple Grove	*	39	100.0%	91.0%	100.0%
Allina Health	Allina Health - New Ulm Medical Center		73	97.3%	90.5%	99.2%
Allina Health	Allina Health - Northfield		91	97.8%	92.3%	99.4%
Allina Health	Allina Health - Richfield	•	33	90.9%	76.4%	96.9%
Allina Health	Allina Health - Woodbury		63	98.4%	91.5%	99.7%
Alomere Health	Alexandria Clinic, A Service of Alomere Health		86	98.8%	93.7%	99.8%
Altru Health System	Altru Health System - Grand Forks		259	26.3%	21.3%	31.9%
Associated Clinic of Psychology	Associated Clinic of Psychology- Apple Valley		33	93.9%	80.4%	98.3%
Associated Clinic of Psychology	Associated Clinic of Psychology- West St. Paul	٠	34	85.3%	69.9%	93.6%
CentraCare Health	Carris Health - Willmar Main Clinic		42	92.9%	81.0%	97.5%
CentraCare Health	Centracare Clinic - Albany	*	31	100.0%	89.0%	100.0%
CentraCare Health	CentraCare Clinic - Northway		40	95.0%	83.5%	98.6%
CentraCare Health	Centracare Clinic - SCMG Northwest		116	99.1%	95.3%	99.8%
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South		46	97.8%	88.7%	99.6%
CentraCare Health	CentraCare Health - Melrose	*	39	100.0%	91.0%	100.0%
CentraCare Health	CentraCare Health Plaza - Pediatrics		283	97.5%	95.0%	98.8%

★ Top performer

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE		-	19,574	78.4%		
CentraCare Health	St Cloud Hospital - Behavioral Health Clinic		345	95.7%	93.0%	97.3%
Children's Minnesota	Children's MN General Pediatric Clinic - Minneapolis	*	88	100.0%	95.8%	100.0%
Children's Minnesota	Children's MN General Pediatric Clinic - St. Paul	*	39	100.0%	91.0%	100.0%
Children's Minnesota	Children's MN Partners in Pediatrics Brooklyn Park	*	70	100.0%	94.8%	100.0%
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	*	76	100.0%	95.2%	100.0%
Children's Minnesota	Children's MN Partners in Pediatrics Plymouth	*	47	100.0%	92.4%	100.0%
Children's Minnesota	Children's MN Partners in Pediatrics Rogers	*	62	100.0%	94.2%	100.0%
Children's Minnesota	Children's MN Partners in Pediatrics St. Louis Park	*	38	100.0%	90.8%	100.0%
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Crosby Clinic		30	93.3%	78.7%	98.2%
Eagan Valley Pediatrics	Eagan Valley Pediatrics	*	53	100.0%	93.2%	100.0%
Essentia Health	EH East Amberwing Clinic		63	96.8%	89.1%	99.1%
Essentia Health	EH East Baxter Clinic	•	45	80.0%	66.2%	89.1%
Essentia Health	EH East Duluth Clinic		119	88.2%	81.2%	92.9%
Essentia Health	EH East Duluth Clinic 1st St	•	125	78.4%	70.4%	84.7%
Essentia Health	EH East Hermantown Clinic	•	35	88.6%	74.0%	95.5%
Essentia Health	EH East Lakeland Psychiatry Clinic		64	92.2%	83.0%	96.6%
Essentia Health	EH East Superior Clinic	•	53	83.0%	70.8%	90.8%
Essentia Health	EH East West Duluth Clinic	•	49	75.5%	61.9%	85.4%
Essentia Health	EH West 52nd Avenue Clinic		38	94.7%	82.7%	98.5%
Essentia Health	EH West Detroit Lakes Clinic	•	46	84.8%	71.8%	92.4%
Essentia Health	EH West Moorhead	•	30	90.0%	74.4%	96.5%
Essentia Health	EH West Park Rapids Clinic	•	46	84.8%	71.8%	92.4%
Essentia Health	EH West South University Clinic	•	110	73.6%	64.7%	81.0%
Fairview Health Services	M Health Fairview Children's Clinic	•	46	89.1%	77.0%	95.3%
Fairview Health Services	M Health Fairview Clinic Andover		59	89.8%	79.5%	95.3%
Fairview Health Services	M Health Fairview Clinic Eagan	•	30	80.0%	62.7%	90.5%
Fairview Health Services	M Health Fairview Clinic Elk River		57	89.5%	78.9%	95.1%
Fairview Health Services	M Health Fairview Clinic North Branch		38	92.1%	79.2%	97.3%
Fairview Health Services	M Health Fairview Clinic Princeton	٠	40	87.5%	73.9%	94.5%
Fairview Health Services	M Health Fairview Clinic Wyoming	•	45	82.2%	68.7%	90.7%
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	•	34	88.2%	73.4%	95.3%

🔺 Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			19,574	78.4%		
Grand Itasca Clinic	Grand Itasca Clinic		48	93.8%	83.2%	97.9%
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics		61	96.7%	88.8%	99.1%
HealthPartners Clinics	HealthPartners - Regions BH Arden Hills	*	40	100.0%	91.2%	100.0%
HealthPartners Clinics	HealthPartners - Regions BH Maplewood		77	97.4%	91.0%	99.3%
HealthPartners Clinics	HealthPartners - Regions BH Woodbury		103	97.1%	91.8%	99.0%
HealthPartners Clinics	HealthPartners - West Behav Hlth		61	91.8%	82.2%	96.4%
Hennepin Healthcare	Hennepin Healthcare Brooklyn Park Clinic	*	167	100.0%	97.8%	100.0%
Hennepin Healthcare	Hennepin Healthcare Child/Adolescent Psychiatry Clinic		84	98.8%	93.6%	99.8%
Hennepin Healthcare	Hennepin Healthcare East Lake Clinic		81	98.8%	93.3%	99.8%
Hennepin Healthcare	Hennepin Healthcare Pediatric Clinic	*	70	100.0%	94.8%	100.0%
Hennepin Healthcare	Hennepin Healthcare Pulmonary Clinic	*	70	100.0%	94.8%	100.0%
Hennepin Healthcare	Hennepin Healthcare Richfield Clinic		43	95.3%	84.5%	98.7%
Hennepin Healthcare	Hennepin Healthcare Whittier Clinic	*	157	100.0%	97.6%	100.0%
Hutchinson Health	Hutchinson Health - Dassel Clinic	•	37	89.2%	75.3%	95.7%
Hutchinson Health	Hutchinson Health - Mental Health Clinic	▼	47	48.9%	35.3%	62.8%
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls		115	92.2%	85.8%	95.8%
Lakeland Mental Health Center	Lakeland Mental Health Center - Alexandria	•	30	66.7%	48.8%	80.8%
Lakeland Mental Health Center	Lakeland Mental Health Center - Detroit Lakes	•	43	76.7%	62.3%	86.8%
Lakeland Mental Health Center	Lakeland Mental Health Center - Fergus Falls	▼	127	45.7%	37.3%	54.3%
Lakeland Mental Health Center	Lakeland Mental Health Center - Moorhead	▼	88	60.2%	49.8%	69.8%
Lakewood Health System	Lakewood Health System - Pillager Clinic	•	33	81.8%	65.6%	91.4%
Lakewood Health System	Lakewood Health System - Staples Clinic	•	69	76.8%	65.6%	85.2%
Mankato Clinic, Ltd.	Mankato Clinic - Children's Health Center		52	90.4%	79.4%	95.8%

🔺 Above statewide average Average 🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

1 L 86 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			19,574	78.4%		
Mankato Clinic, Ltd.	Mankato Clinic - Daniel's Health Center	•	37	86.5%	72.0%	94.1%
Mankato Clinic, Ltd.	Mankato Clinic - Department of Psychiatry & Psychology		193	99.0%	96.3%	99.7%
Mayo Clinic	Mayo Clinic - Baldwin Building, Family Medicine		39	94.9%	83.1%	98.6%
Mayo Clinic	Mayo Clinic - Baldwin Building, Pediatrics		141	98.6%	95.0%	99.6%
Mayo Clinic	Mayo Clinic - Baldwin Building, Primary Care Internal Medicine		54	98.1%	90.2%	99.7%
Mayo Clinic	Mayo Clinic - Generose Building	•	111	79.3%	70.8%	85.8%
Mayo Clinic	Mayo Clinic - Kasson		50	98.0%	89.5%	99.6%
Mayo Clinic	Mayo Clinic - Northeast		81	97.5%	91.4%	99.3%
Mayo Clinic	Mayo Clinic - Northwest		69	98.6%	92.2%	99.7%
Mayo Clinic	Mayo Clinic - Speciality Practice		289	47.8%	42.1%	53.5%
Mayo Clinic	Mayo Family Clinic Southeast		35	94.3%	81.4%	98.4%
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	•	83	86.7%	77.8%	92.4%
Mayo Clinic Health System	Mayo Clinic Health System Austin	•	151	70.2%	62.5%	76.9%
Mayo Clinic Health System	Mayo Clinic Health System Fairmont	•	48	89.6%	77.8%	95.5%
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge		69	92.8%	84.1%	96.9%
Mayo Clinic Health System	Mayo Clinic Health System Owatonna		98	93.9%	87.3%	97.2%
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	•	75	76.0%	65.2%	84.2%
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics -		254	0E 004	81.0%	89.6%
Lakeville, Maplewood,	Eagan Clinic		254	85.8%	81.0%	89.6%
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-		50	00.20/		
Lakeville, Maplewood,	Apple Valley		56	89.3%	78.5%	95.0%
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-			<b>a a a a</b> (	aa =a/	
Lakeville, Maplewood,	Lakeville Clinic	•	57	80.7%	68.7%	88.9%
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-					
Lakeville, Maplewood,	Maplewood Clinic	•	40	75.0%	59.8%	85.8%
Minneapolis, Woodbury)						
Immieapous, woodbuly/	1	1	I		1	1

🔺 Above statewide average

 Average 🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			19,574	78.4%		
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Woodbury Clinic		45	93.3%	82.1%	97.7%
North Memorial	North Memorial Health Clinic - Blaine	•	35	88.6%	74.0%	95.5%
Northfield Hospital + Clinics NorthPoint Health & Wellness	Northfield Hospital + Clinics - Northfield Clinic NorthPoint Health & Wellness	*	34 830	100.0% 51.2%	89.8% 47.8%	100.0% 54.6%
Center	Center					
Northwestern Mental Health Center	Northwestern Mental Health Center		373	83.1%	79.0%	86.6%
Olmsted Medical Center	Olmsted Medical Center - Rochester Northwest	▼	64	51.6%	39.6%	63.4%
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast	▼	70	68.6%	57.0%	78.2%
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast - Psychiatry	•	82	82.9%	73.4%	89.5%
Open Door Health Center Park Nicollet Health Services Park Nicollet Health Services	Open Door Health Center Park Nicollet Clinic - Psychiatry Park Nicollet Clinic - Shakopee	•	41 654 33	73.2% 93.9% 90.9%	58.1% 91.8% 76.4%	84.3% 95.5% 96.9%
People Incorporated Stark Mental Health Clinic	Family Life Mental Health Center	V	39	12.8%	5.6%	26.7%
Sanford Health	Sanford Aberdeen Clinic		40	42.5%	28.5%	57.8%
Sanford Health	Sanford Bemidji 1611 Anne St Clinic - Behavioral Health	▼	67	55.2%	43.4%	66.5%
Sanford Health	Sanford Bemidji Main Clinic - Family Medicine	•	32	87.5%	71.9%	95.0%
Sanford Health	Sanford Fargo Children's Southwest Clinic	▼	109	62.4%	53.0%	70.9%
Sanford Health	Sanford Fargo Professional Building - Behavioral Health	▼	334	38.3%	33.3%	43.6%
Sanford Health	Sanford Fargo Southpointe Clinic - Family Medicine	•	34	82.4%	66.5%	91.7%
Sanford Health	Sanford Health Alexandria Broadway Clinic	•	34	82.4%	66.5%	91.7%
Sanford Health	Sanford Health Detroit Lakes Clinic		97	54.6%	44.7%	64.2%
Sanford Health	Sanford Health Jamestown Clinic		49	63.3%	49.3%	75.3%
Sanford Health	Sanford Health Wahpeton Clinic		43	55.8%	41.1%	69.6%
Sanford Health	Sanford Health Watertown Clinic	•	31	74.2%	56.8%	86.3%
Sanford Health	Sanford Moorhead Clinic - Family Medicine		37	94.6%	82.3%	98.5%

🔺 Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE			19,574	78.4%		
Sanford Health	Sanford Moorhead Clinic - Pediatrics	•	39	79.5%	64.5%	89.2%
Sanford Health	Sanford Sioux Falls Children's 26th & Sycamore Clinic	▼	31	48.4%	32.0%	65.2%
Sanford Health	Sanford Sioux Falls Children's 69th & Louise Clinic	▼	41	53.7%	38.7%	67.9%
Sanford Health	Sanford Sioux Falls Children's Clinic	▼	44	45.5%	31.7%	59.9%
Sanford Health	Sanford Sioux Falls Psychiatry & Psychology Clinic	▼	338	19.2%	15.4%	23.8%
Sanford Health	Sanford West Fargo Clinic - Family Medicine		40	95.0%	83.5%	98.6%
Sanford Health	Sanford West Fargo Clinic – Pediatrics	•	35	88.6%	74.0%	95.5%
Sartell Pediatrics - IHN	Sartell Pediatrics	*	33	100.0%	89.6%	100.0%
South Lake Pediatrics	South Lake Pediatrics - Maple Grove	•	56	73.2%	60.4%	83.0%
South Lake Pediatrics	South Lake Pediatrics - Minnetonka		54	96.3%	87.5%	99.0%
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville	▼	116	63.8%	54.7%	72.0%
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Eden Prairie	•	64	71.9%	59.9%	81.4%
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina	▼	105	61.9%	52.4%	70.6%
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic		131	95.4%	90.4%	97.9%
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Unity Clinic		30	96.7%	83.3%	99.4%
St. Luke's Clinics	St Luke's Clinics-Pediatrics	▼	32	0.0%	0.0%	10.7%
Stellis Health, PA	Stellis Health - Albertville-St. Michael Clinic	•	32	78.1%	61.2%	89.0%
Stellis Health, PA	Stellis Health-Buffalo Clinic	•	59	79.7%	67.7%	88.0%
Stellis Health, PA	Stellis Health-Monticello Clinic		61	93.4%	84.3%	97.4%
The Emily Program	The Emily Program - St. Louis Park	٠	33	81.8%	65.6%	91.4%
The Emily Program	The Emily Program - St. Paul (Como)	▼	354	67.5%	62.5%	72.2%
The Emily Program	The Emily Program - St. Paul (Toogood)	▼	42	38.1%	25.0%	53.2%
The Emily Program	The Emily Program - Woodbury (East Metro)	▼	77	67.5%	56.5%	76.9%
Tri-County Health Care	Tri-County Health Care - Wadena Clinic	*	38	100.0%	90.8%	100.0%

🔺 Above statewide average Average 🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Rate	95% Cl Lower	95% Cl Upper
STATEWIDE AVERAGE	STATEWIDE AVERAGE			78.4%		
United Family Medicine	United Family Medicine		42	92.9%	81.0%	97.5%
Unity Family Healthcare, Family Medical Center	Family Medical Center		51	98.0%	89.7%	99.7%
University of Minnesota Physicians	University of Minnesota Health - Discovery Clinic - Pediatric Specialties	▼	49	38.8%	26.4%	52.8%
University of Minnesota Physicians	University of Minnesota Health - Fairview Maple Grove Medical Center	•	33	81.8%	65.6%	91.4%
University of Minnesota Physicians	University of Minnesota Health - Psychiatry Clinic	٠	115	74.8%	66.1%	81.8%
Wayzata Children's Clinic	Wayzata Children's Clinic - Chaska	$\bullet$	38	63.2%	47.3%	76.6%
Wayzata Children's Clinic	Wayzata Children's Clinic - Minnetonka	٠	58	86.2%	75.1%	92.8%
Wayzata Children's Clinic	Wayzata Children's Clinic - Spring Park	٠	32	87.5%	71.9%	95.0%
Winona Health Services	Winona Health - Winona Clinic	▼	132	3.0%	1.2%	7.5%
Zumbro Valley Health Center	Zumbro Valley Health Center - Behavioral Health	▼	562	36.7%	32.8%	40.7%

★ Top performer 🔺 Above statewide average Average 🔻 Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

90 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

11 ъ I

©2020 MN Community Measurement. All Rights Reserved.

## DEPRESSION OUTCOME MEASURES BY CLINIC Adult Depression - Six Month Follow-up

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		
AALFA Family Clinic	AALFA Family Clinic-MHN	•	160	38.8%	48.3%	0.80
Advanced Medical Clinic	Advanced Medical Clinic, Inc.	•	74	36.5%	47.5%	0.77
	Allina Health - Abbott					
Allina Health	Northwestern General Medicine		209	31.6%	53.1%	0.60
	Associates - Edina					
Allina Health	Allina Health - Allina Mental Health - ANW		291	65.0%	49.3%	1.32
Allina Health	Allina Health - Allina Mental Health - United		489	66.7%	49.3%	1.35
Allina Health	Allina Health - Allina Mental Health - Unity		364	77.8%	51.8%	1.50
Allina Health	Allina Health - Annandale	•	75	45.3%	50.2%	0.90
Allina Health	Allina Health - Bandana Square		542	39.3%	48.2%	0.81
Allina Health	Allina Health - Blaine		221	32.1%	49.8%	0.64
Allina Health	Allina Health - Bloomington	•	281	51.3%	50.1%	1.02
Allina Health	Allina Health - Brooklyn Park	•	278	42.1%	48.5%	0.87
Allina Health	Allina Health - Buffalo	•	223	51.1%	49.7%	1.03
Allina Health	Allina Health - Buffalo Crossroads	•	268	46.3%	49.5%	0.93
Allina Health	Allina Health - Burnsville		124	33.9%	49.5%	0.68
Allina Health	Allina Health - Cambridge		879	42.0%	49.6%	0.85
Allina Health	Allina Health - Centennial Lakes	•	227	42.3%	51.0%	0.83
Allina Health	Allina Health - Champlin		392	34.4%	49.7%	0.69
Allina Health	Allina Health - Chaska		104	35.6%	50.3%	0.71
Allina Health	Allina Health - Cokato	•	52	46.2%	49.3%	0.94
Allina Health	Allina Health - Coon Rapids		1,181	42.3%	49.5%	0.85
Allina Health	Allina Health - Cottage Grove		391	33.3%	49.5%	0.67
Allina Health	Allina Health - Dean Lakes	•	109	38.5%	50.8%	0.76
Allina Health	Allina Health - Eagan	•	460	47.2%	49.5%	0.95
Allina Health	Allina Health - East Lake Street		184	31.5%	46.6%	0.68
Allina Health	Allina Health - Edina Family Physicians		272	20.6%	51.3%	0.40
Allina Health	Allina Health - Elk River		238	38.2%	49.8%	0.77
Allina Health	Allina Health - Faribault	•	500	47.6%	49.1%	0.97
Allina Health	Allina Health - Farmington		155	41.9%	50.6%	0.83
Allina Health	Allina Health - Forest Lake	•	325	55.1%	50.5%	1.09
Allina Health	Allina Health - Fridley		296	40.2%	48.5%	0.83

📌 Top performer

🔺 Above statewide average

Below statewide average

ъ I.

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

• Average

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		
Allina Health	Allina Health - Hastings		596	43.5%	51.1%	0.85
Allina Health	Allina Health - Highland Park	•	160	43.8%	48.6%	0.90
Allina Health	Allina Health - Hopkins		156	35.3%	49.3%	0.72
Allina Health	Allina Health - Inver Grove Heights	٠	247	47.8%	49.5%	0.96
Allina Health	Allina Health - Isanti	٠	188	42.6%	49.6%	0.86
Allina Health	Allina Health - Isles	٠	90	42.2%	51.0%	0.83
Allina Health	Allina Health - Lakeville		125	25.6%	50.5%	0.51
Allina Health	Allina Health - Maple Grove	٠	199	47.7%	49.1%	0.97
Allina Health	Allina Health - Maplewood		238	34.9%	48.4%	0.72
Allina Health	Allina Health - New Ulm Medical Center	▼	511	37.0%	50.3%	0.74
Allina Health	Allina Health - Nicollet Mall		260	37.7%	48.8%	0.77
Allina Health	Allina Health - Northfield	•	626	47.3%	49.7%	0.95
Allina Health	Allina Health - Oakdale Clinic	٠	116	42.2%	48.6%	0.87
Allina Health	Allina Health - Plymouth	•	346	45.1%	51.5%	0.88
Allina Health	Allina Health - Ramsey		270	33.3%	49.7%	0.67
Allina Health	Allina Health - Richfield	•	521	46.8%	49.9%	0.94
Allina Health	Allina Health - Savage		155	33.6%	49.7%	0.68
Allina Health	Allina Health - Shakopee	•	463	53.1%	50.6%	1.05
Allina Health	Allina Health - Sharpe Dillon Cockson & Associates	•	71	28.2%	54.1%	0.52
Allina Health	Allina Health - Shoreview		339	36.3%	50.4%	0.72
Allina Health	Allina Health - St. Francis Health Services - Jordan	•	38	42.1%	51.2%	0.82
Allina Health	Allina Health - St. Michael		154	42.2%	49.6%	0.85
Allina Health	Allina Health - United Medical Specialties	▼	151	31.8%	49.8%	0.64
Allina Health	Allina Health - Uptown	•	214	39.3%	48.6%	0.81
Allina Health	Allina Health - Vadnais Heights		122	36.1%	51.1%	0.71
Allina Health	Allina Health - West St. Paul		399	37.3%	48.2%	0.77
Allina Health	Allina Health - Woodbury	٠	642	45.8%	49.8%	0.92
Alomere Health	Alexandria Clinic, A Service of Alomere Health	•	529	48.6%	49.8%	0.98
Altru Health System	Altru Health System - Grand Forks		430	30.7%	48.8%	0.63
Amery Hospital and Clinic	AHC - Amery		259	70.7%	49.0%	1.44
Amery Hospital and Clinic	AHC - Turtle Lake		34	70.6%	46.8%	1.51
Apple Valley Medical Clinic	Apple Valley Medical Clinic - Family Practice	▼	422	37.0%	50.4%	0.73
Associated Clinic of Psychology	Associated Clinic of Psychology- Apple Valley	•	407	45.2%	48.2%	0.94

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		_	120,344	48.5%		-
Associated Clinic of Psychology	Associated Clinic of Psychology- Brooklyn Center	•	226	47.4%	46.4%	1.02
Associated Clinic of Psychology	Associated Clinic of Psychology- Minneapolis		1,020	51.2%	46.6%	1.10
Associated Clinic of Psychology	Associated Clinic of Psychology-St Louis Park	•	839	42.8%	47.0%	0.91
Associated Clinic of Psychology	Associated Clinic of Psychology- West St. Paul		498	56.0%	48.2%	1.16
Bluestone Physician Services	Bluestone Physician Services		41	12.2%	53.1%	0.23
Boynton Health Service	Boynton Health Service		1,813	48.2%	42.5%	1.13
Boynton Health Service	Boynton Health Service St. Paul	•	94	54.3%	42.6%	1.27
Catholic Charities Behavioral Health Clinic	Catholic Charities Behavioral Health Clinic	▼	79	30.4%	48.2%	0.63
CCM Health	CCM HEALTH	$\mathbf{V}$	103	16.5%	48.1%	0.34
Cedar Riverside People's Center	Cedar Riverside People's Center - People's Center Medical Clinic	▼	143	24.5%	44.0%	0.56
CentraCare Health	Carris Health - Litchfield East Clinic		88	26.1%	48.8%	0.54
CentraCare Health	Carris Health - Litchfield West Clinic	▼	81	24.7%	47.8%	0.52
CentraCare Health	Carris Health - New London Clinic	•	54	42.6%	49.5%	0.86
CentraCare Health	Carris Health - Redwood Clinic		86	19.8%	47.6%	0.42
CentraCare Health	Carris Health - Willmar Main Clinic		474	35.4%	47.8%	0.74
CentraCare Health	Carris Health - Willmar Skylark Clinic	•	31	54.8%	49.1%	1.12
CentraCare Health	Centracare Clinic - Albany	•	120	46.7%	49.4%	0.95
CentraCare Health	CentraCare Clinic - Becker	•	185	48.7%	48.7%	1.00
CentraCare Health	CentraCare Clinic - Big Lake	•	198	57.6%	48.5%	1.19
CentraCare Health	CentraCare Clinic - Northway	•	422	49.8%	47.7%	1.04
CentraCare Health	Centracare Clinic - SCMG Clearwater Medical Clinic	•	98	38.8%	50.3%	0.77
CentraCare Health	Centracare Clinic - SCMG Cold Spring Medical Clinic	•	77	46.8%	49.8%	0.94
CentraCare Health	Centracare Clinic - SCMG Northwest	•	846	45.0%	48.2%	0.93
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South	•	350	42.6%	47.7%	0.89
CentraCare Health	CentraCare Clinic - St. Joseph	•	187	47.1%	47.9%	0.98
CentraCare Health	CentraCare Health - Family Health Center	•	386	41.2%	46.0%	0.90
CentraCare Health	CentraCare Health - Long Prairie		140	41.4%	47.9%	0.87
CentraCare Health	CentraCare Health - Melrose	•	199	53.8%	48.4%	1.11

▲ Above statewide average ● Average

🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

93 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		
CentraCare Health	CentraCare Health - Paynesville Clinic	•	123	47.2%	49.1%	0.96
CentraCare Health	CentraCare Health - Paynesville- Eden Valley	٠	51	51.0%	47.3%	1.08
CentraCare Health	CentraCare Health - Paynesville- Richmond	•	66	57.6%	48.1%	1.20
CentraCare Health	CentraCare Health - Sauk Centre	•	182	43.4%	48.5%	0.90
CentraCare Health	CentraCare Health Plaza - Internal Medicine	٠	237	56.1%	52.0%	1.08
CentraCare Health	CentraCare River Campus - Internal Medicine	٠	222	53.6%	52.7%	1.02
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	▼	46	21.7%	45.6%	0.48
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Baxter	▼	101	19.8%	48.6%	0.41
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Crosby Clinic	▼	242	38.0%	49.7%	0.77
Dawson Clinic	Johnson Memorial Health Services - Dawson Clinic	٠	85	36.5%	49.7%	0.73
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	Duluth Family Medicine Clinic (formerly Duluth Family Practice Center)	▼	346	29.2%	43.1%	0.68
Edina Sports Health & Wellness	Edina Sports + Family Medicine Entira Family Clinics -	▼	118	30.5%	49.3%	0.62
Entira Family Clinics (formerly Family Health Services MN)	Como/Roseville (formerly Family HealthServices Minnesota - Larpenteur Clinic)	•	111	56.8%	48.3%	1.18
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - East Side (formerly Family HealthServices Minnesota - Maryland Clinic)	•	202	47.0%	48.0%	0.98
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Highland (formerly Family HealthServices Minnesota - Highland Family Physicians)		153	61.4%	48.9%	1.26
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Inver Grove Heights (formerly Family HealthServices Minnesota - Inver Grove Heights)	٠	211	54.5%	50.5%	1.08
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - North St. Paul (formerly Family HealthServices Minnesota - North St. Paul Clinic)		207	66.7%	48.2%	1.38

▲ Above statewide average Average Below statewide average

CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

94 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Shoreview (formerly Family HealthServices Minnesota - Shoreview)	•	197	58.9%	50.0%	1.18
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Vadnais Heights (formerly Family HealthServices Minnesota - Vadnais Heights)	•	153	46.4%	49.4%	0.94
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - West St. Paul (formerly Family HealthServices Minnesota - Gorman Clinic)		260	71.5%	48.2%	1.48
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - White Bear Lake/Banning Ave (formerly Family Health Services MN Banning Clinic)		185	73.0%	50.1%	1.46
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Woodbury (formerly Family HealthServices Minnesota - Woodbury)		334	65.3%	50.1%	1.30
Essentia Health	EH Central Baxter Clinic		307	74.9%	49.0%	1.53
Essentia Health	EH Central Brainerd Clinic		262	72.1%	50.2%	1.44
Essentia Health	EH Central Crosslake Clinic		40	75.0%	50.5%	1.49
Essentia Health	EH Central Hackensack Clinic	•	34	58.8%	47.5%	1.24
Essentia Health	EH Central Lakeland Psychiatry Clinic		60	76.7%	49.4%	1.55
Essentia Health	EH Central Pequot Lakes Clinic	•	53	66.0%	49.4%	1.34
Essentia Health	EH Central Pierz Clinic	•	57	64.9%	48.3%	1.34
Essentia Health	EH Central Pillager Clinic		61	75.4%	50.9%	1.48
Essentia Health	EH Central Pine River Clinic		118	63.6%	48.7%	1.30
Essentia Health	EH East Ashland Clinic	•	193	57.5%	49.8%	1.15
Essentia Health	EH East Chisholm Clinic	•	46	56.5%	48.6%	1.16
Essentia Health	EH East Deer River Clinic		155	64.5%	48.2%	1.34
Essentia Health	EH East Duluth Clinic	•	131	44.3%	47.5%	0.93
Essentia Health	EH East Duluth Clinic 1st St		350	64.0%	47.9%	1.34
Essentia Health	EH East Ely Clinic		102	68.6%	50.3%	1.36
Essentia Health	EH East Grand Rapids Clinic		165	71.5%	47.1%	1.52
Essentia Health	EH East Hayward Clinic		155	68.4%	48.4%	1.41
Essentia Health	EH East Hermantown Clinic	•	295	54.6%	48.7%	1.12
Essentia Health	EH East Hibbing Clinic		164	63.4%	48.0%	1.32
Essentia Health	EH East International Falls Clinic		190	69.0%	47.7%	1.45
Essentia Health	EH East Lakeside Clinic		302	60.9%	48.1%	1.27
Essentia Health	EH East Lakewalk Clinic		354	62.4%	46.6%	1.34
Essentia Health	EH East Northern Pines Clinic		110	68.2%	49.4%	1.38
Essentia Health	EH East Proctor Clinic		106	65.1%	48.4%	1.35

▲ Above statewide average Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		
Essentia Health	EH East Spooner Clinic		130	71.5%	47.9%	1.50
Essentia Health	EH East Superior Clinic		458	63.3%	46.8%	1.35
Essentia Health	EH East Virginia Clinic	•	250	55.2%	48.5%	1.14
Essentia Health	EH East West Duluth Clinic		451	64.5%	46.2%	1.40
Essentia Health	EH West 52nd Avenue Clinic		358	66.8%	47.5%	1.40
Essentia Health	EH West Ada Clinic	•	45	55.6%	46.9%	1.18
Essentia Health	EH West Bagely Clinic	*	72	77.8%	46.7%	1.66
Essentia Health	EH West Detroit Lakes Clinic		412	69.4%	48.8%	1.42
Essentia Health	EH West Fosston Clinic		184	70.1%	47.4%	1.48
Essentia Health	EH West Jamestown Clinic	•	122	55.7%	47.0%	1.19
Essentia Health	EH West Moorhead		211	60.7%	47.8%	1.27
Essentia Health	EH West Park Rapids Clinic		247	73.7%	48.6%	1.52
Essentia Health	EH West Pelican Rapids Clinic	*	31	83.9%	46.4%	1.81
Essentia Health	EH West South University Clinic	•	116	58.6%	50.5%	1.16
Essentia Health	EH West Valley City Clinic	*	82	75.6%	48.1%	1.57
Essentia Health	EH West Wahpeton Clinic		153	71.2%	50.3%	1.42
Essentia Health	EH West West Acres Clinic		228	68.0%	47.8%	1.42
Essentia Health	EH West West Fargo Clinic		285	69.8%	48.2%	1.45
Fairview Health Services	HealthEast Clinic - Hugo		111	27.9%	50.8%	0.55
	HealthEast Outpatient Mental					
Fairview Health Services	Health and Addiction Care Clinic-	•	98	35.7%	47.3%	0.75
	St. Joseph's Hospital					
Fairview Health Services	M Health Fairview Clinic Andover	•	393	55.0%	50.7%	1.08
Fairview Health Services	M Health Fairview Clinic Apple Valley	•	446	55.2%	50.3%	1.10
Fairview Health Services	M Health Fairview Clinic Bass Lake	•	254	52.4%	50.0%	1.05
Fairview Health Services	M Health Fairview Clinic Blaine	•	157	54.8%	49.4%	1.11
Fairview Health Services	M Health Fairview Clinic Brooklyn Park	٠	409	49.9%	49.2%	1.01
Fairview Health Services	M Health Fairview Clinic Burnsville	•	649	50.1%	51.2%	0.98
Fairview Health Services	M Health Fairview Clinic Chisago City	•	212	59.0%	50.9%	1.16
Fairview Health Services	M Health Fairview Clinic Columbia Heights	٠	365	51.0%	49.2%	1.04
Fairview Health Services	M Health Fairview Clinic Cottage Grove	▼	292	40.4%	50.6%	0.80
Fairview Health Services	M Health Fairview Clinic Downtown St. Paul	٠	191	41.4%	51.3%	0.81
Fairview Health Services	M Health Fairview Clinic Eagan		558	41.6%	49.7%	0.84
Fairview Health Services	M Health Fairview Clinic Eden Prairie		264	62.9%	50.7%	1.24

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	48.5%		
Fairview Health Services	M Health Fairview Clinic Edina		275	36.0%	52.5%	0.69
Fairview Health Services	M Health Fairview Clinic Elk River	•	318	57.2%	49.8%	1.15
Fairview Health Services	M Health Fairview Clinic	•	104	54.8%	51.4%	1.07
	Farmington	•				
Fairview Health Services	M Health Fairview Clinic Fridley	•	387	50.4%	49.9%	1.01
Fairview Health Services	M Health Fairview Clinic Grand Avenue	▼	285	35.4%	47.8%	0.74
Fairview Health Services	M Health Fairview Clinic Hiawatha	•	411	51.3%	48.6%	1.06
Fairview Health Services	M Health Fairview Clinic Highland Park		301	57.5%	48.9%	1.18
Fairview Health Services	M Health Fairview Clinic Hugo	•	123	41.5%	51.0%	0.81
	M Health Fairview Clinic Integrated					
Fairview Health Services	Primary Care	•	141	44.0%	49.4%	0.89
Fairview Health Services	M Health Fairview Clinic Lake Street	•	142	48.6%	48.3%	1.01
Fairview Health Services	M Health Fairview Clinic Lakeville		176	39.8%	50.3%	0.79
Fairview Health Services	M Health Fairview Clinic Lino Lakes	•	152	44.7%	50.8%	0.88
Fairview Health Services	M Health Fairview Clinic Maplewood	▼	154	36.4%	48.7%	0.75
Fairview Health Services	M Health Fairview Clinic Milaca	•	211	49.3%	49.0%	1.01
Fairview Health Services	M Health Fairview Clinic New Brighton	٠	294	47.6%	49.2%	0.97
Fairview Health Services	M Health Fairview Clinic North Branch	•	395	53.2%	49.5%	1.07
Fairview Health Services	M Health Fairview Clinic Oakdale		330	37.6%	49.4%	0.76
Fairview Health Services	M Health Fairview Clinic Oxboro		241	32.4%	51.4%	0.63
Fairview Health Services	M Health Fairview Clinic Pine City	•	75	45.3%	49.1%	0.92
Fairview Health Services	M Health Fairview Clinic Princeton	٠	605	55.7%	50.0%	1.11
Fairview Health Services	M Health Fairview Clinic Prior Lake	•	226	57.5%	51.0%	1.13
Fairview Health Services	M Health Fairview Clinic Rice Street	•	266	38.7%	46.3%	0.84
Fairview Health Services	M Health Fairview Clinic Riverside	•	253	39.9%	46.7%	0.86
Fairview Health Services	M Health Fairview Clinic Rogers	•	124	62.9%	49.9%	1.26
Fairview Health Services	M Health Fairview Clinic Roselawn	•	281	52.7%	47.6%	1.11
Fairview Health Services	M Health Fairview Clinic Rosemount	•	137	56.9%	50.4%	1.13
Fairview Health Services	M Health Fairview Clinic Roseville		182	31.9%	48.1%	0.66
Fairview Health Services	M Health Fairview Clinic Savage		83	66.3%	50.3%	1.32
Fairview Health Services	M Health Fairview Clinic Tamarack		228	31.6%	49.5%	0.64
Fairview Health Services	M Health Fairview Clinic Uptown	•	295	41.0%	48.0%	0.85

▲ Above statewide average

Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		
Fairview Health Services	M Health Fairview Clinic Vadnais Heights	▼	229	41.5%	50.6%	0.82
Fairview Health Services	M Health Fairview Clinic Woodwinds	▼	207	27.5%	49.8%	0.55
Fairview Health Services	M Health Fairview Clinic Wyoming	٠	529	54.3%	50.0%	1.08
Fairview Health Services	M Health Fairview Clinic Xerxes	•	250	52.4%	50.6%	1.04
Fairview Health Services	M Health Fairview Clinic Zimmerman	•	232	59.1%	50.5%	1.17
Fairview Health Services	M Health Fairview Geriatric Services	▼	71	22.5%	55.6%	0.41
Fairview Health Services	M Health Fairview Clinic Midway		165	33.3%	49.0%	0.68
Fairview Health Services	M Health Fairview Clinic Stillwater		155	36.8%	50.0%	0.74
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing		486	62.1%	47.8%	1.30
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Mountain Iron	•	206	56.8%	48.7%	1.17
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Nashwauk	*	67	80.6%	49.3%	1.64
Family Practice Medical Center of Willmar	Family Practice Medical Center of Willmar	▼	166	16.3%	47.5%	0.34
France Avenue Family Physicians - Minnesota Healthcare Network	France Avenue Family Physicians - Minnesota Healthcare Network	▼	94	30.9%	49.5%	0.62
Glencoe Regional Health Services	Glencoe Regional Health Services - Glencoe	•	274	45.3%	49.9%	0.91
Glencoe Regional Health Services	Glencoe Regional Health Services - Lester Prairie	•	49	53.1%	53.2%	1.00
Glenwood Medical Center Grand Itasca Clinic	Glenwood Medical Center Grand Itasca Clinic	▼ ▼	48 677	4.2% 42.0%	48.9% 48.3%	0.09 0.87
Granite Falls Municipal Hospital & Manor Clinic	Granite Falls Health Clinic	▼	39	10.3%	48.5%	0.21
Gundersen Health System	Gundersen Health System - Houston Clinic	•	34	64.7%	49.4%	1.31
Gundersen Health System	Gundersen Health System - La Crescent Clinic	•	110	51.8%	48.8%	1.06
Gundersen Health System	Gundersen Health System - Spring Grove Clinic	•	46	54.4%	48.0%	1.13
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics		652	73.3%	47.9%	1.53
HealthPartners Clinics	HealthPartners - Andover	•	126	62.7%	51.7%	1.21

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		
HealthPartners Clinics	HealthPartners - Anoka		304	60.2%	50.1%	1.20
HealthPartners Clinics	HealthPartners - Apple Valley	•	162	60.5%	50.0%	1.21
HealthPartners Clinics	HealthPartners - Arden Hills		230	67.0%	49.9%	1.34
HealthPartners Clinics	HealthPartners - Bloomington		179	61.5%	49.8%	1.23
HealthPartners Clinics	HealthPartners - Brooklyn Center	•	166	50.6%	47.9%	1.06
HealthPartners Clinics	HealthPartners - Como	•	413	52.1%	49.0%	1.06
HealthPartners Clinics	HealthPartners - Coon Rapids		202	66.8%	49.9%	1.34
HealthPartners Clinics	HealthPartners - Cottage Grove	•	69	59.4%	49.6%	1.20
HealthPartners Clinics	HealthPartners - Ctr for Internatl Hlth	*	30	76.7%	48.5%	1.58
HealthPartners Clinics	HealthPartners - Curve Crest Clinic		768	57.9%	51.5%	1.12
HealthPartners Clinics	HealthPartners - Eagan	•	151	59.6%	49.7%	1.20
HealthPartners Clinics	HealthPartners - Elk River		203	71.4%	49.6%	1.44
HealthPartners Clinics	HealthPartners - Highland Park	•	63	39.7%	47.6%	0.83
HealthPartners Clinics	HealthPartners - Hlth Ctr for Women		186	71.0%	49.9%	1.42
HealthPartners Clinics	HealthPartners - Hugo		49	71.4%	50.7%	1.41
HealthPartners Clinics	HealthPartners - Inver Grove Behav Hlth		307	73.6%	49.8%	1.48
HealthPartners Clinics	HealthPartners - Inver Grove Heights		102	73.5%	49.1%	1.50
HealthPartners Clinics	HealthPartners - Lino Lakes		138	76.8%	50.4%	1.52
HealthPartners Clinics	HealthPartners - Mahtomedi Clinic	•	58	58.6%	51.6%	1.14
HealthPartners Clinics	HealthPartners - Maplewood		299	56.2%	48.3%	1.16
HealthPartners Clinics	HealthPartners - Midway	•	105	39.1%	46.6%	0.84
HealthPartners Clinics	HealthPartners - Nokomis	•	113	42.5%	48.6%	0.87
HealthPartners Clinics	HealthPartners - Regions BH Maplewood	*	498	80.1%	48.9%	1.64
HealthPartners Clinics	HealthPartners - Regions BH Woodbury		273	77.7%	50.0%	1.55
HealthPartners Clinics	HealthPartners - Riverside	٠	201	47.8%	46.2%	1.03
HealthPartners Clinics	HealthPartners - Riverside Behav Hlth	*	183	76.0%	48.2%	1.58
HealthPartners Clinics	HealthPartners - Roseville		164	71.3%	49.6%	1.44
HealthPartners Clinics	HealthPartners - Somerset Clinic	•	174	59.8%	49.4%	1.21
HealthPartners Clinics	HealthPartners - St Paul	•	356	47.5%	47.0%	1.01
HealthPartners Clinics	HealthPartners - University Ave	•	130	60.0%	49.6%	1.21
HealthPartners Clinics	HealthPartners - West	٠	160	60.0%	50.1%	1.20
HealthPartners Clinics	HealthPartners - West Behav Hlth		337	72.7%	48.7%	1.49
HealthPartners Clinics	HealthPartners - White Bear Lake		163	63.2%	51.1%	1.24
HealthPartners Clinics	HealthPartners - Woodbury		378	64.8%	49.5%	1.31

▲ Above statewide average

▼ Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

99 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		
Hendricks Community Hospital Association	Hendricks Clinic	▼	42	14.3%	51.0%	0.28
Hennepin Healthcare	Hennepin Healthcare Adult Psychiatry Clinic	▼	195	11.3%	46.9%	0.24
Hennepin Healthcare	Hennepin Healthcare Brooklyn Center Clinic	▼	34	11.8%	43.5%	0.27
Hennepin Healthcare	Hennepin Healthcare Brooklyn Park Clinic	▼	139	19.4%	44.5%	0.44
Hennepin Healthcare	Hennepin Healthcare Downtown Medicine Clinic	▼	249	8.4%	44.3%	0.19
Hennepin Healthcare	Hennepin Healthcare East Lake Clinic	•	191	36.7%	42.8%	0.86
Hennepin Healthcare	Hennepin Healthcare Golden Valley Clinic	▼	117	26.5%	44.1%	0.60
Hennepin Healthcare	Hennepin Healthcare Internal Medicine Clinic Parkside	▼	49	4.1%	45.2%	0.09
Hennepin Healthcare	Hennepin Healthcare North Loop Clinic and Pharmacy	▼	60	20.0%	42.4%	0.47
Hennepin Healthcare	Hennepin Healthcare Richfield Clinic	▼	195	14.9%	45.0%	0.33
Hennepin Healthcare	Hennepin Healthcare Whittier Clinic	▼	156	18.0%	42.0%	0.43
Hennepin Healthcare	Hennepin Healthcare Women's Health and Wellness Clinic	▼	37	2.7%	43.2%	0.06
Hutchinson Health	Hutchinson Health - Hutchinson Clinic	▼	349	22.6%	49.0%	0.46
Hutchinson Health	Hutchinson Health - Mental Health Clinic	٠	180	51.7%	50.4%	1.02
Indian Health Board of Minneapolis	Indian Health Board of Minneapolis	▼	104	18.3%	41.3%	0.44
Kittson Healthcare Clinic	Kittson Memorial Clinic - Hallock		34	11.8%	48.2%	0.24
Lac Qui Parle Clinic	Lac Qui Parle Clinic	•	36	30.6%	50.2%	0.61
Lake Region Healthcare	Lake Region Healthcare - Barnesville Clinic	•	41	53.7%	49.8%	1.08
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls		430	59.8%	50.1%	1.19
Lake Superior Community Health	Lake Superior Community Health	•	121	33.9%	43.5%	0.78
Center	Center - Duluth		121	55.970	45.5%	0.10
Lake Superior Community Health Center	Lake Superior Community Health Center-Superior	٠	182	49.5%	45.3%	1.09
Lake View Clinic - Two Harbors	Lake View Clinic - Two Harbors		82	15.9%	48.2%	0.33

▲ Above statewide average ● Average

🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

 100 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC
 ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		•	120,344	48.5%		_
Lakeland Mental Health Center	Lakeland Mental Health Center - Alexandria		183	63.4%	49.2%	1.29
Lakeland Mental Health Center	Lakeland Mental Health Center - Detroit Lakes	▼	132	15.9%	45.9%	0.35
Lakeland Mental Health Center	Lakeland Mental Health Center - Fergus Falls	•	284	50.0%	47.4%	1.06
Lakeland Mental Health Center	Lakeland Mental Health Center - Glenwood	•	70	32.9%	48.0%	0.69
Lakeland Mental Health Center	Lakeland Mental Health Center - Moorhead		465	60.0%	47.2%	1.27
Lakewood Health System	Lakewood Health System - Browerville Clinic	•	89	51.7%	47.5%	1.09
Lakewood Health System	Lakewood Health System - Eagle Valley Clinic	•	44	36.4%	45.5%	0.80
Lakewood Health System	Lakewood Health System - Motley Clinic	▼	105	34.3%	47.7%	0.72
Lakewood Health System	Lakewood Health System - Pillager Clinic	▼	211	35.6%	46.0%	0.77
Lakewood Health System	Lakewood Health System - Staples Clinic	▼	186	33.9%	44.8%	0.76
Madelia Community Hospital & Clinic	Madelia Community Hospital & Clinic	•	52	53.9%	46.9%	1.15
Mankato Clinic, Ltd.	Mankato Clinic - Daniel's Health Center	•	121	47.1%	47.8%	0.99
Mankato Clinic, Ltd.	Mankato Clinic - Department of Psychiatry & Psychology	*	647	80.2%	48.7%	1.65
Mankato Clinic, Ltd.	Mankato Clinic - Main Street	•	267	43.8%	48.2%	0.91
Mankato Clinic, Ltd.	Mankato Clinic - North Mankato		162	58.6%	47.7%	1.23
Mankato Clinic, Ltd.	Mankato Clinic - Wickersham Campus	•	249	51.0%	47.6%	1.07
Mayo Clinic	Mayo Clinic - Baldwin Building, Family Medicine		378	56.1%	47.8%	1.17
Mayo Clinic	Mayo Clinic - Baldwin Building, Primary Care Internal Medicine		557	63.0%	50.9%	1.24
Mayo Clinic	Mayo Clinic - Generose Building		74	20.3%	48.1%	0.42
Mayo Clinic	Mayo Clinic - Kasson		218	68.4%	50.0%	1.37
Mayo Clinic	Mayo Clinic - Northeast		357	63.6%	49.0%	1.30
Mayo Clinic	Mayo Clinic - Northwest		339	58.1%	48.5%	1.20
Mayo Clinic	Mayo Clinic - Speciality Practice		942	18.4%	49.1%	0.37
Mayo Clinic	Mayo Family Clinic Southeast		244	66.8%	49.6%	1.35
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	•	450	43.1%	48.6%	0.89

▲ Above statewide average

 Average Below statewide average CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		1	120,344	48.5%		
Mayo Clinic Health System	Mayo Clinic Health System Austin		597	39.5%	49.1%	0.80
Mayo Clinic Health System	Mayo Clinic Health System Belle Plaine	٠	47	42.6%	49.6%	0.86
Mayo Clinic Health System	Mayo Clinic Health System Cannon Falls	•	109	41.3%	49.5%	0.83
Mayo Clinic Health System	Mayo Clinic Health System Fairmont		305	62.0%	49.0%	1.26
Mayo Clinic Health System	Mayo Clinic Health System Faribault Campus Location	•	129	38.0%	49.5%	0.77
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in Caledonia	•	39	48.7%	49.9%	0.98
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in LaCrescent	•	56	53.6%	49.1%	1.09
Mayo Clinic Health System	Mayo Clinic Health System Lake City	•	120	48.3%	49.2%	0.98
Mayo Clinic Health System	Mayo Clinic Health System Lake Crystal	•	71	40.9%	47.7%	0.86
Mayo Clinic Health System	Mayo Clinic Health System Le Sueur	•	63	61.9%	49.7%	1.25
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge	•	506	51.0%	47.4%	1.08
Mayo Clinic Health System	Mayo Clinic Health System Mankato Northridge	•	214	51.4%	47.4%	1.08
Mayo Clinic Health System	Mayo Clinic Health System Mankato Specialty Clinic	•	49	46.9%	50.3%	0.93
Mayo Clinic Health System	Mayo Clinic Health System Montgomery	٠	35	31.4%	48.4%	0.65
Mayo Clinic Health System	Mayo Clinic Health System New Prague	•	97	44.3%	49.1%	0.90
Mayo Clinic Health System	Mayo Clinic Health System Owatonna	▼	644	38.4%	48.6%	0.79
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	•	363	44.6%	49.9%	0.89
Mayo Clinic Health System	Mayo Clinic Health System Red Wing in Zumbrota	•	62	41.9%	50.6%	0.83
Mayo Clinic Health System	Mayo Clinic Health System Springfield	•	54	46.3%	49.2%	0.94
Mayo Clinic Health System	Mayo Clinic Health System St. James	•	90	57.8%	48.9%	1.18

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		
Mayo Clinic Health System	Mayo Clinic Health System St. Peter		170	61.8%	49.3%	1.25
Mayo Clinic Health System	Mayo Clinic Health System Waseca	•	96	42.7%	49.2%	0.87
Mental Health Resources	Mental Health Outreach Clinic	•	47	42.6%	47.6%	0.89
Mille Lacs Health System	Mille Lacs Health System - Isle	•	39	33.3%	49.5%	0.67
Mille Lacs Health System	Mille Lacs Health System - Onamia		79	22.8%	49.4%	0.46
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics -		756	48.0%	47.3%	1.01
Lakeville, Maplewood,	Eagan Clinic	•	150	40.070	71.570	1.01
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-	•	59	55.9%	48.5%	1.15
Lakeville, Maplewood,	Apple Valley					
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics	Mission and Marstell Lastelle Clinica					
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-	•	75	58.7%	47.7%	1.23
Lakeville, Maplewood,	Lakeville Clinic					
Minneapolis, Woodbury) Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-					
Lakeville, Maplewood,	Maplewood Clinic	•	138	46.4%	47.9%	0.97
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-					
Lakeville, Maplewood,	Woodbury Clinic		166	57.2%	48.3%	1.18
Minneapolis, Woodbury)						
Natalis Counseling & Psychology						
Solutions	Natalis Counseling - Main Location		346	14.7%	41.3%	0.36
Native American Community Clinic	Native American Community Clinic	•	232	47.4%	43.2%	1.10
	Neighborhood HealthSource -	•	62	27 40/	41 404	0.66
Neighborhood Healthsource	Central Clinic		62	27.4%	41.4%	0.66
Neighborhood Healthsource	Neighborhood HealthSource -		43	30.2%	42.5%	0.71
Neighborhood neattrisource	Fremont Clinic		45	30.270	42.3%	0.71
Neighborhood Healthsource	Neighborhood HealthSource -		32	21.9%	41.8%	0.52
neighborhood neatthsource	Sheridan Clinic		52	21.370	41.070	0.52
North Memorial	North Memorial Health -		173	22.0%	49.3%	0.45
	Minnetonka Medical Center	÷	1.0		.0.070	5.15
North Memorial	North Memorial Health Clinic -		59	23.7%	50.0%	0.47
	Blaine					
North Memorial	North Memorial Health Clinic -		120	28.3%	46.2%	0.61
	Brooklyn Center					

▲ Above statewide average Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		
North Memorial	North Memorial Health Clinic - Brooklyn Park	▼	103	21.4%	47.8%	0.45
North Memorial	North Memorial Health Clinic - Camden	▼	145	24.8%	43.8%	0.57
North Memorial	North Memorial Health Clinic - Downtown Minneapolis	▼	148	23.7%	44.7%	0.53
North Memorial	North Memorial Health Clinic - Elk River	▼	173	35.3%	48.3%	0.73
North Memorial	North Memorial Health Clinic - Golden Valley	▼	196	29.6%	48.1%	0.62
North Memorial	North Memorial Health Clinic - Maple Grove	▼	102	22.6%	48.1%	0.47
North Memorial	North Memorial Health Clinic - New Hope	▼	225	26.2%	49.0%	0.54
North Memorial	North Memorial Health Clinic - St. Anthony	▼	236	17.0%	49.7%	0.34
North Memorial	North Memorial Health Internal Medicine - Maple Grove	▼	100	16.0%	50.7%	0.32
North Memorial	North Memorial Health Mental Health	▼	129	10.9%	45.7%	0.24
Northern Psychiatric Associates	Northern Psychiatric Associates		343	35.9%	49.1%	0.73
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Farmington Clinic	▼	39	10.3%	51.0%	0.20
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lakeville Clinic	▼	58	13.8%	49.3%	0.28
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lonsdale Clinic	▼	32	9.4%	49.8%	0.19
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Northfield Clinic	▼	96	17.7%	49.4%	0.36
NorthPoint Health & Wellness Center	NorthPoint Health & Wellness Center	•	677	42.0%	41.1%	1.02
Northwest Family Physicians	Northwest Family Physicians - Crystal	▼	266	12.4%	48.8%	0.25
Northwest Family Physicians	Northwest Family Physicians - Plymouth	▼	108	5.6%	50.8%	0.11
Northwest Family Physicians	Northwest Family Physicians - Rogers	▼	94	17.0%	50.6%	0.34
Northwestern Mental Health Center	Northwestern Mental Health Center	٠	393	51.2%	46.6%	1.10
Olmsted Medical Center	Olmsted Medical Center - Byron Clinic	•	119	52.9%	45.3%	1.17

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	48.5%		
Olmsted Medical Center	Olmsted Medical Center - Chatfield Clinic	•	63	49.2%	49.1%	1.00
Olmsted Medical Center	Olmsted Medical Center - Lake City	•	46	34.8%	47.1%	0.74
Olmsted Medical Center	Olmsted Medical Center - Pine Island Clinic	٠	78	51.3%	43.9%	1.17
Olmsted Medical Center	Olmsted Medical Center - Plainview Clinic	•	49	65.3%	47.5%	1.37
Olmsted Medical Center	Olmsted Medical Center - Preston Clinic	•	67	40.3%	47.2%	0.85
Olmsted Medical Center	Olmsted Medical Center - Rochester Northwest	•	205	42.9%	44.3%	0.97
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast	٠	588	48.3%	45.2%	1.07
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast - Psychiatry		375	65.9%	47.4%	1.39
Olmsted Medical Center	Olmsted Medical Center - Skyway Clinic	•	100	47.0%	42.7%	1.10
Olmsted Medical Center	Olmsted Medical Center - Spring Valley Clinic	•	31	41.9%	44.9%	0.94
Olmsted Medical Center	Olmsted Medical Center - St. Charles Clinic	•	70	52.9%	45.9%	1.15
Olmsted Medical Center	Olmsted Medical Center - Stewartville Clinic	٠	137	46.7%	44.8%	1.04
Open Cities Health Center	Open Cities Health (Dunlap) - Family Medicine	▼	144	9.7%	43.4%	0.22
Open Cities Health Center	Open Cities Health Center(North End)- Family Medicine	▼	93	6.5%	44.4%	0.15
Open Door Health Center	Open Door Health Center		162	28.4%	42.4%	0.67
Ortonville Area Health Services- Northside Medical Clinic	Ortonville Area Health Services- Northside Medical Clinic		142	61.3%	48.5%	1.26
Park Nicollet Health Services	Park Nicollet Clinic - Bloomington	•	271	50.9%	49.9%	1.02
Park Nicollet Health Services	Park Nicollet Clinic - Brookdale		501	61.9%	48.4%	1.28
Park Nicollet Health Services	Park Nicollet Clinic - Burnsville		704	67.6%	50.5%	1.34
Park Nicollet Health Services	Park Nicollet Clinic - Carlson	•	375	50.1%	50.4%	0.99
Park Nicollet Health Services	Park Nicollet Clinic - Champlin	•	209	50.7%	48.9%	1.04
Park Nicollet Health Services	Park Nicollet Clinic - Chanhassen	•	410	54.4%	51.1%	1.06
Park Nicollet Health Services	Park Nicollet Clinic - Creekside		77	68.8%	50.9%	1.35
Park Nicollet Health Services	Park Nicollet Clinic - Eagan	*	440	77.7%	49.9%	1.56
Park Nicollet Health Services	Park Nicollet Clinic - Eden Prairie		291	62.2%	50.5%	1.23
Park Nicollet Health Services	Park Nicollet Clinic - Golden Valley	•	290	56.6%	51.0%	1.11
Park Nicollet Health Services	Park Nicollet Clinic - Lakeville	•	116	55.2%	49.3%	1.12
Park Nicollet Health Services	Park Nicollet Clinic - Maple Grove		328	69.2%	50.4%	1.37

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		
Park Nicollet Health Services	Park Nicollet Clinic - Minneapolis		396	61.9%	46.7%	1.32
Park Nicollet Health Services	Park Nicollet Clinic - Plymouth		381	67.2%	50.3%	1.34
Park Nicollet Health Services	Park Nicollet Clinic - Prior Lake		236	67.4%	50.2%	1.34
Park Nicollet Health Services	Park Nicollet Clinic - Psychiatry	*	3,122	79.6%	50.3%	1.58
Park Nicollet Health Services	Park Nicollet Clinic - Rogers		100	65.0%	50.1%	1.30
Park Nicollet Health Services	Park Nicollet Clinic - Shakopee		521	67.4%	49.1%	1.37
Park Nicollet Health Services	Park Nicollet Clinic - Shorewood		170	65.3%	51.9%	1.26
Park Nicollet Health Services	Park Nicollet Clinic - SmartCare		144	63.9%	49.0%	1.30
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Family Medicine		663	61.1%	49.4%	1.24
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Internal Medicine		380	69.2%	52.8%	1.31
Park Nicollet Health Services	Park Nicollet Clinic - Target Health and Well-Being Center	*	61	73.8%	41.6%	1.77
Park Nicollet Health Services	Park Nicollet Clinic - Target Health and Well-Being Center North	*	30	70.0%	41.1%	1.70
Park Nicollet Health Services	Park Nicollet Clinic - Wayzata		220	68.6%	52.1%	1.32
Park Nicollet Health Services	Park Nicollet Clinic - Women's Services	•	136	54.4%	48.7%	1.12
People Incorporated Stark Mental Health Clinic	Family Life Mental Health Center	▼	398	24.4%	47.3%	0.52
People Incorporated Stark Mental Health Clinic	Stark Clinic- Northside	▼	93	15.1%	43.1%	0.35
People Incorporated Stark Mental Health Clinic	Stark Clinic-York	▼	71	14.1%	45.0%	0.31
People Incorporated Stark Mental Health Clinic	Stark Mental Health Clinic	▼	213	28.6%	44.5%	0.64
Perham Health	Perham Health Clinic		209	34.0%	46.7%	0.73
Perham Health	Perham Health New York Mills Clinic	•	43	44.2%	47.6%	0.93
Planned Parenthood Minnesota, North Dakota, South Dakota	Planned Parenthood Minnesota, North Dakota, South Dakota - Duluth	▼	35	0.0%	39.6%	0.00
Planned Parenthood Minnesota, North Dakota, South Dakota	Planned Parenthood Minnesota, North Dakota, South Dakota - St Cloud	▼	69	0.0%	42.8%	0.00
Prairie Ridge Hospital & Health Services	Prairie Ridge Hospital & Health Services - Elbow Lake	▼	62	24.2%	48.0%	0.50
Rainy Lake Medical Center	Rainy Lake Medical Center - Rural Health Clinic	▼	58	8.6%	47.1%	0.18
Ramsey County Mental Health	Ramsey County Mental Health Center	▼	198	16.7%	44.5%	0.38

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		
Renville County Hospital and	Renville County Hospital and		46	21.7%	46.6%	0.47
Clinics	Clinics - Olivia	•	10			
Richfield Medical Group	Richfield Medical Group		173	18.5%	52.4%	0.35
Ridgeview Clinics	Ridgeview Chanhassen Clinic		117	19.7%	51.5%	0.38
Ridgeview Clinics	Ridgeview Delano Clinic		101	14.9%	50.6%	0.29
Ridgeview Clinics	Ridgeview Excelsior Clinic		49	22.5%	51.9%	0.43
Ridgeview Clinics	<b>Ridgeview Howard Lake Clinic</b>	•	35	28.6%	49.0%	0.58
Ridgeview Clinics	<b>Ridgeview Westonka Clinic</b>		137	26.3%	51.4%	0.51
RiverView Health	RiverView Clinic		101	12.9%	46.3%	0.28
Riverwood Healthcare Center	Riverwood Aitkin Clinic		190	26.8%	50.1%	0.54
Riverwood Healthcare Center	Riverwood Garrison Clinic		43	16.3%	50.6%	0.32
Riverwood Healthcare Center	Riverwood McGregor Clinic	$\mathbf{V}$	85	32.9%	50.3%	0.66
Sanford Health	Sanford Aberdeen Clinic	•	243	49.0%	48.3%	1.01
Sanford Health	Sanford Bagley Clinic		65	44.6%	47.4%	0.94
	Sanford Bemidji 1611 Anne St Clinic		10	50.404	40 70/	
Sanford Health	- Family Medicine	•	42	52.4%	46.7%	1.12
Sanford Health	Sanford Bemidji Main Clinic -		500	42.00/	46 70/	0.00
	Family Medicine	•	500	43.0%	46.7%	0.92
Sanford Health	Sanford Bemidji Main Clinic -		52	51.9%	52.5%	0.99
Samoru Health	Internal Medicine		52	51.9%	52.5%	0.99
Sanford Health	Sanford Canby Clinic	•	74	51.4%	50.2%	1.02
Sanford Health	Sanford Canton Clinic		69	24.6%	49.3%	0.50
Sanford Health	Sanford East Grand Forks Clinic		112	14.3%	46.2%	0.31
Sanford Health	Sanford Fargo Broadway Clinic -		89	62.9%	47.5%	1.32
	Family Medicine Residency Sanford Fargo Broadway Clinic -					
Sanford Health	Behavioral Health		292	69.5%	49.4%	1.41
Conford Lookh	Sanford Fargo Broadway Clinic -		140	40.20/	50.20/	0.00
Sanford Health	Internal Medicine	•	142	49.3%	50.3%	0.98
Sanford Health	Sanford Fargo Internal Medicine	•	54	35.2%	47.0%	0.75
	Residency Clinic	•				
Sanford Health	Sanford Fargo North Fargo Clinic	•	262	42.0%	47.7%	0.88
Sanford Health	Sanford Fargo Professional	•	66	57.6%	47.7%	1.21
	Building - Behavioral Health	-	00	51.070	11.170	1.21
Sanford Health	Sanford Fargo South University		120	61.7%	48.8%	1.26
	Clinic - Specialty Clinics	_		020070		
Sanford Health	Sanford Fargo Southpointe Clinic -		41	31.7%	46.4%	0.68
	Behavioral Health					
Sanford Health	Sanford Fargo Southpointe Clinic -	•	556	48.9%	47.6%	1.03
	Family Medicine					
Sanford Health	Sanford Fargo Southpointe Clinic -	•	280	55.7%	51.2%	1.09
	Internal Medicine					

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		_
Sanford Health	Sanford Hawley Clinic	•	56	39.3%	47.0%	0.84
Sanford Health	Sanford Health Alexandria Broadway Clinic	•	354	54.0%	48.7%	1.11
Sanford Health	Sanford Health Beresford Clinic	٠	37	37.8%	49.4%	0.77
Sanford Health	Sanford Health Brookings Clinic		240	61.7%	47.1%	1.31
Sanford Health	Sanford Health Detroit Lakes Clinic		495	31.7%	47.9%	0.66
Sanford Health	Sanford Health Enderlin Clinic	•	38	55.3%	49.3%	1.12
Sanford Health	Sanford Health Hillsboro Clinic	٠	48	33.3%	47.6%	0.70
Sanford Health	Sanford Health Jamestown Clinic		366	40.2%	48.8%	0.82
Sanford Health	Sanford Health Lisbon Clinic	٠	41	53.7%	49.0%	1.09
Sanford Health	Sanford Health Mahnomen Clinic	•	37	64.9%	43.8%	1.48
Sanford Health	Sanford Health Mountain Lake Clinic	•	50	58.0%	44.8%	1.30
Sanford Health	Sanford Health Oakes Clinic	•	33	45.5%	49.4%	0.92
Sanford Health	Sanford Health Parkers Prairie Clinic	•	34	55.9%	47.7%	1.17
Sanford Health	Sanford Health Pelican Rapids Clinic	•	62	35.5%	47.0%	0.75
Sanford Health	Sanford Health Pierre Clinic	٠	43	39.5%	49.0%	0.81
Sanford Health	Sanford Health Valley City Clinic		132	68.2%	50.0%	1.36
Sanford Health	Sanford Health Vermillion Clinic	٠	150	36.0%	45.0%	0.80
Sanford Health	Sanford Health Wahpeton Clinic	٠	247	46.2%	47.7%	0.97
Sanford Health	Sanford Health Walker Clinic		37	21.6%	47.6%	0.45
Sanford Health	Sanford Health Watertown Clinic		156	63.5%	47.6%	1.33
Sanford Health	Sanford Health Wheaton Clinic	٠	36	50.0%	48.4%	1.03
Sanford Health	Sanford Health Windom Clinic	•	45	35.6%	46.7%	0.76
Sanford Health	Sanford Jackson Clinic	•	70	61.4%	48.9%	1.26
Sanford Health	Sanford Lakefield Clinic	•	44	68.2%	48.1%	1.42
Sanford Health	Sanford Luverne Clinic	•	63	63.5%	47.3%	1.34
Sanford Health	Sanford Mayville Clinic	*	41	85.4%	47.6%	1.79
Sanford Health	Sanford Moorhead Clinic - Behavioral Health		739	71.9%	49.8%	1.44
Sanford Health	Sanford Moorhead Clinic - Family Medicine	•	282	49.7%	46.3%	1.07
Sanford Health	Sanford Moorhead Clinic - Internal Medicine		159	63.5%	50.3%	1.26
Sanford Health	Sanford Rock Rapids Clinic	•	53	66.0%	48.6%	1.36
Sanford Health	Sanford Sheldon Clinic		253	60.9%	48.2%	1.26
Sanford Health	Sanford Sioux Falls 26th & Sycamore Family Medicine Clinic	•	88	38.6%	47.2%	0.82

🔺 Above statewide average

 Average 🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		
Sanford Health	Sanford Sioux Falls 34th & Kiwanis Family Medicine Clinic	٠	62	56.5%	46.2%	1.22
Sanford Health	Sanford Sioux Falls 49th & Oxbow Family Medicine Clinic	*	184	81.5%	47.0%	1.74
Sanford Health	Sanford Sioux Falls 4th & Sycamore Family Medicine Clinic	•	37	51.4%	46.8%	1.10
Sanford Health	Sanford Sioux Falls 69th & Louise Family Medicine Clinic	•	74	39.2%	45.9%	0.85
Sanford Health	Sanford Sioux Falls 69th & Minnesota Family Medicine Clinic	•	114	39.5%	47.1%	0.84
Sanford Health	Sanford Sioux Falls Internal Medicine Clinic	•	59	45.8%	52.9%	0.86
Sanford Health	Sanford Sioux Falls Women's Internal Medicine	•	42	66.7%	51.6%	1.29
Sanford Health	Sanford Thief River Falls Clinic		171	30.4%	48.4%	0.63
Sanford Health	Sanford Tracy Clinic		51	66.7%	47.6%	1.40
Sanford Health	Sanford Webster Clinic	•	38	57.9%	48.7%	1.19
Sanford Health	Sanford West Fargo Clinic - Family Medicine		329	63.2%	48.6%	1.30
Sanford Health	Sanford Westbrook Clinic	*	38	73.7%	47.0%	1.57
Sanford Health	Sanford Worthington Clinic	•	179	45.3%	46.7%	0.97
Sawtooth Mountain Clinic	Sawtooth Mountain Clinic, Inc		87	31.0%	49.2%	0.63
Scandia Clinic	Scandia Clinic		51	11.8%	48.2%	0.24
Scenic Rivers Health Services	Scenic Rivers Health Services - Bigfork	V	58	29.3%	48.2%	0.61
Scenic Rivers Health Services	Scenic Rivers Health Services - Cook	٠	54	38.9%	51.0%	0.76
Sibley Medical Center DBA Ridgeview Sibley Medical Center	Ridgeview Arlington Clinic	٠	38	42.1%	48.3%	0.87
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville	٠	65	29.2%	44.6%	0.66
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina	٠	43	27.9%	44.7%	0.63
Southside Community Health Services	Southside Medical Clinic	▼	71	23.9%	40.7%	0.59
Southwestern Mental Health Center	Southwestern Mental Health Center-Worthington	▼	311	32.2%	47.0%	0.68
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Frederic Clinic	٠	50	38.0%	49.1%	0.77
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Lindstrom Clinic	٠	97	40.2%	50.4%	0.80

▲ Above statewide average ● Average

🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

 109 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC
 ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	48.5%		_
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic	▼	380	33.7%	50.3%	0.67
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Unity Clinic	•	123	41.5%	50.2%	0.83
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Webster Clinic	▼	55	25.5%	47.3%	0.54
St. Luke's Clinics	St Luke's Clinics-Chequamegon Clinic	▼	57	21.1%	47.2%	0.45
St. Luke's Clinics	St Luke's Clinics-Hibbing Family Medical Clinic	▼	81	22.2%	47.5%	0.47
St. Luke's Clinics	St Luke's Clinics-Internal Medicine Associates	▼	105	33.3%	51.3%	0.65
St. Luke's Clinics	St Luke's Clinics-Laurentian		53	7.6%	47.5%	0.16
St. Luke's Clinics	St Luke's Clinics-Lester River	$\bullet$	54	20.4%	48.3%	0.42
St. Luke's Clinics	St Luke's Clinics-Mariner Medical Clinic	▼	60	21.7%	51.1%	0.42
St. Luke's Clinics	St Luke's Clinics-Medical Arts Clinic		40	17.5%	44.6%	0.39
St. Luke's Clinics	St Luke's Clinics-Mental Health		354	63.8%	48.9%	1.30
St. Luke's Clinics	St Luke's Clinics-Mount Royal		69	14.5%	47.8%	0.30
St. Luke's Clinics	St Luke's Clinics-P.S. Rudie Medical Clinic	٠	129	48.1%	47.6%	1.01
Stellis Health, PA	Stellis Health - Albertville-St. Michael Clinic	▼	121	32.2%	49.5%	0.65
Stellis Health, PA	Stellis Health-Buffalo Clinic		351	27.9%	49.3%	0.57
Stellis Health, PA	Stellis Health-Monticello Clinic		410	36.6%	49.6%	0.74
Synergy Family Physicians, P.A	Synergy Family Physicians, P.A.		47	14.9%	47.0%	0.32
The Emily Program	The Emily Program - St. Louis Park	•	81	42.0%	46.8%	0.90
The Emily Program	The Emily Program - St. Paul (Como)	▼	201	19.4%	46.4%	0.42
Tri-County Health Care	Tri-County Health Care - Henning Clinic	•	71	46.5%	49.2%	0.94
Tri-County Health Care	Tri-County Health Care - Wadena Clinic	•	274	44.9%	48.8%	0.92
United Family Medicine	United Family Medicine	•	596	42.8%	46.5%	0.92
Unity Family Healthcare, Family Medical Center	Family Medical Center	▼	462	31.2%	48.4%	0.64
Unity Family Healthcare, Family Medical Center	Randall Lakes Area Clinic	•	60	36.7%	48.2%	0.76
University of Minnesota Physicians	University of Minnesota Health - Fairview Maple Grove Medical Center	•	153	28.8%	47.2%	0.61

▲ Above statewide average Average Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

110 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	48.5%		
University of Minnesota Physicians	University of Minnesota Health - Mill City Clinic	•	115	45.2%	45.6%	0.99
University of Minnesota Physicians	University of Minnesota Health - Primary Care Center	▼	252	27.4%	46.9%	0.58
University of Minnesota Physicians	University of Minnesota Health - Psychiatry Clinic	•	815	43.3%	45.4%	0.96
University of Minnesota Physicians	University of Minnesota Health - Smiley's Family Medicine Clinic	▼	205	24.9%	42.4%	0.59
University of Minnesota Physicians	University of Minnesota Physicians - Bethesda Family Medicine Clinic	•	196	43.4%	43.0%	1.01
University of Minnesota Physicians	University of Minnesota Physicians - Broadway Family Medicine Clinic	▼	319	18.5%	42.7%	0.43
University of Minnesota Physicians	University of Minnesota Physicians - Center for Sexual Health	▼	44	13.6%	45.5%	0.30
University of Minnesota Physicians	University of Minnesota Physicians - Phalen Village Family Medicine Clinic	•	125	32.0%	43.1%	0.74
Voyage Healthcare	Voyage Healthcare - Crystal		102	27.5%	52.8%	0.52
Voyage Healthcare	Voyage Healthcare - Maple Grove		313	26.2%	49.2%	0.53
Voyage Healthcare	Voyage Healthcare - Osseo		223	26.0%	49.9%	0.52
Voyage Healthcare	Voyage Healthcare - Plymouth		280	30.7%	50.3%	0.61
Welia Health	Welia Health Hinckley	•	90	44.4%	49.0%	0.91
Welia Health	Welia Health Mora	•	322	52.8%	49.6%	1.07
Welia Health	Welia Health Pine City	•	160	41.3%	47.8%	0.86
West Side Community Health Services	West Side Community Health Services - East Side Family Clinic	▼	223	31.8%	42.8%	0.74
West Side Community Health Services	West Side Community Health Services - La Clinica	•	158	33.5%	40.0%	0.84
West Side Community Health Services	West Side Community Health Services - McDonough Homes Clinic	٠	38	50.0%	46.1%	1.08
Westfields Hospital and Clinic	Westfields Clinic		266	72.6%	49.4%	1.47
Williams Integracare Clinic	Integracare Ltd dba Williams Clinic		107	32.7%	46.8%	0.70
Winona Health Services	Winona Health - Winona Clinic		751	41.3%	48.8%	0.85
Woodland Centers	Woodland Centers - Litchfield	•	67	50.8%	48.0%	1.06
Woodland Centers	Woodland Centers - Montevideo	•	63	39.7%	46.9%	0.85
Woodland Centers	Woodland Centers - Willmar	•	123	55.3%	47.1%	1.17
Zumbro Valley Health Center	Zumbro Valley Health Center - Behavioral Health	•	59	50.9%	48.1%	1.06

▲ Above statewide average

Average

 Below statewide average CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

111 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

## Adult Depression - Response at Six Months

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		•
AALFA Family Clinic	AALFA Family Clinic-MHN		160	11.3%	20.0%	0.56
Advanced Medical Clinic	Advanced Medical Clinic, Inc.		74	1.4%	15.4%	0.09
	Allina Health - Abbott					
Allina Health	Northwestern General Medicine		209	14.8%	22.5%	0.66
	Associates - Edina					
Allina Health	Allina Health - Allina Mental Health - ANW	•	291	18.9%	19.6%	0.96
Allina Health	Allina Health - Allina Mental Health - United	•	489	20.9%	19.5%	1.07
Allina Health	Allina Health - Allina Mental Health - Unity	•	364	23.6%	21.1%	1.12
Allina Health	Allina Health - Annandale	•	75	22.7%	21.0%	1.08
Allina Health	Allina Health - Bandana Square	•	542	14.8%	18.5%	0.80
Allina Health	Allina Health - Blaine	•	221	16.3%	20.6%	0.79
Allina Health	Allina Health - Bloomington	•	281	15.3%	20.0%	0.76
Allina Health	Allina Health - Brooklyn Park	•	278	13.7%	19.3%	0.71
Allina Health	Allina Health - Buffalo	•	223	16.6%	20.0%	0.83
Allina Health	Allina Health - Buffalo Crossroads	•	268	16.0%	20.0%	0.80
Allina Health	Allina Health - Burnsville	•	124	15.3%	20.5%	0.75
Allina Health	Allina Health - Cambridge		879	12.4%	19.6%	0.63
Allina Health	Allina Health - Centennial Lakes	•	227	20.7%	21.2%	0.98
Allina Health	Allina Health - Champlin		392	13.3%	20.6%	0.64
Allina Health	Allina Health - Chaska	•	104	11.5%	21.1%	0.55
Allina Health	Allina Health - Cokato	•	52	21.2%	19.0%	1.12
Allina Health	Allina Health - Coon Rapids	•	1,181	17.6%	19.8%	0.89
Allina Health	Allina Health - Cottage Grove		391	10.0%	20.4%	0.49
Allina Health	Allina Health - Dean Lakes	•	109	16.5%	21.2%	0.78
Allina Health	Allina Health - Eagan	•	460	17.4%	20.4%	0.85
Allina Health	Allina Health - East Lake Street		184	9.2%	17.5%	0.53
Allina Health	Allina Health - Edina Family Physicians	▼	272	9.9%	22.1%	0.45
Allina Health	Allina Health - Elk River	•	238	14.7%	20.7%	0.71
Allina Health	Allina Health - Faribault	•	500	16.8%	19.7%	0.85
Allina Health	Allina Health - Farmington	•	155	14.8%	21.9%	0.68
Allina Health	Allina Health - Forest Lake	•	325	18.5%	20.8%	0.89
Allina Health	Allina Health - Fridley	•	296	15.5%	18.9%	0.82
Allina Health	Allina Health - Hastings		596	16.6%	21.3%	0.78
Allina Health	Allina Health - Highland Park	•	160	13.1%	19.7%	0.67

📌 Top performer

🔺 Above statewide average

▼ Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

• Average

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		1	120,344	19.4%		
Allina Health	Allina Health - Hopkins	•	156	17.3%	19.8%	0.87
Allina Health	Allina Health - Inver Grove Heights	•	247	21.9%	19.8%	1.10
Allina Health	Allina Health - Isanti	•	188	16.5%	20.0%	0.82
Allina Health	Allina Health - Isles	•	90	20.0%	20.6%	0.97
Allina Health	Allina Health - Lakeville		125	8.0%	21.7%	0.37
Allina Health	Allina Health - Maple Grove	•	199	20.1%	20.2%	1.00
Allina Health	Allina Health - Maplewood	•	238	15.6%	18.7%	0.83
Allina Health	Allina Health - New Ulm Medical Center	▼	511	13.7%	20.4%	0.67
Allina Health	Allina Health - Nicollet Mall		260	11.2%	19.2%	0.58
Allina Health	Allina Health - Northfield		626	14.1%	20.4%	0.69
Allina Health	Allina Health - Oakdale Clinic	•	116	18.1%	19.6%	0.92
Allina Health	Allina Health - Plymouth	•	346	19.1%	21.6%	0.88
Allina Health	Allina Health - Ramsey		270	12.6%	21.0%	0.60
Allina Health	Allina Health - Richfield		521	15.0%	20.2%	0.74
Allina Health	Allina Health - Savage		155	12.3%	20.8%	0.59
Allina Health	Allina Health - Shakopee	•	463	20.7%	20.9%	0.99
Allina Health	Allina Health - Sharpe Dillon Cockson & Associates	•	71	19.7%	23.2%	0.85
Allina Health	Allina Health - Shoreview		339	15.3%	20.8%	0.74
	Allina Health - St. Francis Health	-				
Allina Health	Services - Jordan	•	38	13.2%	20.5%	0.64
Allina Health	Allina Health - St. Michael		154	8.4%	20.9%	0.40
Allina Health	Allina Health - United Medical Specialties	•	151	12.6%	19.2%	0.66
Allina Health	Allina Health - Uptown		214	13.6%	19.7%	0.69
Allina Health	Allina Health - Vadnais Heights	•	122	12.3%	21.0%	0.58
Allina Health	Allina Health - West St. Paul		399	16.5%	18.9%	0.87
Allina Health	Allina Health - Woodbury	•	642	17.9%	20.9%	0.86
Alomere Health	Alexandria Clinic, A Service of Alomere Health	•	529	19.7%	19.8%	0.99
Altru Health System	Altru Health System - Grand Forks		430	10.2%	20.2%	0.51
Amery Hospital and Clinic	AHC - Amery		259	27.4%	20.1%	1.36
Amery Hospital and Clinic	AHC - Turtle Lake	•	34	17.7%	18.0%	0.98
Apple Valley Medical Clinic	Apple Valley Medical Clinic - Family Practice	•	422	17.1%	21.7%	0.79
Associated Clinic of Psychology	Associated Clinic of Psychology- Apple Valley	•	407	16.0%	19.3%	0.83
Associated Clinic of Psychology	Associated Clinic of Psychology- Brooklyn Center	•	226	12.0%	17.3%	0.69

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		_
Associated Clinic of Psychology	Associated Clinic of Psychology- Minneapolis	•	1,020	15.5%	17.6%	0.88
Associated Clinic of Psychology	Associated Clinic of Psychology-St Louis Park	•	839	16.2%	18.1%	0.90
Associated Clinic of Psychology	Associated Clinic of Psychology- West St. Paul	▼	498	13.3%	18.4%	0.72
Bluestone Physician Services	Bluestone Physician Services	•	41	7.3%	19.8%	0.37
Boynton Health Service	Boynton Health Service		1,813	20.0%	16.5%	1.21
Boynton Health Service	Boynton Health Service St. Paul	•	94	21.3%	17.0%	1.25
Catholic Charities Behavioral Health Clinic	Catholic Charities Behavioral Health Clinic	٠	79	8.9%	17.7%	0.50
CCM Health	CCM HEALTH		103	11.7%	20.3%	0.57
Cedar Riverside People's Center	Cedar Riverside People's Center - People's Center Medical Clinic	▼	143	6.3%	14.7%	0.43
CentraCare Health	Carris Health - Litchfield East Clinic		88	12.5%	19.4%	0.64
CentraCare Health	Carris Health - Litchfield West Clinic	•	81	8.6%	18.9%	0.46
CentraCare Health	Carris Health - New London Clinic		54	20.4%	20.7%	0.98
CentraCare Health	Carris Health - Redwood Clinic	•	86	9.3%	19.3%	0.48
CentraCare Health	Carris Health - Willmar Main Clinic		474	13.9%	18.4%	0.76
CentraCare Health	Carris Health - Willmar Skylark Clinic	٠	31	19.4%	19.1%	1.02
CentraCare Health	Centracare Clinic - Albany	•	120	22.5%	20.1%	1.12
CentraCare Health	CentraCare Clinic - Becker	•	185	19.5%	19.9%	0.98
CentraCare Health	CentraCare Clinic - Big Lake		198	24.8%	19.7%	1.26
CentraCare Health	CentraCare Clinic - Northway	•	422	19.4%	18.4%	1.06
CentraCare Health	Centracare Clinic - SCMG Clearwater Medical Clinic	•	98	17.4%	20.9%	0.83
CentraCare Health	Centracare Clinic - SCMG Cold Spring Medical Clinic	٠	77	22.1%	20.2%	1.09
CentraCare Health	Centracare Clinic - SCMG Northwest	•	846	17.1%	19.1%	0.90
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South	•	350	16.0%	18.4%	0.87
CentraCare Health	CentraCare Clinic - St. Joseph		187	20.9%	18.8%	1.11
CentraCare Health	CentraCare Health - Family Health Center	٠	386	13.2%	16.8%	0.79
CentraCare Health	CentraCare Health - Long Prairie		140	13.6%	18.4%	0.74
CentraCare Health	CentraCare Health - Melrose		199	24.1%	19.5%	1.24
CentraCare Health	CentraCare Health - Paynesville Clinic	•	123	19.5%	19.6%	1.00

▲ Above statewide average Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
CentraCare Health	CentraCare Health - Paynesville- Eden Valley	•	51	25.5%	18.6%	1.37
CentraCare Health	CentraCare Health - Paynesville- Richmond	•	66	30.3%	19.3%	1.57
CentraCare Health	CentraCare Health - Sauk Centre	•	182	17.6%	19.1%	0.92
CentraCare Health	CentraCare Health Plaza - Internal Medicine	•	237	14.8%	20.3%	0.73
CentraCare Health	CentraCare River Campus - Internal Medicine	•	222	17.1%	20.9%	0.82
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	•	46	10.9%	18.8%	0.58
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Baxter	▼	101	8.9%	19.3%	0.46
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Crosby Clinic	▼	242	12.4%	19.3%	0.64
Dawson Clinic	Johnson Memorial Health Services - Dawson Clinic	•	85	14.1%	19.7%	0.72
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	Duluth Family Medicine Clinic (formerly Duluth Family Practice Center)	▼	346	7.8%	14.6%	0.54
Edina Sports Health & Wellness	Edina Sports + Family Medicine	•	118	13.6%	20.6%	0.66
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Como/Roseville (formerly Family HealthServices Minnesota - Larpenteur Clinic)	٠	111	28.8%	19.0%	1.52
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - East Side (formerly Family HealthServices Minnesota - Maryland Clinic)	٠	202	13.9%	17.4%	0.80
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Highland (formerly Family HealthServices Minnesota - Highland Family Physicians)		153	37.3%	20.0%	1.87
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Inver Grove Heights (formerly Family HealthServices Minnesota - Inver Grove Heights)	٠	211	25.6%	20.4%	1.26
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - North St. Paul (formerly Family HealthServices Minnesota - North St. Paul Clinic)		207	34.3%	19.2%	1.79

★ Top performer 🔹 🔺 Above statewide average

erage 🛛 💿 Average

rage 🛛 🔻 Be

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

 115 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC
 ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Shoreview (formerly Family HealthServices Minnesota - Shoreview)	•	197	28.9%	20.9%	1.39
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Vadnais Heights (formerly Family HealthServices Minnesota - Vadnais Heights)	•	153	19.6%	20.3%	0.97
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - West St. Paul (formerly Family HealthServices Minnesota - Gorman Clinic)		260	34.6%	19.0%	1.82
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - White Bear Lake/Banning Ave (formerly Family Health Services MN Banning Clinic)		185	32.4%	21.2%	1.53
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Woodbury (formerly Family HealthServices Minnesota - Woodbury)		334	32.3%	20.4%	1.59
Essentia Health	EH Central Baxter Clinic		307	35.8%	19.2%	1.86
Essentia Health	EH Central Brainerd Clinic	*	262	42.4%	19.8%	2.14
Essentia Health	EH Central Crosslake Clinic	*	40	52.5%	20.9%	2.52
Essentia Health	EH Central Hackensack Clinic	*	34	44.1%	18.0%	2.45
Essentia Health	EH Central Lakeland Psychiatry Clinic	•	60	33.3%	19.2%	1.74
Essentia Health	EH Central Pequot Lakes Clinic	•	53	34.0%	19.3%	1.76
Essentia Health	EH Central Pierz Clinic	*	57	40.4%	18.6%	2.17
Essentia Health	EH Central Pillager Clinic	*	61	49.2%	20.4%	2.41
Essentia Health	EH Central Pine River Clinic		118	31.4%	18.3%	1.71
Essentia Health	EH East Ashland Clinic		193	30.6%	19.6%	1.56
Essentia Health	EH East Chisholm Clinic	•	46	19.6%	18.0%	1.09
Essentia Health	EH East Deer River Clinic	•	155	23.9%	18.1%	1.32
Essentia Health	EH East Duluth Clinic	•	131	13.7%	17.7%	0.77
Essentia Health	EH East Duluth Clinic 1st St	•	350	21.1%	18.1%	1.17
Essentia Health	EH East Ely Clinic		102	35.3%	19.6%	1.80
Essentia Health	EH East Grand Rapids Clinic	*	165	40.0%	18.2%	2.20
Essentia Health	EH East Hayward Clinic		155	31.0%	18.4%	1.69
Essentia Health	EH East Hermantown Clinic	٠	295	26.4%	19.8%	1.34
Essentia Health	EH East Hibbing Clinic		164	31.7%	17.8%	1.79
Essentia Health	EH East International Falls Clinic		190	25.8%	17.4%	1.48
Essentia Health	EH East Lakeside Clinic		302	23.8%	19.4%	1.23
Essentia Health	EH East Lakewalk Clinic		354	26.0%	17.9%	1.45
Essentia Health	EH East Northern Pines Clinic		110	31.8%	19.4%	1.64

▲ Above statewide average Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
Essentia Health	EH East Proctor Clinic	•	106	26.4%	19.1%	1.38
Essentia Health	EH East Spooner Clinic		130	33.9%	18.5%	1.83
Essentia Health	EH East Superior Clinic	•	458	23.4%	18.2%	1.28
Essentia Health	EH East Virginia Clinic		250	24.0%	18.0%	1.33
Essentia Health	EH East West Duluth Clinic		451	28.4%	17.5%	1.62
Essentia Health	EH West 52nd Avenue Clinic		358	36.0%	20.0%	1.80
Essentia Health	EH West Ada Clinic	*	45	40.0%	18.4%	2.18
Essentia Health	EH West Bagely Clinic		72	30.6%	17.3%	1.77
Essentia Health	EH West Detroit Lakes Clinic		412	33.0%	18.7%	1.77
Essentia Health	EH West Fosston Clinic		184	33.2%	17.3%	1.91
Essentia Health	EH West Jamestown Clinic	•	122	27.1%	19.8%	1.37
Essentia Health	EH West Moorhead	•	211	24.6%	19.7%	1.25
Essentia Health	EH West Park Rapids Clinic	*	247	37.3%	17.9%	2.08
Essentia Health	EH West Pelican Rapids Clinic	•	31	41.9%	17.6%	2.39
Essentia Health	EH West South University Clinic	•	116	27.6%	20.5%	1.34
Essentia Health	EH West Valley City Clinic	*	82	52.4%	20.7%	2.54
Essentia Health	EH West Wahpeton Clinic		153	37.9%	20.8%	1.83
Essentia Health	EH West West Acres Clinic	*	228	39.9%	20.0%	1.99
Essentia Health	EH West West Fargo Clinic		285	32.6%	20.4%	1.60
Fairview Health Services	HealthEast Clinic - Hugo		111	9.9%	21.8%	0.46
Fairview Health Services	HealthEast Outpatient Mental Health and Addiction Care Clinic- St. Joseph's Hospital	•	98	13.3%	17.0%	0.78
Fairview Health Services	M Health Fairview Clinic Andover	•	393	23.9%	21.2%	1.13
Fairview Health Services	M Health Fairview Clinic Apple Valley	•	446	22.7%	20.7%	1.09
Fairview Health Services	M Health Fairview Clinic Bass Lake	•	254	20.1%	20.2%	0.99
Fairview Health Services	M Health Fairview Clinic Blaine	•	157	20.4%	19.7%	1.03
Fairview Health Services	M Health Fairview Clinic Brooklyn ParkÂ	•	409	14.7%	19.1%	0.77
Fairview Health Services	M Health Fairview Clinic Burnsville	•	649	20.0%	21.1%	0.95
Fairview Health Services	M Health Fairview Clinic Chisago City		212	29.3%	20.6%	1.42
Fairview Health Services	M Health Fairview Clinic Columbia Heights	•	365	20.3%	18.8%	1.08
Fairview Health Services	M Health Fairview Clinic Cottage Grove	▼	292	13.7%	21.2%	0.65
Fairview Health Services	M Health Fairview Clinic Downtown St. Paul	٠	191	16.8%	19.9%	0.84
Fairview Health Services	M Health Fairview Clinic Eagan		558	19.2%	20.8%	0.92

▲ Above statewide average ● Average

🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	19.4%		-
Fairview Health Services	M Health Fairview Clinic Eden Prairie		264	32.2%	21.7%	1.48
Fairview Health Services	M Health Fairview Clinic Edina		275	14.6%	22.0%	0.66
Fairview Health Services	M Health Fairview Clinic Elk River		318	27.7%	20.4%	1.36
Fairview Health Services	M Health Fairview Clinic Farmington	•	104	22.1%	21.8%	1.02
Fairview Health Services	M Health Fairview Clinic Fridley	٠	387	16.0%	19.5%	0.82
Fairview Health Services	M Health Fairview Clinic Grand Avenue	•	285	10.9%	18.5%	0.59
Fairview Health Services	M Health Fairview Clinic Hiawatha	٠	411	23.6%	19.2%	1.23
Fairview Health Services	M Health Fairview Clinic Highland Park	•	301	24.6%	19.7%	1.25
Fairview Health Services	M Health Fairview Clinic Hugo	٠	123	17.1%	20.8%	0.82
Fairview Health Services	M Health Fairview Clinic Integrated Primary Care	•	141	12.8%	17.8%	0.72
Fairview Health Services	M Health Fairview Clinic Lake Street	•	142	21.1%	17.5%	1.20
Fairview Health Services	M Health Fairview Clinic Lakeville	٠	176	18.8%	21.7%	0.86
Fairview Health Services	M Health Fairview Clinic Lino Lakes	٠	152	21.7%	21.1%	1.03
Fairview Health Services	M Health Fairview Clinic Maplewood	•	154	13.6%	18.9%	0.72
Fairview Health Services	M Health Fairview Clinic Milaca	٠	211	21.3%	18.8%	1.14
Fairview Health Services	M Health Fairview Clinic New Brighton	•	294	18.7%	19.2%	0.97
Fairview Health Services	M Health Fairview Clinic North Branch	•	395	17.5%	19.6%	0.89
Fairview Health Services	M Health Fairview Clinic Oakdale		330	12.1%	19.9%	0.61
Fairview Health Services	M Health Fairview Clinic Oxboro		241	12.9%	21.2%	0.61
Fairview Health Services	M Health Fairview Clinic Pine City	•	75	17.3%	18.9%	0.91
Fairview Health Services	M Health Fairview Clinic Princeton	•	605	22.3%	19.8%	1.13
Fairview Health Services	M Health Fairview Clinic Prior Lake	•	226	25.7%	21.6%	1.19
Fairview Health Services	M Health Fairview Clinic Rice Street	•	266	10.2%	15.5%	0.65
Fairview Health Services	M Health Fairview Clinic Riverside	٠	253	16.6%	17.8%	0.93
Fairview Health Services	M Health Fairview Clinic Rogers	٠	124	25.8%	21.2%	1.22
Fairview Health Services	M Health Fairview Clinic Roselawn	•	281	19.6%	16.1%	1.22
Fairview Health Services	M Health Fairview Clinic Rosemount	•	137	24.1%	21.1%	1.14
Fairview Health Services	M Health Fairview Clinic Roseville	٠	182	13.7%	19.0%	0.72
Fairview Health Services	M Health Fairview Clinic Savage		83	34.9%	21.2%	1.65
Fairview Health Services	M Health Fairview Clinic Tamarack		228	12.3%	20.5%	0.60

🔺 Above statewide average

• Average 🛛 🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
Fairview Health Services	M Health Fairview Clinic Uptown	•	295	23.1%	19.3%	1.20
Fairview Health Services	M Health Fairview Clinic Vadnais Heights	•	229	18.8%	21.1%	0.89
Fairview Health Services	M Health Fairview Clinic Woodwinds	▼	207	13.0%	20.8%	0.63
Fairview Health Services	M Health Fairview Clinic Wyoming	•	529	20.6%	20.5%	1.01
Fairview Health Services	M Health Fairview Clinic Xerxes	•	250	23.2%	20.5%	1.13
Fairview Health Services	M Health Fairview Clinic Zimmerman	•	232	25.4%	20.7%	1.23
Fairview Health Services	M Health Fairview Geriatric Services	▼	71	4.2%	22.7%	0.19
Fairview Health Services	M Health Fairview Clinic Midway	•	165	16.4%	18.6%	0.88
Fairview Health Services	M Health Fairview Clinic Stillwater	•	155	14.2%	21.0%	0.68
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	•	486	18.5%	17.6%	1.05
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Mountain Iron	٠	206	22.8%	18.4%	1.24
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Nashwauk	•	67	35.8%	19.3%	1.86
Family Practice Medical Center of Willmar	Family Practice Medical Center of Willmar	▼	166	7.8%	18.6%	0.42
France Avenue Family Physicians - Minnesota Healthcare Network	France Avenue Family Physicians - Minnesota Healthcare Network	•	94	11.7%	20.9%	0.56
Glencoe Regional Health Services	Glencoe Regional Health Services - Glencoe	•	274	14.6%	19.7%	0.74
Glencoe Regional Health Services	Glencoe Regional Health Services - Lester Prairie	•	49	20.4%	22.1%	0.92
Glenwood Medical Center	Glenwood Medical Center		48	0.0%	19.2%	0.00
Grand Itasca Clinic	Grand Itasca Clinic	•	677	20.1%	18.5%	1.09
Granite Falls Municipal Hospital & Manor Clinic	Granite Falls Health Clinic	▼	39	0.0%	18.9%	0.00
Gundersen Health System	Gundersen Health System - Houston Clinic	•	34	23.5%	19.9%	1.18
Gundersen Health System	Gundersen Health System - La Crescent Clinic	٠	110	21.8%	20.3%	1.08
Gundersen Health System	Gundersen Health System - Spring Grove Clinic	•	46	17.4%	19.1%	0.91
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics		652	32.8%	18.7%	1.76

▲ Above statewide average

🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
HealthPartners Clinics	HealthPartners - Andover	٠	126	31.8%	22.0%	1.44
HealthPartners Clinics	HealthPartners - Anoka	٠	304	25.0%	20.7%	1.21
HealthPartners Clinics	HealthPartners - Apple Valley	•	162	24.7%	20.9%	1.18
HealthPartners Clinics	HealthPartners - Arden Hills		230	39.6%	20.9%	1.90
HealthPartners Clinics	HealthPartners - Bloomington		179	32.4%	19.9%	1.63
HealthPartners Clinics	HealthPartners - Brooklyn Center	٠	166	22.9%	18.2%	1.26
HealthPartners Clinics	HealthPartners - Como		413	25.9%	19.7%	1.32
HealthPartners Clinics	HealthPartners - Coon Rapids		202	29.7%	20.6%	1.45
HealthPartners Clinics	HealthPartners - Cottage Grove	٠	69	23.2%	20.7%	1.12
HealthPartners Clinics	HealthPartners - Ctr for Internatl Hlth	•	30	20.0%	15.8%	1.26
HealthPartners Clinics	HealthPartners - Curve Crest Clinic		768	27.2%	22.0%	1.24
HealthPartners Clinics	HealthPartners - Eagan		151	31.1%	20.6%	1.51
HealthPartners Clinics	HealthPartners - Elk River		203	35.5%	20.5%	1.73
HealthPartners Clinics	HealthPartners - Highland Park	٠	63	23.8%	18.9%	1.26
HealthPartners Clinics	HealthPartners - Hlth Ctr for Women		186	34.4%	20.3%	1.70
HealthPartners Clinics	HealthPartners - Hugo	*	49	44.9%	21.9%	2.05
HealthPartners Clinics	HealthPartners - Inver Grove Behav Hlth	•	307	24.8%	19.8%	1.25
HealthPartners Clinics	HealthPartners - Inver Grove Heights	•	102	29.4%	19.8%	1.49
HealthPartners Clinics	HealthPartners - Lino Lakes		138	40.6%	21.7%	1.87
HealthPartners Clinics	HealthPartners - Mahtomedi Clinic	٠	58	29.3%	22.5%	1.30
HealthPartners Clinics	HealthPartners - Maplewood		299	27.1%	18.4%	1.47
HealthPartners Clinics	HealthPartners - Midway	٠	105	13.3%	16.3%	0.82
HealthPartners Clinics	HealthPartners - Nokomis	•	113	18.6%	19.4%	0.96
HealthPartners Clinics	HealthPartners - Regions BH Maplewood		498	27.1%	19.2%	1.41
HealthPartners Clinics	HealthPartners - Regions BH Woodbury		273	30.4%	20.8%	1.46
HealthPartners Clinics	HealthPartners - Riverside	٠	201	19.4%	17.5%	1.11
HealthPartners Clinics	HealthPartners - Riverside Behav Hlth		183	31.7%	18.9%	1.67
HealthPartners Clinics	HealthPartners - Roseville		164	33.5%	20.3%	1.65
HealthPartners Clinics	HealthPartners - Somerset Clinic	•	174	21.3%	21.6%	0.98
HealthPartners Clinics	HealthPartners - St Paul	•	356	16.9%	17.0%	0.99
HealthPartners Clinics	HealthPartners - University Ave	•	130	24.6%	19.3%	1.27
HealthPartners Clinics	HealthPartners - West		160	30.6%	20.6%	1.49
HealthPartners Clinics	HealthPartners - West Behav Hlth		337	29.4%	19.8%	1.49
HealthPartners Clinics	HealthPartners - White Bear Lake		163	33.1%	21.9%	1.51

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

120 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
HealthPartners Clinics	HealthPartners - Woodbury		378	29.6%	20.5%	1.44
Hendricks Community Hospital Association	Hendricks Clinic	•	42	7.1%	21.0%	0.34
Hennepin Healthcare	Hennepin Healthcare Adult Psychiatry Clinic	▼	195	1.0%	17.0%	0.06
Hennepin Healthcare	Hennepin Healthcare Brooklyn Center Clinic		34	2.9%	16.4%	0.18
Hennepin Healthcare	Hennepin Healthcare Brooklyn Park Clinic		139	2.9%	16.4%	0.18
Hennepin Healthcare	Hennepin Healthcare Downtown Medicine Clinic	▼	249	2.4%	16.0%	0.15
Hennepin Healthcare	Hennepin Healthcare East Lake Clinic	•	191	8.9%	15.3%	0.58
Hennepin Healthcare	Hennepin Healthcare Golden Valley Clinic	•	117	11.1%	17.3%	0.64
Hennepin Healthcare	Hennepin Healthcare Internal Medicine Clinic Parkside	▼	49	4.1%	16.9%	0.24
Hennepin Healthcare	Hennepin Healthcare North Loop Clinic and Pharmacy	•	60	8.3%	16.6%	0.50
Hennepin Healthcare	Hennepin Healthcare Richfield Clinic	▼	195	4.1%	17.2%	0.24
Hennepin Healthcare	Hennepin Healthcare Whittier Clinic	▼	156	2.6%	15.7%	0.16
Hennepin Healthcare	Hennepin Healthcare Women's Health and Wellness Clinic	▼	37	0.0%	16.6%	0.00
Hutchinson Health	Hutchinson Health - Hutchinson Clinic	▼	349	8.3%	19.7%	0.42
Hutchinson Health	Hutchinson Health - Mental Health Clinic	•	180	12.8%	19.9%	0.64
Indian Health Board of Minneapolis	Indian Health Board of Minneapolis	▼	104	3.9%	14.0%	0.28
Kittson Healthcare Clinic	Kittson Memorial Clinic - Hallock	•	34	8.8%	21.4%	0.41
Lac Qui Parle Clinic	Lac Qui Parle Clinic	•	36	13.9%	19.7%	0.71
Lake Region Healthcare	Lake Region Healthcare - Barnesville Clinic	٠	41	14.6%	18.6%	0.79
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls		430	27.2%	19.4%	1.40
Lake Superior Community Health Center	Lake Superior Community Health Center - Duluth	•	121	9.1%	16.3%	0.56
Lake Superior Community Health Center	Lake Superior Community Health Center-Superior	٠	182	10.4%	16.8%	0.62
Lake View Clinic - Two Harbors	Lake View Clinic - Two Harbors		82	6.1%	19.7%	0.31

▲ Above statewide average ● Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

 121 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC
 ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
Lakeland Mental Health Center	Lakeland Mental Health Center - Alexandria	▼	183	9.8%	18.8%	0.52
Lakeland Mental Health Center	Lakeland Mental Health Center - Detroit Lakes	▼	132	3.0%	17.2%	0.18
Lakeland Mental Health Center	Lakeland Mental Health Center - Fergus Falls	•	284	14.1%	17.6%	0.80
Lakeland Mental Health Center	Lakeland Mental Health Center - Glenwood	▼	70	7.1%	18.1%	0.40
Lakeland Mental Health Center	Lakeland Mental Health Center - Moorhead	•	465	13.8%	17.2%	0.80
Lakewood Health System	Lakewood Health System - Browerville Clinic	•	89	27.0%	18.6%	1.45
Lakewood Health System	Lakewood Health System - Eagle Valley Clinic	•	44	18.2%	16.6%	1.10
Lakewood Health System	Lakewood Health System - Motley Clinic	•	105	12.4%	18.2%	0.68
Lakewood Health System	Lakewood Health System - Pillager Clinic	٠	211	18.5%	17.3%	1.07
Lakewood Health System	Lakewood Health System - Staples Clinic	•	186	19.4%	17.2%	1.13
Madelia Community Hospital & Clinic	Madelia Community Hospital & Clinic	•	52	19.2%	17.9%	1.08
Mankato Clinic, Ltd.	Mankato Clinic - Daniel's Health Center	•	121	23.1%	19.3%	1.20
Mankato Clinic, Ltd.	Mankato Clinic - Department of Psychiatry & Psychology		647	25.2%	19.5%	1.29
Mankato Clinic, Ltd.	Mankato Clinic - Main Street	•	267	18.7%	19.2%	0.98
Mankato Clinic, Ltd.	Mankato Clinic - North Mankato		162	32.1%	19.2%	1.67
Mankato Clinic, Ltd.	Mankato Clinic - Wickersham Campus		249	26.9%	19.3%	1.39
Mayo Clinic	Mayo Clinic - Baldwin Building, Family Medicine		378	29.9%	20.0%	1.50
Mayo Clinic	Mayo Clinic - Baldwin Building, Primary Care Internal Medicine		557	31.4%	20.8%	1.51
Mayo Clinic	Mayo Clinic - Generose Building		74	8.1%	20.7%	0.39
Mayo Clinic	Mayo Clinic - Kasson		218	32.1%	21.2%	1.52
Mayo Clinic	Mayo Clinic - Northeast		357	31.7%	20.7%	1.53
Mayo Clinic	Mayo Clinic - Northwest	•	339	23.3%	20.3%	1.15
Mayo Clinic	Mayo Clinic - Speciality Practice		942	6.7%	20.6%	0.32
Mayo Clinic	Mayo Family Clinic Southeast		244	38.9%	20.8%	1.87
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	٠	450	14.2%	18.7%	0.76

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
Mayo Clinic Health System	Mayo Clinic Health System Austin	•	597	15.4%	19.0%	0.81
Mayo Clinic Health System	Mayo Clinic Health System Belle Plaine	•	47	23.4%	20.6%	1.14
Mayo Clinic Health System	Mayo Clinic Health System Cannon Falls	•	109	20.2%	21.3%	0.95
Mayo Clinic Health System	Mayo Clinic Health System Fairmont		305	25.9%	18.5%	1.40
Mayo Clinic Health System	Mayo Clinic Health System Faribault Campus Location	•	129	20.9%	20.0%	1.04
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in Caledonia	٠	39	12.8%	18.8%	0.68
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in LaCrescent	•	56	26.8%	20.5%	1.31
Mayo Clinic Health System	Mayo Clinic Health System Lake City	•	120	15.8%	20.6%	0.77
Mayo Clinic Health System	Mayo Clinic Health System Lake Crystal	•	71	15.5%	18.0%	0.86
Mayo Clinic Health System	Mayo Clinic Health System Le Sueur	•	63	22.2%	19.5%	1.14
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge	•	506	21.7%	18.8%	1.16
Mayo Clinic Health System	Mayo Clinic Health System Mankato Northridge	٠	214	19.6%	18.7%	1.05
Mayo Clinic Health System	Mayo Clinic Health System Mankato Specialty Clinic	•	49	16.3%	20.1%	0.81
Mayo Clinic Health System	Mayo Clinic Health System Montgomery	٠	35	8.6%	19.2%	0.45
Mayo Clinic Health System	Mayo Clinic Health System New Prague	•	97	23.7%	20.7%	1.15
Mayo Clinic Health System	Mayo Clinic Health System Owatonna	▼	644	15.1%	20.6%	0.73
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	▼	363	14.9%	21.0%	0.71
Mayo Clinic Health System	Mayo Clinic Health System Red Wing in Zumbrota	٠	62	12.9%	21.6%	0.60
Mayo Clinic Health System	Mayo Clinic Health System Springfield	٠	54	25.9%	19.7%	1.31
Mayo Clinic Health System	Mayo Clinic Health System St. James	٠	90	22.2%	19.4%	1.15

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
Mayo Clinic Health System	Mayo Clinic Health System St. Peter		170	35.3%	19.3%	1.83
Mayo Clinic Health System	Mayo Clinic Health System Waseca	•	96	13.5%	20.5%	0.66
Mental Health Resources	Mental Health Outreach Clinic	•	47	8.5%	15.2%	0.56
Mille Lacs Health System	Mille Lacs Health System - Isle	•	39	15.4%	18.0%	0.86
Mille Lacs Health System	Mille Lacs Health System - Onamia	•	79	11.4%	18.1%	0.63
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics -		756	14.2%	19.3%	0.73
Lakeville, Maplewood,	Eagan Clinic	•	100	14.2%	19.5%	0.15
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-		59	25.4%	20.2%	1.26
Lakeville, Maplewood,	Apple Valley	•	55	23.470	20.270	1.20
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-		75	12.0%	20.5%	0.58
Lakeville, Maplewood,	Lakeville Clinic					
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-	•	138	16.7%	19.1%	0.87
Lakeville, Maplewood,	Maplewood Clinic					
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics	Minnesota Mental Health Clinics-					
(Eagan, Apple Valley, Edina,		•	166	12.7%	19.9%	0.64
Lakeville, Maplewood, Minneapolis, Woodbury)	Woodbury Clinic					
Natalis Counseling & Psychology						
Solutions	Natalis Counseling - Main Location		346	5.8%	16.0%	0.36
Native American Community Clinic	Native American Community Clinic	•	232	15.1%	13.8%	1.09
	Neighborhood HealthSource -	-				
Neighborhood Healthsource	Central Clinic	•	62	6.5%	15.7%	0.41
	Neighborhood HealthSource -		12	7.00/	1.4.70/	0.40
Neighborhood Healthsource	Fremont Clinic		43	7.0%	14.7%	0.48
Naighbarbaad Haalthaauraa	Neighborhood HealthSource -		22	1E C04	15 704	1.00
Neighborhood Healthsource	Sheridan Clinic		32	15.6%	15.7%	1.00
North Memorial	North Memorial Health -		173	10.4%	20.6%	0.50
	Minnetonka Medical Center	•	115	10.470	20.070	0.50
North Memorial	North Memorial Health Clinic -		59	3.4%	21.0%	0.16
	Blaine	•	55	<b>J. T</b> /0	21.070	0.10
North Memorial	North Memorial Health Clinic -		120	8.3%	17.1%	0.49
	Brooklyn Center					

▲ Above statewide average Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		_
North Memorial	North Memorial Health Clinic - Brooklyn Park	▼	103	6.8%	19.4%	0.35
North Memorial	North Memorial Health Clinic - Camden	▼	145	5.5%	15.4%	0.36
North Memorial	North Memorial Health Clinic - Downtown Minneapolis	•	148	9.5%	17.5%	0.54
North Memorial	North Memorial Health Clinic - Elk River	•	173	13.3%	20.0%	0.67
North Memorial	North Memorial Health Clinic - Golden Valley	•	196	12.8%	19.6%	0.65
North Memorial	North Memorial Health Clinic - Maple Grove	▼	102	7.8%	20.2%	0.39
North Memorial	North Memorial Health Clinic - New Hope	▼	225	10.2%	19.9%	0.51
North Memorial	North Memorial Health Clinic - St. Anthony		236	5.9%	20.3%	0.29
North Memorial	North Memorial Health Internal Medicine - Maple Grove	▼	100	5.0%	22.1%	0.23
North Memorial	North Memorial Health Mental Health	▼	129	2.3%	17.8%	0.13
Northern Psychiatric Associates	Northern Psychiatric Associates		343	7.3%	19.1%	0.38
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Farmington Clinic	▼	39	5.1%	22.2%	0.23
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lakeville Clinic	▼	58	5.2%	20.9%	0.25
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lonsdale Clinic		32	3.1%	21.2%	0.15
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Northfield Clinic	▼	96	8.3%	20.9%	0.40
NorthPoint Health & Wellness Center	NorthPoint Health & Wellness Center	▼	677	8.4%	13.9%	0.60
Northwest Family Physicians	Northwest Family Physicians - Crystal	▼	266	3.8%	19.1%	0.20
Northwest Family Physicians	Northwest Family Physicians - Plymouth	▼	108	2.8%	22.0%	0.13
Northwest Family Physicians	Northwest Family Physicians - Rogers	▼	94	2.1%	21.7%	0.10
Northwestern Mental Health Center	Northwestern Mental Health Center	٠	393	16.3%	17.4%	0.93
Olmsted Medical Center	Olmsted Medical Center - Byron Clinic	٠	119	26.1%	18.3%	1.43

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
Olmsted Medical Center	Olmsted Medical Center - Chatfield Clinic	•	63	19.1%	19.9%	0.96
Olmsted Medical Center	Olmsted Medical Center - Lake City	•	46	26.1%	20.0%	1.30
Olmsted Medical Center	Olmsted Medical Center - Pine Island Clinic	•	78	25.6%	17.4%	1.47
Olmsted Medical Center	Olmsted Medical Center - Plainview Clinic	•	49	26.5%	19.6%	1.35
Olmsted Medical Center	Olmsted Medical Center - Preston Clinic	•	67	16.4%	19.2%	0.86
Olmsted Medical Center	Olmsted Medical Center - Rochester Northwest	•	205	20.0%	18.1%	1.11
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast	•	588	19.6%	18.0%	1.09
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast - Psychiatry	•	375	22.1%	19.0%	1.17
Olmsted Medical Center	Olmsted Medical Center - Skyway Clinic	•	100	19.0%	16.9%	1.13
Olmsted Medical Center	Olmsted Medical Center - Spring Valley Clinic	•	31	32.3%	17.5%	1.84
Olmsted Medical Center	Olmsted Medical Center - St. Charles Clinic	•	70	28.6%	18.6%	1.54
Olmsted Medical Center	Olmsted Medical Center - Stewartville Clinic	•	137	11.7%	17.5%	0.67
Open Cities Health Center	Open Cities Health (Dunlap) - Family Medicine	▼	144	2.1%	15.0%	0.14
Open Cities Health Center	Open Cities Health Center(North End)- Family Medicine	▼	93	1.1%	14.4%	0.08
Open Door Health Center	Open Door Health Center		162	7.4%	16.0%	0.46
Ortonville Area Health Services- Northside Medical Clinic	Ortonville Area Health Services- Northside Medical Clinic		142	32.4%	19.6%	1.65
Park Nicollet Health Services	Park Nicollet Clinic - Bloomington	•	271	22.9%	21.0%	1.09
Park Nicollet Health Services	Park Nicollet Clinic - Brookdale		501	27.7%	18.4%	1.51
Park Nicollet Health Services	Park Nicollet Clinic - Burnsville		704	34.1%	20.8%	1.64
Park Nicollet Health Services	Park Nicollet Clinic - Carlson	•	375	26.1%	21.5%	1.21
Park Nicollet Health Services	Park Nicollet Clinic - Champlin	•	209	21.1%	20.2%	1.04
Park Nicollet Health Services	Park Nicollet Clinic - Chanhassen	•	410	25.4%	22.2%	1.15
Park Nicollet Health Services	Park Nicollet Clinic - Creekside	•	77	26.0%	21.3%	1.22
Park Nicollet Health Services	Park Nicollet Clinic - Eagan		440	40.9%	21.0%	1.95
Park Nicollet Health Services	Park Nicollet Clinic - Eden Prairie		291	37.5%	21.4%	1.75
Park Nicollet Health Services	Park Nicollet Clinic - Golden Valley	•	290	25.9%	21.0%	1.23
Park Nicollet Health Services	Park Nicollet Clinic - Lakeville	٠	116	24.1%	20.8%	1.16
Park Nicollet Health Services	Park Nicollet Clinic - Maple Grove		328	33.5%	21.1%	1.59

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
Park Nicollet Health Services	Park Nicollet Clinic - Minneapolis		396	26.0%	17.5%	1.49
Park Nicollet Health Services	Park Nicollet Clinic - Plymouth		381	32.6%	21.2%	1.53
Park Nicollet Health Services	Park Nicollet Clinic - Prior Lake	•	236	28.4%	21.1%	1.34
Park Nicollet Health Services	Park Nicollet Clinic - Psychiatry		3,122	25.3%	20.6%	1.23
Park Nicollet Health Services	Park Nicollet Clinic - Rogers	•	100	32.0%	21.4%	1.49
Park Nicollet Health Services	Park Nicollet Clinic - Shakopee		521	39.0%	20.3%	1.92
Park Nicollet Health Services	Park Nicollet Clinic - Shorewood	•	170	28.8%	22.2%	1.30
Park Nicollet Health Services	Park Nicollet Clinic - SmartCare		144	31.9%	20.8%	1.53
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Family Medicine		663	27.3%	20.5%	1.33
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Internal Medicine		380	38.7%	22.1%	1.75
Park Nicollet Health Services	Park Nicollet Clinic - Target Health and Well-Being Center	*	61	39.3%	16.6%	2.36
Park Nicollet Health Services	Park Nicollet Clinic - Target Health and Well-Being Center North	•	30	30.0%	16.4%	1.83
Park Nicollet Health Services	Park Nicollet Clinic - Wayzata		220	38.6%	22.3%	1.74
Park Nicollet Health Services	Park Nicollet Clinic - Women's Services	•	136	25.7%	20.0%	1.29
People Incorporated Stark Mental Health Clinic	Family Life Mental Health Center	▼	398	6.0%	17.7%	0.34
People Incorporated Stark Mental Health Clinic	Stark Clinic- Northside	▼	93	3.2%	13.5%	0.24
People Incorporated Stark Mental Health Clinic	Stark Clinic-York	▼	71	4.2%	14.7%	0.29
People Incorporated Stark Mental Health Clinic	Stark Mental Health Clinic	▼	213	8.0%	14.9%	0.54
Perham Health	Perham Health Clinic		209	12.0%	19.1%	0.63
Perham Health	Perham Health New York Mills Clinic	•	43	30.2%	19.5%	1.55
Planned Parenthood Minnesota, North Dakota, South Dakota	Planned Parenthood Minnesota, North Dakota, South Dakota - Duluth	▼	35	0.0%	14.6%	0.00
Planned Parenthood Minnesota, North Dakota, South Dakota	Planned Parenthood Minnesota, North Dakota, South Dakota - St Cloud	▼	69	0.0%	14.5%	0.00
Prairie Ridge Hospital & Health Services	Prairie Ridge Hospital & Health Services - Elbow Lake	٠	62	11.3%	18.6%	0.61
Rainy Lake Medical Center	Rainy Lake Medical Center - Rural Health Clinic	▼	58	3.5%	16.7%	0.21
Ramsey County Mental Health	Ramsey County Mental Health Center	▼	198	2.5%	14.6%	0.17

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
Renville County Hospital and	Renville County Hospital and		46	2.2%	17.2%	0.13
Clinics	Clinics - Olivia	•				
Richfield Medical Group	Richfield Medical Group		173	7.5%	22.2%	0.34
Ridgeview Clinics	Ridgeview Chanhassen Clinic		117	5.1%	22.0%	0.23
Ridgeview Clinics	Ridgeview Delano Clinic		101	5.9%	21.7%	0.27
Ridgeview Clinics	Ridgeview Excelsior Clinic	•	49	10.2%	22.4%	0.46
Ridgeview Clinics	Ridgeview Howard Lake Clinic	•	35	8.6%	20.4%	0.42
Ridgeview Clinics	Ridgeview Westonka Clinic		137	11.7%	21.5%	0.54
RiverView Health	RiverView Clinic		101	5.9%	18.8%	0.32
Riverwood Healthcare Center	Riverwood Aitkin Clinic		190	9.5%	18.9%	0.50
Riverwood Healthcare Center	Riverwood Garrison Clinic	•	43	7.0%	19.7%	0.35
Riverwood Healthcare Center	Riverwood McGregor Clinic		85	7.1%	18.5%	0.38
Sanford Health	Sanford Aberdeen Clinic	•	243	21.0%	19.9%	1.05
Sanford Health	Sanford Bagley Clinic	•	65	20.0%	17.3%	1.16
Sanford Health	Sanford Bemidji 1611 Anne St Clinic - Family Medicine	•	42	14.3%	17.0%	0.84
Sanford Health	Sanford Bemidji Main Clinic - Family Medicine	•	500	17.0%	17.7%	0.96
Sanford Health	Sanford Bemidji Main Clinic - Internal Medicine	•	52	17.3%	20.6%	0.84
Sanford Health	Sanford Canby Clinic	•	74	24.3%	20.6%	1.18
Sanford Health	Sanford Canton Clinic	•	69	8.7%	20.3%	0.43
Sanford Health	Sanford East Grand Forks Clinic		112	5.4%	18.6%	0.29
Sanford Health	Sanford Fargo Broadway Clinic - Family Medicine Residency	•	89	25.8%	19.7%	1.31
Sanford Health	Sanford Fargo Broadway Clinic - Behavioral Health	•	292	22.3%	20.4%	1.09
Sanford Health	Sanford Fargo Broadway Clinic - Internal Medicine	•	142	15.5%	21.0%	0.74
Sanford Health	Sanford Fargo Internal Medicine Residency Clinic	•	54	16.7%	19.2%	0.87
Sanford Health	Sanford Fargo North Fargo Clinic	•	262	20.2%	19.8%	1.02
Sanford Health	Sanford Fargo Professional Building - Behavioral Health	•	66	16.7%	19.3%	0.86
Sanford Health	Sanford Fargo South University Clinic - Specialty Clinics	•	120	20.0%	20.3%	0.99
Sanford Health	Sanford Fargo Southpointe Clinic - Behavioral Health	•	41	7.3%	18.8%	0.39
Sanford Health	Sanford Fargo Southpointe Clinic - Family Medicine	٠	556	21.9%	20.0%	1.10
Sanford Health	Sanford Fargo Southpointe Clinic - Internal Medicine	•	280	22.1%	21.1%	1.05

▲ Above statewide average

🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

111111111111111111 - L 128 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
Sanford Health	Sanford Hawley Clinic	•	56	16.1%	20.1%	0.80
Sanford Health	Sanford Health Alexandria Broadway Clinic	•	354	19.2%	19.3%	1.00
Sanford Health	Sanford Health Beresford Clinic	•	37	8.1%	20.7%	0.39
Sanford Health	Sanford Health Brookings Clinic		240	31.7%	19.6%	1.62
Sanford Health	Sanford Health Detroit Lakes Clinic		495	10.1%	19.1%	0.53
Sanford Health	Sanford Health Enderlin Clinic	•	38	31.6%	20.7%	1.53
Sanford Health	Sanford Health Hillsboro Clinic	٠	48	12.5%	20.6%	0.61
Sanford Health	Sanford Health Jamestown Clinic	•	366	15.3%	20.5%	0.75
Sanford Health	Sanford Health Lisbon Clinic	٠	41	24.4%	21.5%	1.13
Sanford Health	Sanford Health Mahnomen Clinic	•	37	32.4%	15.5%	2.10
Sanford Health	Sanford Health Mountain Lake Clinic	•	50	16.0%	17.2%	0.93
Sanford Health	Sanford Health Oakes Clinic	•	33	27.3%	21.5%	1.27
Sanford Health	Sanford Health Parkers Prairie Clinic	•	34	35.3%	19.2%	1.84
Sanford Health	Sanford Health Pelican Rapids Clinic	•	62	21.0%	18.9%	1.11
Sanford Health	Sanford Health Pierre Clinic	٠	43	18.6%	18.7%	1.00
Sanford Health	Sanford Health Valley City Clinic	•	132	28.8%	21.1%	1.37
Sanford Health	Sanford Health Vermillion Clinic	٠	150	10.7%	17.5%	0.61
Sanford Health	Sanford Health Wahpeton Clinic	•	247	18.2%	20.0%	0.91
Sanford Health	Sanford Health Walker Clinic	٠	37	8.1%	17.6%	0.46
Sanford Health	Sanford Health Watertown Clinic		156	33.3%	19.5%	1.71
Sanford Health	Sanford Health Wheaton Clinic	٠	36	30.6%	19.4%	1.58
Sanford Health	Sanford Health Windom Clinic	•	45	6.7%	17.7%	0.38
Sanford Health	Sanford Jackson Clinic	٠	70	31.4%	20.1%	1.57
Sanford Health	Sanford Lakefield Clinic	*	44	50.0%	19.6%	2.55
Sanford Health	Sanford Luverne Clinic	•	63	30.2%	19.4%	1.55
Sanford Health	Sanford Mayville Clinic	*	41	46.3%	20.8%	2.23
Sanford Health	Sanford Moorhead Clinic - Behavioral Health	•	739	20.4%	20.5%	1.00
Sanford Health	Sanford Moorhead Clinic - Family Medicine	•	282	22.0%	19.0%	1.16
Sanford Health	Sanford Moorhead Clinic - Internal Medicine	•	159	24.5%	20.1%	1.22
Sanford Health	Sanford Rock Rapids Clinic	•	53	34.0%	19.8%	1.71
Sanford Health	Sanford Sheldon Clinic		253	30.4%	19.3%	1.58
Sanford Health	Sanford Sioux Falls 26th & Sycamore Family Medicine Clinic	•	88	14.8%	19.7%	0.75

🔺 Above statewide average

🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
Sanford Health	Sanford Sioux Falls 34th & Kiwanis Family Medicine Clinic	•	62	17.7%	18.9%	0.94
Sanford Health	Sanford Sioux Falls 49th & Oxbow Family Medicine Clinic	*	184	40.8%	19.6%	2.08
Sanford Health	Sanford Sioux Falls 4th & Sycamore Family Medicine Clinic	•	37	29.7%	19.0%	1.57
Sanford Health	Sanford Sioux Falls 69th & Louise Family Medicine Clinic	•	74	20.3%	19.2%	1.06
Sanford Health	Sanford Sioux Falls 69th & Minnesota Family Medicine Clinic	•	114	20.2%	20.0%	1.01
Sanford Health	Sanford Sioux Falls Internal Medicine Clinic	•	59	22.0%	22.1%	1.00
Sanford Health	Sanford Sioux Falls Women's Internal Medicine	٠	42	33.3%	21.6%	1.54
Sanford Health	Sanford Thief River Falls Clinic		171	9.4%	20.2%	0.46
Sanford Health	Sanford Tracy Clinic	•	51	35.3%	17.6%	2.01
Sanford Health	Sanford Webster Clinic		38	29.0%	18.6%	1.56
Sanford Health	Sanford West Fargo Clinic - Family Medicine		329	28.6%	20.6%	1.39
Sanford Health	Sanford Westbrook Clinic	•	38	36.8%	18.7%	1.97
Sanford Health	Sanford Worthington Clinic	•	179	22.4%	18.3%	1.22
Sawtooth Mountain Clinic	Sawtooth Mountain Clinic, Inc		87	6.9%	19.2%	0.36
Scandia Clinic	Scandia Clinic		51	2.0%	19.9%	0.10
Scenic Rivers Health Services	Scenic Rivers Health Services - Bigfork	•	58	15.5%	18.6%	0.84
Scenic Rivers Health Services	Scenic Rivers Health Services - Cook	٠	54	11.1%	20.1%	0.55
Sibley Medical Center DBA Ridgeview Sibley Medical Center	Ridgeview Arlington Clinic	•	38	15.8%	19.1%	0.83
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville	٠	65	13.9%	18.2%	0.76
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina	•	43	9.3%	18.3%	0.51
Southside Community Health Services	Southside Medical Clinic	٠	71	14.1%	15.4%	0.91
Southwestern Mental Health Center	Southwestern Mental Health Center-Worthington	▼	311	7.1%	17.1%	0.41
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Frederic Clinic	٠	50	22.0%	19.2%	1.15
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Lindstrom Clinic	•	97	13.4%	20.9%	0.64

▲ Above statewide average Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic		380	9.0%	20.3%	0.44
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Unity Clinic	•	123	14.6%	19.3%	0.76
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Webster Clinic	•	55	9.1%	18.6%	0.49
St. Luke's Clinics	St Luke's Clinics-Chequamegon Clinic	▼	57	3.5%	18.6%	0.19
St. Luke's Clinics	St Luke's Clinics-Hibbing Family Medical Clinic		81	2.5%	18.5%	0.13
St. Luke's Clinics	St Luke's Clinics-Internal Medicine Associates	▼	105	8.6%	20.2%	0.42
St. Luke's Clinics	St Luke's Clinics-Laurentian		53	1.9%	18.2%	0.10
St. Luke's Clinics	St Luke's Clinics-Lester River	•	54	13.0%	19.3%	0.67
St. Luke's Clinics	St Luke's Clinics-Mariner Medical Clinic	▼	60	6.7%	20.9%	0.32
St. Luke's Clinics	St Luke's Clinics-Medical Arts Clinic	•	40	10.0%	17.3%	0.58
St. Luke's Clinics	St Luke's Clinics-Mental Health	•	354	14.4%	19.2%	0.75
St. Luke's Clinics	St Luke's Clinics-Mount Royal		69	0.0%	18.9%	0.00
St. Luke's Clinics	St Luke's Clinics-P.S. Rudie Medical Clinic	•	129	20.2%	18.2%	1.11
Stellis Health, PA	Stellis Health - Albertville-St. Michael Clinic	•	121	14.9%	21.0%	0.71
Stellis Health, PA	Stellis Health-Buffalo Clinic		351	11.1%	20.3%	0.55
Stellis Health, PA	Stellis Health-Monticello Clinic		410	14.4%	20.5%	0.70
Synergy Family Physicians, P.A	Synergy Family Physicians, P.A.		47	2.1%	19.0%	0.11
The Emily Program	The Emily Program - St. Louis Park	•	81	11.1%	20.6%	0.54
The Emily Program	The Emily Program - St. Paul (Como)	▼	201	6.0%	19.7%	0.30
Tri-County Health Care	Tri-County Health Care - Henning Clinic	•	71	12.7%	18.0%	0.71
Tri-County Health Care	Tri-County Health Care - Wadena Clinic		274	11.3%	18.3%	0.62
United Family Medicine	United Family Medicine	•	596	12.9%	16.7%	0.77
Unity Family Healthcare, Family Medical Center	Family Medical Center		462	9.7%	18.4%	0.53
Unity Family Healthcare, Family Medical Center	Randall Lakes Area Clinic	•	60	16.7%	19.2%	0.87
University of Minnesota Physicians	University of Minnesota Health - Fairview Maple Grove Medical Center	▼	153	7.8%	20.1%	0.39

▲ Above statewide average Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	19.4%		
University of Minnesota Physicians	University of Minnesota Health - Mill City Clinic	•	115	18.3%	17.8%	1.03
University of Minnesota Physicians	University of Minnesota Health - Primary Care Center	▼	252	6.8%	18.6%	0.36
University of Minnesota Physicians	University of Minnesota Health - Psychiatry Clinic	▼	815	12.0%	18.2%	0.66
University of Minnesota Physicians	University of Minnesota Health - Smiley's Family Medicine Clinic	▼	205	9.3%	16.4%	0.57
University of Minnesota Physicians	University of Minnesota Physicians - Bethesda Family Medicine Clinic	•	196	12.8%	15.2%	0.84
University of Minnesota Physicians	University of Minnesota Physicians - Broadway Family Medicine Clinic	▼	319	4.1%	13.6%	0.30
University of Minnesota Physicians	University of Minnesota Physicians - Center for Sexual Health	•	44	9.1%	18.4%	0.49
University of Minnesota Physicians	University of Minnesota Physicians - Phalen Village Family Medicine Clinic	▼	125	3.2%	15.9%	0.20
Voyage Healthcare	Voyage Healthcare - Crystal		102	6.9%	20.7%	0.33
Voyage Healthcare	Voyage Healthcare - Maple Grove		313	7.4%	20.3%	0.36
Voyage Healthcare	Voyage Healthcare - Osseo		223	7.6%	21.1%	0.36
Voyage Healthcare	Voyage Healthcare - Plymouth		280	6.4%	20.6%	0.31
Welia Health	Welia Health Hinckley	•	90	20.0%	19.0%	1.05
Welia Health	Welia Health Mora	•	322	15.5%	18.8%	0.83
Welia Health	Welia Health Pine City	•	160	19.4%	18.9%	1.02
West Side Community Health Services	West Side Community Health Services - East Side Family Clinic	•	223	10.3%	15.2%	0.68
West Side Community Health Services	West Side Community Health Services - La Clinica	٠	158	10.8%	15.4%	0.70
West Side Community Health Services	West Side Community Health Services - McDonough Homes Clinic	٠	38	2.6%	15.4%	0.17
Westfields Hospital and Clinic	Westfields Clinic		266	37.2%	20.9%	1.78
Williams Integracare Clinic	Integracare Ltd dba Williams Clinic	•	107	13.1%	18.7%	0.70
Winona Health Services	Winona Health - Winona Clinic		751	14.3%	19.2%	0.74
Woodland Centers	Woodland Centers - Litchfield	•	67	13.4%	17.9%	0.75
Woodland Centers	Woodland Centers - Montevideo	•	63	12.7%	17.3%	0.73
Woodland Centers	Woodland Centers - Willmar	•	123	12.2%	16.8%	0.73
Zumbro Valley Health Center	Zumbro Valley Health Center - Behavioral Health	٠	59	22.0%	17.7%	1.24

▲ Above statewide average

Average

 Below statewide average CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

132 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

## Adult Depression - Remission at Six Months

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	11.3%		
AALFA Family Clinic	AALFA Family Clinic-MHN		160	5.6%	12.1%	0.46
Advanced Medical Clinic	Advanced Medical Clinic, Inc.		74	0.0%	7.5%	0.00
Allina Health	Allina Health - Abbott Northwestern General Medicine Associates - Edina	•	209	9.1%	14.4%	0.63
Allina Health	Allina Health - Allina Mental Health - ANW	•	291	8.6%	11.8%	0.73
Allina Health	Allina Health - Allina Mental Health - United	•	489	11.7%	11.5%	1.01
Allina Health	Allina Health - Allina Mental Health - Unity	•	364	11.8%	13.0%	0.91
Allina Health	Allina Health - Annandale	•	75	16.0%	11.5%	1.39
Allina Health	Allina Health - Bandana Square	•	542	7.8%	10.8%	0.72
Allina Health	Allina Health - Blaine	•	221	8.1%	12.1%	0.68
Allina Health	Allina Health - Bloomington	•	281	8.9%	11.7%	0.76
Allina Health	Allina Health - Brooklyn Park	•	278	7.6%	10.9%	0.69
Allina Health	Allina Health - Buffalo		223	5.4%	11.9%	0.45
Allina Health	Allina Health - Buffalo Crossroads	•	268	7.1%	11.6%	0.61
Allina Health	Allina Health - Burnsville		124	4.8%	12.0%	0.40
Allina Health	Allina Health - Cambridge		879	6.5%	11.3%	0.57
Allina Health	Allina Health - Centennial Lakes	•	227	13.7%	12.7%	1.07
Allina Health	Allina Health - Champlin		392	5.9%	12.1%	0.48
Allina Health	Allina Health - Chaska	•	104	8.7%	12.6%	0.69
Allina Health	Allina Health - Cokato	•	52	11.5%	10.8%	1.07
Allina Health	Allina Health - Coon Rapids	•	1,181	9.4%	11.5%	0.82
Allina Health	Allina Health - Cottage Grove		391	5.1%	11.8%	0.43
Allina Health	Allina Health - Dean Lakes	•	109	10.1%	12.9%	0.78
Allina Health	Allina Health - Eagan	•	460	10.2%	12.2%	0.84
Allina Health	Allina Health - East Lake Street	•	184	6.0%	9.7%	0.62
Allina Health	Allina Health - Edina Family Physicians	▼	272	7.0%	13.2%	0.53
Allina Health	Allina Health - Elk River	•	238	6.7%	12.1%	0.56
Allina Health	Allina Health - Faribault	٠	500	9.0%	11.2%	0.80
Allina Health	Allina Health - Farmington		155	5.2%	13.1%	0.39
Allina Health	Allina Health - Forest Lake	٠	325	11.1%	12.4%	0.89
Allina Health	Allina Health - Fridley		296	8.1%	10.9%	0.75
Allina Health	Allina Health - Hastings	٠	596	9.6%	12.6%	0.76
Allina Health	Allina Health - Highland Park		160	7.5%	11.7%	0.64

📌 Top performer

🔺 Above statewide average

▼ Below statewide average

ъ I.

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate 11.3%	Expected Rate	Actual / Expected Ratio
Allina Health	Alling Health Heaking	•	<b>120,344</b> 156	12.2%	11.9%	1.03
Allina Health	Allina Health - Hopkins	•	247	12.2%	11.9%	0.89
Allina Health	Allina Health - Inver Grove Heights Allina Health - Isanti		188	9.0%	11.5%	0.89
Allina Health	Allina Health - Isles	•	90	9.0% 11.1%	12.9%	0.78
Allina Health	Allina Health - Lakeville	V	90 125	4.0%	12.9%	0.80
Allina Health	Allina Health - Maple Grove		125	4.0%	12.9%	1.02
Allina Health	Allina Health - Maplewood		238	6.7%	11.0%	0.61
Allina Health	Allina Health - New Ulm Medical Center	•	511	5.5%	12.0%	0.46
Allina Health	Allina Health - Nicollet Mall		260	6.2%	11.5%	0.54
Allina Health	Allina Health - Northfield		626	7.0%	11.8%	0.60
Allina Health	Allina Health - Oakdale Clinic	•	116	10.3%	11.3%	0.92
Allina Health	Allina Health - Plymouth		346	7.5%	13.1%	0.58
Allina Health	Allina Health - Ramsey		270	6.7%	12.1%	0.55
Allina Health	Allina Health - Richfield		521	7.9%	12.2%	0.65
Allina Health	Allina Health - Savage	•	155	6.5%	12.5%	0.52
Allina Health	Allina Health - Shakopee	•	463	11.0%	12.4%	0.89
Allina Health	Allina Health - Sharpe Dillon Cockson & Associates	•	71	14.1%	14.9%	0.95
Allina Health	Allina Health - Shoreview		339	8.3%	12.5%	0.66
Allina Health	Allina Health - St. Francis Health Services - Jordan	•	38	7.9%	12.6%	0.63
Allina Health	Allina Health - St. Michael		154	4.6%	11.5%	0.39
Allina Health	Allina Health - United Medical Specialties	•	151	9.9%	11.6%	0.86
Allina Health	Allina Health - Uptown	•	214	7.5%	11.2%	0.67
Allina Health	Allina Health - Vadnais Heights	•	122	7.4%	12.6%	0.59
Allina Health	Allina Health - West St. Paul		399	7.8%	10.9%	0.72
Allina Health	Allina Health - Woodbury	•	642	9.7%	12.4%	0.78
Alomere Health	Alexandria Clinic, A Service of Alomere Health	•	529	13.6%	11.9%	1.15
Altru Health System	Altru Health System - Grand Forks		430	5.4%	11.2%	0.48
Amery Hospital and Clinic	AHC - Amery		259	14.7%	11.6%	1.26
Amery Hospital and Clinic	AHC - Turtle Lake	•	34	14.7%	10.0%	1.47
Apple Valley Medical Clinic	Apple Valley Medical Clinic - Family Practice	•	422	11.9%	12.9%	0.92
Associated Clinic of Psychology	Associated Clinic of Psychology- Apple Valley	•	407	7.4%	10.7%	0.69
Associated Clinic of Psychology	Associated Clinic of Psychology- Brooklyn Center	▼	226	4.4%	9.6%	0.46

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	11.3%		
Associated Clinic of Psychology	Associated Clinic of Psychology- Minneapolis	•	1,020	8.4%	10.2%	0.83
Associated Clinic of Psychology	Associated Clinic of Psychology-St Louis Park	•	839	7.9%	10.2%	0.77
Associated Clinic of Psychology	Associated Clinic of Psychology- West St. Paul	▼	498	5.4%	10.2%	0.53
Bluestone Physician Services	Bluestone Physician Services	•	41	4.9%	13.0%	0.37
Boynton Health Service	Boynton Health Service	٠	1,813	9.4%	9.3%	1.02
Boynton Health Service	Boynton Health Service St. Paul	•	94	12.8%	9.7%	1.31
Catholic Charities Behavioral Health Clinic	Catholic Charities Behavioral Health Clinic	•	79	3.8%	9.5%	0.40
CCM Health	CCM HEALTH	•	103	6.8%	12.3%	0.55
Cedar Riverside People's Center	Cedar Riverside People's Center - People's Center Medical Clinic	▼	143	2.1%	8.1%	0.26
CentraCare Health	Carris Health - Litchfield East Clinic	•	88	5.7%	11.2%	0.51
CentraCare Health	Carris Health - Litchfield West Clinic	•	81	4.9%	10.6%	0.47
CentraCare Health	Carris Health - New London Clinic		54	13.0%	12.4%	1.05
CentraCare Health	Carris Health - Redwood Clinic	•	86	7.0%	11.6%	0.60
CentraCare Health	Carris Health - Willmar Main Clinic		474	8.4%	10.8%	0.78
CentraCare Health	Carris Health - Willmar Skylark Clinic	•	31	0.0%	10.7%	0.00
CentraCare Health	Centracare Clinic - Albany	•	120	15.0%	12.2%	1.23
CentraCare Health	CentraCare Clinic - Becker	•	185	11.4%	12.0%	0.95
CentraCare Health	CentraCare Clinic - Big Lake	•	198	18.2%	11.6%	1.56
CentraCare Health	CentraCare Clinic - Northway	•	422	10.7%	10.6%	1.01
CentraCare Health	Centracare Clinic - SCMG Clearwater Medical Clinic	•	98	11.2%	12.4%	0.91
CentraCare Health	Centracare Clinic - SCMG Cold Spring Medical Clinic	•	77	14.3%	12.3%	1.16
CentraCare Health	Centracare Clinic - SCMG Northwest	•	846	10.5%	11.2%	0.94
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South	•	350	10.3%	10.8%	0.95
CentraCare Health	CentraCare Clinic - St. Joseph		187	12.3%	10.9%	1.13
CentraCare Health	CentraCare Health - Family Health Center	•	386	5.7%	9.0%	0.63
CentraCare Health	CentraCare Health - Long Prairie		140	9.3%	10.3%	0.90
CentraCare Health	CentraCare Health - Melrose		199	16.6%	11.3%	1.46
CentraCare Health	CentraCare Health - Paynesville Clinic	•	123	8.1%	11.2%	0.72

▲ Above statewide average Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	11.3%		
CentraCare Health	CentraCare Health - Paynesville- Eden Valley	•	51	15.7%	10.2%	1.54
CentraCare Health	CentraCare Health - Paynesville- Richmond	•	66	21.2%	10.5%	2.01
CentraCare Health	CentraCare Health - Sauk Centre	٠	182	9.9%	10.8%	0.91
CentraCare Health	CentraCare Health Plaza - Internal Medicine	•	237	7.6%	12.7%	0.60
CentraCare Health	CentraCare River Campus - Internal Medicine	•	222	8.6%	13.1%	0.65
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	•	46	8.7%	10.4%	0.83
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Baxter	•	101	4.0%	11.0%	0.36
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Crosby Clinic	•	242	7.4%	11.2%	0.67
Dawson Clinic	Johnson Memorial Health Services - Dawson Clinic	•	85	9.4%	11.7%	0.80
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	Duluth Family Medicine Clinic (formerly Duluth Family Practice Center)	▼	346	2.0%	7.8%	0.26
Edina Sports Health & Wellness	Edina Sports + Family Medicine	•	118	8.5%	12.5%	0.68
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Como/Roseville (formerly Family HealthServices Minnesota - Larpenteur Clinic)	•	111	19.8%	11.3%	1.76
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - East Side (formerly Family HealthServices Minnesota - Maryland Clinic)	•	202	9.4%	9.7%	0.97
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Highland (formerly Family HealthServices Minnesota - Highland Family Physicians)		153	22.9%	11.8%	1.93
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Inver Grove Heights (formerly Family HealthServices Minnesota - Inver Grove Heights)	•	211	17.5%	12.3%	1.43
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - North St. Paul (formerly Family HealthServices Minnesota - North St. Paul Clinic)		207	20.8%	11.3%	1.85

★ Top performer 🔹 🔺 Above statewide average

rage 🔹 💿 Average

erage 🛛 🔻 B

Below statewide average

e CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

 136 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC
 ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	11.3%		
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Shoreview (formerly Family HealthServices Minnesota - Shoreview)	•	197	19.3%	12.4%	1.55
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Vadnais Heights (formerly Family HealthServices Minnesota - Vadnais Heights)	•	153	13.1%	12.3%	1.07
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - West St. Paul (formerly Family HealthServices Minnesota - Gorman Clinic)	*	260	28.5%	11.3%	2.53
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - White Bear Lake/Banning Ave (formerly Family Health Services MN Banning Clinic)		185	21.1%	12.8%	1.64
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Woodbury (formerly Family HealthServices Minnesota - Woodbury)		334	21.9%	12.4%	1.76
Essentia Health	EH Central Baxter Clinic	*	307	25.4%	11.1%	2.29
Essentia Health	EH Central Brainerd Clinic	*	262	30.9%	11.3%	2.74
Essentia Health	EH Central Crosslake Clinic	*	40	27.5%	12.1%	2.28
Essentia Health	EH Central Hackensack Clinic	*	34	41.2%	10.3%	4.01
Essentia Health	EH Central Lakeland Psychiatry Clinic	•	60	16.7%	11.1%	1.50
Essentia Health	EH Central Pequot Lakes Clinic		53	24.5%	10.8%	2.28
Essentia Health	EH Central Pierz Clinic	*	57	31.6%	11.5%	2.75
Essentia Health	EH Central Pillager Clinic	*	61	37.7%	12.8%	2.94
Essentia Health	EH Central Pine River Clinic		118	22.9%	10.6%	2.15
Essentia Health	EH East Ashland Clinic		193	21.8%	11.4%	1.91
Essentia Health	EH East Chisholm Clinic	•	46	17.4%	10.3%	1.68
Essentia Health	EH East Deer River Clinic	•	155	15.5%	10.5%	1.47
Essentia Health	EH East Duluth Clinic	•	131	6.9%	10.2%	0.68
Essentia Health	EH East Duluth Clinic 1st St	•	350	10.3%	10.3%	1.00
Essentia Health	EH East Ely Clinic		102	21.6%	11.5%	1.87
Essentia Health	EH East Grand Rapids Clinic	*	165	26.1%	10.3%	2.54
Essentia Health	EH East Hayward Clinic		155	21.3%	10.3%	2.06
Essentia Health	EH East Hermantown Clinic		295	17.6%	11.7%	1.51
Essentia Health	EH East Hibbing Clinic		164	19.5%	10.4%	1.89
Essentia Health	EH East International Falls Clinic	•	190	14.7%	10.1%	1.46
Essentia Health	EH East Lakeside Clinic		302	15.6%	11.0%	1.41
Essentia Health Essentia Health	EH East Lakewalk Clinic		354	15.3%	10.1%	1.51
Essentia Health	EH East Northern Pines Clinic		110	23.6%	11.6%	2.04

▲ Above statewide average Average 🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		1	120,344	11.3%		
Essentia Health	EH East Proctor Clinic	•	106	14.2%	11.0%	1.29
Essentia Health	EH East Spooner Clinic	*	130	24.6%	10.5%	2.34
Essentia Health	EH East Superior Clinic		458	15.7%	10.2%	1.55
Essentia Health	EH East Virginia Clinic	•	250	14.8%	10.4%	1.42
Essentia Health	EH East West Duluth Clinic		451	15.5%	9.7%	1.60
Essentia Health	EH West 52nd Avenue Clinic		358	21.8%	11.3%	1.92
Essentia Health	EH West Ada Clinic	•	45	20.0%	9.5%	2.10
Essentia Health	EH West Bagely Clinic	•	72	12.5%	9.1%	1.38
Essentia Health	EH West Detroit Lakes Clinic		412	21.8%	10.9%	2.00
Essentia Health	EH West Fosston Clinic		184	21.7%	10.1%	2.16
Essentia Health	EH West Jamestown Clinic	•	122	19.7%	11.5%	1.71
Essentia Health	EH West Moorhead	•	211	17.5%	11.6%	1.52
Essentia Health	EH West Park Rapids Clinic		247	19.4%	10.2%	1.91
Essentia Health	EH West Pelican Rapids Clinic	*	31	32.3%	10.9%	2.97
Essentia Health	EH West South University Clinic	•	116	15.5%	12.2%	1.27
Essentia Health	EH West Valley City Clinic	*	82	34.2%	12.2%	2.80
Essentia Health	EH West Wahpeton Clinic		153	24.8%	12.5%	1.99
Essentia Health	EH West West Acres Clinic		228	25.9%	11.5%	2.25
Essentia Health	EH West West Fargo Clinic		285	22.1%	11.8%	1.87
Fairview Health Services	HealthEast Clinic - Hugo		111	3.6%	12.5%	0.29
Fairview Health Services	HealthEast Outpatient Mental Health and Addiction Care Clinic- St. Joseph's Hospital	•	98	4.1%	9.2%	0.44
Fairview Health Services	M Health Fairview Clinic Andover	•	393	13.5%	12.7%	1.06
Fairview Health Services	M Health Fairview Clinic Apple Valley	•	446	13.2%	12.4%	1.07
Fairview Health Services	M Health Fairview Clinic Bass Lake	•	254	11.0%	12.2%	0.90
Fairview Health Services	M Health Fairview Clinic Blaine	•	157	12.1%	11.7%	1.04
Fairview Health Services	M Health Fairview Clinic Brooklyn Park	•	409	10.8%	11.0%	0.98
Fairview Health Services	M Health Fairview Clinic Burnsville	•	649	12.2%	12.8%	0.95
Fairview Health Services	M Health Fairview Clinic Chisago City		212	20.3%	12.5%	1.63
Fairview Health Services	M Health Fairview Clinic Columbia Heights	•	365	12.6%	11.2%	1.13
Fairview Health Services	M Health Fairview Clinic Cottage Grove	▼	292	6.5%	12.6%	0.52
Fairview Health Services	M Health Fairview Clinic Downtown St. Paul	•	191	11.0%	12.1%	0.91
Fairview Health Services	M Health Fairview Clinic Eagan		558	9.9%	12.5%	0.79

▲ Above statewide average ● Average

🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		T	120,344	11.3%		
Fairview Health Services	M Health Fairview Clinic Eden Prairie		264	21.6%	13.1%	1.65
Fairview Health Services	M Health Fairview Clinic Edina		275	8.0%	13.6%	0.59
Fairview Health Services	M Health Fairview Clinic Elk River		318	18.2%	12.3%	1.48
Fairview Health Services	M Health Fairview Clinic Farmington	•	104	12.5%	13.5%	0.93
Fairview Health Services	M Health Fairview Clinic Fridley	٠	387	7.5%	11.5%	0.65
Fairview Health Services	M Health Fairview Clinic Grand Avenue	•	285	6.0%	10.3%	0.58
Fairview Health Services	M Health Fairview Clinic Hiawatha	•	411	13.6%	11.5%	1.19
Fairview Health Services	M Health Fairview Clinic Highland Park	•	301	16.6%	11.8%	1.41
Fairview Health Services	M Health Fairview Clinic Hugo	•	123	12.2%	13.1%	0.93
Fairview Health Services	M Health Fairview Clinic Integrated Primary Care	•	141	5.7%	10.6%	0.54
Fairview Health Services	M Health Fairview Clinic Lake Street	•	142	14.1%	10.4%	1.35
Fairview Health Services	M Health Fairview Clinic Lakeville	•	176	13.6%	13.0%	1.05
Fairview Health Services	M Health Fairview Clinic Lino Lakes	•	152	13.8%	12.8%	1.08
Fairview Health Services	M Health Fairview Clinic Maplewood	•	154	7.8%	10.9%	0.72
Fairview Health Services	M Health Fairview Clinic Milaca	٠	211	12.3%	10.8%	1.14
Fairview Health Services	M Health Fairview Clinic New Brighton	•	294	8.8%	11.5%	0.77
Fairview Health Services	M Health Fairview Clinic North Branch	•	395	11.1%	11.5%	0.97
Fairview Health Services	M Health Fairview Clinic Oakdale		330	5.2%	11.7%	0.44
Fairview Health Services	M Health Fairview Clinic Oxboro	•	241	7.5%	12.7%	0.59
Fairview Health Services	M Health Fairview Clinic Pine City	•	75	9.3%	11.1%	0.84
Fairview Health Services	M Health Fairview Clinic Princeton	•	605	13.2%	11.7%	1.13
Fairview Health Services	M Health Fairview Clinic Prior Lake	•	226	17.7%	13.4%	1.32
Fairview Health Services	M Health Fairview Clinic Rice Street	•	266	6.0%	8.1%	0.75
Fairview Health Services	M Health Fairview Clinic Riverside	•	253	9.1%	10.3%	0.88
Fairview Health Services	M Health Fairview Clinic Rogers	•	124	15.3%	12.5%	1.22
Fairview Health Services	M Health Fairview Clinic Roselawn	•	281	10.0%	8.8%	1.13
Fairview Health Services	M Health Fairview Clinic Rosemount	•	137	16.1%	13.0%	1.24
Fairview Health Services	M Health Fairview Clinic Roseville	•	182	7.7%	11.1%	0.69
Fairview Health Services	M Health Fairview Clinic Savage	•	83	19.3%	12.4%	1.56
Fairview Health Services	M Health Fairview Clinic Tamarack		228	5.7%	12.2%	0.47

▲ Above statewide average Average

Below statewide average

CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

139 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	11.3%		
Fairview Health Services	M Health Fairview Clinic Uptown	•	295	13.9%	11.4%	1.22
Fairview Health Services	M Health Fairview Clinic Vadnais Heights	•	229	9.2%	12.2%	0.75
Fairview Health Services	M Health Fairview Clinic Woodwinds	•	207	7.3%	12.4%	0.59
Fairview Health Services	M Health Fairview Clinic Wyoming	•	529	12.7%	12.1%	1.05
Fairview Health Services	M Health Fairview Clinic Xerxes	٠	250	12.4%	12.4%	1.00
Fairview Health Services	M Health Fairview Clinic Zimmerman	•	232	12.5%	12.7%	0.99
Fairview Health Services	M Health Fairview Geriatric Services	▼	71	2.8%	13.5%	0.21
Fairview Health Services	M Health Fairview Clinic Midway		165	9.7%	10.7%	0.91
Fairview Health Services	M Health Fairview Clinic Stillwater	•	155	9.0%	12.6%	0.72
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	•	486	8.4%	9.8%	0.86
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Mountain Iron	•	206	15.5%	11.0%	1.41
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Nashwauk		67	25.4%	11.2%	2.27
Family Practice Medical Center of Willmar	Family Practice Medical Center of Willmar	•	166	6.0%	11.0%	0.55
France Avenue Family Physicians - Minnesota Healthcare Network	France Avenue Family Physicians - Minnesota Healthcare Network	•	94	9.6%	12.9%	0.74
Glencoe Regional Health Services	Glencoe Regional Health Services - Glencoe	•	274	6.9%	11.9%	0.58
Glencoe Regional Health Services	Glencoe Regional Health Services - Lester Prairie	•	49	12.2%	14.1%	0.87
Glenwood Medical Center	Glenwood Medical Center		48	0.0%	10.4%	0.00
Grand Itasca Clinic	Grand Itasca Clinic		677	14.9%	10.8%	1.38
Granite Falls Municipal Hospital & Manor Clinic	Granite Falls Health Clinic	▼	39	0.0%	10.8%	0.00
Gundersen Health System	Gundersen Health System - Houston Clinic	•	34	14.7%	11.8%	1.24
Gundersen Health System	Gundersen Health System - La Crescent Clinic	٠	110	10.9%	12.7%	0.86
Gundersen Health System	Gundersen Health System - Spring Grove Clinic	•	46	6.5%	11.4%	0.57
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics		652	17.8%	10.4%	1.72

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

140 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		T	120,344	11.3%		
HealthPartners Clinics	HealthPartners - Andover	•	126	17.5%	13.4%	1.30
HealthPartners Clinics	HealthPartners - Anoka	•	304	14.5%	12.1%	1.19
HealthPartners Clinics	HealthPartners - Apple Valley	•	162	13.0%	12.0%	1.08
HealthPartners Clinics	HealthPartners - Arden Hills		230	26.5%	12.4%	2.15
HealthPartners Clinics	HealthPartners - Bloomington		179	20.1%	11.8%	1.71
HealthPartners Clinics	HealthPartners - Brooklyn Center	•	166	13.9%	10.3%	1.35
HealthPartners Clinics	HealthPartners - Como		413	16.5%	11.5%	1.43
HealthPartners Clinics	HealthPartners - Coon Rapids		202	21.3%	12.0%	1.78
HealthPartners Clinics	HealthPartners - Cottage Grove	•	69	8.7%	12.3%	0.71
HealthPartners Clinics	HealthPartners - Ctr for Internatl Hlth	•	30	16.7%	8.6%	1.94
HealthPartners Clinics	HealthPartners - Curve Crest Clinic	•	768	15.9%	13.2%	1.20
HealthPartners Clinics	HealthPartners - Eagan	٠	151	19.2%	12.3%	1.56
HealthPartners Clinics	HealthPartners - Elk River		203	18.7%	12.0%	1.57
HealthPartners Clinics	HealthPartners - Highland Park	•	63	12.7%	10.7%	1.19
HealthPartners Clinics	HealthPartners - Hlth Ctr for Women	•	186	18.8%	12.1%	1.56
HealthPartners Clinics	HealthPartners - Hugo	•	49	20.4%	12.6%	1.63
HealthPartners Clinics	HealthPartners - Inver Grove Behav Hlth	•	307	15.6%	11.7%	1.33
HealthPartners Clinics	HealthPartners - Inver Grove Heights	•	102	19.6%	11.2%	1.75
HealthPartners Clinics	HealthPartners - Lino Lakes		138	23.9%	12.9%	1.86
HealthPartners Clinics	HealthPartners - Mahtomedi Clinic	٠	58	24.1%	13.8%	1.75
HealthPartners Clinics	HealthPartners - Maplewood		299	17.7%	10.4%	1.70
HealthPartners Clinics	HealthPartners - Midway	•	105	6.7%	8.9%	0.75
HealthPartners Clinics	HealthPartners - Nokomis	•	113	12.4%	11.4%	1.08
HealthPartners Clinics	HealthPartners - Regions BH Maplewood	•	498	13.3%	11.2%	1.18
HealthPartners Clinics	HealthPartners - Regions BH Woodbury	•	273	15.4%	12.3%	1.25
HealthPartners Clinics	HealthPartners - Riverside	•	201	7.0%	9.6%	0.72
HealthPartners Clinics	HealthPartners - Riverside Behav Hlth		183	18.6%	11.1%	1.68
HealthPartners Clinics	HealthPartners - Roseville	•	164	15.9%	12.1%	1.31
HealthPartners Clinics	HealthPartners - Somerset Clinic		174	10.9%	12.1%	0.90
HealthPartners Clinics	HealthPartners - St Paul	٠	356	9.8%	9.5%	1.03
HealthPartners Clinics	HealthPartners - University Ave		130	15.4%	11.2%	1.37
HealthPartners Clinics	HealthPartners - West	٠	160	20.0%	12.4%	1.61
HealthPartners Clinics	HealthPartners - West Behav Hlth		337	16.0%	11.5%	1.40
HealthPartners Clinics	HealthPartners - White Bear Lake		163	22.1%	12.8%	1.72

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	11.3%		
HealthPartners Clinics	HealthPartners - Woodbury		378	19.8%	12.0%	1.66
Hendricks Community Hospital Association	Hendricks Clinic	•	42	7.1%	12.4%	0.58
Hennepin Healthcare	Hennepin Healthcare Adult Psychiatry Clinic	▼	195	1.0%	9.5%	0.11
Hennepin Healthcare	Hennepin Healthcare Brooklyn Center Clinic	•	34	2.9%	8.1%	0.36
Hennepin Healthcare	Hennepin Healthcare Brooklyn Park Clinic	▼	139	1.4%	8.9%	0.16
Hennepin Healthcare	Hennepin Healthcare Downtown Medicine Clinic	▼	249	1.2%	8.7%	0.14
Hennepin Healthcare	Hennepin Healthcare East Lake Clinic	▼	191	3.7%	8.3%	0.44
Hennepin Healthcare	Hennepin Healthcare Golden Valley Clinic	٠	117	5.1%	9.4%	0.54
Hennepin Healthcare	Hennepin Healthcare Internal Medicine Clinic Parkside	٠	49	2.0%	8.7%	0.24
Hennepin Healthcare	Hennepin Healthcare North Loop Clinic and Pharmacy	٠	60	6.7%	8.4%	0.80
Hennepin Healthcare	Hennepin Healthcare Richfield Clinic	▼	195	2.1%	9.4%	0.22
Hennepin Healthcare	Hennepin Healthcare Whittier Clinic	▼	156	0.6%	8.2%	0.08
Hennepin Healthcare	Hennepin Healthcare Women's Health and Wellness Clinic	•	37	0.0%	8.5%	0.00
Hutchinson Health	Hutchinson Health - Hutchinson Clinic	▼	349	3.7%	11.4%	0.33
Hutchinson Health	Hutchinson Health - Mental Health Clinic	▼	180	5.6%	11.8%	0.47
Indian Health Board of Minneapolis	Indian Health Board of Minneapolis	٠	104	2.9%	7.2%	0.40
Kittson Healthcare Clinic	Kittson Memorial Clinic - Hallock	•	34	8.8%	12.0%	0.74
Lac Qui Parle Clinic	Lac Qui Parle Clinic	•	36	13.9%	11.5%	1.21
Lake Region Healthcare	Lake Region Healthcare - Barnesville Clinic	٠	41	12.2%	11.6%	1.05
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls	٠	430	15.8%	12.0%	1.32
Lake Superior Community Health Center	Lake Superior Community Health Center - Duluth	•	121	3.3%	8.7%	0.38
Lake Superior Community Health Center	Lake Superior Community Health Center-Superior	٠	182	5.5%	9.0%	0.61
Lake View Clinic - Two Harbors	Lake View Clinic - Two Harbors		82	1.2%	10.9%	0.11

▲ Above statewide average ● Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	11.3%		
Lakeland Mental Health Center	Lakeland Mental Health Center - Alexandria	▼	183	2.7%	11.0%	0.25
Lakeland Mental Health Center	Lakeland Mental Health Center - Detroit Lakes	▼	132	1.5%	9.0%	0.17
Lakeland Mental Health Center	Lakeland Mental Health Center - Fergus Falls	•	284	5.6%	9.5%	0.59
Lakeland Mental Health Center	Lakeland Mental Health Center - Glenwood	•	70	4.3%	10.0%	0.43
Lakeland Mental Health Center	Lakeland Mental Health Center - Moorhead	•	465	6.7%	9.7%	0.69
Lakewood Health System	Lakewood Health System - Browerville Clinic	•	89	14.6%	10.8%	1.36
Lakewood Health System	Lakewood Health System - Eagle Valley Clinic	•	44	13.6%	9.5%	1.43
Lakewood Health System	Lakewood Health System - Motley Clinic	•	105	8.6%	10.4%	0.82
Lakewood Health System	Lakewood Health System - Pillager Clinic	•	211	13.3%	10.2%	1.30
Lakewood Health System	Lakewood Health System - Staples Clinic	•	186	10.2%	9.7%	1.05
Madelia Community Hospital & Clinic	Madelia Community Hospital & Clinic	•	52	11.5%	10.1%	1.14
Mankato Clinic, Ltd.	Mankato Clinic - Daniel's Health Center	•	121	13.2%	11.4%	1.16
Mankato Clinic, Ltd.	Mankato Clinic - Department of Psychiatry & Psychology	•	647	14.5%	11.9%	1.22
Mankato Clinic, Ltd.	Mankato Clinic - Main Street	•	267	13.5%	11.5%	1.17
Mankato Clinic, Ltd.	Mankato Clinic - North Mankato		162	22.8%	11.6%	1.97
Mankato Clinic, Ltd.	Mankato Clinic - Wickersham Campus	•	249	15.3%	11.3%	1.35
Mayo Clinic	Mayo Clinic - Baldwin Building, Family Medicine		378	17.7%	11.5%	1.54
Mayo Clinic	Mayo Clinic - Baldwin Building, Primary Care Internal Medicine		557	17.1%	12.5%	1.36
Mayo Clinic	Mayo Clinic - Generose Building		74	2.7%	11.2%	0.24
Mayo Clinic	Mayo Clinic - Kasson		218	17.9%	12.6%	1.42
Mayo Clinic	Mayo Clinic - Northeast		357	20.7%	12.1%	1.72
Mayo Clinic	Mayo Clinic - Northwest		339	13.3%	12.0%	1.11
Mayo Clinic	Mayo Clinic - Speciality Practice		942	3.6%	11.8%	0.31
Mayo Clinic	Mayo Family Clinic Southeast		244	24.2%	12.5%	1.93
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	•	450	8.7%	10.7%	0.81

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	11.3%		
Mayo Clinic Health System	Mayo Clinic Health System Austin	•	597	8.0%	11.1%	0.73
Mayo Clinic Health System	Mayo Clinic Health System Belle Plaine	•	47	14.9%	11.3%	1.32
Mayo Clinic Health System	Mayo Clinic Health System Cannon Falls	•	109	11.9%	12.0%	1.00
Mayo Clinic Health System	Mayo Clinic Health System Fairmont		305	18.4%	10.6%	1.73
Mayo Clinic Health System	Mayo Clinic Health System Faribault Campus Location	•	129	10.1%	11.4%	0.88
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in Caledonia	•	39	10.3%	11.0%	0.93
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in LaCrescent	•	56	16.1%	11.3%	1.42
Mayo Clinic Health System	Mayo Clinic Health System Lake City	•	120	10.8%	12.1%	0.90
Mayo Clinic Health System	Mayo Clinic Health System Lake Crystal	•	71	7.0%	10.3%	0.68
Mayo Clinic Health System	Mayo Clinic Health System Le Sueur	•	63	12.7%	11.0%	1.15
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge	•	506	12.7%	11.0%	1.15
Mayo Clinic Health System	Mayo Clinic Health System Mankato Northridge	•	214	11.2%	10.8%	1.04
Mayo Clinic Health System	Mayo Clinic Health System Mankato Specialty Clinic	•	49	14.3%	11.2%	1.28
Mayo Clinic Health System	Mayo Clinic Health System Montgomery	•	35	2.9%	10.7%	0.27
Mayo Clinic Health System	Mayo Clinic Health System New Prague	•	97	12.4%	11.8%	1.05
Mayo Clinic Health System	Mayo Clinic Health System Owatonna	▼	644	8.1%	11.9%	0.68
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	▼	363	6.9%	12.3%	0.56
Mayo Clinic Health System	Mayo Clinic Health System Red Wing in Zumbrota	•	62	6.5%	13.1%	0.49
Mayo Clinic Health System	Mayo Clinic Health System Springfield	•	54	16.7%	12.1%	1.38
Mayo Clinic Health System	Mayo Clinic Health System St. James	•	90	11.1%	11.0%	1.01

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	11.3%		
Mayo Clinic Health System	Mayo Clinic Health System St. Peter		170	24.1%	11.6%	2.08
Mayo Clinic Health System Mental Health Resources Mille Lacs Health System	Mayo Clinic Health System Waseca Mental Health Outreach Clinic Mille Lacs Health System - Isle	•	96 47 39	8.3% 4.3% 7.7%	12.0% 8.4% 10.4%	0.69 0.50 0.74
Mille Lacs Health System Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Mille Lacs Health System - Onamia Minnesota Mental Health Clinics - Eagan Clinic	•	79 756	6.3% 8.5%	10.2% 10.7%	0.62 0.79
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Apple Valley	•	59	13.6%	11.5%	1.18
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Lakeville Clinic	•	75	5.3%	11.1%	0.48
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Maplewood Clinic	•	138	5.8%	10.9%	0.53
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Woodbury Clinic	▼	166	3.6%	11.6%	0.31
Natalis Counseling & Psychology Solutions	Natalis Counseling - Main Location	▼	346	1.5%	8.7%	0.17
Native American Community Clinic	Native American Community Clinic	•	232	5.6%	7.5%	0.75
Neighborhood Healthsource	Neighborhood HealthSource - Central Clinic	٠	62	3.2%	8.9%	0.36
Neighborhood Healthsource	Neighborhood HealthSource - Fremont Clinic	٠	43	2.3%	7.7%	0.30
Neighborhood Healthsource	Neighborhood HealthSource - Sheridan Clinic	٠	32	6.3%	8.5%	0.74
North Memorial	North Memorial Health - Minnetonka Medical Center	٠	173	6.4%	12.1%	0.53
North Memorial	North Memorial Health Clinic - Blaine	▼	59	0.0%	12.5%	0.00
North Memorial	North Memorial Health Clinic - Brooklyn Center	٠	120	4.2%	9.5%	0.44

▲ Above statewide average Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		l	120,344	11.3%		
North Memorial	North Memorial Health Clinic - Brooklyn Park	٠	103	3.9%	11.0%	0.35
North Memorial	North Memorial Health Clinic - Camden	▼	145	2.1%	8.4%	0.25
North Memorial	North Memorial Health Clinic - Downtown Minneapolis	٠	148	6.1%	9.6%	0.63
North Memorial	North Memorial Health Clinic - Elk River	•	173	8.7%	11.3%	0.77
North Memorial	North Memorial Health Clinic - Golden Valley	٠	196	7.7%	11.3%	0.68
North Memorial	North Memorial Health Clinic - Maple Grove	٠	102	4.9%	11.7%	0.42
North Memorial	North Memorial Health Clinic - New Hope	▼	225	5.3%	11.8%	0.45
North Memorial	North Memorial Health Clinic - St. Anthony	▼	236	2.5%	11.9%	0.21
North Memorial	North Memorial Health Internal Medicine - Maple Grove	▼	100	5.0%	13.0%	0.38
North Memorial	North Memorial Health Mental Health	▼	129	1.6%	9.6%	0.16
Northern Psychiatric Associates	Northern Psychiatric Associates		343	3.5%	11.1%	0.32
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Farmington Clinic	•	39	2.6%	13.4%	0.19
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lakeville Clinic	•	58	5.2%	12.2%	0.42
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lonsdale Clinic	▼	32	0.0%	12.2%	0.00
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Northfield Clinic	▼	96	3.1%	12.4%	0.25
NorthPoint Health & Wellness Center	NorthPoint Health & Wellness Center	▼	677	4.7%	7.4%	0.64
Northwest Family Physicians	Northwest Family Physicians - Crystal	▼	266	2.6%	11.3%	0.23
Northwest Family Physicians	Northwest Family Physicians - Plymouth	▼	108	1.9%	13.1%	0.14
Northwest Family Physicians	Northwest Family Physicians - Rogers	▼	94	1.1%	13.7%	0.08
Northwestern Mental Health Center	Northwestern Mental Health Center	٠	393	8.7%	9.4%	0.92
Olmsted Medical Center	Olmsted Medical Center - Byron Clinic	•	119	17.7%	11.0%	1.60

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

## 146 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		T	120,344	11.3%		
Olmsted Medical Center	Olmsted Medical Center - Chatfield Clinic	•	63	17.5%	12.0%	1.46
Olmsted Medical Center	Olmsted Medical Center - Lake City	•	46	26.1%	11.7%	2.23
Olmsted Medical Center	Olmsted Medical Center - Pine Island Clinic	•	78	19.2%	10.6%	1.82
Olmsted Medical Center	Olmsted Medical Center - Plainview Clinic	•	49	24.5%	12.3%	1.99
Olmsted Medical Center	Olmsted Medical Center - Preston Clinic	•	67	13.4%	12.3%	1.10
Olmsted Medical Center	Olmsted Medical Center - Rochester Northwest	٠	205	15.6%	10.6%	1.48
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast	٠	588	12.6%	10.9%	1.16
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast - Psychiatry	•	375	15.5%	11.5%	1.34
Olmsted Medical Center	Olmsted Medical Center - Skyway Clinic	•	100	10.0%	9.4%	1.07
Olmsted Medical Center	Olmsted Medical Center - Spring Valley Clinic	•	31	25.8%	9.9%	2.61
Olmsted Medical Center	Olmsted Medical Center - St. Charles Clinic	•	70	22.9%	11.5%	1.99
Olmsted Medical Center	Olmsted Medical Center - Stewartville Clinic	▼	137	2.2%	10.4%	0.21
Open Cities Health Center	Open Cities Health (Dunlap) - Family Medicine	▼	144	0.0%	7.7%	0.00
Open Cities Health Center	Open Cities Health Center(North End)- Family Medicine	▼	93	0.0%	8.0%	0.00
Open Door Health Center	Open Door Health Center		162	3.1%	8.7%	0.35
Ortonville Area Health Services- Northside Medical Clinic	Ortonville Area Health Services- Northside Medical Clinic	٠	142	16.2%	11.6%	1.40
Park Nicollet Health Services	Park Nicollet Clinic - Bloomington	•	271	13.7%	12.6%	1.08
Park Nicollet Health Services	Park Nicollet Clinic - Brookdale		501	16.4%	10.5%	1.56
Park Nicollet Health Services	Park Nicollet Clinic - Burnsville		704	22.3%	12.5%	1.78
Park Nicollet Health Services	Park Nicollet Clinic - Carlson	•	375	14.9%	13.1%	1.14
Park Nicollet Health Services	Park Nicollet Clinic - Champlin	•	209	13.4%	12.0%	1.12
Park Nicollet Health Services	Park Nicollet Clinic - Chanhassen	•	410	17.3%	13.0%	1.33
Park Nicollet Health Services	Park Nicollet Clinic - Creekside	•	77	15.6%	13.0%	1.19
Park Nicollet Health Services	Park Nicollet Clinic - Eagan		440	27.7%	12.5%	2.21
Park Nicollet Health Services	Park Nicollet Clinic - Eden Prairie		291	23.0%	13.0%	1.78
Park Nicollet Health Services	Park Nicollet Clinic - Golden Valley		290	15.5%	12.9%	1.20
Park Nicollet Health Services	Park Nicollet Clinic - Lakeville		116	15.5%	11.6%	1.33
Park Nicollet Health Services	Park Nicollet Clinic - Maple Grove		328	19.8%	12.5%	1.58

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	11.3%		-
Park Nicollet Health Services	Park Nicollet Clinic - Minneapolis		396	14.7%	9.8%	1.49
Park Nicollet Health Services	Park Nicollet Clinic - Plymouth		381	19.2%	12.5%	1.53
Park Nicollet Health Services	Park Nicollet Clinic - Prior Lake	•	236	16.5%	12.0%	1.37
Park Nicollet Health Services	Park Nicollet Clinic - Psychiatry	•	3,122	14.2%	12.6%	1.13
Park Nicollet Health Services	Park Nicollet Clinic - Rogers	•	100	19.0%	12.4%	1.54
Park Nicollet Health Services	Park Nicollet Clinic - Shakopee		521	23.8%	11.7%	2.04
Park Nicollet Health Services	Park Nicollet Clinic - Shorewood	•	170	18.8%	13.9%	1.35
Park Nicollet Health Services	Park Nicollet Clinic - SmartCare		144	22.9%	12.0%	1.91
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Family Medicine		663	16.9%	12.1%	1.40
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Internal Medicine		380	26.3%	14.0%	1.88
Park Nicollet Health Services	Park Nicollet Clinic - Target Health and Well-Being Center	*	61	27.9%	9.8%	2.84
Park Nicollet Health Services	Park Nicollet Clinic - Target Health and Well-Being Center North	٠	30	20.0%	9.3%	2.16
Park Nicollet Health Services	Park Nicollet Clinic - Wayzata		220	24.6%	13.5%	1.82
Park Nicollet Health Services	Park Nicollet Clinic - Women's Services	•	136	13.2%	12.0%	1.10
People Incorporated Stark Mental Health Clinic	Family Life Mental Health Center	▼	398	3.0%	9.6%	0.31
People Incorporated Stark Mental Health Clinic	Stark Clinic- Northside	•	93	2.2%	6.9%	0.31
People Incorporated Stark Mental Health Clinic	Stark Clinic-York	•	71	4.2%	7.2%	0.59
People Incorporated Stark Mental Health Clinic	Stark Mental Health Clinic	▼	213	2.8%	7.8%	0.36
Perham Health	Perham Health Clinic		209	5.7%	11.3%	0.51
Perham Health	Perham Health New York Mills Clinic	•	43	20.9%	11.1%	1.89
Planned Parenthood Minnesota, North Dakota, South Dakota	Planned Parenthood Minnesota, North Dakota, South Dakota - Duluth	•	35	0.0%	7.5%	0.00
Planned Parenthood Minnesota, North Dakota, South Dakota	Planned Parenthood Minnesota, North Dakota, South Dakota - St Cloud	•	69	0.0%	7.7%	0.00
Prairie Ridge Hospital & Health Services	Prairie Ridge Hospital & Health Services - Elbow Lake	•	62	4.8%	10.4%	0.46
Rainy Lake Medical Center	Rainy Lake Medical Center - Rural Health Clinic	•	58	1.7%	9.3%	0.19
Ramsey County Mental Health	Ramsey County Mental Health Center	▼	198	1.0%	7.4%	0.14

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	11.3%		
Renville County Hospital and	Renville County Hospital and		46	0.0%	9.6%	0.00
Clinics	Clinics - Olivia	_	470	4.60/		0.00
Richfield Medical Group	Richfield Medical Group		173	4.6%	14.1%	0.33
Ridgeview Clinics	Ridgeview Chanhassen Clinic		117	2.6%	13.0%	0.20
Ridgeview Clinics	Ridgeview Delano Clinic	•	101	5.0%	13.0%	0.38
Ridgeview Clinics	Ridgeview Excelsior Clinic	•	49	8.2%	13.0%	0.63
Ridgeview Clinics	Ridgeview Howard Lake Clinic	•	35	5.7%	11.6%	0.49
Ridgeview Clinics	Ridgeview Westonka Clinic		137	4.4%	12.7%	0.35
RiverView Health	RiverView Clinic	•	101	4.0%	10.2%	0.39
Riverwood Healthcare Center	Riverwood Aitkin Clinic		190	4.7%	11.2%	0.42
Riverwood Healthcare Center	Riverwood Garrison Clinic	•	43	2.3%	11.9%	0.20
Riverwood Healthcare Center	Riverwood McGregor Clinic	•	85	5.9%	11.0%	0.54
Sanford Health	Sanford Aberdeen Clinic	•	243	13.2%	11.7%	1.13
Sanford Health	Sanford Bagley Clinic	•	65	13.9%	10.0%	1.39
Sanford Health	Sanford Bemidji 1611 Anne St Clinic - Family Medicine	٠	42	7.1%	9.7%	0.73
Sanford Health	Sanford Bemidji Main Clinic - Family Medicine	٠	500	10.4%	9.9%	1.05
Sanford Health	Sanford Bemidji Main Clinic - Internal Medicine	٠	52	11.5%	12.4%	0.93
Sanford Health	Sanford Canby Clinic	•	74	10.8%	12.9%	0.84
Sanford Health	Sanford Canton Clinic	•	69	8.7%	12.3%	0.71
Sanford Health	Sanford East Grand Forks Clinic		112	4.5%	10.5%	0.43
Sanford Health	Sanford Fargo Broadway Clinic - Family Medicine Residency	٠	89	12.4%	12.1%	1.02
Sanford Health	Sanford Fargo Broadway Clinic - Behavioral Health	•	292	11.6%	12.4%	0.94
Sanford Health	Sanford Fargo Broadway Clinic - Internal Medicine	▼	142	6.3%	12.8%	0.50
Sanford Health	Sanford Fargo Internal Medicine Residency Clinic	•	54	7.4%	10.9%	0.68
Sanford Health	Sanford Fargo North Fargo Clinic	•	262	12.6%	11.7%	1.08
Sanford Health	Sanford Fargo Professional Building - Behavioral Health	•	66	6.1%	11.2%	0.54
Sanford Health	Sanford Fargo South University Clinic - Specialty Clinics	٠	120	10.8%	12.2%	0.89
Sanford Health	Sanford Fargo Southpointe Clinic - Behavioral Health	٠	41	4.9%	11.2%	0.44
Sanford Health	Sanford Fargo Southpointe Clinic - Family Medicine	•	556	13.1%	11.8%	1.11
Sanford Health	Sanford Fargo Southpointe Clinic - Internal Medicine	•	280	12.9%	12.9%	0.99

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		T	120,344	11.3%		
Sanford Health	Sanford Hawley Clinic	•	56	14.3%	11.6%	1.23
Sanford Health	Sanford Health Alexandria Broadway Clinic	•	354	11.6%	11.1%	1.05
Sanford Health	Sanford Health Beresford Clinic	•	37	2.7%	12.6%	0.21
Sanford Health	Sanford Health Brookings Clinic		240	17.5%	11.1%	1.58
Sanford Health	Sanford Health Detroit Lakes Clinic		495	5.7%	10.9%	0.52
Sanford Health	Sanford Health Enderlin Clinic	•	38	23.7%	12.4%	1.91
Sanford Health	Sanford Health Hillsboro Clinic	•	48	6.3%	11.0%	0.57
Sanford Health	Sanford Health Jamestown Clinic		366	6.6%	11.7%	0.56
Sanford Health	Sanford Health Lisbon Clinic	•	41	9.8%	12.1%	0.80
Sanford Health	Sanford Health Mahnomen Clinic	•	37	21.6%	8.8%	2.47
Sanford Health	Sanford Health Mountain Lake Clinic	•	50	8.0%	9.8%	0.82
Sanford Health	Sanford Health Oakes Clinic	•	33	18.2%	11.6%	1.57
Sanford Health	Sanford Health Parkers Prairie Clinic	•	34	32.4%	11.5%	2.81
Sanford Health	Sanford Health Pelican Rapids Clinic	•	62	14.5%	11.0%	1.33
Sanford Health	Sanford Health Pierre Clinic	•	43	14.0%	11.1%	1.25
Sanford Health	Sanford Health Valley City Clinic	•	132	12.9%	12.4%	1.04
Sanford Health	Sanford Health Vermillion Clinic	•	150	6.0%	9.6%	0.63
Sanford Health	Sanford Health Wahpeton Clinic	•	247	9.7%	10.8%	0.90
Sanford Health	Sanford Health Walker Clinic	•	37	5.4%	10.1%	0.54
Sanford Health	Sanford Health Watertown Clinic		156	21.8%	11.1%	1.96
Sanford Health	Sanford Health Wheaton Clinic	•	36	13.9%	10.3%	1.36
Sanford Health	Sanford Health Windom Clinic	•	45	6.7%	10.6%	0.63
Sanford Health	Sanford Jackson Clinic	•	70	24.3%	11.4%	2.13
Sanford Health	Sanford Lakefield Clinic	*	44	36.4%	12.1%	3.01
Sanford Health	Sanford Luverne Clinic	•	63	12.7%	11.1%	1.15
Sanford Health	Sanford Mayville Clinic	*	41	36.6%	11.3%	3.24
Sanford Health	Sanford Moorhead Clinic - Behavioral Health	•	739	11.9%	12.6%	0.95
Sanford Health	Sanford Moorhead Clinic - Family Medicine	•	282	15.6%	10.7%	1.46
Sanford Health	Sanford Moorhead Clinic - Internal Medicine	•	159	17.0%	12.2%	1.39
Sanford Health	Sanford Rock Rapids Clinic		53	20.8%	11.2%	1.86
Sanford Health	Sanford Sheldon Clinic		253	19.8%	10.9%	1.81
Sanford Health	Sanford Sioux Falls 26th & Sycamore Family Medicine Clinic	•	88	8.0%	11.1%	0.71

▲ Above statewide average Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	11.3%		-
Sanford Health	Sanford Sioux Falls 34th & Kiwanis Family Medicine Clinic	٠	62	9.7%	10.2%	0.95
Sanford Health	Sanford Sioux Falls 49th & Oxbow Family Medicine Clinic		184	20.7%	11.3%	1.84
Sanford Health	Sanford Sioux Falls 4th & Sycamore Family Medicine Clinic	•	37	18.9%	10.5%	1.80
Sanford Health	Sanford Sioux Falls 69th & Louise Family Medicine Clinic	•	74	14.9%	10.5%	1.42
Sanford Health	Sanford Sioux Falls 69th & Minnesota Family Medicine Clinic	•	114	10.5%	11.5%	0.92
Sanford Health	Sanford Sioux Falls Internal Medicine Clinic	•	59	11.9%	13.6%	0.87
Sanford Health	Sanford Sioux Falls Women's Internal Medicine	٠	42	16.7%	12.7%	1.32
Sanford Health	Sanford Thief River Falls Clinic		171	4.1%	11.6%	0.35
Sanford Health	Sanford Tracy Clinic	•	51	23.5%	10.7%	2.20
Sanford Health	Sanford Webster Clinic	•	38	18.4%	11.0%	1.67
Sanford Health	Sanford West Fargo Clinic - Family Medicine		329	18.5%	12.4%	1.49
Sanford Health	Sanford Westbrook Clinic	*	38	29.0%	11.6%	2.50
Sanford Health	Sanford Worthington Clinic	•	179	15.6%	10.7%	1.47
Sawtooth Mountain Clinic	Sawtooth Mountain Clinic, Inc		87	4.6%	11.8%	0.39
Scandia Clinic	Scandia Clinic	•	51	2.0%	11.5%	0.17
Scenic Rivers Health Services	Scenic Rivers Health Services - Bigfork	•	58	6.9%	10.6%	0.65
Scenic Rivers Health Services	Scenic Rivers Health Services - Cook	٠	54	1.9%	11.9%	0.16
Sibley Medical Center DBA Ridgeview Sibley Medical Center	Ridgeview Arlington Clinic	•	38	5.3%	11.4%	0.46
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville	•	65	7.7%	10.8%	0.72
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina	•	43	4.7%	10.7%	0.43
Southside Community Health Services	Southside Medical Clinic	٠	71	8.5%	8.3%	1.02
Southwestern Mental Health Center	Southwestern Mental Health Center-Worthington	▼	311	3.5%	9.7%	0.37
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Frederic Clinic	٠	50	16.0%	11.1%	1.44
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Lindstrom Clinic	•	97	7.2%	12.7%	0.57

▲ Above statewide average Average Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

151 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	11.3%		
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic	▼	380	4.2%	11.8%	0.36
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Unity Clinic	•	123	8.9%	11.3%	0.79
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Webster Clinic	•	55	5.5%	10.1%	0.54
St. Luke's Clinics	St Luke's Clinics-Chequamegon Clinic	▼	57	0.0%	10.9%	0.00
St. Luke's Clinics	St Luke's Clinics-Hibbing Family Medical Clinic	▼	81	1.2%	10.3%	0.12
St. Luke's Clinics	St Luke's Clinics-Internal Medicine Associates	▼	105	4.8%	12.3%	0.39
St. Luke's Clinics	St Luke's Clinics-Laurentian		53	0.0%	10.7%	0.00
St. Luke's Clinics	St Luke's Clinics-Lester River	•	54	9.3%	11.7%	0.79
St. Luke's Clinics	St Luke's Clinics-Mariner Medical Clinic	▼	60	1.7%	12.4%	0.13
St. Luke's Clinics	St Luke's Clinics-Medical Arts Clinic	•	40	2.5%	8.3%	0.30
St. Luke's Clinics	St Luke's Clinics-Mental Health		354	6.5%	11.2%	0.58
St. Luke's Clinics	St Luke's Clinics-Mount Royal		69	0.0%	11.3%	0.00
St. Luke's Clinics	St Luke's Clinics-P.S. Rudie Medical Clinic	•	129	10.9%	10.2%	1.06
Stellis Health, PA	Stellis Health - Albertville-St. Michael Clinic	•	121	6.6%	12.4%	0.53
Stellis Health, PA	Stellis Health-Buffalo Clinic		351	7.4%	12.0%	0.62
Stellis Health, PA	Stellis Health-Monticello Clinic		410	7.8%	12.0%	0.65
Synergy Family Physicians, P.A	Synergy Family Physicians, P.A.		47	2.1%	11.2%	0.19
The Emily Program	The Emily Program - St. Louis Park		81	1.2%	10.5%	0.12
The Emily Program	The Emily Program - St. Paul (Como)	▼	201	4.0%	10.4%	0.38
Tri-County Health Care	Tri-County Health Care - Henning Clinic	▼	71	2.8%	10.4%	0.27
Tri-County Health Care	Tri-County Health Care - Wadena Clinic	▼	274	5.1%	10.4%	0.49
United Family Medicine	United Family Medicine	•	596	7.2%	9.3%	0.78
Unity Family Healthcare, Family Medical Center	Family Medical Center	▼	462	4.1%	10.6%	0.39
Unity Family Healthcare, Family Medical Center	Randall Lakes Area Clinic	•	60	10.0%	10.9%	0.92
University of Minnesota Physicians	University of Minnesota Health - Fairview Maple Grove Medical Center	▼	153	3.3%	11.1%	0.30

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

152 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		[	120,344	11.3%		
University of Minnesota Physicians	University of Minnesota Health - Mill City Clinic	•	115	9.6%	10.7%	0.90
University of Minnesota Physicians	University of Minnesota Health - Primary Care Center	▼	252	2.8%	10.7%	0.26
University of Minnesota Physicians	University of Minnesota Health - Psychiatry Clinic	▼	815	4.4%	10.0%	0.44
University of Minnesota Physicians	University of Minnesota Health - Smiley's Family Medicine Clinic	▼	205	2.9%	8.4%	0.35
University of Minnesota Physicians	University of Minnesota Physicians - Bethesda Family Medicine Clinic	٠	196	6.6%	8.2%	0.80
University of Minnesota Physicians	University of Minnesota Physicians - Broadway Family Medicine Clinic	▼	319	0.6%	6.9%	0.09
University of Minnesota Physicians	University of Minnesota Physicians - Center for Sexual Health	•	44	4.6%	10.0%	0.45
University of Minnesota Physicians	University of Minnesota Physicians - Phalen Village Family Medicine Clinic	▼	125	0.8%	8.1%	0.10
Voyage Healthcare	Voyage Healthcare - Crystal		102	2.0%	13.0%	0.15
Voyage Healthcare	Voyage Healthcare - Maple Grove		313	3.8%	12.0%	0.32
Voyage Healthcare	Voyage Healthcare - Osseo		223	3.6%	12.4%	0.29
Voyage Healthcare	Voyage Healthcare - Plymouth		280	2.9%	12.1%	0.24
Welia Health	Welia Health Hinckley	•	90	11.1%	10.8%	1.03
Welia Health	Welia Health Mora	•	322	8.4%	10.8%	0.77
Welia Health	Welia Health Pine City	•	160	9.4%	10.5%	0.90
West Side Community Health Services	West Side Community Health Services - East Side Family Clinic	▼	223	3.1%	7.8%	0.41
West Side Community Health Services	West Side Community Health Services - La Clinica	•	158	7.0%	8.4%	0.83
West Side Community Health Services	West Side Community Health Services - McDonough Homes Clinic	•	38	2.6%	7.1%	0.37
Westfields Hospital and Clinic	Westfields Clinic		266	25.2%	12.1%	2.09
Williams Integracare Clinic	Integracare Ltd dba Williams Clinic	•	107	7.5%	10.2%	0.73
Winona Health Services	Winona Health - Winona Clinic	•	751	8.4%	11.3%	0.74
Woodland Centers	Woodland Centers - Litchfield	•	67	4.5%	9.6%	0.47
Woodland Centers	Woodland Centers - Montevideo	•	63	7.9%	9.8%	0.81
Woodland Centers	Woodland Centers - Willmar	•	123	8.9%	9.5%	0.94
Zumbro Valley Health Center	Zumbro Valley Health Center - Behavioral Health	•	59	8.5%	10.3%	0.83

▲ Above statewide average

Average

 Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

## Adult Depression - 12 Month Follow-up

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		1	120,344	41.8%		
AALFA Family Clinic	AALFA Family Clinic-MHN	•	160	40.0%	41.8%	0.96
Advanced Medical Clinic	Advanced Medical Clinic, Inc.		74	18.9%	40.8%	0.46
	Allina Health - Abbott	_				
Allina Health	Northwestern General Medicine		209	36.8%	47.5%	0.78
	Associates - Edina					
Allina Health	Allina Health - Allina Mental Health - ANW		291	55.7%	42.7%	1.30
Allina Health	Allina Health - Allina Mental Health - United		489	58.5%	42.8%	1.37
Allina Health	Allina Health - Allina Mental Health - Unity		364	66.5%	45.6%	1.46
Allina Health	Allina Health - Annandale	٠	75	44.0%	43.4%	1.01
Allina Health	Allina Health - Bandana Square	•	542	40.4%	41.6%	0.97
Allina Health	Allina Health - Blaine		221	33.5%	43.0%	0.78
Allina Health	Allina Health - Bloomington	•	281	48.0%	43.4%	1.11
Allina Health	Allina Health - Brooklyn Park	•	278	37.8%	41.5%	0.91
Allina Health	Allina Health - Buffalo	•	223	37.2%	42.6%	0.87
Allina Health	Allina Health - Buffalo Crossroads	٠	268	41.8%	42.6%	0.98
Allina Health	Allina Health - Burnsville	•	124	35.5%	42.8%	0.83
Allina Health	Allina Health - Cambridge		879	37.9%	42.6%	0.89
Allina Health	Allina Health - Centennial Lakes	٠	227	41.0%	44.5%	0.92
Allina Health	Allina Health - Champlin	•	392	37.8%	42.8%	0.88
Allina Health	Allina Health - Chaska	•	104	43.3%	43.4%	1.00
Allina Health	Allina Health - Cokato	•	52	34.6%	41.6%	0.83
Allina Health	Allina Health - Coon Rapids	•	1,181	39.6%	42.6%	0.93
Allina Health	Allina Health - Cottage Grove	•	391	38.9%	42.5%	0.91
Allina Health	Allina Health - Dean Lakes	•	109	40.4%	44.1%	0.92
Allina Health	Allina Health - Eagan	•	460	40.4%	42.6%	0.95
Allina Health	Allina Health - East Lake Street	•	184	34.2%	39.5%	0.87
Allina Health	Allina Health - Edina Family Physicians	▼	272	26.1%	44.9%	0.58
Allina Health	Allina Health - Elk River	•	238	39.5%	42.9%	0.92
Allina Health	Allina Health - Faribault	٠	500	40.4%	42.2%	0.96
Allina Health	Allina Health - Farmington	٠	155	36.8%	43.7%	0.84
Allina Health	Allina Health - Forest Lake	٠	325	48.6%	43.8%	1.11
Allina Health	Allina Health - Fridley	•	296	39.9%	41.5%	0.96
Allina Health	Allina Health - Hastings	٠	596	46.1%	44.4%	1.04
Allina Health	Allina Health - Highland Park		160	38.1%	41.9%	0.91

📌 Top performer

🔺 Above statewide average

▼ Below statewide average

÷.

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

• Average

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE	<u> </u>		120,344	41.8%		
Allina Health	Allina Health - Hopkins		156	23.7%	42.5%	0.56
Allina Health	Allina Health - Inver Grove Heights	٠	247	40.9%	42.8%	0.96
Allina Health	Allina Health - Isanti	•	188	42.6%	42.8%	1.00
Allina Health	Allina Health - Isles	٠	90	36.7%	45.2%	0.81
Allina Health	Allina Health - Lakeville	•	125	36.0%	43.8%	0.82
Allina Health	Allina Health - Maple Grove	•	199	47.7%	42.0%	1.14
Allina Health	Allina Health - Maplewood	•	238	39.1%	41.8%	0.93
Allina Health	Allina Health - New Ulm Medical Center	•	511	37.8%	43.6%	0.87
Allina Health	Allina Health - Nicollet Mall	٠	260	42.3%	42.5%	1.00
Allina Health	Allina Health - Northfield	•	626	44.7%	42.7%	1.05
Allina Health	Allina Health - Oakdale Clinic	٠	116	38.8%	41.7%	0.93
Allina Health	Allina Health - Plymouth	•	346	45.7%	45.3%	1.01
Allina Health	Allina Health - Ramsey	•	270	34.8%	42.9%	0.81
Allina Health	Allina Health - Richfield	•	521	44.5%	43.4%	1.03
Allina Health	Allina Health - Savage		155	31.6%	42.8%	0.74
Allina Health	Allina Health - Shakopee		463	48.4%	43.8%	1.10
Allina Health	Allina Health - Sharpe Dillon Cockson & Associates	•	71	33.8%	49.2%	0.69
Allina Health	Allina Health - Shoreview		339	42.8%	43.9%	0.97
Allina Health	Allina Health - St. Francis Health Services - Jordan	•	38	36.8%	44.5%	0.83
Allina Health	Allina Health - St. Michael	•	154	44.8%	42.2%	1.06
Aund Health	Allina Health - United Medical	•	104		72.270	1.00
Allina Health	Specialties	•	151	41.1%	43.7%	0.94
Allina Health	Allina Health - Uptown	•	214	39.7%	42.0%	0.95
Allina Health	Allina Health - Vadnais Heights	•	122	41.0%	44.8%	0.91
Allina Health	Allina Health - West St. Paul	•	399	35.8%	41.5%	0.86
Allina Health	Allina Health - Woodbury	•	642	38.2%	43.0%	0.89
Alomere Health	Alexandria Clinic, A Service of Alomere Health	•	529	40.5%	43.2%	0.94
Altru Health System	Altru Health System - Grand Forks		430	19.8%	41.9%	0.47
Amery Hospital and Clinic	AHC - Amery		259	62.6%	42.7%	1.47
Amery Hospital and Clinic	AHC - Turtle Lake	*	34	67.7%	39.9%	1.70
Apple Valley Medical Clinic	Apple Valley Medical Clinic - Family Practice	▼	422	35.1%	43.8%	0.80
Associated Clinic of Psychology	Associated Clinic of Psychology- Apple Valley	•	407	36.9%	40.9%	0.90
Associated Clinic of Psychology	Associated Clinic of Psychology- Brooklyn Center	▼	226	28.3%	39.4%	0.72

🔺 Above statewide average

🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		•	120,344	41.8%		
Associated Clinic of Psychology	Associated Clinic of Psychology- Minneapolis	•	1,020	39.7%	39.6%	1.00
Associated Clinic of Psychology	Associated Clinic of Psychology-St Louis Park	▼	839	32.1%	39.8%	0.81
Associated Clinic of Psychology	Associated Clinic of Psychology- West St. Paul	•	498	46.8%	41.4%	1.13
Bluestone Physician Services	Bluestone Physician Services	•	41	41.5%	47.9%	0.87
Boynton Health Service	Boynton Health Service	٠	1,813	33.0%	34.5%	0.96
Boynton Health Service	Boynton Health Service St. Paul	•	94	34.0%	34.8%	0.98
Catholic Charities Behavioral Health Clinic	Catholic Charities Behavioral Health Clinic	▼	79	19.0%	41.0%	0.46
CCM Health	CCM HEALTH		103	1.9%	41.9%	0.05
Cedar Riverside People's Center	Cedar Riverside People's Center - People's Center Medical Clinic	▼	143	18.2%	37.7%	0.48
CentraCare Health	Carris Health - Litchfield East Clinic		88	21.6%	42.0%	0.51
CentraCare Health	Carris Health - Litchfield West Clinic	▼	81	21.0%	40.8%	0.51
CentraCare Health	Carris Health - New London Clinic		54	27.8%	43.0%	0.65
CentraCare Health	Carris Health - Redwood Clinic		86	25.6%	41.2%	0.62
CentraCare Health	Carris Health - Willmar Main Clinic		474	24.9%	41.1%	0.61
CentraCare Health	Carris Health - Willmar Skylark Clinic	•	31	48.4%	42.4%	1.14
CentraCare Health	Centracare Clinic - Albany		120	13.3%	42.6%	0.31
CentraCare Health	CentraCare Clinic - Becker		185	11.4%	41.8%	0.27
CentraCare Health	CentraCare Clinic - Big Lake		198	16.7%	41.5%	0.40
CentraCare Health	CentraCare Clinic - Northway		422	15.2%	40.8%	0.37
CentraCare Health	Centracare Clinic - SCMG Clearwater Medical Clinic	▼	98	13.3%	43.9%	0.30
CentraCare Health	Centracare Clinic - SCMG Cold Spring Medical Clinic	▼	77	11.7%	43.1%	0.27
CentraCare Health	Centracare Clinic - SCMG Northwest	▼	846	16.2%	41.4%	0.39
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South	•	350	14.6%	40.8%	0.36
CentraCare Health	CentraCare Clinic - St. Joseph		187	12.3%	41.1%	0.30
CentraCare Health	CentraCare Health - Family Health Center	•	386	15.5%	38.5%	0.40
CentraCare Health	CentraCare Health - Long Prairie		140	8.6%	40.9%	0.21
CentraCare Health	CentraCare Health - Melrose	, The second sec	199	14.6%	41.5%	0.35
CentraCare Health	CentraCare Health - Paynesville Clinic	V	123	20.3%	42.3%	0.48

▲ Above statewide average Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	41.8%		
CentraCare Health	CentraCare Health - Paynesville- Eden Valley	▼	51	9.8%	40.2%	0.24
CentraCare Health	CentraCare Health - Paynesville- Richmond	▼	66	12.1%	40.8%	0.30
CentraCare Health	CentraCare Health - Sauk Centre		182	12.6%	41.3%	0.31
CentraCare Health	CentraCare Health Plaza - Internal Medicine	▼	237	16.5%	46.3%	0.36
CentraCare Health	CentraCare River Campus - Internal Medicine	▼	222	13.5%	47.5%	0.28
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	•	46	21.7%	37.1%	0.59
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Baxter	▼	101	21.8%	41.8%	0.52
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Crosby Clinic	•	242	46.3%	43.1%	1.07
Dawson Clinic	Johnson Memorial Health Services - Dawson Clinic	•	85	40.0%	42.9%	0.93
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	Duluth Family Medicine Clinic (formerly Duluth Family Practice Center)	▼	346	20.5%	36.0%	0.57
Edina Sports Health & Wellness	Edina Sports + Family Medicine	•	118	34.8%	42.7%	0.81
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Como/Roseville (formerly Family HealthServices Minnesota - Larpenteur Clinic)		111	61.3%	42.1%	1.46
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - East Side (formerly Family HealthServices Minnesota - Maryland Clinic)	٠	202	40.1%	41.5%	0.97
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Highland (formerly Family HealthServices Minnesota - Highland Family Physicians)		153	66.7%	42.6%	1.56
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Inver Grove Heights (formerly Family HealthServices Minnesota - Inver Grove Heights)	•	211	51.2%	44.3%	1.15
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - North St. Paul (formerly Family HealthServices Minnesota - North St. Paul Clinic)		207	63.8%	42.2%	1.51

★ Top performer ▲ Above statewide average

Average

 Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	41.8%		
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Shoreview (formerly Family HealthServices Minnesota - Shoreview)		197	56.4%	43.7%	1.29
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Vadnais Heights (formerly Family HealthServices Minnesota - Vadnais Heights)	•	153	42.5%	42.9%	0.99
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - West St. Paul (formerly Family HealthServices Minnesota - Gorman Clinic)		260	68.9%	41.7%	1.65
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - White Bear Lake/Banning Ave (formerly Family Health Services MN Banning Clinic)		185	70.3%	43.8%	1.61
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Woodbury (formerly Family HealthServices Minnesota - Woodbury)		334	56.3%	43.8%	1.28
Essentia Health	EH Central Baxter Clinic		307	69.7%	42.2%	1.65
Essentia Health	EH Central Brainerd Clinic		262	69.5%	43.8%	1.59
Essentia Health	EH Central Crosslake Clinic		40	67.5%	44.5%	1.52
Essentia Health	EH Central Hackensack Clinic	•	34	50.0%	40.5%	1.23
Essentia Health	EH Central Lakeland Psychiatry Clinic	*	60	73.3%	42.6%	1.72
Essentia Health	EH Central Pequot Lakes Clinic	•	53	60.4%	42.4%	1.42
Essentia Health	EH Central Pierz Clinic		57	61.4%	41.5%	1.48
Essentia Health	EH Central Pillager Clinic		61	73.8%	45.0%	1.64
Essentia Health	EH Central Pine River Clinic	•	118	53.4%	42.4%	1.26
Essentia Health	EH East Ashland Clinic		193	57.5%	43.8%	1.31
Essentia Health	EH East Chisholm Clinic	•	46	50.0%	42.3%	1.18
Essentia Health	EH East Deer River Clinic		155	68.4%	41.6%	1.64
Essentia Health	EH East Duluth Clinic	•	131	42.0%	40.9%	1.03
Essentia Health	EH East Duluth Clinic 1st St		350	62.6%	41.3%	1.51
Essentia Health	EH East Ely Clinic		102	60.8%	43.9%	1.39
Essentia Health	EH East Grand Rapids Clinic	*	165	70.9%	40.4%	1.76
Essentia Health	EH East Hayward Clinic		155	64.5%	42.1%	1.53
Essentia Health	EH East Hermantown Clinic		295	58.6%	42.1%	1.39
Essentia Health	EH East Hibbing Clinic	•	164	46.3%	41.4%	1.12
Essentia Health	EH East International Falls Clinic	*	190	69.0%	41.2%	1.67
Essentia Health	EH East Lakeside Clinic		302	56.3%	41.1%	1.37
Essentia Health	EH East Lakewalk Clinic		354	65.3%	39.4%	1.66
Essentia Health	EH East Northern Pines Clinic		110	68.2%	43.3%	1.58
Essentia Health	EH East Proctor Clinic		106	67.9%	41.7%	1.63

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	41.8%		
Essentia Health	EH East Spooner Clinic		130	61.5%	41.5%	1.48
Essentia Health	EH East Superior Clinic		458	63.1%	40.1%	1.57
Essentia Health	EH East Virginia Clinic		250	64.4%	41.9%	1.54
Essentia Health	EH East West Duluth Clinic		451	60.1%	39.3%	1.53
Essentia Health	EH West 52nd Avenue Clinic		358	52.5%	40.3%	1.30
Essentia Health	EH West Ada Clinic	•	45	57.8%	40.0%	1.45
Essentia Health	EH West Bagely Clinic	*	72	68.1%	39.7%	1.71
Essentia Health	EH West Detroit Lakes Clinic		412	64.3%	42.3%	1.52
Essentia Health	EH West Fosston Clinic		184	62.0%	40.5%	1.53
Essentia Health	EH West Jamestown Clinic		122	59.0%	40.7%	1.45
Essentia Health	EH West Moorhead		211	54.0%	41.1%	1.32
Essentia Health	EH West Park Rapids Clinic	*	247	70.9%	41.6%	1.70
Essentia Health	EH West Pelican Rapids Clinic		31	58.1%	39.7%	1.46
Essentia Health	EH West South University Clinic	•	116	50.0%	44.3%	1.13
Essentia Health	EH West Valley City Clinic		82	68.3%	41.8%	1.63
Essentia Health	EH West Wahpeton Clinic	*	153	75.8%	44.2%	1.72
Essentia Health	EH West West Acres Clinic		228	59.7%	41.0%	1.45
Essentia Health	EH West West Fargo Clinic		285	67.7%	41.5%	1.63
Fairview Health Services	HealthEast Clinic - Hugo		111	36.0%	43.8%	0.82
	HealthEast Outpatient Mental					
Fairview Health Services	Health and Addiction Care Clinic-		98	24.5%	40.2%	0.61
	St. Joseph's Hospital					
Fairview Health Services	M Health Fairview Clinic Andover		393	29.3%	44.1%	0.66
Fairview Health Services	M Health Fairview Clinic Apple Valley	▼	446	35.9%	43.5%	0.83
Fairview Health Services	M Health Fairview Clinic Bass Lake		254	32.7%	43.2%	0.76
Fairview Health Services	M Health Fairview Clinic Blaine		157	26.8%	42.4%	0.63
Fairview Health Services	M Health Fairview Clinic Brooklyn Park	▼	409	25.4%	42.4%	0.60
Fairview Health Services	M Health Fairview Clinic Burnsville		649	29.7%	45.0%	0.66
Fairview Health Services	M Health Fairview Clinic Chisago City	▼	212	31.1%	44.1%	0.71
Fairview Health Services	M Health Fairview Clinic Columbia Heights	▼	365	32.6%	42.6%	0.77
Fairview Health Services	M Health Fairview Clinic Cottage Grove	٠	292	41.1%	44.0%	0.93
Fairview Health Services	M Health Fairview Clinic Downtown St. Paul	▼	191	35.6%	45.6%	0.78
Fairview Health Services	M Health Fairview Clinic Eagan		558	26.0%	42.9%	0.61
Fairview Health Services	M Health Fairview Clinic Eden Prairie	٠	264	43.2%	44.2%	0.98

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	41.8%		
Fairview Health Services	M Health Fairview Clinic Edina		275	25.5%	46.8%	0.54
Fairview Health Services	M Health Fairview Clinic Elk River	•	318	39.6%	42.9%	0.92
Fairview Health Services	M Health Fairview Clinic	•	104	33.7%	44.8%	0.75
	Farmington	•				
Fairview Health Services	M Health Fairview Clinic Fridley		387	31.5%	43.5%	0.72
Fairview Health Services	M Health Fairview Clinic Grand Avenue	▼	285	28.1%	40.9%	0.69
Fairview Health Services	M Health Fairview Clinic Hiawatha		411	34.3%	42.2%	0.81
Fairview Health Services	M Health Fairview Clinic Highland Park	•	301	31.2%	42.2%	0.74
Fairview Health Services	M Health Fairview Clinic Hugo	•	123	30.9%	44.4%	0.70
Fairview Health Services	M Health Fairview Clinic Integrated Primary Care	▼	141	22.7%	42.6%	0.53
Fairview Health Services	M Health Fairview Clinic Lake Street	▼	142	25.4%	42.0%	0.60
Fairview Health Services	M Health Fairview Clinic Lakeville		176	29.0%	43.4%	0.67
Fairview Health Services	M Health Fairview Clinic Lino Lakes		152	32.9%	44.2%	0.74
Fairview Health Services	M Health Fairview Clinic Maplewood	•	154	40.9%	42.1%	0.97
Fairview Health Services	M Health Fairview Clinic Milaca	•	211	33.7%	41.8%	0.80
Fairview Health Services	M Health Fairview Clinic New Brighton	▼	294	30.6%	42.6%	0.72
Fairview Health Services	M Health Fairview Clinic North Branch	▼	395	31.9%	42.7%	0.75
Fairview Health Services	M Health Fairview Clinic Oakdale	•	330	42.4%	42.9%	0.99
Fairview Health Services	M Health Fairview Clinic Oxboro		241	24.5%	45.1%	0.54
Fairview Health Services	M Health Fairview Clinic Pine City	•	75	41.3%	42.3%	0.98
Fairview Health Services	M Health Fairview Clinic Princeton		605	33.4%	43.2%	0.77
Fairview Health Services	M Health Fairview Clinic Prior Lake	•	226	36.3%	44.4%	0.82
Fairview Health Services	M Health Fairview Clinic Rice Street	•	266	32.3%	39.3%	0.82
Fairview Health Services	M Health Fairview Clinic Riverside		253	20.2%	39.7%	0.51
Fairview Health Services	M Health Fairview Clinic Rogers	•	124	40.3%	43.2%	0.93
Fairview Health Services	M Health Fairview Clinic Roselawn		281	49.8%	41.0%	1.22
Fairview Health Services	M Health Fairview Clinic Rosemount	•	137	32.9%	43.8%	0.75
Fairview Health Services	M Health Fairview Clinic Roseville	•	182	34.6%	41.4%	0.84
Fairview Health Services	M Health Fairview Clinic Savage	٠	83	37.4%	43.6%	0.86
Fairview Health Services	M Health Fairview Clinic Tamarack		228	28.5%	42.7%	0.67
Fairview Health Services	M Health Fairview Clinic Uptown		295	26.1%	41.3%	0.63

▲ Above statewide average

Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	41.8%		
Fairview Health Services	M Health Fairview Clinic Vadnais Heights	•	229	37.1%	44.0%	0.84
Fairview Health Services	M Health Fairview Clinic Woodwinds	▼	207	30.4%	43.3%	0.70
Fairview Health Services	M Health Fairview Clinic Wyoming		529	31.0%	43.3%	0.72
Fairview Health Services	M Health Fairview Clinic Xerxes		250	27.2%	44.2%	0.62
Fairview Health Services	M Health Fairview Clinic Zimmerman	•	232	42.7%	43.8%	0.97
Fairview Health Services	M Health Fairview Geriatric Services	▼	71	12.7%	50.6%	0.25
Fairview Health Services	M Health Fairview Clinic Midway	•	165	35.2%	42.6%	0.83
Fairview Health Services	M Health Fairview Clinic Stillwater	٠	155	41.3%	43.3%	0.95
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing		486	51.7%	40.8%	1.27
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Mountain Iron	•	206	47.6%	42.1%	1.13
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Nashwauk	•	67	44.8%	42.8%	1.05
Family Practice Medical Center of Willmar	Family Practice Medical Center of Willmar	▼	166	14.5%	40.7%	0.36
France Avenue Family Physicians - Minnesota Healthcare Network	France Avenue Family Physicians - Minnesota Healthcare Network	•	94	30.9%	43.3%	0.71
Glencoe Regional Health Services	Glencoe Regional Health Services - Glencoe	•	274	50.4%	43.0%	1.17
Glencoe Regional Health Services	Glencoe Regional Health Services - Lester Prairie	•	49	55.1%	47.4%	1.16
Glenwood Medical Center Grand Itasca Clinic	Glenwood Medical Center Grand Itasca Clinic	▼ ▼	48 677	6.3% 30.1%	41.7% 41.9%	0.15 0.72
Granite Falls Municipal Hospital & Manor Clinic	Granite Falls Health Clinic	▼	39	7.7%	42.1%	0.18
Gundersen Health System	Gundersen Health System - Houston Clinic	•	34	35.3%	43.7%	0.81
Gundersen Health System	Gundersen Health System - La Crescent Clinic	•	110	45.5%	43.1%	1.06
Gundersen Health System	Gundersen Health System - Spring Grove Clinic	•	46	56.5%	42.4%	1.33
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics		652	62.7%	40.7%	1.54
HealthPartners Clinics	HealthPartners - Andover	•	126	57.1%	45.4%	1.26

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

 161 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC
 ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	41.8%		
HealthPartners Clinics	HealthPartners - Anoka		304	54.6%	43.4%	1.26
HealthPartners Clinics	HealthPartners - Apple Valley	•	162	49.4%	42.9%	1.15
HealthPartners Clinics	HealthPartners - Arden Hills		230	60.0%	43.3%	1.39
HealthPartners Clinics	HealthPartners - Bloomington		179	59.8%	43.0%	1.39
HealthPartners Clinics	HealthPartners - Brooklyn Center		166	53.6%	41.2%	1.30
HealthPartners Clinics	HealthPartners - Como		413	51.8%	42.6%	1.22
HealthPartners Clinics	HealthPartners - Coon Rapids		202	60.9%	43.2%	1.41
HealthPartners Clinics	HealthPartners - Cottage Grove		69	66.7%	42.5%	1.57
HealthPartners Clinics	HealthPartners - Ctr for Internatl Hlth	•	30	63.3%	42.0%	1.51
HealthPartners Clinics	HealthPartners - Curve Crest Clinic		768	55.7%	45.2%	1.23
HealthPartners Clinics	HealthPartners - Eagan		151	55.6%	42.7%	1.30
HealthPartners Clinics	HealthPartners - Elk River		203	65.0%	42.6%	1.53
HealthPartners Clinics	HealthPartners - Highland Park	•	63	38.1%	40.2%	0.95
HealthPartners Clinics	HealthPartners - Hlth Ctr for Women		186	71.0%	43.7%	1.62
HealthPartners Clinics	HealthPartners - Hugo		49	65.3%	43.8%	1.49
HealthPartners Clinics	HealthPartners - Inver Grove Behav Hlth		307	69.7%	43.2%	1.61
HealthPartners Clinics	HealthPartners - Inver Grove Heights	٠	102	54.9%	42.3%	1.30
HealthPartners Clinics	HealthPartners - Lino Lakes		138	66.7%	43.8%	1.52
HealthPartners Clinics	HealthPartners - Mahtomedi Clinic	•	58	60.3%	45.4%	1.33
HealthPartners Clinics	HealthPartners - Maplewood		299	55.9%	41.7%	1.34
HealthPartners Clinics	HealthPartners - Midway	•	105	41.0%	39.7%	1.03
HealthPartners Clinics	HealthPartners - Nokomis	•	113	46.9%	41.6%	1.13
HealthPartners Clinics	HealthPartners - Regions BH Maplewood	*	498	74.5%	42.1%	1.77
HealthPartners Clinics	HealthPartners - Regions BH Woodbury	*	273	74.7%	43.5%	1.72
HealthPartners Clinics	HealthPartners - Riverside	•	201	44.8%	39.0%	1.15
HealthPartners Clinics	HealthPartners - Riverside Behav Hlth	*	183	73.2%	41.4%	1.77
HealthPartners Clinics	HealthPartners - Roseville		164	67.7%	43.0%	1.58
HealthPartners Clinics	HealthPartners - Somerset Clinic		174	54.0%	42.5%	1.27
HealthPartners Clinics	HealthPartners - St Paul		356	47.8%	40.0%	1.19
HealthPartners Clinics	HealthPartners - University Ave	•	130	53.1%	43.1%	1.23
HealthPartners Clinics	HealthPartners - West	٠	160	52.5%	43.6%	1.20
HealthPartners Clinics	HealthPartners - West Behav Hlth		337	61.7%	41.8%	1.48
HealthPartners Clinics	HealthPartners - White Bear Lake		163	64.4%	44.5%	1.45
HealthPartners Clinics	HealthPartners - Woodbury		378	63.0%	42.8%	1.47

▲ Above statewide average Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	41.8%		
Hendricks Community Hospital Association	Hendricks Clinic	▼	42	2.4%	45.2%	0.05
Hennepin Healthcare	Hennepin Healthcare Adult Psychiatry Clinic	▼	195	12.3%	40.3%	0.31
Hennepin Healthcare	Hennepin Healthcare Brooklyn Center Clinic	▼	34	11.8%	37.0%	0.32
Hennepin Healthcare	Hennepin Healthcare Brooklyn Park Clinic	•	139	28.1%	38.0%	0.74
Hennepin Healthcare	Hennepin Healthcare Downtown Medicine Clinic	▼	249	7.2%	37.6%	0.19
Hennepin Healthcare	Hennepin Healthcare East Lake Clinic	•	191	34.6%	36.2%	0.95
Hennepin Healthcare	Hennepin Healthcare Golden Valley Clinic	▼	117	24.8%	37.3%	0.66
Hennepin Healthcare	Hennepin Healthcare Internal Medicine Clinic Parkside	▼	49	6.1%	37.9%	0.16
Hennepin Healthcare	Hennepin Healthcare North Loop Clinic and Pharmacy		60	13.3%	35.3%	0.38
Hennepin Healthcare	Hennepin Healthcare Richfield Clinic	▼	195	14.4%	37.7%	0.38
Hennepin Healthcare	Hennepin Healthcare Whittier Clinic	▼	156	13.5%	35.3%	0.38
Hennepin Healthcare	Hennepin Healthcare Women's Health and Wellness Clinic	▼	37	2.7%	35.5%	0.08
Hutchinson Health	Hutchinson Health - Hutchinson Clinic	▼	349	30.4%	42.0%	0.72
Hutchinson Health	Hutchinson Health - Mental Health Clinic	٠	180	47.8%	43.6%	1.10
Indian Health Board of Minneapolis	Indian Health Board of Minneapolis	٠	104	24.0%	34.6%	0.69
Kittson Healthcare Clinic Lac Qui Parle Clinic	Kittson Memorial Clinic - Hallock Lac Qui Parle Clinic	•	34 36	17.7% 38.9%	41.9% 43.2%	0.42 0.90
Lake Region Healthcare	Lake Region Healthcare - Barnesville Clinic	•	41	36.6%	43.1%	0.85
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls		430	52.3%	43.6%	1.20
Lake Superior Community Health Center	Lake Superior Community Health Center - Duluth	•	121	33.9%	37.4%	0.91
Lake Superior Community Health Center	Lake Superior Community Health Center-Superior	٠	182	47.3%	38.9%	1.21
Lake View Clinic - Two Harbors	Lake View Clinic - Two Harbors		82	13.4%	41.2%	0.33

▲ Above statewide average ● Average

🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	41.8%		
Lakeland Mental Health Center	Lakeland Mental Health Center - Alexandria		183	62.3%	42.5%	1.47
Lakeland Mental Health Center	Lakeland Mental Health Center - Detroit Lakes	▼	132	15.2%	38.5%	0.39
Lakeland Mental Health Center	Lakeland Mental Health Center - Fergus Falls	•	284	46.1%	39.8%	1.16
Lakeland Mental Health Center	Lakeland Mental Health Center - Glenwood	•	70	32.9%	40.6%	0.81
Lakeland Mental Health Center	Lakeland Mental Health Center - Moorhead		465	51.4%	39.9%	1.29
Lakewood Health System	Lakewood Health System - Browerville Clinic	•	89	53.9%	41.5%	1.30
Lakewood Health System	Lakewood Health System - Eagle Valley Clinic	•	44	31.8%	39.1%	0.81
Lakewood Health System	Lakewood Health System - Motley Clinic	•	105	45.7%	41.4%	1.10
Lakewood Health System	Lakewood Health System - Pillager Clinic	•	211	41.7%	39.6%	1.05
Lakewood Health System	Lakewood Health System - Staples Clinic	•	186	44.6%	38.4%	1.16
Madelia Community Hospital & Clinic	Madelia Community Hospital & Clinic	•	52	36.5%	40.1%	0.91
Mankato Clinic, Ltd.	Mankato Clinic - Daniel's Health Center	•	121	38.0%	40.6%	0.94
Mankato Clinic, Ltd.	Mankato Clinic - Department of Psychiatry & Psychology	*	647	77.9%	42.3%	1.84
Mankato Clinic, Ltd.	Mankato Clinic - Main Street	•	267	48.3%	41.7%	1.16
Mankato Clinic, Ltd.	Mankato Clinic - North Mankato		162	66.7%	40.9%	1.63
Mankato Clinic, Ltd.	Mankato Clinic - Wickersham Campus		249	55.0%	40.8%	1.35
Mayo Clinic	Mayo Clinic - Baldwin Building, Family Medicine		378	51.3%	40.6%	1.27
Mayo Clinic	Mayo Clinic - Baldwin Building, Primary Care Internal Medicine		557	57.6%	44.5%	1.29
Mayo Clinic	Mayo Clinic - Generose Building		74	18.9%	41.5%	0.46
Mayo Clinic	Mayo Clinic - Kasson	•	218	50.9%	43.3%	1.18
Mayo Clinic	Mayo Clinic - Northeast		357	52.9%	42.2%	1.25
Mayo Clinic	Mayo Clinic - Northwest		339	49.3%	41.6%	1.18
Mayo Clinic	Mayo Clinic - Speciality Practice		942	13.5%	42.9%	0.31
Mayo Clinic	Mayo Family Clinic Southeast		244	61.5%	43.1%	1.43
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	•	450	37.6%	41.9%	0.90

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	41.8%		
Mayo Clinic Health System	Mayo Clinic Health System Austin		597	34.7%	42.5%	0.82
Mayo Clinic Health System	Mayo Clinic Health System Belle Plaine	٠	47	31.9%	42.6%	0.75
Mayo Clinic Health System	Mayo Clinic Health System Cannon Falls	▼	109	28.4%	42.9%	0.66
Mayo Clinic Health System	Mayo Clinic Health System Fairmont		305	52.5%	42.0%	1.25
Mayo Clinic Health System	Mayo Clinic Health System Faribault Campus Location	▼	129	25.6%	42.8%	0.60
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in Caledonia	٠	39	48.7%	42.9%	1.14
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in LaCrescent	•	56	51.8%	42.1%	1.23
Mayo Clinic Health System	Mayo Clinic Health System Lake City	٠	120	39.2%	42.6%	0.92
Mayo Clinic Health System	Mayo Clinic Health System Lake Crystal	•	71	32.4%	40.1%	0.81
Mayo Clinic Health System	Mayo Clinic Health System Le Sueur	٠	63	47.6%	43.0%	1.11
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge		506	47.4%	40.3%	1.18
Mayo Clinic Health System	Mayo Clinic Health System Mankato Northridge	•	214	39.7%	40.4%	0.98
Mayo Clinic Health System	Mayo Clinic Health System Mankato Specialty Clinic	٠	49	61.2%	43.8%	1.40
Mayo Clinic Health System	Mayo Clinic Health System Montgomery	٠	35	34.3%	41.1%	0.84
Mayo Clinic Health System	Mayo Clinic Health System New Prague	٠	97	48.5%	42.0%	1.15
Mayo Clinic Health System	Mayo Clinic Health System Owatonna	▼	644	33.1%	42.0%	0.79
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	٠	363	37.5%	43.6%	0.86
Mayo Clinic Health System	Mayo Clinic Health System Red Wing in Zumbrota	٠	62	43.6%	44.4%	0.98
Mayo Clinic Health System	Mayo Clinic Health System Springfield	٠	54	33.3%	42.6%	0.78
Mayo Clinic Health System	Mayo Clinic Health System St. James	٠	90	47.8%	42.4%	1.13

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	41.8%		
Mayo Clinic Health System	Mayo Clinic Health System St. Peter	•	170	45.9%	42.6%	1.08
Mayo Clinic Health System	Mayo Clinic Health System Waseca	•	96	43.8%	43.0%	1.02
Mental Health Resources	Mental Health Outreach Clinic	•	47	29.8%	40.5%	0.74
Mille Lacs Health System	Mille Lacs Health System - Isle	•	39	30.8%	42.9%	0.72
Mille Lacs Health System	Mille Lacs Health System - Onamia	•	79	30.4%	42.8%	0.71
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics -	•	756	38.8%	39.9%	0.97
Lakeville, Maplewood, Minneapolis, Woodbury)	Eagan Clinic	-		00.070	00.070	0.01
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-		50	40.20/	41 10/	1 20
Lakeville, Maplewood, Minneapolis, Woodbury)	Apple Valley		59	49.2%	41.1%	1.20
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina, Lakeville, Maplewood,	Minnesota Mental Health Clinics- Lakeville Clinic	•	75	42.7%	40.1%	1.06
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina, Lakeville, Maplewood,	Minnesota Mental Health Clinics- Maplewood Clinic	▼	138	26.8%	40.9%	0.66
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-					
Lakeville, Maplewood, Minneapolis, Woodbury)	Woodbury Clinic	•	166	44.0%	41.4%	1.06
Natalis Counseling & Psychology	Natalis Counseling - Main Location	▼	346	3.8%	34.6%	0.11
Solutions Native American Community Clinic	Native American Community Clinic		232	46.1%	36.5%	1.26
Neighborhood Healthsource	Neighborhood HealthSource - Central Clinic	•	62	27.4%	35.9%	0.76
Neighborhood Healthsource	Neighborhood HealthSource -	•	43	25.6%	36.2%	0.71
	Fremont Clinic Neighborhood HealthSource -					
Neighborhood Healthsource	Sheridan Clinic	•	32	18.8%	35.9%	0.52
North Memorial	North Memorial Health - Minnetonka Medical Center	▼	173	23.1%	42.7%	0.54
North Memorial	North Memorial Health Clinic - Blaine	•	59	27.1%	43.4%	0.62
North Memorial	North Memorial Health Clinic - Brooklyn Center	▼	120	20.8%	39.6%	0.53

▲ Above statewide average Average

Below statewide average

CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	41.8%		
North Memorial	North Memorial Health Clinic - Brooklyn Park	▼	103	18.5%	41.2%	0.45
North Memorial	North Memorial Health Clinic - Camden	•	145	28.3%	37.2%	0.76
North Memorial	North Memorial Health Clinic - Downtown Minneapolis	▼	148	22.3%	37.6%	0.59
North Memorial	North Memorial Health Clinic - Elk River	▼	173	28.3%	41.2%	0.69
North Memorial	North Memorial Health Clinic - Golden Valley	▼	196	30.1%	41.6%	0.72
North Memorial	North Memorial Health Clinic - Maple Grove	•	102	33.3%	41.5%	0.80
North Memorial	North Memorial Health Clinic - New Hope	•	225	35.6%	42.6%	0.83
North Memorial	North Memorial Health Clinic - St. Anthony	▼	236	17.8%	43.3%	0.41
North Memorial	North Memorial Health Internal Medicine - Maple Grove	▼	100	18.0%	44.5%	0.40
North Memorial	North Memorial Health Mental Health	▼	129	14.7%	38.8%	0.38
Northern Psychiatric Associates	Northern Psychiatric Associates		343	30.9%	42.2%	0.73
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Farmington Clinic	▼	39	23.1%	44.5%	0.52
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lakeville Clinic	•	58	32.8%	42.1%	0.78
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lonsdale Clinic	•	32	21.9%	43.2%	0.51
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Northfield Clinic	▼	96	27.1%	42.9%	0.63
NorthPoint Health & Wellness Center	NorthPoint Health & Wellness Center	٠	677	33.7%	35.1%	0.96
Northwest Family Physicians	Northwest Family Physicians - Crystal	▼	266	22.6%	42.7%	0.53
Northwest Family Physicians	Northwest Family Physicians - Plymouth	▼	108	27.8%	44.5%	0.62
Northwest Family Physicians	Northwest Family Physicians - Rogers	▼	94	20.2%	44.6%	0.45
Northwestern Mental Health Center	Northwestern Mental Health Center	٠	393	43.5%	39.2%	1.11
Olmsted Medical Center	Olmsted Medical Center - Byron Clinic		119	52.9%	39.6%	1.34

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	41.8%		
Olmsted Medical Center	Olmsted Medical Center - Chatfield Clinic	•	63	50.8%	43.3%	1.17
Olmsted Medical Center	Olmsted Medical Center - Lake City	•	46	41.3%	41.5%	1.00
Olmsted Medical Center	Olmsted Medical Center - Pine Island Clinic	٠	78	46.2%	38.3%	1.20
Olmsted Medical Center	Olmsted Medical Center - Plainview Clinic	•	49	49.0%	41.8%	1.17
Olmsted Medical Center	Olmsted Medical Center - Preston Clinic	•	67	38.8%	42.1%	0.92
Olmsted Medical Center	Olmsted Medical Center - Rochester Northwest	٠	205	40.0%	38.6%	1.04
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast		588	49.2%	40.2%	1.22
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast - Psychiatry		375	64.8%	42.0%	1.54
Olmsted Medical Center	Olmsted Medical Center - Skyway Clinic	•	100	48.0%	36.7%	1.31
Olmsted Medical Center	Olmsted Medical Center - Spring Valley Clinic	٠	31	51.6%	39.9%	1.30
Olmsted Medical Center	Olmsted Medical Center - St. Charles Clinic	•	70	42.9%	40.8%	1.05
Olmsted Medical Center	Olmsted Medical Center - Stewartville Clinic		137	54.7%	39.2%	1.40
Open Cities Health Center	Open Cities Health (Dunlap) - Family Medicine	▼	144	13.9%	37.0%	0.38
Open Cities Health Center	Open Cities Health Center (North End)- Family Medicine	▼	93	12.9%	38.1%	0.34
Open Door Health Center	Open Door Health Center	٠	162	36.4%	36.1%	1.01
Ortonville Area Health Services- Northside Medical Clinic	Ortonville Area Health Services- Northside Medical Clinic		142	57.8%	42.1%	1.37
Park Nicollet Health Services	Park Nicollet Clinic - Bloomington	•	271	46.9%	43.3%	1.08
Park Nicollet Health Services	Park Nicollet Clinic - Brookdale		501	56.7%	41.7%	1.36
Park Nicollet Health Services	Park Nicollet Clinic - Burnsville		704	66.2%	43.8%	1.51
Park Nicollet Health Services	Park Nicollet Clinic - Carlson		375	51.5%	43.9%	1.17
Park Nicollet Health Services	Park Nicollet Clinic - Champlin	•	209	51.2%	41.9%	1.22
Park Nicollet Health Services	Park Nicollet Clinic - Chanhassen	•	410	48.5%	44.4%	1.09
Park Nicollet Health Services	Park Nicollet Clinic - Creekside		77	66.2%	44.7%	1.48
Park Nicollet Health Services	Park Nicollet Clinic - Eagan		440	70.5%	43.2%	1.63
Park Nicollet Health Services	Park Nicollet Clinic - Eden Prairie		291	59.8%	43.8%	1.37
Park Nicollet Health Services	Park Nicollet Clinic - Golden Valley		290	53.5%	44.8%	1.19
Park Nicollet Health Services	Park Nicollet Clinic - Lakeville		116	49.1%	41.7%	1.18
Park Nicollet Health Services	Park Nicollet Clinic - Maple Grove		328	67.1%	43.7%	1.54

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	41.8%		
Park Nicollet Health Services	Park Nicollet Clinic - Minneapolis		396	56.6%	39.6%	1.43
Park Nicollet Health Services	Park Nicollet Clinic - Plymouth		381	63.3%	43.5%	1.45
Park Nicollet Health Services	Park Nicollet Clinic - Prior Lake		236	59.3%	43.1%	1.38
Park Nicollet Health Services	Park Nicollet Clinic - Psychiatry	*	3,122	72.8%	43.7%	1.67
Park Nicollet Health Services	Park Nicollet Clinic - Rogers	•	100	50.0%	43.1%	1.16
Park Nicollet Health Services	Park Nicollet Clinic - Shakopee		521	54.5%	42.1%	1.30
Park Nicollet Health Services	Park Nicollet Clinic - Shorewood		170	59.4%	45.5%	1.30
Park Nicollet Health Services	Park Nicollet Clinic - SmartCare		144	63.2%	42.1%	1.50
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Family Medicine		663	54.3%	42.7%	1.27
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Internal Medicine		380	64.0%	47.2%	1.36
Park Nicollet Health Services	Park Nicollet Clinic - Target Health and Well-Being Center	*	61	63.9%	34.2%	1.87
Park Nicollet Health Services	Park Nicollet Clinic - Target Health and Well-Being Center North	*	30	56.7%	33.6%	1.69
Park Nicollet Health Services	Park Nicollet Clinic - Wayzata		220	65.0%	45.9%	1.42
Park Nicollet Health Services	Park Nicollet Clinic - Women's Services	•	136	46.3%	41.4%	1.12
People Incorporated Stark Mental Health Clinic	Family Life Mental Health Center	▼	398	21.1%	39.8%	0.53
People Incorporated Stark Mental Health Clinic	Stark Clinic- Northside	▼	93	9.7%	35.6%	0.27
People Incorporated Stark Mental Health Clinic	Stark Clinic-York	▼	71	7.0%	37.5%	0.19
People Incorporated Stark Mental Health Clinic	Stark Mental Health Clinic	▼	213	22.1%	37.1%	0.59
Perham Health	Perham Health Clinic		209	9.6%	40.3%	0.24
Perham Health	Perham Health New York Mills Clinic	▼	43	14.0%	41.1%	0.34
Planned Parenthood Minnesota, North Dakota, South Dakota	Planned Parenthood Minnesota, North Dakota, South Dakota - Duluth	▼	35	2.9%	32.1%	0.09
Planned Parenthood Minnesota, North Dakota, South Dakota	Planned Parenthood Minnesota, North Dakota, South Dakota - St Cloud	▼	69	0.0%	34.2%	0.00
Prairie Ridge Hospital & Health Services	Prairie Ridge Hospital & Health Services - Elbow Lake	▼	62	14.5%	41.1%	0.35
Rainy Lake Medical Center	Rainy Lake Medical Center - Rural Health Clinic	▼	58	10.3%	40.0%	0.26
Ramsey County Mental Health	Ramsey County Mental Health Center	▼	198	12.1%	37.3%	0.33

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	41.8%		
Renville County Hospital and	Renville County Hospital and		46	28.3%	38.4%	0.74
Clinics	Clinics - Olivia	•	10			
Richfield Medical Group	Richfield Medical Group		173	1.7%	46.9%	0.04
Ridgeview Clinics	Ridgeview Chanhassen Clinic		117	4.3%	45.1%	0.09
Ridgeview Clinics	Ridgeview Delano Clinic		101	4.0%	44.0%	0.09
Ridgeview Clinics	Ridgeview Excelsior Clinic		49	2.0%	45.4%	0.04
Ridgeview Clinics	<b>Ridgeview Howard Lake Clinic</b>		35	5.7%	42.3%	0.14
Ridgeview Clinics	<b>Ridgeview Westonka Clinic</b>		137	0.7%	45.1%	0.02
RiverView Health	RiverView Clinic		101	9.9%	39.3%	0.25
Riverwood Healthcare Center	Riverwood Aitkin Clinic		190	30.0%	43.7%	0.69
Riverwood Healthcare Center	Riverwood Garrison Clinic	•	43	34.9%	44.5%	0.78
Riverwood Healthcare Center	Riverwood McGregor Clinic	•	85	41.2%	43.8%	0.94
Sanford Health	Sanford Aberdeen Clinic	•	243	45.3%	41.9%	1.08
Sanford Health	Sanford Bagley Clinic		65	35.4%	40.8%	0.87
	Sanford Bemidji 1611 Anne St Clinic		10	40.00/	22.00/	1.00
Sanford Health	- Family Medicine	•	42	42.9%	39.8%	1.08
Sanford Health	Sanford Bemidji Main Clinic -		500	40.00/	20 70/	1.02
	Family Medicine	•	500	40.8%	39.7%	1.03
Conford Loolth	Sanford Bemidji Main Clinic -		52	E0.00/	47.00/	1.00
Sanford Health	Internal Medicine		52	50.0%	47.0%	1.06
Sanford Health	Sanford Canby Clinic	•	74	46.0%	44.5%	1.03
Sanford Health	Sanford Canton Clinic	•	69	34.8%	43.0%	0.81
Sanford Health	Sanford East Grand Forks Clinic		112	14.3%	39.5%	0.36
Sanford Health	Sanford Fargo Broadway Clinic -	•	89	42.7%	41.2%	1.04
Sumora riculti	Family Medicine Residency	-	05	12.170	11.270	1.01
Sanford Health	Sanford Fargo Broadway Clinic - Behavioral Health		292	59.9%	43.2%	1.39
Sanford Health	Sanford Fargo Broadway Clinic - Internal Medicine	•	142	49.3%	44.4%	1.11
Sanford Health	Sanford Fargo Internal Medicine	•	54	33.3%	40.4%	0.83
Sanford Health	Residency Clinic Sanford Fargo North Fargo Clinic		262	40.8%	41.3%	0.99
Samoru Health	Sanford Fargo Professional	•	202	40.8%	41.5%	0.99
Sanford Health	Building - Behavioral Health		66	59.1%	40.9%	1.45
	Sanford Fargo South University					
Sanford Health	Clinic - Specialty Clinics	•	120	49.2%	42.1%	1.17
	Sanford Fargo Southpointe Clinic -					
Sanford Health	Behavioral Health	•	41	29.3%	39.2%	0.75
	Sanford Fargo Southpointe Clinic -	-				
Sanford Health	Family Medicine	•	556	36.7%	41.0%	0.89
	Sanford Fargo Southpointe Clinic -		200	40.00/		1.07
Sanford Health	Internal Medicine	•	280	48.6%	45.5%	1.07

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		1	120,344	41.8%		1
Sanford Health	Sanford Hawley Clinic	•	56	39.3%	40.8%	0.96
Sanford Health	Sanford Health Alexandria Broadway Clinic	•	354	44.4%	42.0%	1.06
Sanford Health	Sanford Health Beresford Clinic	٠	37	46.0%	43.2%	1.06
Sanford Health	Sanford Health Brookings Clinic	•	240	45.4%	40.1%	1.13
Sanford Health	Sanford Health Detroit Lakes Clinic		495	31.7%	41.2%	0.77
Sanford Health	Sanford Health Enderlin Clinic	•	38	42.1%	43.5%	0.97
Sanford Health	Sanford Health Hillsboro Clinic	٠	48	43.8%	40.8%	1.07
Sanford Health	Sanford Health Jamestown Clinic	•	366	36.3%	42.5%	0.86
Sanford Health	Sanford Health Lisbon Clinic	٠	41	46.3%	42.3%	1.10
Sanford Health	Sanford Health Mahnomen Clinic	•	37	43.2%	37.5%	1.15
Sanford Health	Sanford Health Mountain Lake Clinic	•	50	46.0%	38.4%	1.20
Sanford Health	Sanford Health Oakes Clinic		33	66.7%	42.8%	1.56
Sanford Health	Sanford Health Parkers Prairie Clinic	•	34	52.9%	41.5%	1.28
Sanford Health	Sanford Health Pelican Rapids Clinic	•	62	30.7%	40.8%	0.75
Sanford Health	Sanford Health Pierre Clinic	٠	43	55.8%	42.4%	1.32
Sanford Health	Sanford Health Valley City Clinic		132	67.4%	43.6%	1.54
Sanford Health	Sanford Health Vermillion Clinic	٠	150	33.3%	37.9%	0.88
Sanford Health	Sanford Health Wahpeton Clinic	•	247	33.6%	40.8%	0.82
Sanford Health	Sanford Health Walker Clinic	٠	37	43.2%	40.9%	1.06
Sanford Health	Sanford Health Watertown Clinic		156	53.9%	41.3%	1.31
Sanford Health	Sanford Health Wheaton Clinic	٠	36	41.7%	41.4%	1.01
Sanford Health	Sanford Health Windom Clinic	•	45	46.7%	40.6%	1.15
Sanford Health	Sanford Jackson Clinic		70	61.4%	42.4%	1.45
Sanford Health	Sanford Lakefield Clinic	•	44	54.6%	42.2%	1.29
Sanford Health	Sanford Luverne Clinic	٠	63	49.2%	40.2%	1.22
Sanford Health	Sanford Mayville Clinic	*	41	78.1%	40.9%	1.91
Sanford Health	Sanford Moorhead Clinic - Behavioral Health		739	63.1%	43.6%	1.45
Sanford Health	Sanford Moorhead Clinic - Family Medicine	•	282	44.0%	39.3%	1.12
Sanford Health	Sanford Moorhead Clinic - Internal Medicine		159	60.4%	44.3%	1.36
Sanford Health	Sanford Rock Rapids Clinic		53	67.9%	41.6%	1.63
Sanford Health	Sanford Sheldon Clinic		253	56.9%	41.4%	1.37
Sanford Health	Sanford Sioux Falls 26th & Sycamore Family Medicine Clinic	•	88	50.0%	40.8%	1.23

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE	_	-	120,344	41.8%		-
Sanford Health	Sanford Sioux Falls 34th & Kiwanis Family Medicine Clinic	•	62	24.2%	39.5%	0.61
Sanford Health	Sanford Sioux Falls 49th & Oxbow Family Medicine Clinic		184	53.8%	40.7%	1.32
Sanford Health	Sanford Sioux Falls 4th & Sycamore Family Medicine Clinic	•	37	54.1%	40.2%	1.34
Sanford Health	Sanford Sioux Falls 69th & Louise Family Medicine Clinic	•	74	40.5%	39.2%	1.03
Sanford Health	Sanford Sioux Falls 69th & Minnesota Family Medicine Clinic	٠	114	40.4%	40.7%	0.99
Sanford Health	Sanford Sioux Falls Internal Medicine Clinic	•	59	30.5%	47.3%	0.64
Sanford Health	Sanford Sioux Falls Women's Internal Medicine	•	42	59.5%	45.7%	1.30
Sanford Health	Sanford Thief River Falls Clinic		171	22.8%	41.9%	0.54
Sanford Health	Sanford Tracy Clinic	•	51	58.8%	41.3%	1.42
Sanford Health	Sanford Webster Clinic	•	38	55.3%	42.3%	1.31
Sanford Health	Sanford West Fargo Clinic - Family Medicine		329	56.8%	42.2%	1.35
Sanford Health	Sanford Westbrook Clinic		38	65.8%	41.7%	1.58
Sanford Health	Sanford Worthington Clinic	•	179	33.5%	40.2%	0.83
Sawtooth Mountain Clinic	Sawtooth Mountain Clinic, Inc		87	47.1%	42.8%	1.10
Scandia Clinic	Scandia Clinic		51	3.9%	41.8%	0.09
Scenic Rivers Health Services	Scenic Rivers Health Services - Bigfork	•	58	32.8%	41.9%	0.78
Scenic Rivers Health Services	Scenic Rivers Health Services - Cook	٠	54	27.8%	44.8%	0.62
Sibley Medical Center DBA Ridgeview Sibley Medical Center	Ridgeview Arlington Clinic	٠	38	29.0%	42.5%	0.68
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville	▼	65	18.5%	36.3%	0.51
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina	•	43	18.6%	36.4%	0.51
Southside Community Health Services	Southside Medical Clinic	٠	71	21.1%	35.1%	0.60
Southwestern Mental Health Center	Southwestern Mental Health Center-Worthington	▼	311	20.9%	39.8%	0.53
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Frederic Clinic	٠	50	44.0%	42.6%	1.03
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Lindstrom Clinic	•	97	39.2%	43.9%	0.89

▲ Above statewide average ● Average

🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	41.8%		
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic	•	380	44.0%	43.9%	1.00
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Unity Clinic	•	123	40.7%	44.1%	0.92
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Webster Clinic	•	55	32.7%	40.6%	0.81
St. Luke's Clinics	St Luke's Clinics-Chequamegon Clinic	▼	57	14.0%	40.9%	0.34
St. Luke's Clinics	St Luke's Clinics-Hibbing Family Medical Clinic	▼	81	18.5%	40.8%	0.45
St. Luke's Clinics	St Luke's Clinics-Internal Medicine Associates	▼	105	27.6%	45.4%	0.61
St. Luke's Clinics	St Luke's Clinics-Laurentian		53	11.3%	41.0%	0.28
St. Luke's Clinics	St Luke's Clinics-Lester River		54	11.1%	41.5%	0.27
St. Luke's Clinics	St Luke's Clinics-Mariner Medical Clinic	•	60	35.0%	45.4%	0.77
St. Luke's Clinics	St Luke's Clinics-Medical Arts Clinic		40	15.0%	37.1%	0.40
St. Luke's Clinics	St Luke's Clinics-Mental Health	•	354	49.4%	42.5%	1.16
St. Luke's Clinics	St Luke's Clinics-Mount Royal		69	11.6%	40.8%	0.28
St. Luke's Clinics	St Luke's Clinics-P.S. Rudie Medical Clinic	٠	129	34.1%	40.8%	0.84
Stellis Health, PA	Stellis Health - Albertville-St. Michael Clinic	▼	121	24.0%	42.6%	0.56
Stellis Health, PA	Stellis Health-Buffalo Clinic		351	25.6%	42.4%	0.60
Stellis Health, PA	Stellis Health-Monticello Clinic		410	28.5%	42.6%	0.67
Synergy Family Physicians, P.A	Synergy Family Physicians, P.A.		47	14.9%	40.2%	0.37
The Emily Program	The Emily Program - St. Louis Park	•	81	24.7%	39.2%	0.63
The Emily Program	The Emily Program - St. Paul (Como)	▼	201	21.4%	38.8%	0.55
Tri-County Health Care	Tri-County Health Care - Henning Clinic	•	71	50.7%	42.1%	1.21
Tri-County Health Care	Tri-County Health Care - Wadena Clinic	•	274	47.5%	41.8%	1.13
United Family Medicine	United Family Medicine	•	596	38.8%	39.7%	0.98
Unity Family Healthcare, Family Medical Center	Family Medical Center	٠	462	36.2%	41.4%	0.87
Unity Family Healthcare, Family Medical Center	Randall Lakes Area Clinic	•	60	30.0%	41.6%	0.72
University of Minnesota Physicians	University of Minnesota Health - Fairview Maple Grove Medical Center	•	153	22.9%	40.3%	0.57

▲ Above statewide average Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	41.8%		
University of Minnesota Physicians	University of Minnesota Health - Mill City Clinic	▼	115	21.7%	38.9%	0.56
University of Minnesota Physicians	University of Minnesota Health - Primary Care Center	▼	252	18.3%	40.4%	0.45
University of Minnesota Physicians	University of Minnesota Health - Psychiatry Clinic	▼	815	24.1%	38.4%	0.63
University of Minnesota Physicians	University of Minnesota Health - Smiley's Family Medicine Clinic	▼	205	17.6%	35.0%	0.50
University of Minnesota Physicians	University of Minnesota Physicians - Bethesda Family Medicine Clinic	▼	196	25.5%	36.2%	0.70
University of Minnesota Physicians	University of Minnesota Physicians - Broadway Family Medicine Clinic	▼	319	6.9%	35.3%	0.20
University of Minnesota Physicians	University of Minnesota Physicians - Center for Sexual Health	•	44	38.6%	38.6%	1.00
University of Minnesota Physicians	University of Minnesota Physicians - Phalen Village Family Medicine Clinic	▼	125	14.4%	36.1%	0.40
Voyage Healthcare	Voyage Healthcare - Crystal		102	24.5%	47.8%	0.51
Voyage Healthcare	Voyage Healthcare - Maple Grove		313	25.9%	42.5%	0.61
Voyage Healthcare	Voyage Healthcare - Osseo		223	28.3%	43.6%	0.65
Voyage Healthcare	Voyage Healthcare - Plymouth		280	18.9%	43.9%	0.43
Welia Health	Welia Health Hinckley	•	90	40.0%	42.6%	0.94
Welia Health	Welia Health Mora	•	322	43.2%	42.8%	1.01
Welia Health	Welia Health Pine City	•	160	35.6%	40.9%	0.87
West Side Community Health Services	West Side Community Health Services - East Side Family Clinic	▼	223	26.5%	36.4%	0.73
West Side Community Health Services	West Side Community Health Services - La Clinica	▼	158	22.2%	35.4%	0.63
West Side Community Health Services	West Side Community Health Services - McDonough Homes Clinic	٠	38	31.6%	38.9%	0.81
Westfields Hospital and Clinic	Westfields Clinic		266	66.9%	42.6%	1.57
Williams Integracare Clinic	Integracare Ltd dba Williams Clinic		107	20.6%	39.4%	0.52
Winona Health Services	Winona Health - Winona Clinic	•	751	41.3%	42.1%	0.98
Woodland Centers	Woodland Centers - Litchfield	•	67	47.8%	40.7%	1.17
Woodland Centers	Woodland Centers - Montevideo	•	63	33.3%	39.6%	0.84
Woodland Centers	Woodland Centers - Willmar	•	123	51.2%	39.9%	1.28
Zumbro Valley Health Center	Zumbro Valley Health Center - Behavioral Health		59	15.3%	40.8%	0.37

▲ Above statewide average

Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

174 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

## Adult Depression - Response at 12 Months

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	17.0%		
AALFA Family Clinic	AALFA Family Clinic-MHN	•	160	15.0%	17.5%	0.86
Advanced Medical Clinic	Advanced Medical Clinic, Inc.		74	1.4%	13.5%	0.10
Allina Health	Allina Health - Abbott Northwestern General Medicine Associates - Edina	٠	209	17.7%	20.4%	0.87
Allina Health	Allina Health - Allina Mental Health - ANW	٠	291	14.4%	17.3%	0.84
Allina Health	Allina Health - Allina Mental Health - United	•	489	19.4%	17.2%	1.13
Allina Health	Allina Health - Allina Mental Health - Unity	٠	364	18.4%	18.9%	0.98
Allina Health	Allina Health - Annandale	•	75	20.0%	18.4%	1.08
Allina Health	Allina Health - Bandana Square	•	542	15.1%	16.3%	0.93
Allina Health	Allina Health - Blaine		221	9.5%	18.1%	0.53
Allina Health	Allina Health - Bloomington	•	281	13.9%	17.7%	0.79
Allina Health	Allina Health - Brooklyn Park	•	278	16.6%	16.8%	0.98
Allina Health	Allina Health - Buffalo	•	223	12.1%	17.5%	0.69
Allina Health	Allina Health - Buffalo Crossroads	•	268	16.0%	17.6%	0.91
Allina Health	Allina Health - Burnsville	•	124	19.4%	18.0%	1.08
Allina Health	Allina Health - Cambridge		879	10.8%	17.2%	0.63
Allina Health	Allina Health - Centennial Lakes	•	227	15.0%	18.8%	0.80
Allina Health	Allina Health - Champlin	•	392	14.8%	18.0%	0.82
Allina Health	Allina Health - Chaska	•	104	17.3%	18.5%	0.94
Allina Health	Allina Health - Cokato	•	52	11.5%	16.4%	0.70
Allina Health	Allina Health - Coon Rapids	•	1,181	15.3%	17.4%	0.88
Allina Health	Allina Health - Cottage Grove	•	391	13.0%	17.8%	0.73
Allina Health	Allina Health - Dean Lakes	•	109	16.5%	18.7%	0.88
Allina Health	Allina Health - Eagan	•	460	16.7%	17.8%	0.94
Allina Health	Allina Health - East Lake Street	•	184	15.8%	15.2%	1.04
Allina Health	Allina Health - Edina Family Physicians	•	272	14.0%	19.6%	0.71
Allina Health	Allina Health - Elk River	•	238	12.2%	18.1%	0.67
Allina Health	Allina Health - Faribault	•	500	13.0%	17.3%	0.75
Allina Health	Allina Health - Farmington	•	155	14.8%	19.3%	0.77
Allina Health	Allina Health - Forest Lake	•	325	17.9%	18.4%	0.97
Allina Health	Allina Health - Fridley	•	296	16.9%	16.5%	1.02
Allina Health	Allina Health - Hastings	•	596	16.1%	18.9%	0.85
Allina Health	Allina Health - Highland Park		160	16.3%	17.2%	0.94

📌 Top performer

🔺 Above statewide average

▼ Below statewide average

ъ I.

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		1	120,344	17.0%		
Allina Health	Allina Health - Hopkins	•	156	10.9%	17.4%	0.63
Allina Health	Allina Health - Inver Grove Heights	•	247	16.2%	17.5%	0.93
Allina Health	Allina Health - Isanti	•	188	17.6%	17.5%	1.00
Allina Health	Allina Health - Isles	•	90	14.4%	18.5%	0.78
Allina Health	Allina Health - Lakeville		125	6.4%	19.1%	0.33
Allina Health	Allina Health - Maple Grove	•	199	16.6%	17.5%	0.95
Allina Health	Allina Health - Maplewood	•	238	16.4%	16.4%	1.00
Allina Health	Allina Health - New Ulm Medical Center	▼	511	12.3%	18.0%	0.68
Allina Health	Allina Health - Nicollet Mall	٠	260	13.1%	16.9%	0.77
Allina Health	Allina Health - Northfield	٠	626	16.1%	17.9%	0.90
Allina Health	Allina Health - Oakdale Clinic	٠	116	12.1%	17.1%	0.70
Allina Health	Allina Health - Plymouth	•	346	18.2%	19.3%	0.94
Allina Health	Allina Health - Ramsey		270	10.0%	18.4%	0.54
Allina Health	Allina Health - Richfield	٠	521	14.0%	17.9%	0.78
Allina Health	Allina Health - Savage	٠	155	11.6%	18.2%	0.64
Allina Health	Allina Health - Shakopee	٠	463	14.5%	18.4%	0.78
Allina Health	Allina Health - Sharpe Dillon Cockson & Associates	•	71	12.7%	21.3%	0.60
Allina Health	Allina Health - Shoreview		339	18.0%	18.4%	0.98
Allina Health	Allina Health - St. Francis Health Services - Jordan	•	38	15.8%	18.2%	0.87
Allina Health	Allina Health - St. Michael	•	154	11.7%	18.1%	0.65
	Allina Health - United Medical	•	101	11.170	10.170	0.05
Allina Health	Specialties	•	151	21.9%	17.0%	1.28
Allina Health	Allina Health - Uptown	•	214	17.3%	17.2%	1.00
Allina Health	Allina Health - Vadnais Heights	•	122	13.9%	18.7%	0.74
Allina Health	Allina Health - West St. Paul	•	399	12.3%	16.6%	0.74
Allina Health	Allina Health - Woodbury	•	642	14.6%	18.3%	0.80
Alomere Health	Alexandria Clinic, A Service of Alomere Health	•	529	16.8%	17.5%	0.96
Altru Health System	Altru Health System - Grand Forks		430	6.3%	17.7%	0.36
Amery Hospital and Clinic	AHC - Amery		259	25.9%	17.7%	1.46
Amery Hospital and Clinic	AHC - Turtle Lake	٠	34	29.4%	15.7%	1.87
Apple Valley Medical Clinic	Apple Valley Medical Clinic - Family Practice	•	422	17.3%	19.1%	0.91
Associated Clinic of Psychology	Associated Clinic of Psychology- Apple Valley	•	407	12.5%	16.7%	0.75
Associated Clinic of Psychology	Associated Clinic of Psychology- Brooklyn Center	▼	226	7.5%	14.9%	0.50

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	17.0%		-
Associated Clinic of Psychology	Associated Clinic of Psychology- Minneapolis	▼	1,020	10.7%	15.2%	0.70
Associated Clinic of Psychology	Associated Clinic of Psychology-St Louis Park	٠	839	12.6%	15.7%	0.81
Associated Clinic of Psychology	Associated Clinic of Psychology- West St. Paul	▼	498	11.9%	16.1%	0.74
Bluestone Physician Services	Bluestone Physician Services	•	41	24.4%	18.1%	1.35
Boynton Health Service	Boynton Health Service	٠	1,813	12.3%	13.6%	0.90
Boynton Health Service	Boynton Health Service St. Paul	•	94	10.6%	14.1%	0.76
Catholic Charities Behavioral Health Clinic	Catholic Charities Behavioral Health Clinic	▼	79	3.8%	15.4%	0.25
CCM Health	CCM HEALTH		103	1.0%	17.9%	0.05
Cedar Riverside People's Center	Cedar Riverside People's Center - People's Center Medical Clinic	▼	143	5.6%	12.8%	0.44
CentraCare Health	Carris Health - Litchfield East Clinic	$\mathbf{V}$	88	5.7%	17.0%	0.33
CentraCare Health	Carris Health - Litchfield West Clinic	▼	81	4.9%	16.5%	0.30
CentraCare Health	Carris Health - New London Clinic	•	54	14.8%	18.3%	0.81
CentraCare Health	Carris Health - Redwood Clinic		86	8.1%	16.9%	0.48
CentraCare Health	Carris Health - Willmar Main Clinic	$\mathbf{V}$	474	8.7%	16.1%	0.54
CentraCare Health	Carris Health - Willmar Skylark Clinic	•	31	12.9%	16.9%	0.76
CentraCare Health	Centracare Clinic - Albany		120	7.5%	17.6%	0.43
CentraCare Health	CentraCare Clinic - Becker		185	3.8%	17.4%	0.22
CentraCare Health	CentraCare Clinic - Big Lake		198	6.6%	17.2%	0.38
CentraCare Health	CentraCare Clinic - Northway		422	6.2%	16.0%	0.39
CentraCare Health	Centracare Clinic - SCMG Clearwater Medical Clinic	▼	98	7.1%	18.6%	0.38
CentraCare Health	Centracare Clinic - SCMG Cold Spring Medical Clinic	▼	77	1.3%	17.8%	0.07
CentraCare Health	Centracare Clinic - SCMG Northwest	▼	846	6.3%	16.7%	0.38
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South	▼	350	6.3%	16.1%	0.39
CentraCare Health	CentraCare Clinic - St. Joseph		187	4.3%	16.4%	0.26
CentraCare Health	CentraCare Health - Family Health Center	▼	386	5.2%	14.4%	0.36
CentraCare Health	CentraCare Health - Long Prairie		140	2.9%	16.0%	0.18
CentraCare Health	CentraCare Health - Melrose	· ·	199	6.0%	17.0%	0.35
CentraCare Health	CentraCare Health - Paynesville Clinic	•	123	6.5%	17.1%	0.38

🔺 Above statewide average Average

🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	17.0%		
CentraCare Health	CentraCare Health - Paynesville- Eden Valley	▼	51	0.0%	16.1%	0.00
CentraCare Health	CentraCare Health - Paynesville- Richmond	▼	66	3.0%	16.6%	0.18
CentraCare Health	CentraCare Health - Sauk Centre		182	2.8%	16.6%	0.17
CentraCare Health	CentraCare Health Plaza - Internal Medicine	▼	237	3.8%	18.4%	0.21
CentraCare Health	CentraCare River Campus - Internal Medicine	▼	222	3.2%	19.1%	0.16
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	٠	46	13.0%	15.7%	0.83
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Baxter	٠	101	10.9%	16.9%	0.64
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Crosby Clinic	٠	242	20.3%	17.1%	1.18
Dawson Clinic	Johnson Memorial Health Services - Dawson Clinic	٠	85	17.7%	17.3%	1.02
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	Duluth Family Medicine Clinic (formerly Duluth Family Practice Center)	▼	346	5.5%	12.5%	0.44
Edina Sports Health & Wellness	Edina Sports + Family Medicine	•	118	11.9%	18.1%	0.66
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Como/Roseville (formerly Family HealthServices Minnesota - Larpenteur Clinic)		111	31.5%	16.7%	1.88
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - East Side (formerly Family HealthServices Minnesota - Maryland Clinic)	٠	202	13.9%	15.3%	0.91
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Highland (formerly Family HealthServices Minnesota - Highland Family Physicians)		153	37.9%	17.7%	2.15
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Inver Grove Heights (formerly Family HealthServices Minnesota - Inver Grove Heights)	•	211	25.1%	18.2%	1.38
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - North St. Paul (formerly Family HealthServices Minnesota - North St. Paul Clinic)		207	34.3%	17.1%	2.01

★ Top performer ▲ Above statewide average

Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	17.0%		
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Shoreview (formerly Family HealthServices Minnesota - Shoreview)		197	30.0%	18.5%	1.62
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Vadnais Heights (formerly Family HealthServices Minnesota - Vadnais Heights)	•	153	21.6%	17.9%	1.20
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - West St. Paul (formerly Family HealthServices Minnesota - Gorman Clinic)	*	260	37.7%	16.8%	2.25
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - White Bear Lake/Banning Ave (formerly Family Health Services MN Banning Clinic)		185	30.8%	18.8%	1.64
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Woodbury (formerly Family HealthServices Minnesota - Woodbury)		334	28.1%	18.1%	1.56
Essentia Health	EH Central Baxter Clinic		307	30.9%	16.9%	1.83
Essentia Health	EH Central Brainerd Clinic	*	262	39.7%	17.6%	2.25
Essentia Health	EH Central Crosslake Clinic	*	40	42.5%	18.7%	2.28
Essentia Health	EH Central Hackensack Clinic	•	34	32.4%	15.7%	2.06
Essentia Health	EH Central Lakeland Psychiatry Clinic	•	60	31.7%	16.9%	1.87
Essentia Health	EH Central Pequot Lakes Clinic	•	53	30.2%	17.0%	1.78
Essentia Health	EH Central Pierz Clinic		57	35.1%	16.3%	2.16
Essentia Health	EH Central Pillager Clinic	*	61	41.0%	18.3%	2.24
Essentia Health	EH Central Pine River Clinic		118	31.4%	16.3%	1.92
Essentia Health	EH East Ashland Clinic		193	32.6%	17.6%	1.86
Essentia Health	EH East Chisholm Clinic	•	46	19.6%	16.0%	1.22
Essentia Health	EH East Deer River Clinic		155	32.9%	15.9%	2.07
Essentia Health	EH East Duluth Clinic	•	131	12.2%	15.7%	0.78
Essentia Health	EH East Duluth Clinic 1st St		350	24.3%	15.9%	1.52
Essentia Health	EH East Ely Clinic		102	34.3%	17.5%	1.96
Essentia Health	EH East Grand Rapids Clinic	*	165	37.0%	15.8%	2.33
Essentia Health	EH East Hayward Clinic		155	28.4%	16.3%	1.74
Essentia Health	EH East Hermantown Clinic		295	28.1%	17.4%	1.62
Essentia Health	EH East Hibbing Clinic	•	164	18.9%	15.6%	1.21
Essentia Health	EH East International Falls Clinic		190	28.4%	15.4%	1.85
Essentia Health	EH East Lakeside Clinic		302	26.2%	16.9%	1.55
Essentia Health	EH East Lakewalk Clinic		354	29.4%	15.5%	1.90
Essentia Health	EH East Northern Pines Clinic		110	31.8%	17.3%	1.84
Essentia Health	EH East Proctor Clinic		106	31.1%	16.8%	1.85

▲ Above statewide average

🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	17.0%		
Essentia Health	EH East Spooner Clinic		130	34.6%	16.3%	2.12
Essentia Health	EH East Superior Clinic		458	27.3%	15.9%	1.71
Essentia Health	EH East Virginia Clinic	•	250	22.8%	15.9%	1.44
Essentia Health	EH East West Duluth Clinic		451	26.2%	15.2%	1.72
Essentia Health	EH West 52nd Avenue Clinic		358	29.6%	17.3%	1.72
Essentia Health	EH West Ada Clinic	•	45	24.4%	16.0%	1.53
Essentia Health	EH West Bagely Clinic		72	29.2%	15.1%	1.93
Essentia Health	EH West Detroit Lakes Clinic		412	32.8%	16.5%	1.99
Essentia Health	EH West Fosston Clinic		184	25.0%	15.2%	1.65
Essentia Health	EH West Jamestown Clinic		122	32.0%	17.5%	1.83
Essentia Health	EH West Moorhead		211	28.0%	17.2%	1.63
Essentia Health	EH West Park Rapids Clinic	*	247	40.1%	15.7%	2.55
Essentia Health	EH West Pelican Rapids Clinic		31	32.3%	15.3%	2.11
Essentia Health	EH West South University Clinic	•	116	28.5%	18.3%	1.55
Essentia Health	EH West Valley City Clinic		82	39.0%	18.3%	2.13
Essentia Health	EH West Wahpeton Clinic	*	153	42.5%	18.5%	2.29
Essentia Health	EH West West Acres Clinic	*	228	39.5%	17.5%	2.26
Essentia Health	EH West West Fargo Clinic		285	38.3%	17.8%	2.15
Fairview Health Services	HealthEast Clinic - Hugo	•	111	13.5%	19.1%	0.71
	HealthEast Outpatient Mental	-		2010 / 0	2012/0	
Fairview Health Services	Health and Addiction Care Clinic-		98	6.1%	14.7%	0.42
	St. Joseph's Hospital					
Fairview Health Services	M Health Fairview Clinic Andover		393	10.9%	18.7%	0.58
Fairview Health Services	M Health Fairview Clinic Apple Valley	▼	446	11.7%	18.2%	0.64
Fairview Health Services	M Health Fairview Clinic Bass Lake		254	12.2%	17.8%	0.69
Fairview Health Services	M Health Fairview Clinic Blaine		157	8.9%	17.2%	0.52
Fairview Health Services	M Health Fairview Clinic Brooklyn Park	▼	409	6.1%	16.8%	0.36
Fairview Health Services	M Health Fairview Clinic Burnsville		649	13.4%	18.8%	0.71
Fairview Health Services	M Health Fairview Clinic Chisago City	٠	212	12.7%	18.2%	0.70
Fairview Health Services	M Health Fairview Clinic Columbia Heights	٠	365	13.4%	16.6%	0.81
Fairview Health Services	M Health Fairview Clinic Cottage Grove	•	292	15.1%	18.7%	0.80
Fairview Health Services	M Health Fairview Clinic Downtown St. Paul	٠	191	15.7%	18.0%	0.87
Fairview Health Services	M Health Fairview Clinic Eagan		558	10.4%	18.3%	0.57
Fairview Health Services	M Health Fairview Clinic Eden Prairie	٠	264	24.2%	19.1%	1.27

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	17.0%		
Fairview Health Services	M Health Fairview Clinic Edina		275	11.3%	19.8%	0.57
Fairview Health Services	M Health Fairview Clinic Elk River	٠	318	14.8%	17.8%	0.83
Fairview Health Services	M Health Fairview Clinic		104	15.4%	19.2%	0.80
	Farmington	•	104	13.470		
Fairview Health Services	M Health Fairview Clinic Fridley	•	387	12.4%	17.3%	0.72
Fairview Health Services	M Health Fairview Clinic Grand Avenue	•	285	11.9%	16.1%	0.74
Fairview Health Services	M Health Fairview Clinic Hiawatha	٠	411	13.1%	16.9%	0.78
Fairview Health Services	M Health Fairview Clinic Highland Park	•	301	14.6%	17.2%	0.85
Fairview Health Services	M Health Fairview Clinic Hugo	•	123	12.2%	18.4%	0.66
	M Health Fairview Clinic Integrated	_				
Fairview Health Services	Primary Care		141	4.3%	15.7%	0.27
Fairview Health Services	M Health Fairview Clinic Lake Street	•	142	8.5%	15.5%	0.55
Fairview Health Services	M Health Fairview Clinic Lakeville		176	10.8%	19.0%	0.57
Fairview Health Services	M Health Fairview Clinic Lino Lakes	•	152	13.8%	18.7%	0.74
Fairview Health Services	M Health Fairview Clinic Maplewood	•	154	18.8%	16.7%	1.13
Fairview Health Services	M Health Fairview Clinic Milaca	•	211	13.7%	16.4%	0.84
Fairview Health Services	M Health Fairview Clinic New Brighton	•	294	11.6%	16.9%	0.68
Fairview Health Services	M Health Fairview Clinic North Branch	•	395	13.9%	17.3%	0.81
Fairview Health Services	M Health Fairview Clinic Oakdale	•	330	15.5%	17.5%	0.88
Fairview Health Services	M Health Fairview Clinic Oxboro		241	11.6%	18.9%	0.62
Fairview Health Services	M Health Fairview Clinic Pine City	•	75	21.3%	16.6%	1.28
Fairview Health Services	M Health Fairview Clinic Princeton	٠	605	14.2%	17.4%	0.82
Fairview Health Services	M Health Fairview Clinic Prior Lake	•	226	14.2%	19.1%	0.74
Fairview Health Services	M Health Fairview Clinic Rice Street	•	266	9.4%	13.5%	0.70
Fairview Health Services	M Health Fairview Clinic Riverside	$\mathbf{V}$	253	9.1%	15.5%	0.59
Fairview Health Services	M Health Fairview Clinic Rogers	•	124	13.7%	18.6%	0.74
Fairview Health Services	M Health Fairview Clinic Roselawn	•	281	20.3%	14.1%	1.44
Fairview Health Services	M Health Fairview Clinic Rosemount	•	137	13.1%	18.6%	0.71
Fairview Health Services	M Health Fairview Clinic Roseville		182	13.7%	16.6%	0.83
Fairview Health Services	M Health Fairview Clinic Savage	•	83	14.5%	18.6%	0.78
Fairview Health Services	M Health Fairview Clinic Tamarack	•	228	14.9%	18.0%	0.83
Fairview Health Services	M Health Fairview Clinic Uptown		295	10.9%	16.8%	0.65

🔺 Above statewide average

• Average 🛛 🔻 B

▼ Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE	•		120,344	17.0%		
Fairview Health Services	M Health Fairview Clinic Vadnais Heights	•	229	11.8%	18.6%	0.63
Fairview Health Services	M Health Fairview Clinic Woodwinds	▼	207	10.1%	18.4%	0.55
Fairview Health Services	M Health Fairview Clinic Wyoming		529	10.8%	18.0%	0.60
Fairview Health Services	M Health Fairview Clinic Xerxes	٠	250	12.4%	18.2%	0.68
Fairview Health Services	M Health Fairview Clinic Zimmerman	•	232	18.1%	18.2%	0.99
Fairview Health Services	M Health Fairview Geriatric Services	▼	71	5.6%	21.1%	0.27
Fairview Health Services	M Health Fairview Clinic Midway	•	165	15.8%	16.5%	0.96
Fairview Health Services	M Health Fairview Clinic Stillwater	٠	155	19.4%	18.4%	1.05
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	•	486	15.6%	15.4%	1.02
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Mountain Iron	•	206	16.5%	16.2%	1.02
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Nashwauk	•	67	19.4%	17.0%	1.14
Family Practice Medical Center of Willmar	Family Practice Medical Center of Willmar	▼	166	7.8%	16.1%	0.49
France Avenue Family Physicians - Minnesota Healthcare Network	France Avenue Family Physicians - Minnesota Healthcare Network	•	94	11.7%	18.5%	0.63
Glencoe Regional Health Services	Glencoe Regional Health Services - Glencoe	•	274	17.2%	17.3%	0.99
Glencoe Regional Health Services	Glencoe Regional Health Services - Lester Prairie	•	49	22.5%	20.0%	1.12
Glenwood Medical Center Grand Itasca Clinic	Glenwood Medical Center Grand Itasca Clinic	•	48 677	0.0% 15.1%	16.8% 16.3%	0.00 0.93
Granite Falls Municipal Hospital & Manor Clinic	Granite Falls Health Clinic	•	39	5.1%	16.8%	0.31
Gundersen Health System	Gundersen Health System - Houston Clinic	•	34	8.8%	17.9%	0.49
Gundersen Health System	Gundersen Health System - La Crescent Clinic	•	110	19.1%	18.1%	1.05
Gundersen Health System	Gundersen Health System - Spring Grove Clinic	•	46	19.6%	17.3%	1.13
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics		652	28.4%	16.2%	1.75
HealthPartners Clinics	HealthPartners - Andover		126	26.2%	19.6%	1.34

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

 182 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC
 ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	17.0%		-
HealthPartners Clinics	HealthPartners - Anoka	•	304	20.4%	18.2%	1.12
HealthPartners Clinics	HealthPartners - Apple Valley	•	162	17.9%	18.3%	0.98
HealthPartners Clinics	HealthPartners - Arden Hills		230	36.1%	18.4%	1.96
HealthPartners Clinics	HealthPartners - Bloomington		179	26.8%	17.5%	1.54
HealthPartners Clinics	HealthPartners - Brooklyn Center	٠	166	19.9%	16.0%	1.25
HealthPartners Clinics	HealthPartners - Como		413	25.9%	17.4%	1.49
HealthPartners Clinics	HealthPartners - Coon Rapids		202	26.7%	18.1%	1.47
HealthPartners Clinics	HealthPartners - Cottage Grove	•	69	31.9%	18.1%	1.76
HealthPartners Clinics	HealthPartners - Ctr for Internatl Hlth	•	30	23.3%	13.9%	1.67
HealthPartners Clinics	HealthPartners - Curve Crest Clinic		768	29.7%	19.6%	1.52
HealthPartners Clinics	HealthPartners - Eagan	٠	151	21.9%	18.0%	1.21
HealthPartners Clinics	HealthPartners - Elk River		203	31.5%	17.9%	1.77
HealthPartners Clinics	HealthPartners - Highland Park	•	63	17.5%	16.3%	1.07
HealthPartners Clinics	HealthPartners - Hlth Ctr for Women		186	34.4%	18.1%	1.91
HealthPartners Clinics	HealthPartners - Hugo	٠	49	28.6%	19.3%	1.48
HealthPartners Clinics	HealthPartners - Inver Grove Behav Hlth		307	27.4%	17.5%	1.56
HealthPartners Clinics	HealthPartners - Inver Grove Heights	٠	102	21.6%	17.4%	1.24
HealthPartners Clinics	HealthPartners - Lino Lakes		138	35.5%	19.1%	1.86
HealthPartners Clinics	HealthPartners - Mahtomedi Clinic	•	58	32.8%	20.0%	1.64
HealthPartners Clinics	HealthPartners - Maplewood		299	23.4%	16.3%	1.44
HealthPartners Clinics	HealthPartners - Midway	٠	105	22.9%	14.2%	1.61
HealthPartners Clinics	HealthPartners - Nokomis	•	113	22.1%	16.9%	1.31
HealthPartners Clinics	HealthPartners - Regions BH Maplewood		498	25.9%	16.8%	1.54
HealthPartners Clinics	HealthPartners - Regions BH Woodbury		273	29.7%	18.4%	1.62
HealthPartners Clinics	HealthPartners - Riverside	•	201	17.4%	15.0%	1.16
HealthPartners Clinics	HealthPartners - Riverside Behav Hlth		183	27.9%	16.5%	1.69
HealthPartners Clinics	HealthPartners - Roseville		164	28.1%	17.9%	1.57
HealthPartners Clinics	HealthPartners - Somerset Clinic	•	174	24.1%	18.9%	1.28
HealthPartners Clinics	HealthPartners - St Paul	•	356	19.4%	14.8%	1.31
HealthPartners Clinics	HealthPartners - University Ave	•	130	25.4%	17.1%	1.48
HealthPartners Clinics	HealthPartners - West		160	29.4%	18.2%	1.62
HealthPartners Clinics	HealthPartners - West Behav Hlth		337	25.8%	17.2%	1.50
HealthPartners Clinics	HealthPartners - White Bear Lake		163	31.3%	19.4%	1.62
HealthPartners Clinics	HealthPartners - Woodbury		378	31.5%	18.0%	1.75

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	17.0%		
Hendricks Community Hospital Association	Hendricks Clinic	▼	42	2.4%	19.0%	0.13
Hennepin Healthcare	Hennepin Healthcare Adult Psychiatry Clinic	▼	195	2.1%	14.8%	0.14
Hennepin Healthcare	Hennepin Healthcare Brooklyn Center Clinic	•	34	8.8%	14.2%	0.62
Hennepin Healthcare	Hennepin Healthcare Brooklyn Park Clinic	٠	139	7.9%	14.3%	0.55
Hennepin Healthcare	Hennepin Healthcare Downtown Medicine Clinic	▼	249	2.4%	13.8%	0.18
Hennepin Healthcare	Hennepin Healthcare East Lake Clinic	•	191	7.9%	13.1%	0.60
Hennepin Healthcare	Hennepin Healthcare Golden Valley Clinic	•	117	9.4%	14.9%	0.63
Hennepin Healthcare	Hennepin Healthcare Internal Medicine Clinic Parkside	▼	49	0.0%	14.5%	0.00
Hennepin Healthcare	Hennepin Healthcare North Loop Clinic and Pharmacy	▼	60	1.7%	14.1%	0.12
Hennepin Healthcare	Hennepin Healthcare Richfield Clinic	▼	195	7.7%	14.7%	0.52
Hennepin Healthcare	Hennepin Healthcare Whittier Clinic	▼	156	3.9%	13.4%	0.29
Hennepin Healthcare	Hennepin Healthcare Women's Health and Wellness Clinic	▼	37	2.7%	14.0%	0.19
Hutchinson Health	Hutchinson Health - Hutchinson Clinic	▼	349	9.7%	17.3%	0.56
Hutchinson Health	Hutchinson Health - Mental Health Clinic	٠	180	12.8%	17.5%	0.73
Indian Health Board of Minneapolis	Indian Health Board of Minneapolis	•	104	8.7%	12.0%	0.72
Kittson Healthcare Clinic	Kittson Memorial Clinic - Hallock	•	34	8.8%	18.8%	0.47
Lac Qui Parle Clinic	Lac Qui Parle Clinic	•	36	22.2%	17.2%	1.29
Lake Region Healthcare	Lake Region Healthcare - Barnesville Clinic	٠	41	12.2%	16.4%	0.74
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls		430	25.4%	17.2%	1.47
Lake Superior Community Health	Lake Superior Community Health	•	121	9.9%	14.3%	0.69
Center	Center - Duluth					
Lake Superior Community Health Center	Lake Superior Community Health Center-Superior	•	182	11.5%	14.8%	0.78
Lake View Clinic - Two Harbors	Lake View Clinic - Two Harbors		82	4.9%	17.1%	0.29

🔺 Above statewide average

• Average 🛛 🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	17.0%		-
Lakeland Mental Health Center	Lakeland Mental Health Center - Alexandria	•	183	11.5%	16.5%	0.69
Lakeland Mental Health Center	Lakeland Mental Health Center - Detroit Lakes	▼	132	4.6%	14.7%	0.31
Lakeland Mental Health Center	Lakeland Mental Health Center - Fergus Falls	•	284	11.6%	15.1%	0.77
Lakeland Mental Health Center	Lakeland Mental Health Center - Glenwood	•	70	8.6%	15.7%	0.55
Lakeland Mental Health Center	Lakeland Mental Health Center - Moorhead	•	465	12.9%	14.8%	0.87
Lakewood Health System	Lakewood Health System - Browerville Clinic	•	89	23.6%	16.6%	1.43
Lakewood Health System	Lakewood Health System - Eagle Valley Clinic	•	44	13.6%	14.6%	0.94
Lakewood Health System	Lakewood Health System - Motley Clinic	•	105	20.0%	16.1%	1.24
Lakewood Health System	Lakewood Health System - Pillager Clinic	•	211	18.5%	15.2%	1.22
Lakewood Health System	Lakewood Health System - Staples Clinic	•	186	21.0%	15.0%	1.40
Madelia Community Hospital & Clinic	Madelia Community Hospital & Clinic	•	52	19.2%	15.6%	1.23
Mankato Clinic, Ltd.	Mankato Clinic - Daniel's Health Center	•	121	16.5%	16.7%	0.99
Mankato Clinic, Ltd.	Mankato Clinic - Department of Psychiatry & Psychology		647	24.7%	17.2%	1.44
Mankato Clinic, Ltd.	Mankato Clinic - Main Street	•	267	21.0%	16.9%	1.24
Mankato Clinic, Ltd.	Mankato Clinic - North Mankato	*	162	41.4%	16.7%	2.47
Mankato Clinic, Ltd.	Mankato Clinic - Wickersham Campus		249	29.7%	16.8%	1.77
Mayo Clinic	Mayo Clinic - Baldwin Building, Family Medicine		378	25.4%	17.2%	1.47
Mayo Clinic	Mayo Clinic - Baldwin Building, Primary Care Internal Medicine		557	26.2%	18.5%	1.42
Mayo Clinic	Mayo Clinic - Generose Building	•	74	4.1%	18.1%	0.22
Mayo Clinic	Mayo Clinic - Kasson		218	26.6%	18.6%	1.43
Mayo Clinic	Mayo Clinic - Northeast		357	27.5%	18.1%	1.52
Mayo Clinic	Mayo Clinic - Northwest		339	24.2%	17.7%	1.37
Mayo Clinic	Mayo Clinic - Speciality Practice		942	6.7%	18.3%	0.37
Mayo Clinic	Mayo Family Clinic Southeast		244	31.2%	18.3%	1.70
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	•	450	14.0%	16.4%	0.85

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	17.0%		
Mayo Clinic Health System	Mayo Clinic Health System Austin		597	12.2%	16.7%	0.73
Mayo Clinic Health System	Mayo Clinic Health System Belle Plaine	•	47	21.3%	18.1%	1.18
Mayo Clinic Health System	Mayo Clinic Health System Cannon Falls	٠	109	11.0%	18.8%	0.59
Mayo Clinic Health System	Mayo Clinic Health System Fairmont	•	305	21.6%	16.2%	1.34
Mayo Clinic Health System	Mayo Clinic Health System Faribault Campus Location	٠	129	14.0%	17.6%	0.79
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in Caledonia	٠	39	18.0%	16.4%	1.09
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in LaCrescent	•	56	23.2%	17.9%	1.30
Mayo Clinic Health System	Mayo Clinic Health System Lake City	٠	120	12.5%	18.0%	0.69
Mayo Clinic Health System	Mayo Clinic Health System Lake Crystal	•	71	7.0%	15.5%	0.46
Mayo Clinic Health System	Mayo Clinic Health System Le Sueur	٠	63	17.5%	17.2%	1.01
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge	٠	506	21.0%	16.2%	1.29
Mayo Clinic Health System	Mayo Clinic Health System Mankato Northridge	٠	214	17.3%	16.2%	1.07
Mayo Clinic Health System	Mayo Clinic Health System Mankato Specialty Clinic	٠	49	22.5%	17.9%	1.26
Mayo Clinic Health System	Mayo Clinic Health System Montgomery	٠	35	5.7%	16.6%	0.34
Mayo Clinic Health System	Mayo Clinic Health System New Prague	٠	97	23.7%	18.0%	1.32
Mayo Clinic Health System	Mayo Clinic Health System Owatonna	▼	644	11.2%	18.0%	0.62
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	٠	363	13.5%	18.6%	0.72
Mayo Clinic Health System	Mayo Clinic Health System Red Wing in Zumbrota	٠	62	17.7%	19.2%	0.93
Mayo Clinic Health System	Mayo Clinic Health System Springfield	٠	54	20.4%	17.4%	1.17
Mayo Clinic Health System	Mayo Clinic Health System St. James	٠	90	17.8%	17.1%	1.04

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	17.0%		
Mayo Clinic Health System	Mayo Clinic Health System St. Peter		170	25.9%	17.0%	1.52
Mayo Clinic Health System	Mayo Clinic Health System Waseca	•	96	13.5%	18.1%	0.75
Mental Health Resources	Mental Health Outreach Clinic	•	47	4.3%	13.2%	0.32
Mille Lacs Health System	Mille Lacs Health System - Isle	•	39	7.7%	15.7%	0.49
Mille Lacs Health System	Mille Lacs Health System - Onamia	•	79	11.4%	15.9%	0.72
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood,	Minnesota Mental Health Clinics - Eagan Clinic	▼	756	10.7%	16.6%	0.65
Minneapolis, Woodbury) Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Apple Valley	•	59	22.0%	17.4%	1.27
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Lakeville Clinic	٠	75	8.0%	17.6%	0.46
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Maplewood Clinic	▼	138	8.0%	16.5%	0.48
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Woodbury Clinic	•	166	10.8%	17.3%	0.63
Natalis Counseling & Psychology Solutions	Natalis Counseling - Main Location	▼	346	1.5%	13.4%	0.11
Native American Community Clinic	Native American Community Clinic	•	232	15.5%	11.9%	1.30
Neighborhood Healthsource	Neighborhood HealthSource - Central Clinic	•	62	8.1%	13.9%	0.58
Neighborhood Healthsource	Neighborhood HealthSource - Fremont Clinic	•	43	9.3%	12.8%	0.73
Neighborhood Healthsource	Neighborhood HealthSource - Sheridan Clinic	٠	32	9.4%	13.9%	0.68
North Memorial	North Memorial Health - Minnetonka Medical Center	٠	173	13.3%	18.1%	0.73
North Memorial	North Memorial Health Clinic - Blaine	•	59	6.8%	18.5%	0.37
North Memorial	North Memorial Health Clinic - Brooklyn Center	•	120	9.2%	14.9%	0.62

▲ Above statewide average ● Average

🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	17.0%		
North Memorial	North Memorial Health Clinic - Brooklyn Park	•	103	9.7%	17.0%	0.57
North Memorial	North Memorial Health Clinic - Camden	•	145	9.0%	13.3%	0.67
North Memorial	North Memorial Health Clinic - Downtown Minneapolis	•	148	12.8%	14.9%	0.86
North Memorial	North Memorial Health Clinic - Elk River	▼	173	9.8%	17.4%	0.57
North Memorial	North Memorial Health Clinic - Golden Valley	•	196	13.3%	17.2%	0.77
North Memorial	North Memorial Health Clinic - Maple Grove	٠	102	16.7%	17.7%	0.94
North Memorial	North Memorial Health Clinic - New Hope	•	225	14.7%	17.6%	0.83
North Memorial	North Memorial Health Clinic - St. Anthony	▼	236	10.6%	18.0%	0.59
North Memorial	North Memorial Health Internal Medicine - Maple Grove	▼	100	7.0%	19.6%	0.36
North Memorial	North Memorial Health Mental Health	▼	129	2.3%	15.4%	0.15
Northern Psychiatric Associates	Northern Psychiatric Associates		343	8.2%	16.7%	0.49
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Farmington Clinic	•	39	10.3%	19.6%	0.52
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lakeville Clinic	•	58	13.8%	18.2%	0.76
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lonsdale Clinic	•	32	6.3%	18.8%	0.33
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Northfield Clinic	•	96	13.5%	18.4%	0.74
NorthPoint Health & Wellness Center	NorthPoint Health & Wellness Center	▼	677	5.2%	12.2%	0.42
Northwest Family Physicians	Northwest Family Physicians - Crystal	▼	266	6.4%	17.0%	0.38
Northwest Family Physicians	Northwest Family Physicians - Plymouth	▼	108	9.3%	19.6%	0.47
Northwest Family Physicians	Northwest Family Physicians - Rogers	▼	94	7.5%	19.3%	0.39
Northwestern Mental Health Center	Northwestern Mental Health Center	٠	393	10.9%	15.0%	0.73
Olmsted Medical Center	Olmsted Medical Center - Byron Clinic		119	31.9%	16.3%	1.96

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	17.0%		
Olmsted Medical Center	Olmsted Medical Center - Chatfield Clinic	•	63	23.8%	17.9%	1.33
Olmsted Medical Center	Olmsted Medical Center - Lake City	•	46	28.3%	17.9%	1.58
Olmsted Medical Center	Olmsted Medical Center - Pine Island Clinic		78	32.1%	15.5%	2.07
Olmsted Medical Center	Olmsted Medical Center - Plainview Clinic	•	49	24.5%	17.6%	1.39
Olmsted Medical Center	Olmsted Medical Center - Preston Clinic	٠	67	19.4%	17.4%	1.12
Olmsted Medical Center	Olmsted Medical Center - Rochester Northwest	٠	205	22.0%	16.0%	1.37
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast		588	21.6%	16.3%	1.33
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast - Psychiatry		375	24.8%	17.1%	1.45
Olmsted Medical Center	Olmsted Medical Center - Skyway Clinic	٠	100	20.0%	14.9%	1.35
Olmsted Medical Center	Olmsted Medical Center - Spring Valley Clinic	•	31	32.3%	16.0%	2.01
Olmsted Medical Center	Olmsted Medical Center - St. Charles Clinic	٠	70	18.6%	16.8%	1.11
Olmsted Medical Center	Olmsted Medical Center - Stewartville Clinic	٠	137	19.7%	15.7%	1.26
Open Cities Health Center	Open Cities Health (Dunlap) - Family Medicine	▼	144	5.6%	13.1%	0.43
Open Cities Health Center	Open Cities Health Center (North End)- Family Medicine	▼	93	3.2%	12.5%	0.26
Open Door Health Center	Open Door Health Center	•	162	8.6%	14.0%	0.62
Ortonville Area Health Services- Northside Medical Clinic	Ortonville Area Health Services- Northside Medical Clinic	•	142	23.9%	17.3%	1.38
Park Nicollet Health Services	Park Nicollet Clinic - Bloomington	•	271	23.6%	18.4%	1.28
Park Nicollet Health Services	Park Nicollet Clinic - Brookdale		501	23.4%	16.2%	1.44
Park Nicollet Health Services	Park Nicollet Clinic - Burnsville		704	31.1%	18.3%	1.70
Park Nicollet Health Services	Park Nicollet Clinic - Carlson		375	28.8%	19.0%	1.52
Park Nicollet Health Services	Park Nicollet Clinic - Champlin		209	26.3%	17.6%	1.49
Park Nicollet Health Services	Park Nicollet Clinic - Chanhassen	•	410	22.9%	19.6%	1.17
Park Nicollet Health Services	Park Nicollet Clinic - Creekside	•	77	28.6%	18.9%	1.51
Park Nicollet Health Services	Park Nicollet Clinic - Eagan		440	36.8%	18.4%	2.00
Park Nicollet Health Services	Park Nicollet Clinic - Eden Prairie		291	28.5%	18.9%	1.51
Park Nicollet Health Services	Park Nicollet Clinic - Golden Valley	•	290	25.2%	18.7%	1.34
Park Nicollet Health Services	Park Nicollet Clinic - Lakeville	•	116	22.4%	18.0%	1.25
Park Nicollet Health Services	Park Nicollet Clinic - Maple Grove		328	33.2%	18.5%	1.80

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	17.0%		
Park Nicollet Health Services	Park Nicollet Clinic - Minneapolis		396	23.5%	15.1%	1.55
Park Nicollet Health Services	Park Nicollet Clinic - Plymouth		381	34.1%	18.7%	1.83
Park Nicollet Health Services	Park Nicollet Clinic - Prior Lake		236	27.5%	18.5%	1.49
Park Nicollet Health Services	Park Nicollet Clinic - Psychiatry		3,122	25.0%	18.1%	1.38
Park Nicollet Health Services	Park Nicollet Clinic - Rogers	•	100	29.0%	18.7%	1.55
Park Nicollet Health Services	Park Nicollet Clinic - Shakopee		521	30.7%	17.6%	1.74
Park Nicollet Health Services	Park Nicollet Clinic - Shorewood		170	30.6%	19.8%	1.55
Park Nicollet Health Services	Park Nicollet Clinic - SmartCare		144	38.2%	18.2%	2.10
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Family Medicine		663	24.6%	17.9%	1.37
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Internal Medicine		380	30.8%	20.0%	1.54
Park Nicollet Health Services	Park Nicollet Clinic - Target Health and Well-Being Center	*	61	41.0%	13.6%	3.02
Park Nicollet Health Services	Park Nicollet Clinic - Target Health and Well-Being Center North	*	30	36.7%	13.3%	2.75
Park Nicollet Health Services	Park Nicollet Clinic - Wayzata		220	36.8%	19.9%	1.85
Park Nicollet Health Services	Park Nicollet Clinic - Women's Services	•	136	19.9%	17.3%	1.15
People Incorporated Stark Mental Health Clinic	Family Life Mental Health Center	▼	398	5.5%	15.2%	0.36
People Incorporated Stark Mental Health Clinic	Stark Clinic- Northside	•	93	4.3%	11.4%	0.38
People Incorporated Stark Mental Health Clinic	Stark Clinic-York	▼	71	0.0%	12.6%	0.00
People Incorporated Stark Mental Health Clinic	Stark Mental Health Clinic	▼	213	6.1%	12.7%	0.48
Perham Health	Perham Health Clinic		209	1.4%	16.7%	0.09
Perham Health	Perham Health New York Mills Clinic	•	43	7.0%	17.1%	0.41
Planned Parenthood Minnesota, North Dakota, South Dakota	Planned Parenthood Minnesota, North Dakota, South Dakota - Duluth	▼	35	0.0%	12.1%	0.00
Planned Parenthood Minnesota, North Dakota, South Dakota	Planned Parenthood Minnesota, North Dakota, South Dakota - St Cloud	▼	69	0.0%	11.9%	0.00
Prairie Ridge Hospital & Health Services	Prairie Ridge Hospital & Health Services - Elbow Lake	٠	62	9.7%	16.2%	0.60
Rainy Lake Medical Center	Rainy Lake Medical Center - Rural Health Clinic	▼	58	1.7%	14.5%	0.12
Ramsey County Mental Health	Ramsey County Mental Health Center	▼	198	1.0%	12.6%	0.08

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	17.0%		
Renville County Hospital and	Renville County Hospital and		46	6.5%	14.5%	0.45
Clinics	Clinics - Olivia	•	40			
Richfield Medical Group	Richfield Medical Group		173	0.6%	20.1%	0.03
Ridgeview Clinics	Ridgeview Chanhassen Clinic		117	2.6%	19.6%	0.13
Ridgeview Clinics	Ridgeview Delano Clinic		101	1.0%	19.2%	0.05
Ridgeview Clinics	Ridgeview Excelsior Clinic		49	0.0%	19.9%	0.00
Ridgeview Clinics	Ridgeview Howard Lake Clinic		35	2.9%	17.8%	0.16
Ridgeview Clinics	Ridgeview Westonka Clinic		137	0.0%	19.2%	0.00
RiverView Health	RiverView Clinic		101	2.0%	16.3%	0.12
Riverwood Healthcare Center	Riverwood Aitkin Clinic	•	190	10.5%	16.8%	0.63
Riverwood Healthcare Center	<b>Riverwood Garrison Clinic</b>	•	43	23.3%	17.7%	1.32
Riverwood Healthcare Center	Riverwood McGregor Clinic	•	85	18.8%	16.5%	1.14
Sanford Health	Sanford Aberdeen Clinic	•	243	21.4%	17.7%	1.21
Sanford Health	Sanford Bagley Clinic	•	65	12.3%	15.2%	0.81
Sanford Health	Sanford Bemidji 1611 Anne St Clinic - Family Medicine	•	42	23.8%	14.8%	1.61
Sanford Health	Sanford Bemidji Main Clinic - Family Medicine	•	500	14.0%	15.3%	0.91
Sanford Health	Sanford Bemidji Main Clinic - Internal Medicine	•	52	26.9%	18.8%	1.43
Sanford Health	Sanford Canby Clinic		74	23.0%	18.6%	1.24
Sanford Health	Sanford Canton Clinic	•	69	20.3%	18.0%	1.13
Sanford Health	Sanford East Grand Forks Clinic		112	6.3%	16.2%	0.39
Sanford Health	Sanford Fargo Broadway Clinic - Family Medicine Residency	٠	89	19.1%	17.4%	1.10
Sanford Health	Sanford Fargo Broadway Clinic - Behavioral Health	•	292	20.2%	18.1%	1.12
Sanford Health	Sanford Fargo Broadway Clinic - Internal Medicine	٠	142	13.4%	18.8%	0.71
Sanford Health	Sanford Fargo Internal Medicine Residency Clinic	٠	54	20.4%	16.8%	1.21
Sanford Health	Sanford Fargo North Fargo Clinic	•	262	19.9%	17.4%	1.14
Sanford Health	Sanford Fargo Professional Building - Behavioral Health	•	66	16.7%	16.9%	0.99
Sanford Health	Sanford Fargo South University Clinic - Specialty Clinics	•	120	15.8%	17.8%	0.89
Sanford Health	Sanford Fargo Southpointe Clinic - Behavioral Health	•	41	12.2%	16.1%	0.76
Sanford Health	Sanford Fargo Southpointe Clinic - Family Medicine	٠	556	16.6%	17.5%	0.94
Sanford Health	Sanford Fargo Southpointe Clinic - Internal Medicine	٠	280	19.6%	19.1%	1.03

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		1	120,344	17.0%		
Sanford Health	Sanford Hawley Clinic	•	56	16.1%	17.7%	0.91
Sanford Health	Sanford Health Alexandria Broadway Clinic	•	354	12.2%	17.0%	0.72
Sanford Health	Sanford Health Beresford Clinic	٠	37	21.6%	18.4%	1.18
Sanford Health	Sanford Health Brookings Clinic	•	240	21.3%	17.1%	1.25
Sanford Health	Sanford Health Detroit Lakes Clinic		495	11.5%	16.8%	0.69
Sanford Health	Sanford Health Enderlin Clinic	٠	38	13.2%	18.6%	0.71
Sanford Health	Sanford Health Hillsboro Clinic	٠	48	20.8%	18.0%	1.16
Sanford Health	Sanford Health Jamestown Clinic	٠	366	14.5%	18.1%	0.80
Sanford Health	Sanford Health Lisbon Clinic	•	41	19.5%	18.9%	1.03
Sanford Health	Sanford Health Mahnomen Clinic	•	37	24.3%	13.4%	1.81
Sanford Health	Sanford Health Mountain Lake Clinic	•	50	24.0%	15.0%	1.60
Sanford Health	Sanford Health Oakes Clinic		33	27.3%	19.1%	1.43
Sanford Health	Sanford Health Parkers Prairie Clinic	•	34	23.5%	17.0%	1.39
Sanford Health	Sanford Health Pelican Rapids Clinic	•	62	16.1%	16.7%	0.96
Sanford Health	Sanford Health Pierre Clinic	٠	43	32.6%	16.6%	1.96
Sanford Health	Sanford Health Valley City Clinic	•	132	28.0%	18.8%	1.49
Sanford Health	Sanford Health Vermillion Clinic	٠	150	10.0%	15.1%	0.66
Sanford Health	Sanford Health Wahpeton Clinic	•	247	11.3%	17.5%	0.65
Sanford Health	Sanford Health Walker Clinic	٠	37	16.2%	15.5%	1.05
Sanford Health	Sanford Health Watertown Clinic		156	28.2%	17.3%	1.63
Sanford Health	Sanford Health Wheaton Clinic	٠	36	22.2%	17.0%	1.31
Sanford Health	Sanford Health Windom Clinic	٠	45	13.3%	15.7%	0.85
Sanford Health	Sanford Jackson Clinic		70	34.3%	17.7%	1.94
Sanford Health	Sanford Lakefield Clinic	•	44	38.6%	17.4%	2.22
Sanford Health	Sanford Luverne Clinic	٠	63	22.2%	16.8%	1.32
Sanford Health	Sanford Mayville Clinic	*	41	48.8%	18.2%	2.68
Sanford Health	Sanford Moorhead Clinic - Behavioral Health	•	739	18.9%	18.2%	1.04
Sanford Health	Sanford Moorhead Clinic - Family Medicine	•	282	19.5%	16.4%	1.19
Sanford Health	Sanford Moorhead Clinic - Internal Medicine		159	32.1%	18.0%	1.78
Sanford Health	Sanford Rock Rapids Clinic	٠	53	28.3%	17.3%	1.64
Sanford Health	Sanford Sheldon Clinic		253	30.8%	16.9%	1.82
Sanford Health	Sanford Sioux Falls 26th & Sycamore Family Medicine Clinic	•	88	17.1%	17.3%	0.98

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	17.0%		
Sanford Health	Sanford Sioux Falls 34th & Kiwanis Family Medicine Clinic	٠	62	6.5%	16.6%	0.39
Sanford Health	Sanford Sioux Falls 49th & Oxbow Family Medicine Clinic	•	184	23.4%	17.3%	1.35
Sanford Health	Sanford Sioux Falls 4th & Sycamore Family Medicine Clinic	٠	37	29.7%	16.6%	1.79
Sanford Health	Sanford Sioux Falls 69th & Louise Family Medicine Clinic	٠	74	25.7%	16.8%	1.53
Sanford Health	Sanford Sioux Falls 69th & Minnesota Family Medicine Clinic	٠	114	20.2%	17.6%	1.15
Sanford Health	Sanford Sioux Falls Internal Medicine Clinic	•	59	17.0%	20.0%	0.85
Sanford Health	Sanford Sioux Falls Women's Internal Medicine	٠	42	21.4%	19.5%	1.10
Sanford Health	Sanford Thief River Falls Clinic		171	7.0%	17.7%	0.40
Sanford Health	Sanford Tracy Clinic	•	51	23.5%	15.6%	1.51
Sanford Health	Sanford Webster Clinic		38	26.3%	16.5%	1.59
Sanford Health	Sanford West Fargo Clinic - Family Medicine		329	27.4%	18.2%	1.51
Sanford Health	Sanford Westbrook Clinic	*	38	42.1%	16.8%	2.50
Sanford Health	Sanford Worthington Clinic	•	179	16.8%	16.0%	1.05
Sawtooth Mountain Clinic	Sawtooth Mountain Clinic, Inc		87	18.4%	17.0%	1.08
Scandia Clinic	Scandia Clinic		51	0.0%	17.4%	0.00
Scenic Rivers Health Services	Scenic Rivers Health Services - Bigfork	•	58	6.9%	16.4%	0.42
Scenic Rivers Health Services	Scenic Rivers Health Services - Cook	٠	54	7.4%	18.1%	0.41
Sibley Medical Center DBA Ridgeview Sibley Medical Center	Ridgeview Arlington Clinic	•	38	10.5%	17.1%	0.62
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville	٠	65	6.2%	15.2%	0.40
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina	٠	43	4.7%	15.2%	0.31
Southside Community Health Services	Southside Medical Clinic	٠	71	11.3%	13.7%	0.83
Southwestern Mental Health Center	Southwestern Mental Health Center-Worthington	▼	311	5.5%	14.8%	0.37
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Frederic Clinic	٠	50	26.0%	17.0%	1.53
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Lindstrom Clinic	•	97	12.4%	18.5%	0.67

▲ Above statewide average ● Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

 193 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC
 ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	17.0%		-
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic	٠	380	14.5%	18.0%	0.80
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Unity Clinic	▼	123	8.1%	17.2%	0.47
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Webster Clinic	٠	55	12.7%	16.3%	0.78
St. Luke's Clinics	St Luke's Clinics-Chequamegon Clinic	٠	57	5.3%	16.4%	0.32
St. Luke's Clinics	St Luke's Clinics-Hibbing Family Medical Clinic	▼	81	6.2%	16.1%	0.38
St. Luke's Clinics	St Luke's Clinics-Internal Medicine Associates	٠	105	13.3%	18.2%	0.73
St. Luke's Clinics	St Luke's Clinics-Laurentian	•	53	7.6%	16.0%	0.47
St. Luke's Clinics	St Luke's Clinics-Lester River		54	0.0%	16.8%	0.00
St. Luke's Clinics	St Luke's Clinics-Mariner Medical Clinic	•	60	16.7%	18.9%	0.88
St. Luke's Clinics	St Luke's Clinics-Medical Arts Clinic	•	40	5.0%	14.7%	0.34
St. Luke's Clinics	St Luke's Clinics-Mental Health	•	354	12.2%	17.0%	0.72
St. Luke's Clinics	St Luke's Clinics-Mount Royal		69	4.4%	16.4%	0.27
St. Luke's Clinics	St Luke's Clinics-P.S. Rudie Medical Clinic	٠	129	8.5%	15.9%	0.54
Stellis Health, PA	Stellis Health - Albertville-St. Michael Clinic	▼	121	9.1%	18.3%	0.50
Stellis Health, PA	Stellis Health-Buffalo Clinic		351	11.7%	17.8%	0.66
Stellis Health, PA	Stellis Health-Monticello Clinic		410	9.5%	17.9%	0.53
Synergy Family Physicians, P.A	Synergy Family Physicians, P.A.	•	47	6.4%	16.5%	0.39
The Emily Program	The Emily Program - St. Louis Park		81	4.9%	17.7%	0.28
The Emily Program	The Emily Program - St. Paul (Como)	▼	201	6.5%	16.8%	0.39
Tri-County Health Care	Tri-County Health Care - Henning Clinic	•	71	18.3%	15.7%	1.16
Tri-County Health Care	Tri-County Health Care - Wadena Clinic	•	274	19.7%	16.0%	1.23
United Family Medicine	United Family Medicine	•	596	12.1%	14.5%	0.83
Unity Family Healthcare, Family Medical Center	Family Medical Center	▼	462	10.0%	16.0%	0.62
Unity Family Healthcare, Family Medical Center	Randall Lakes Area Clinic	٠	60	6.7%	16.8%	0.40
University of Minnesota Physicians	University of Minnesota Health - Fairview Maple Grove Medical Center	▼	153	8.5%	17.2%	0.49

▲ Above statewide average Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	17.0%		
University of Minnesota Physicians	University of Minnesota Health - Mill City Clinic	▼	115	6.1%	15.3%	0.40
University of Minnesota Physicians	University of Minnesota Health - Primary Care Center	▼	252	6.4%	16.2%	0.39
University of Minnesota Physicians	University of Minnesota Health - Psychiatry Clinic	▼	815	7.7%	15.5%	0.50
University of Minnesota Physicians	University of Minnesota Health - Smiley's Family Medicine Clinic	٠	205	8.8%	13.7%	0.64
University of Minnesota Physicians	University of Minnesota Physicians - Bethesda Family Medicine Clinic	•	196	9.2%	12.9%	0.71
University of Minnesota Physicians	University of Minnesota Physicians - Broadway Family Medicine Clinic	▼	319	0.3%	11.5%	0.03
University of Minnesota Physicians	University of Minnesota Physicians - Center for Sexual Health	•	44	4.6%	15.8%	0.29
University of Minnesota Physicians	University of Minnesota Physicians - Phalen Village Family Medicine Clinic	▼	125	2.4%	13.5%	0.18
Voyage Healthcare	Voyage Healthcare - Crystal		102	3.9%	19.0%	0.21
Voyage Healthcare	Voyage Healthcare - Maple Grove		313	7.4%	17.8%	0.41
Voyage Healthcare	Voyage Healthcare - Osseo		223	9.4%	18.6%	0.51
Voyage Healthcare	Voyage Healthcare - Plymouth		280	7.5%	18.3%	0.41
Welia Health	Welia Health Hinckley	•	90	16.7%	16.8%	0.99
Welia Health	Welia Health Mora	•	322	11.8%	16.5%	0.72
Welia Health	Welia Health Pine City	•	160	11.3%	16.5%	0.68
West Side Community Health Services	West Side Community Health Services - East Side Family Clinic	▼	223	6.7%	13.3%	0.51
West Side Community Health Services	West Side Community Health Services - La Clinica	•	158	11.4%	13.9%	0.82
West Side Community Health Services	West Side Community Health Services - McDonough Homes Clinic	▼	38	0.0%	13.4%	0.00
Westfields Hospital and Clinic	Westfields Clinic		266	32.7%	18.3%	1.78
Williams Integracare Clinic	Integracare Ltd dba Williams Clinic	•	107	9.4%	16.0%	0.58
Winona Health Services	Winona Health - Winona Clinic	•	751	16.4%	16.9%	0.97
Woodland Centers	Woodland Centers - Litchfield	•	67	7.5%	15.5%	0.48
Woodland Centers	Woodland Centers - Montevideo	•	63	6.4%	14.9%	0.43
Woodland Centers	Woodland Centers - Willmar	•	123	10.6%	14.6%	0.73
Zumbro Valley Health Center	Zumbro Valley Health Center - Behavioral Health	▼	59	1.7%	15.3%	0.11

▲ Above statewide average

Average

Below statewide average

CI = Confidence interval

## Adult Depression - Remission at 12 Months

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
AALFA Family Clinic	AALFA Family Clinic-MHN	•	160	6.3%	10.9%	0.57
Advanced Medical Clinic	Advanced Medical Clinic, Inc.		74	0.0%	6.7%	0.00
Allina Health	Allina Health - Abbott Northwestern General Medicine	•	209	8.6%	13.2%	0.65
	Associates - Edina					
Allina Health	Allina Health - Allina Mental Health - ANW	•	291	8.3%	10.6%	0.78
Allina Health	Allina Health - Allina Mental Health - United	•	489	10.0%	10.4%	0.97
Allina Health	Allina Health - Allina Mental Health - Unity	•	364	9.6%	11.8%	0.82
Allina Health	Allina Health - Annandale	•	75	9.3%	10.3%	0.90
Allina Health	Allina Health - Bandana Square	•	542	7.6%	9.7%	0.78
Allina Health	Allina Health - Blaine		221	5.9%	10.8%	0.54
Allina Health	Allina Health - Bloomington	•	281	7.5%	10.5%	0.71
Allina Health	Allina Health - Brooklyn Park	•	278	9.7%	9.8%	1.00
Allina Health	Allina Health - Buffalo	$\mathbf{V}$	223	5.8%	10.6%	0.55
Allina Health	Allina Health - Buffalo Crossroads	•	268	6.3%	10.4%	0.61
Allina Health	Allina Health - Burnsville	•	124	12.9%	10.8%	1.19
Allina Health	Allina Health - Cambridge		879	5.1%	10.1%	0.51
Allina Health	Allina Health - Centennial Lakes	•	227	7.9%	11.5%	0.69
Allina Health	Allina Health - Champlin	•	392	7.7%	10.9%	0.70
Allina Health	Allina Health - Chaska	•	104	10.6%	11.3%	0.94
Allina Health	Allina Health - Cokato	•	52	3.9%	9.5%	0.40
Allina Health	Allina Health - Coon Rapids	•	1,181	8.1%	10.3%	0.79
Allina Health	Allina Health - Cottage Grove		391	5.6%	10.6%	0.53
Allina Health	Allina Health - Dean Lakes	•	109	8.3%	11.6%	0.71
Allina Health	Allina Health - Eagan	•	460	8.3%	10.9%	0.76
Allina Health	Allina Health - East Lake Street	•	184	8.2%	8.6%	0.95
Allina Health	Allina Health - Edina Family Physicians	▼	272	6.6%	12.0%	0.55
Allina Health	Allina Health - Elk River	•	238	7.6%	10.8%	0.70
Allina Health	Allina Health - Faribault		500	5.4%	10.1%	0.54
Allina Health	Allina Health - Farmington	•	155	7.1%	11.8%	0.60
Allina Health	Allina Health - Forest Lake	٠	325	10.5%	11.2%	0.94
Allina Health	Allina Health - Fridley	•	296	9.1%	9.7%	0.94
Allina Health	Allina Health - Hastings		596	7.6%	11.3%	0.67
Allina Health	Allina Health - Highland Park	•	160	10.0%	10.5%	0.95

📌 Top performer

🔺 Above statewide average

▼ Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

• Average

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%	10 =0(	
Allina Health	Allina Health - Hopkins	•	156	7.1%	10.7%	0.66
Allina Health	Allina Health - Inver Grove Heights	•	247	9.7%	10.2%	0.95
Allina Health	Allina Health - Isanti	•	188	8.5%	10.4%	0.82
Allina Health	Allina Health - Isles	•	90	5.6%	11.9%	0.47
Allina Health	Allina Health - Lakeville		125	3.2%	11.7%	0.27
Allina Health	Allina Health - Maple Grove	•	199	9.1%	10.6%	0.86
Allina Health	Allina Health - Maplewood	•	238	10.9%	9.9%	1.11
Allina Health	Allina Health - New Ulm Medical Center	▼	511	6.5%	10.8%	0.60
Allina Health	Allina Health - Nicollet Mall	•	260	7.3%	10.4%	0.70
Allina Health	Allina Health - Northfield	٠	626	7.7%	10.6%	0.72
Allina Health	Allina Health - Oakdale Clinic	•	116	5.2%	10.1%	0.51
Allina Health	Allina Health - Plymouth	٠	346	10.7%	11.9%	0.90
Allina Health	Allina Health - Ramsey		270	5.2%	11.0%	0.47
Allina Health	Allina Health - Richfield	٠	521	7.9%	11.0%	0.72
Allina Health	Allina Health - Savage	٠	155	6.5%	11.2%	0.58
Allina Health	Allina Health - Shakopee	٠	463	8.0%	11.2%	0.71
Allina Health	Allina Health - Sharpe Dillon Cockson & Associates	•	71	9.9%	13.8%	0.71
Allina Health	Allina Health - Shoreview		339	11.8%	11.3%	1.04
Allina Health	Allina Health - St. Francis Health Services - Jordan	•	38	13.2%	11.3%	1.17
Allina Health	Allina Health - St. Michael		154	7.1%	10.3%	0.70
	Allina Health - United Medical	•	154	1.1%	10.5%	0.70
Allina Health	Specialties	•	151	9.3%	10.5%	0.88
Allina Health	Allina Health - Uptown	•	214	7.5%	10.1%	0.74
Allina Health	Allina Health - Vadnais Heights	•	122	6.6%	11.4%	0.58
Allina Health	Allina Health - West St. Paul		399	5.0%	9.8%	0.51
Allina Health	Allina Health - Woodbury		642	7.3%	11.1%	0.66
Alomere Health	Alexandria Clinic, A Service of Alomere Health	•	529	10.6%	10.7%	0.99
Altru Health System	Altru Health System - Grand Forks		430	2.8%	10.1%	0.28
Amery Hospital and Clinic	AHC - Amery	•	259	15.1%	10.5%	1.43
Amery Hospital and Clinic	AHC - Turtle Lake	٠	34	20.6%	9.0%	2.29
Apple Valley Medical Clinic	Apple Valley Medical Clinic - Family Practice	•	422	11.4%	11.7%	0.97
Associated Clinic of Psychology	Associated Clinic of Psychology- Apple Valley	•	407	6.6%	9.5%	0.70
Associated Clinic of Psychology	Associated Clinic of Psychology- Brooklyn Center	•	226	4.4%	8.5%	0.52

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		•	120,344	10.1%		_
Associated Clinic of Psychology	Associated Clinic of Psychology- Minneapolis	•	1,020	6.8%	9.1%	0.75
Associated Clinic of Psychology	Associated Clinic of Psychology-St Louis Park	•	839	7.2%	9.1%	0.79
Associated Clinic of Psychology	Associated Clinic of Psychology- West St. Paul	▼	498	5.4%	9.2%	0.59
Bluestone Physician Services	Bluestone Physician Services	•	41	14.6%	11.8%	1.24
Boynton Health Service	Boynton Health Service		1,813	6.0%	8.0%	0.76
Boynton Health Service	Boynton Health Service St. Paul	•	94	6.4%	8.4%	0.76
Catholic Charities Behavioral Health Clinic	Catholic Charities Behavioral Health Clinic	•	79	2.5%	8.4%	0.30
CCM Health	CCM HEALTH		103	0.0%	11.1%	0.00
Cedar Riverside People's Center	Cedar Riverside People's Center - People's Center Medical Clinic	٠	143	4.2%	7.2%	0.58
CentraCare Health	Carris Health - Litchfield East Clinic	٠	88	5.7%	10.0%	0.57
CentraCare Health	Carris Health - Litchfield West Clinic	٠	81	4.9%	9.4%	0.52
CentraCare Health	Carris Health - New London Clinic		54	9.3%	11.2%	0.83
CentraCare Health	Carris Health - Redwood Clinic	•	86	5.8%	10.4%	0.56
CentraCare Health	Carris Health - Willmar Main Clinic		474	4.9%	9.7%	0.50
CentraCare Health	Carris Health - Willmar Skylark Clinic	•	31	3.2%	9.6%	0.34
CentraCare Health	Centracare Clinic - Albany		120	5.0%	10.9%	0.46
CentraCare Health	CentraCare Clinic - Becker		185	2.7%	10.7%	0.25
CentraCare Health	CentraCare Clinic - Big Lake		198	4.6%	10.4%	0.44
CentraCare Health	CentraCare Clinic - Northway		422	2.4%	9.4%	0.25
CentraCare Health	Centracare Clinic - SCMG Clearwater Medical Clinic	•	98	6.1%	11.2%	0.55
CentraCare Health	Centracare Clinic - SCMG Cold Spring Medical Clinic	▼	77	1.3%	11.1%	0.12
CentraCare Health	Centracare Clinic - SCMG Northwest	▼	846	3.3%	10.0%	0.33
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South	▼	350	4.0%	9.7%	0.41
CentraCare Health	CentraCare Clinic - St. Joseph		187	2.1%	9.7%	0.22
CentraCare Health	CentraCare Health - Family Health Center	V	386	3.1%	8.0%	0.39
CentraCare Health	CentraCare Health - Long Prairie		140	2.1%	9.2%	0.23
CentraCare Health	CentraCare Health - Melrose	· ·	199	1.5%	10.1%	0.15
CentraCare Health	CentraCare Health - Paynesville Clinic	•	123	4.9%	10.0%	0.49

▲ Above statewide average Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
CentraCare Health	CentraCare Health - Paynesville- Eden Valley		51	0.0%	9.1%	0.00
CentraCare Health	CentraCare Health - Paynesville- Richmond	•	66	1.5%	9.3%	0.16
CentraCare Health	CentraCare Health - Sauk Centre		182	1.7%	9.6%	0.17
CentraCare Health	CentraCare Health Plaza - Internal Medicine	▼	237	2.1%	11.6%	0.18
CentraCare Health	CentraCare River Campus - Internal Medicine	▼	222	2.3%	12.0%	0.19
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	•	46	13.0%	9.0%	1.45
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Baxter	٠	101	6.9%	9.8%	0.71
Cuyuna Regional Medical Center	Cuyuna Regional Medical Center - Crosby Clinic	٠	242	11.6%	10.0%	1.16
Dawson Clinic	Johnson Memorial Health Services - Dawson Clinic	٠	85	10.6%	10.5%	1.01
Duluth Family Medicine Clinic (Formerly Duluth Family Practice Center)	Duluth Family Medicine Clinic (formerly Duluth Family Practice Center)	▼	346	0.6%	6.9%	0.08
Edina Sports Health & Wellness	Edina Sports + Family Medicine	•	118	11.0%	11.2%	0.98
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Como/Roseville (formerly Family HealthServices Minnesota - Larpenteur Clinic)		111	19.8%	10.2%	1.94
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - East Side (formerly Family HealthServices Minnesota - Maryland Clinic)	٠	202	7.9%	8.7%	0.91
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Highland (formerly Family HealthServices Minnesota - Highland Family Physicians)		153	22.9%	10.7%	2.13
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Inver Grove Heights (formerly Family HealthServices Minnesota - Inver Grove Heights)	٠	211	15.2%	11.1%	1.37
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - North St. Paul (formerly Family HealthServices Minnesota - North St. Paul Clinic)		207	18.4%	10.2%	1.79

★ Top performer ▲ Above statewide average Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Shoreview (formerly Family HealthServices Minnesota - Shoreview)		197	20.3%	11.3%	1.80
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Vadnais Heights (formerly Family HealthServices Minnesota - Vadnais Heights)	•	153	15.0%	11.1%	1.36
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - West St. Paul (formerly Family HealthServices Minnesota - Gorman Clinic)	*	260	28.5%	10.2%	2.80
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - White Bear Lake/Banning Ave (formerly Family Health Services MN Banning Clinic)	•	185	16.2%	11.6%	1.40
Entira Family Clinics (formerly Family Health Services MN)	Entira Family Clinics - Woodbury (formerly Family HealthServices Minnesota - Woodbury)		334	21.3%	11.2%	1.90
Essentia Health	EH Central Baxter Clinic		307	23.5%	10.0%	2.35
Essentia Health	EH Central Brainerd Clinic	*	262	31.3%	10.2%	3.07
Essentia Health	EH Central Crosslake Clinic	*	40	35.0%	10.9%	3.20
Essentia Health	EH Central Hackensack Clinic	*	34	32.4%	9.1%	3.55
Essentia Health	EH Central Lakeland Psychiatry Clinic	•	60	15.0%	9.9%	1.51
Essentia Health	EH Central Pequot Lakes Clinic		53	24.5%	9.6%	2.55
Essentia Health	EH Central Pierz Clinic		57	22.8%	10.3%	2.22
Essentia Health	EH Central Pillager Clinic	*	61	32.8%	11.7%	2.80
Essentia Health	EH Central Pine River Clinic	*	118	27.1%	9.6%	2.83
Essentia Health	EH East Ashland Clinic		193	22.3%	10.4%	2.14
Essentia Health	EH East Chisholm Clinic	•	46	10.9%	9.4%	1.16
Essentia Health	EH East Deer River Clinic		155	21.9%	9.5%	2.32
Essentia Health	EH East Duluth Clinic	•	131	6.9%	9.2%	0.75
Essentia Health	EH East Duluth Clinic 1st St		350	14.9%	9.3%	1.60
Essentia Health	EH East Ely Clinic		102	25.5%	10.4%	2.44
Essentia Health	EH East Grand Rapids Clinic	*	165	24.2%	9.2%	2.64
Essentia Health	EH East Hayward Clinic		155	19.4%	9.4%	2.06
Essentia Health	EH East Hermantown Clinic		295	19.0%	10.5%	1.80
Essentia Health	EH East Hibbing Clinic	•	164	11.0%	9.3%	1.18
Essentia Health	EH East International Falls Clinic		190	16.8%	9.1%	1.85
Essentia Health	EH East Lakeside Clinic		302	15.2%	9.9%	1.54
Essentia Health	EH East Lakewalk Clinic		354	20.1%	9.0%	2.24
Essentia Health	EH East Northern Pines Clinic		110	20.9%	10.5%	1.98

▲ Above statewide average Average

Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
Essentia Health	EH East Proctor Clinic	•	106	16.0%	9.9%	1.61
Essentia Health	EH East Spooner Clinic	*	130	26.2%	9.5%	2.74
Essentia Health	EH East Superior Clinic		458	18.1%	9.2%	1.98
Essentia Health	EH East Virginia Clinic		250	15.6%	9.4%	1.66
Essentia Health	EH East West Duluth Clinic		451	16.2%	8.7%	1.86
Essentia Health	EH West 52nd Avenue Clinic		358	21.2%	10.1%	2.10
Essentia Health	EH West Ada Clinic	•	45	13.3%	8.5%	1.57
Essentia Health	EH West Bagely Clinic	•	72	16.7%	8.1%	2.06
Essentia Health	EH West Detroit Lakes Clinic		412	22.8%	9.8%	2.32
Essentia Health	EH West Fosston Clinic		184	16.9%	9.0%	1.88
Essentia Health	EH West Jamestown Clinic		122	25.4%	10.5%	2.43
Essentia Health	EH West Moorhead		211	18.0%	10.4%	1.73
Essentia Health	EH West Park Rapids Clinic		247	22.3%	9.1%	2.46
Essentia Health	EH West Pelican Rapids Clinic	•	31	22.6%	9.7%	2.34
Essentia Health	EH West South University Clinic	•	116	16.4%	11.1%	1.48
Essentia Health	EH West Valley City Clinic	*	82	29.3%	11.1%	2.64
Essentia Health	EH West Wahpeton Clinic		153	26.8%	11.4%	2.36
Essentia Health	EH West West Acres Clinic		228	25.0%	10.4%	2.41
Essentia Health	EH West West Fargo Clinic		285	27.7%	10.6%	2.61
Fairview Health Services	HealthEast Clinic - Hugo	•	111	8.1%	11.3%	0.72
	HealthEast Outpatient Mental					
Fairview Health Services	Health and Addiction Care Clinic- St. Joseph's Hospital	٠	98	4.1%	8.2%	0.50
Fairview Health Services	M Health Fairview Clinic Andover		393	5.3%	11.4%	0.47
Fairview Health Services	M Health Fairview Clinic Apple	•	446	6.5%	11.1%	0.59
	Valley	•				
Fairview Health Services	M Health Fairview Clinic Bass Lake		254	7.5%	11.0%	0.68
Fairview Health Services	M Health Fairview Clinic Blaine		157	3.8%	10.4%	0.37
Fairview Health Services	M Health Fairview Clinic Brooklyn Park	▼	409	4.2%	9.9%	0.42
Fairview Health Services	M Health Fairview Clinic Burnsville	•	649	9.4%	11.6%	0.81
Fairview Health Services	M Health Fairview Clinic Chisago City	•	212	8.0%	11.2%	0.71
Fairview Health Services	M Health Fairview Clinic Columbia Heights	٠	365	7.4%	10.0%	0.74
Fairview Health Services	M Health Fairview Clinic Cottage Grove	٠	292	8.6%	11.3%	0.75
Fairview Health Services	M Health Fairview Clinic Downtown St. Paul	٠	191	8.4%	11.1%	0.75
Fairview Health Services	M Health Fairview Clinic Eagan		558	6.3%	11.2%	0.56

🔺 Above statewide average

🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	10.1%		-
Fairview Health Services	M Health Fairview Clinic Eden Prairie	•	264	17.4%	11.8%	1.48
Fairview Health Services	M Health Fairview Clinic Edina		275	5.5%	12.4%	0.44
Fairview Health Services	M Health Fairview Clinic Elk River	٠	318	9.1%	11.0%	0.83
Fairview Health Services	M Health Fairview Clinic Farmington	•	104	10.6%	12.2%	0.87
Fairview Health Services	M Health Fairview Clinic Fridley	•	387	8.0%	10.4%	0.77
Fairview Health Services	M Health Fairview Clinic Grand Avenue	•	285	6.3%	9.3%	0.68
Fairview Health Services	M Health Fairview Clinic Hiawatha	•	411	8.8%	10.3%	0.85
Fairview Health Services	M Health Fairview Clinic Highland Park	•	301	9.0%	10.6%	0.85
Fairview Health Services	M Health Fairview Clinic Hugo	•	123	6.5%	11.8%	0.55
Fairview Health Services	M Health Fairview Clinic Integrated Primary Care	▼	141	1.4%	9.4%	0.15
Fairview Health Services	M Health Fairview Clinic Lake Street	•	142	4.2%	9.4%	0.45
Fairview Health Services	M Health Fairview Clinic Lakeville	$\bullet$	176	6.3%	11.7%	0.53
Fairview Health Services	M Health Fairview Clinic Lino Lakes	٠	152	7.9%	11.6%	0.68
Fairview Health Services	M Health Fairview Clinic Maplewood	•	154	11.0%	9.8%	1.12
Fairview Health Services	M Health Fairview Clinic Milaca	•	211	8.5%	9.6%	0.89
Fairview Health Services	M Health Fairview Clinic New Brighton	▼	294	5.4%	10.3%	0.53
Fairview Health Services	M Health Fairview Clinic North Branch	•	395	8.6%	10.3%	0.84
Fairview Health Services	M Health Fairview Clinic Oakdale	•	330	9.1%	10.6%	0.86
Fairview Health Services	M Health Fairview Clinic Oxboro	٠	241	6.6%	11.5%	0.58
Fairview Health Services	M Health Fairview Clinic Pine City	•	75	12.0%	10.0%	1.20
Fairview Health Services	M Health Fairview Clinic Princeton	•	605	8.8%	10.5%	0.84
Fairview Health Services	M Health Fairview Clinic Prior Lake	•	226	11.5%	12.1%	0.95
Fairview Health Services	M Health Fairview Clinic Rice Street	•	266	5.3%	7.2%	0.73
Fairview Health Services	M Health Fairview Clinic Riverside	$\bullet$	253	3.6%	9.2%	0.39
Fairview Health Services	M Health Fairview Clinic Rogers	٠	124	9.7%	11.3%	0.86
Fairview Health Services	M Health Fairview Clinic Roselawn	•	281	11.4%	7.9%	1.44
Fairview Health Services	M Health Fairview Clinic Rosemount	•	137	8.8%	11.7%	0.75
Fairview Health Services	M Health Fairview Clinic Roseville	•	182	10.4%	10.0%	1.04
Fairview Health Services	M Health Fairview Clinic Savage	•	83	7.2%	11.2%	0.65
Fairview Health Services	M Health Fairview Clinic Tamarack	٠	228	7.9%	11.0%	0.72

▲ Above statewide average Average

Below statewide average

CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
Fairview Health Services	M Health Fairview Clinic Uptown	٠	295	6.4%	10.2%	0.63
Fairview Health Services	M Health Fairview Clinic Vadnais Heights	▼	229	5.7%	11.0%	0.52
Fairview Health Services	M Health Fairview Clinic Woodwinds	•	207	6.3%	11.2%	0.56
Fairview Health Services	M Health Fairview Clinic Wyoming		529	5.9%	10.8%	0.54
Fairview Health Services	M Health Fairview Clinic Xerxes	٠	250	7.2%	11.2%	0.64
Fairview Health Services	M Health Fairview Clinic Zimmerman	•	232	10.3%	11.4%	0.91
Fairview Health Services	M Health Fairview Geriatric Services	▼	71	2.8%	12.5%	0.23
Fairview Health Services	M Health Fairview Clinic Midway	•	165	10.9%	9.7%	1.13
Fairview Health Services	M Health Fairview Clinic Stillwater	٠	155	9.7%	11.3%	0.86
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	•	486	8.2%	8.7%	0.94
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Mountain Iron	•	206	8.7%	9.9%	0.89
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Nashwauk	•	67	10.5%	10.1%	1.03
Family Practice Medical Center of Willmar	Family Practice Medical Center of Willmar	•	166	6.0%	9.8%	0.62
France Avenue Family Physicians - Minnesota Healthcare Network	France Avenue Family Physicians - Minnesota Healthcare Network	•	94	8.5%	11.7%	0.73
Glencoe Regional Health Services	Glencoe Regional Health Services - Glencoe	•	274	9.1%	10.7%	0.86
Glencoe Regional Health Services	Glencoe Regional Health Services - Lester Prairie	•	49	12.2%	12.9%	0.95
Glenwood Medical Center	Glenwood Medical Center		48	0.0%	9.2%	0.00
Grand Itasca Clinic	Grand Itasca Clinic	•	677	12.4%	9.7%	1.28
Granite Falls Municipal Hospital & Manor Clinic	Granite Falls Health Clinic	•	39	5.1%	9.8%	0.53
Gundersen Health System	Gundersen Health System - Houston Clinic	•	34	2.9%	10.9%	0.27
Gundersen Health System	Gundersen Health System - La Crescent Clinic	•	110	14.6%	11.6%	1.26
Gundersen Health System	Gundersen Health System - Spring Grove Clinic	•	46	10.9%	10.5%	1.03
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics		652	16.9%	9.3%	1.82

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

203 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
HealthPartners Clinics	HealthPartners - Andover	•	126	19.1%	12.2%	1.57
HealthPartners Clinics	HealthPartners - Anoka	٠	304	13.5%	10.9%	1.24
HealthPartners Clinics	HealthPartners - Apple Valley	•	162	11.1%	10.8%	1.03
HealthPartners Clinics	HealthPartners - Arden Hills		230	21.7%	11.2%	1.94
HealthPartners Clinics	HealthPartners - Bloomington	•	179	15.6%	10.6%	1.48
HealthPartners Clinics	HealthPartners - Brooklyn Center	٠	166	12.1%	9.3%	1.30
HealthPartners Clinics	HealthPartners - Como		413	15.5%	10.5%	1.48
HealthPartners Clinics	HealthPartners - Coon Rapids	•	202	16.8%	10.8%	1.55
HealthPartners Clinics	HealthPartners - Cottage Grove	•	69	20.3%	11.0%	1.84
HealthPartners Clinics	HealthPartners - Ctr for Internatl Hlth	٠	30	16.7%	7.7%	2.17
HealthPartners Clinics	HealthPartners - Curve Crest Clinic		768	19.4%	12.0%	1.62
HealthPartners Clinics	HealthPartners - Eagan	•	151	17.2%	11.1%	1.56
HealthPartners Clinics	HealthPartners - Elk River	•	203	16.8%	10.7%	1.56
HealthPartners Clinics	HealthPartners - Highland Park	•	63	9.5%	9.5%	1.00
HealthPartners Clinics	HealthPartners - Hlth Ctr for Women		186	18.8%	11.0%	1.71
HealthPartners Clinics	HealthPartners - Hugo	•	49	22.5%	11.3%	1.98
HealthPartners Clinics	HealthPartners - Inver Grove Behav Hlth	•	307	16.0%	10.6%	1.51
HealthPartners Clinics	HealthPartners - Inver Grove Heights	٠	102	13.7%	10.1%	1.35
HealthPartners Clinics	HealthPartners - Lino Lakes		138	24.6%	11.7%	2.11
HealthPartners Clinics	HealthPartners - Mahtomedi Clinic		58	27.6%	12.6%	2.19
HealthPartners Clinics	HealthPartners - Maplewood	•	299	12.4%	9.5%	1.31
HealthPartners Clinics	HealthPartners - Midway	•	105	14.3%	8.0%	1.79
HealthPartners Clinics	HealthPartners - Nokomis	•	113	11.5%	10.3%	1.12
HealthPartners Clinics	HealthPartners - Regions BH Maplewood		498	14.3%	10.1%	1.41
HealthPartners Clinics	HealthPartners - Regions BH Woodbury	٠	273	15.0%	11.2%	1.34
HealthPartners Clinics	HealthPartners - Riverside	•	201	9.5%	8.6%	1.10
HealthPartners Clinics	HealthPartners - Riverside Behav Hlth	•	183	15.3%	10.0%	1.53
HealthPartners Clinics	HealthPartners - Roseville	•	164	17.1%	10.9%	1.57
HealthPartners Clinics	HealthPartners - Somerset Clinic	•	174	10.3%	10.9%	0.95
HealthPartners Clinics	HealthPartners - St Paul	٠	356	9.8%	8.5%	1.15
HealthPartners Clinics	HealthPartners - University Ave	•	130	13.1%	10.2%	1.28
HealthPartners Clinics	HealthPartners - West		160	20.6%	11.3%	1.83
HealthPartners Clinics	HealthPartners - West Behav Hlth	•	337	14.0%	10.3%	1.35
HealthPartners Clinics	HealthPartners - White Bear Lake		163	21.5%	11.6%	1.85

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
HealthPartners Clinics	HealthPartners - Woodbury		378	18.8%	10.8%	1.74
Hendricks Community Hospital Association	Hendricks Clinic	٠	42	2.4%	11.3%	0.21
Hennepin Healthcare	Hennepin Healthcare Adult Psychiatry Clinic	▼	195	1.0%	8.5%	0.12
Hennepin Healthcare	Hennepin Healthcare Brooklyn Center Clinic	•	34	2.9%	7.3%	0.40
Hennepin Healthcare	Hennepin Healthcare Brooklyn Park Clinic	٠	139	5.0%	7.9%	0.63
Hennepin Healthcare	Hennepin Healthcare Downtown Medicine Clinic	▼	249	1.2%	7.8%	0.15
Hennepin Healthcare	Hennepin Healthcare East Lake Clinic	٠	191	4.7%	7.4%	0.64
Hennepin Healthcare	Hennepin Healthcare Golden Valley Clinic	٠	117	3.4%	8.4%	0.41
Hennepin Healthcare	Hennepin Healthcare Internal Medicine Clinic Parkside	▼	49	0.0%	7.7%	0.00
Hennepin Healthcare	Hennepin Healthcare North Loop Clinic and Pharmacy	•	60	1.7%	7.4%	0.23
Hennepin Healthcare	Hennepin Healthcare Richfield Clinic	٠	195	4.6%	8.3%	0.56
Hennepin Healthcare	Hennepin Healthcare Whittier Clinic	▼	156	1.9%	7.3%	0.26
Hennepin Healthcare	Hennepin Healthcare Women's Health and Wellness Clinic	•	37	2.7%	7.4%	0.36
Hutchinson Health	Hutchinson Health - Hutchinson Clinic	▼	349	4.0%	10.2%	0.39
Hutchinson Health	Hutchinson Health - Mental Health Clinic	٠	180	5.6%	10.6%	0.53
Indian Health Board of Minneapolis	Indian Health Board of Minneapolis	•	104	3.9%	6.4%	0.61
Kittson Healthcare Clinic	Kittson Memorial Clinic - Hallock	•	34	0.0%	10.9%	0.00
Lac Qui Parle Clinic	Lac Qui Parle Clinic	•	36	13.9%	10.2%	1.37
Lake Region Healthcare	Lake Region Healthcare - Barnesville Clinic	•	41	9.8%	10.3%	0.95
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls	٠	430	13.3%	10.7%	1.24
Lake Superior Community Health Center	Lake Superior Community Health Center - Duluth	٠	121	4.1%	7.8%	0.53
Lake Superior Community Health Center	Lake Superior Community Health Center-Superior	٠	182	6.0%	8.1%	0.74
Lake View Clinic - Two Harbors	Lake View Clinic - Two Harbors		82	1.2%	9.7%	0.13

▲ Above statewide average ● Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

 205 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC
 ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	120,344	10.1%		
Lakeland Mental Health Center	Lakeland Mental Health Center - Alexandria	▼	183	3.8%	9.8%	0.39
Lakeland Mental Health Center	Lakeland Mental Health Center - Detroit Lakes	٠	132	3.8%	7.9%	0.48
Lakeland Mental Health Center	Lakeland Mental Health Center - Fergus Falls	▼	284	4.2%	8.3%	0.51
Lakeland Mental Health Center	Lakeland Mental Health Center - Glenwood	٠	70	2.9%	8.8%	0.33
Lakeland Mental Health Center	Lakeland Mental Health Center - Moorhead	•	465	5.8%	8.5%	0.69
Lakewood Health System	Lakewood Health System - Browerville Clinic	•	89	15.7%	9.8%	1.60
Lakewood Health System	Lakewood Health System - Eagle Valley Clinic	•	44	4.6%	8.5%	0.53
Lakewood Health System	Lakewood Health System - Motley Clinic	•	105	10.5%	9.4%	1.11
Lakewood Health System	Lakewood Health System - Pillager Clinic	•	211	12.3%	9.2%	1.35
Lakewood Health System	Lakewood Health System - Staples Clinic	•	186	11.3%	8.7%	1.29
Madelia Community Hospital & Clinic	Madelia Community Hospital & Clinic	•	52	9.6%	9.1%	1.06
Mankato Clinic, Ltd.	Mankato Clinic - Daniel's Health Center	٠	121	10.7%	10.1%	1.06
Mankato Clinic, Ltd.	Mankato Clinic - Department of Psychiatry & Psychology		647	15.3%	10.7%	1.43
Mankato Clinic, Ltd.	Mankato Clinic - Main Street	•	267	12.4%	10.4%	1.19
Mankato Clinic, Ltd.	Mankato Clinic - North Mankato	*	162	31.5%	10.4%	3.02
Mankato Clinic, Ltd.	Mankato Clinic - Wickersham Campus		249	18.1%	10.2%	1.78
Mayo Clinic	Mayo Clinic - Baldwin Building, Family Medicine		378	16.1%	10.2%	1.58
Mayo Clinic	Mayo Clinic - Baldwin Building, Primary Care Internal Medicine		557	15.6%	11.3%	1.38
Mayo Clinic	Mayo Clinic - Generose Building	•	74	2.7%	10.1%	0.27
Mayo Clinic	Mayo Clinic - Kasson	•	218	14.7%	11.4%	1.29
Mayo Clinic	Mayo Clinic - Northeast		357	18.5%	10.9%	1.70
Mayo Clinic	Mayo Clinic - Northwest	•	339	12.1%	10.7%	1.13
Mayo Clinic	Mayo Clinic - Speciality Practice		942	4.6%	10.7%	0.43
Mayo Clinic	Mayo Family Clinic Southeast		244	18.4%	11.3%	1.63
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	•	450	7.8%	9.6%	0.81

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
Mayo Clinic Health System	Mayo Clinic Health System Austin		597	6.9%	9.9%	0.69
Mayo Clinic Health System	Mayo Clinic Health System Belle Plaine	•	47	14.9%	10.1%	1.47
Mayo Clinic Health System	Mayo Clinic Health System Cannon Falls	•	109	4.6%	10.8%	0.43
Mayo Clinic Health System	Mayo Clinic Health System Fairmont		305	14.8%	9.4%	1.57
Mayo Clinic Health System	Mayo Clinic Health System Faribault Campus Location	•	129	8.5%	10.3%	0.83
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in Caledonia	٠	39	15.4%	9.8%	1.57
Mayo Clinic Health System	Mayo Clinic Health System- Franciscan Healthcare in LaCrescent	•	56	12.5%	10.1%	1.23
Mayo Clinic Health System	Mayo Clinic Health System Lake City	٠	120	7.5%	10.8%	0.69
Mayo Clinic Health System	Mayo Clinic Health System Lake Crystal	•	71	4.2%	9.0%	0.47
Mayo Clinic Health System	Mayo Clinic Health System Le Sueur	٠	63	9.5%	9.9%	0.96
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge	٠	506	11.3%	9.8%	1.15
Mayo Clinic Health System	Mayo Clinic Health System Mankato Northridge	٠	214	7.0%	9.6%	0.73
Mayo Clinic Health System	Mayo Clinic Health System Mankato Specialty Clinic	٠	49	16.3%	10.1%	1.61
Mayo Clinic Health System	Mayo Clinic Health System Montgomery	٠	35	5.7%	9.5%	0.60
Mayo Clinic Health System	Mayo Clinic Health System New Prague	٠	97	11.3%	10.5%	1.08
Mayo Clinic Health System	Mayo Clinic Health System Owatonna	▼	644	6.2%	10.7%	0.58
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	٠	363	9.4%	11.1%	0.84
Mayo Clinic Health System	Mayo Clinic Health System Red Wing in Zumbrota	٠	62	12.9%	11.9%	1.08
Mayo Clinic Health System	Mayo Clinic Health System Springfield	٠	54	5.6%	10.9%	0.51
Mayo Clinic Health System	Mayo Clinic Health System St. James	٠	90	6.7%	9.9%	0.67

🔺 Above statewide average

 Average 🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
Mayo Clinic Health System	Mayo Clinic Health System St. Peter	•	170	16.5%	10.4%	1.58
Mayo Clinic Health System	Mayo Clinic Health System Waseca	•	96	7.3%	10.9%	0.67
Mental Health Resources	Mental Health Outreach Clinic	•	47	4.3%	7.4%	0.57
Mille Lacs Health System	Mille Lacs Health System - Isle	•	39	2.6%	9.3%	0.28
Mille Lacs Health System	Mille Lacs Health System - Onamia	•	79	7.6%	9.1%	0.83
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics - Eagan Clinic	▼	756	5.7%	9.5%	0.60
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Apple Valley	•	59	11.9%	10.2%	1.16
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Lakeville Clinic	▼	75	1.3%	9.8%	0.14
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Maplewood Clinic	▼	138	2.9%	9.7%	0.30
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Woodbury Clinic	▼	166	4.2%	10.3%	0.41
Natalis Counseling & Psychology Solutions	Natalis Counseling - Main Location	▼	346	0.9%	7.6%	0.11
Native American Community Clinic	Native American Community Clinic	•	232	6.0%	6.6%	0.92
Neighborhood Healthsource	Neighborhood HealthSource - Central Clinic	•	62	3.2%	8.1%	0.40
Neighborhood Healthsource	Neighborhood HealthSource - Fremont Clinic	•	43	9.3%	6.9%	1.34
Neighborhood Healthsource	Neighborhood HealthSource - Sheridan Clinic	•	32	6.3%	7.8%	0.81
North Memorial	North Memorial Health - Minnetonka Medical Center	٠	173	8.7%	10.9%	0.79
North Memorial	North Memorial Health Clinic - Blaine	▼	59	1.7%	11.3%	0.15
North Memorial	North Memorial Health Clinic - Brooklyn Center	•	120	5.0%	8.5%	0.59

▲ Above statewide average ● Average

🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
North Memorial	North Memorial Health Clinic - Brooklyn Park	•	103	4.9%	9.9%	0.49
North Memorial	North Memorial Health Clinic - Camden	•	145	2.8%	7.5%	0.37
North Memorial	North Memorial Health Clinic - Downtown Minneapolis	•	148	7.4%	8.5%	0.87
North Memorial	North Memorial Health Clinic - Elk River	•	173	6.4%	10.1%	0.63
North Memorial	North Memorial Health Clinic - Golden Valley	•	196	7.7%	10.2%	0.75
North Memorial	North Memorial Health Clinic - Maple Grove	٠	102	13.7%	10.5%	1.31
North Memorial	North Memorial Health Clinic - New Hope	•	225	8.0%	10.7%	0.75
North Memorial	North Memorial Health Clinic - St. Anthony	▼	236	4.7%	10.8%	0.43
North Memorial	North Memorial Health Internal Medicine - Maple Grove	▼	100	4.0%	11.9%	0.34
North Memorial	North Memorial Health Mental Health	▼	129	2.3%	8.5%	0.27
Northern Psychiatric Associates	Northern Psychiatric Associates		343	3.5%	9.9%	0.35
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Farmington Clinic	▼	39	0.0%	12.1%	0.00
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lakeville Clinic	•	58	3.5%	10.9%	0.32
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Lonsdale Clinic	•	32	3.1%	11.1%	0.28
Northfield Hospital + Clinics	Northfield Hospital + Clinics - Northfield Clinic	•	96	8.3%	11.2%	0.74
NorthPoint Health & Wellness Center	NorthPoint Health & Wellness Center	▼	677	2.4%	6.7%	0.35
Northwest Family Physicians	Northwest Family Physicians - Crystal	▼	266	3.0%	10.3%	0.29
Northwest Family Physicians	Northwest Family Physicians - Plymouth	▼	108	4.6%	11.9%	0.39
Northwest Family Physicians	Northwest Family Physicians - Rogers	•	94	7.5%	12.4%	0.60
Northwestern Mental Health Center	Northwestern Mental Health Center	٠	393	5.1%	8.3%	0.62
Olmsted Medical Center	Olmsted Medical Center - Byron Clinic		119	23.5%	10.1%	2.34

▲ Above statewide average

 Average Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
Olmsted Medical Center	Olmsted Medical Center - Chatfield Clinic	•	63	22.2%	10.9%	2.03
Olmsted Medical Center	Olmsted Medical Center - Lake City	•	46	23.9%	10.8%	2.22
Olmsted Medical Center	Olmsted Medical Center - Pine Island Clinic	٠	78	18.0%	9.7%	1.86
Olmsted Medical Center	Olmsted Medical Center - Plainview Clinic	•	49	20.4%	11.3%	1.81
Olmsted Medical Center	Olmsted Medical Center - Preston Clinic	٠	67	16.4%	11.3%	1.45
Olmsted Medical Center	Olmsted Medical Center - Rochester Northwest	٠	205	15.6%	9.7%	1.61
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast		588	15.8%	10.1%	1.56
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast - Psychiatry		375	17.1%	10.6%	1.61
Olmsted Medical Center	Olmsted Medical Center - Skyway Clinic	٠	100	15.0%	8.5%	1.76
Olmsted Medical Center	Olmsted Medical Center - Spring Valley Clinic	٠	31	22.6%	9.3%	2.43
Olmsted Medical Center	Olmsted Medical Center - St. Charles Clinic	٠	70	10.0%	10.6%	0.94
Olmsted Medical Center	Olmsted Medical Center - Stewartville Clinic	٠	137	11.7%	9.6%	1.22
Open Cities Health Center	Open Cities Health (Dunlap) - Family Medicine	▼	144	1.4%	6.9%	0.20
Open Cities Health Center	Open Cities Health Center (North End)- Family Medicine	٠	93	1.1%	7.1%	0.15
Open Door Health Center	Open Door Health Center	•	162	3.7%	7.9%	0.47
Ortonville Area Health Services- Northside Medical Clinic	Ortonville Area Health Services- Northside Medical Clinic	٠	142	11.3%	10.4%	1.08
Park Nicollet Health Services	Park Nicollet Clinic - Bloomington	•	271	12.2%	11.4%	1.07
Park Nicollet Health Services	Park Nicollet Clinic - Brookdale		501	15.0%	9.5%	1.58
Park Nicollet Health Services	Park Nicollet Clinic - Burnsville		704	21.9%	11.3%	1.94
Park Nicollet Health Services	Park Nicollet Clinic - Carlson		375	18.9%	11.9%	1.59
Park Nicollet Health Services	Park Nicollet Clinic - Champlin		209	18.2%	10.7%	1.69
Park Nicollet Health Services	Park Nicollet Clinic - Chanhassen	•	410	14.6%	11.8%	1.24
Park Nicollet Health Services	Park Nicollet Clinic - Creekside	•	77	20.8%	11.9%	1.75
Park Nicollet Health Services	Park Nicollet Clinic - Eagan		440	26.6%	11.3%	2.36
Park Nicollet Health Services	Park Nicollet Clinic - Eden Prairie	•	291	17.2%	11.7%	1.47
Park Nicollet Health Services	Park Nicollet Clinic - Golden Valley		290	15.9%	11.8%	1.35
Park Nicollet Health Services	Park Nicollet Clinic - Lakeville		116	16.4%	10.4%	1.58
Park Nicollet Health Services	Park Nicollet Clinic - Maple Grove		328	20.4%	11.3%	1.81

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
Park Nicollet Health Services	Park Nicollet Clinic - Minneapolis		396	14.4%	8.8%	1.64
Park Nicollet Health Services	Park Nicollet Clinic - Plymouth		381	22.6%	11.3%	2.00
Park Nicollet Health Services	Park Nicollet Clinic - Prior Lake		236	17.0%	10.8%	1.57
Park Nicollet Health Services	Park Nicollet Clinic - Psychiatry		3,122	14.2%	11.4%	1.25
Park Nicollet Health Services	Park Nicollet Clinic - Rogers	•	100	18.0%	11.1%	1.62
Park Nicollet Health Services	Park Nicollet Clinic - Shakopee		521	20.5%	10.4%	1.97
Park Nicollet Health Services	Park Nicollet Clinic - Shorewood	•	170	20.6%	12.6%	1.63
Park Nicollet Health Services	Park Nicollet Clinic - SmartCare	*	144	29.9%	10.8%	2.76
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Family Medicine		663	15.4%	10.9%	1.41
Park Nicollet Health Services	Park Nicollet Clinic - St. Louis Park Internal Medicine		380	22.4%	12.8%	1.74
Park Nicollet Health Services	Park Nicollet Clinic - Target Health and Well-Being Center	*	61	31.2%	8.3%	3.74
Park Nicollet Health Services	Park Nicollet Clinic - Target Health and Well-Being Center North	•	30	16.7%	7.9%	2.12
Park Nicollet Health Services	Park Nicollet Clinic - Wayzata		220	25.0%	12.3%	2.03
Park Nicollet Health Services	Park Nicollet Clinic - Women's Services	•	136	14.0%	10.7%	1.31
People Incorporated Stark Mental Health Clinic	Family Life Mental Health Center	▼	398	2.8%	8.5%	0.33
People Incorporated Stark Mental Health Clinic	Stark Clinic- Northside	•	93	2.2%	5.9%	0.36
People Incorporated Stark Mental Health Clinic	Stark Clinic-York	▼	71	0.0%	6.3%	0.00
People Incorporated Stark Mental Health Clinic	Stark Mental Health Clinic	•	213	2.8%	6.8%	0.41
Perham Health	Perham Health Clinic	•	209	0.5%	10.2%	0.05
Perham Health	Perham Health New York Mills Clinic	٠	43	7.0%	10.0%	0.70
Planned Parenthood Minnesota, North Dakota, South Dakota	Planned Parenthood Minnesota, North Dakota, South Dakota - Duluth	•	35	0.0%	6.5%	0.00
Planned Parenthood Minnesota, North Dakota, South Dakota	Planned Parenthood Minnesota, North Dakota, South Dakota - St Cloud	▼	69	0.0%	6.5%	0.00
Prairie Ridge Hospital & Health Services	Prairie Ridge Hospital & Health Services - Elbow Lake	٠	62	6.5%	9.2%	0.70
Rainy Lake Medical Center	Rainy Lake Medical Center - Rural Health Clinic	•	58	1.7%	8.2%	0.21
Ramsey County Mental Health	Ramsey County Mental Health Center	▼	198	0.5%	6.5%	0.08

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
Renville County Hospital and	Renville County Hospital and		46	4.4%	8.3%	0.52
Clinics	Clinics - Olivia	•	10			
Richfield Medical Group	Richfield Medical Group		173	0.6%	12.9%	0.04
Ridgeview Clinics	Ridgeview Chanhassen Clinic		117	0.9%	11.7%	0.07
Ridgeview Clinics	Ridgeview Delano Clinic		101	1.0%	11.7%	0.08
Ridgeview Clinics	<b>Ridgeview Excelsior Clinic</b>		49	0.0%	11.8%	0.00
Ridgeview Clinics	<b>Ridgeview Howard Lake Clinic</b>		35	0.0%	10.4%	0.00
Ridgeview Clinics	<b>Ridgeview Westonka Clinic</b>		137	0.0%	11.5%	0.00
RiverView Health	RiverView Clinic		101	2.0%	9.1%	0.22
Riverwood Healthcare Center	Riverwood Aitkin Clinic		190	4.7%	10.1%	0.47
Riverwood Healthcare Center	Riverwood Garrison Clinic	•	43	9.3%	10.8%	0.86
Riverwood Healthcare Center	Riverwood McGregor Clinic	•	85	7.1%	9.8%	0.72
Sanford Health	Sanford Aberdeen Clinic	•	243	12.8%	10.6%	1.20
Sanford Health	Sanford Bagley Clinic		65	6.2%	8.9%	0.69
	Sanford Bemidji 1611 Anne St Clinic		10	11.00/	0.70/	1.00
Sanford Health	- Family Medicine	•	42	11.9%	8.7%	1.38
	Sanford Bemidji Main Clinic -		500	0.20/	0.00/	1.05
Sanford Health	Family Medicine	•	500	9.2%	8.8%	1.05
Conford Loolth	Sanford Bemidji Main Clinic -		50	12 50/	11 404	1 10
Sanford Health	Internal Medicine	•	52	13.5%	11.4%	1.19
Sanford Health	Sanford Canby Clinic	•	74	8.1%	11.8%	0.69
Sanford Health	Sanford Canton Clinic	•	69	14.5%	11.1%	1.30
Sanford Health	Sanford East Grand Forks Clinic	•	112	3.6%	9.4%	0.38
Conford Loolth	Sanford Fargo Broadway Clinic -		00	11 20/	10.00/	1.02
Sanford Health	Family Medicine Residency		89	11.2%	10.9%	1.03
Sanford Health	Sanford Fargo Broadway Clinic -		292	11.6%	11.3%	1.03
Samoru Health	Behavioral Health	•	292	11.0%	11.5%	1.05
Sanford Health	Sanford Fargo Broadway Clinic -		142	8.5%	11.7%	0.72
Samora realth	Internal Medicine	•	172	0.570	11.170	0.12
Sanford Health	Sanford Fargo Internal Medicine	•	54	14.8%	9.8%	1.51
	Residency Clinic	•				
Sanford Health	Sanford Fargo North Fargo Clinic	•	262	14.1%	10.6%	1.34
Sanford Health	Sanford Fargo Professional	•	66	9.1%	10.0%	0.91
	Building - Behavioral Health			01270	2010 / 0	0101
Sanford Health	Sanford Fargo South University		120	7.5%	11.0%	0.68
	Clinic - Specialty Clinics		-			
Sanford Health	Sanford Fargo Southpointe Clinic -	•	41	2.4%	9.9%	0.25
	Behavioral Health					
Sanford Health	Sanford Fargo Southpointe Clinic -	•	556	8.8%	10.7%	0.83
	Family Medicine					
Sanford Health	Sanford Fargo Southpointe Clinic -	•	280	12.1%	11.9%	1.02
	Internal Medicine					

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		1	120,344	10.1%		
Sanford Health	Sanford Hawley Clinic	•	56	10.7%	10.5%	1.02
Sanford Health	Sanford Health Alexandria Broadway Clinic	•	354	7.9%	9.9%	0.80
Sanford Health	Sanford Health Beresford Clinic	•	37	16.2%	11.5%	1.42
Sanford Health	Sanford Health Brookings Clinic	٠	240	14.6%	10.0%	1.47
Sanford Health	Sanford Health Detroit Lakes Clinic		495	5.3%	9.8%	0.54
Sanford Health	Sanford Health Enderlin Clinic	•	38	5.3%	11.4%	0.46
Sanford Health	Sanford Health Hillsboro Clinic	٠	48	14.6%	10.0%	1.46
Sanford Health	Sanford Health Jamestown Clinic	•	366	8.5%	10.7%	0.79
Sanford Health	Sanford Health Lisbon Clinic	٠	41	4.9%	11.0%	0.44
Sanford Health	Sanford Health Mahnomen Clinic	•	37	16.2%	7.9%	2.06
Sanford Health	Sanford Health Mountain Lake Clinic	•	50	14.0%	8.9%	1.58
Sanford Health	Sanford Health Oakes Clinic	•	33	21.2%	10.5%	2.01
Sanford Health	Sanford Health Parkers Prairie Clinic	•	34	17.7%	10.4%	1.70
Sanford Health	Sanford Health Pelican Rapids Clinic	•	62	12.9%	10.0%	1.29
Sanford Health	Sanford Health Pierre Clinic	٠	43	23.3%	10.0%	2.32
Sanford Health	Sanford Health Valley City Clinic	•	132	17.4%	11.3%	1.54
Sanford Health	Sanford Health Vermillion Clinic	٠	150	5.3%	8.6%	0.62
Sanford Health	Sanford Health Wahpeton Clinic	•	247	6.1%	9.8%	0.62
Sanford Health	Sanford Health Walker Clinic	٠	37	8.1%	9.1%	0.90
Sanford Health	Sanford Health Watertown Clinic		156	19.2%	10.1%	1.90
Sanford Health	Sanford Health Wheaton Clinic	٠	36	13.9%	9.2%	1.51
Sanford Health	Sanford Health Windom Clinic	•	45	8.9%	9.6%	0.93
Sanford Health	Sanford Jackson Clinic	٠	70	21.4%	10.3%	2.08
Sanford Health	Sanford Lakefield Clinic	*	44	29.6%	11.0%	2.70
Sanford Health	Sanford Luverne Clinic	•	63	11.1%	9.9%	1.13
Sanford Health	Sanford Mayville Clinic	*	41	26.8%	10.3%	2.62
Sanford Health	Sanford Moorhead Clinic - Behavioral Health	•	739	11.2%	11.4%	0.99
Sanford Health	Sanford Moorhead Clinic - Family Medicine	•	282	9.6%	9.5%	1.00
Sanford Health	Sanford Moorhead Clinic - Internal Medicine		159	19.5%	11.1%	1.75
Sanford Health	Sanford Rock Rapids Clinic	٠	53	17.0%	10.0%	1.70
Sanford Health	Sanford Sheldon Clinic		253	19.4%	9.9%	1.96
Sanford Health	Sanford Sioux Falls 26th & Sycamore Family Medicine Clinic	•	88	10.2%	10.1%	1.01

🔺 Above statewide average Average

🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
Sanford Health	Sanford Sioux Falls 34th & Kiwanis Family Medicine Clinic	•	62	1.6%	9.2%	0.17
Sanford Health	Sanford Sioux Falls 49th & Oxbow Family Medicine Clinic	•	184	13.0%	10.2%	1.27
Sanford Health	Sanford Sioux Falls 4th & Sycamore Family Medicine Clinic	•	37	18.9%	9.5%	1.98
Sanford Health	Sanford Sioux Falls 69th & Louise Family Medicine Clinic	•	74	14.9%	9.5%	1.57
Sanford Health	Sanford Sioux Falls 69th & Minnesota Family Medicine Clinic	•	114	11.4%	10.4%	1.09
Sanford Health	Sanford Sioux Falls Internal Medicine Clinic	•	59	13.6%	12.5%	1.08
Sanford Health	Sanford Sioux Falls Women's Internal Medicine	•	42	14.3%	11.6%	1.23
Sanford Health	Sanford Thief River Falls Clinic		171	4.7%	10.5%	0.44
Sanford Health	Sanford Tracy Clinic	•	51	15.7%	9.6%	1.63
Sanford Health	Sanford Webster Clinic	•	38	18.4%	10.0%	1.85
Sanford Health	Sanford West Fargo Clinic - Family Medicine		329	17.0%	11.3%	1.51
Sanford Health	Sanford Westbrook Clinic	*	38	29.0%	10.6%	2.73
Sanford Health	Sanford Worthington Clinic	•	179	10.6%	9.6%	1.11
Sawtooth Mountain Clinic	Sawtooth Mountain Clinic, Inc		87	9.2%	10.6%	0.87
Scandia Clinic	Scandia Clinic		51	0.0%	10.4%	0.00
Scenic Rivers Health Services	Scenic Rivers Health Services - Bigfork	•	58	5.2%	9.6%	0.54
Scenic Rivers Health Services	Scenic Rivers Health Services - Cook	٠	54	3.7%	10.8%	0.34
Sibley Medical Center DBA Ridgeview Sibley Medical Center	Ridgeview Arlington Clinic	•	38	10.5%	10.4%	1.01
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville	٠	65	6.2%	9.3%	0.66
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina	٠	43	4.7%	9.2%	0.50
Southside Community Health Services	Southside Medical Clinic	٠	71	7.0%	7.6%	0.93
Southwestern Mental Health Center	Southwestern Mental Health Center-Worthington	▼	311	2.9%	8.5%	0.34
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Frederic Clinic	٠	50	18.0%	10.1%	1.78
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Lindstrom Clinic	•	97	4.1%	11.4%	0.36

▲ Above statewide average ● Average

🔻 Below statewide average

CI = Confidence interval

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic	٠	380	7.9%	10.7%	0.74
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Unity Clinic	٠	123	4.9%	10.2%	0.48
St. Croix Regional Medical Center	St. Croix Regional Medical Center - Webster Clinic	٠	55	9.1%	9.1%	1.00
St. Luke's Clinics	St Luke's Clinics-Chequamegon Clinic	٠	57	3.5%	9.9%	0.36
St. Luke's Clinics	St Luke's Clinics-Hibbing Family Medical Clinic	٠	81	3.7%	9.1%	0.40
St. Luke's Clinics	St Luke's Clinics-Internal Medicine Associates	٠	105	6.7%	11.2%	0.60
St. Luke's Clinics	St Luke's Clinics-Laurentian	•	53	1.9%	9.6%	0.20
St. Luke's Clinics	St Luke's Clinics-Lester River		54	0.0%	10.4%	0.00
St. Luke's Clinics	St Luke's Clinics-Mariner Medical Clinic	•	60	10.0%	11.4%	0.88
St. Luke's Clinics	St Luke's Clinics-Medical Arts Clinic	•	40	2.5%	7.4%	0.34
St. Luke's Clinics	St Luke's Clinics-Mental Health	•	354	7.3%	10.1%	0.73
St. Luke's Clinics	St Luke's Clinics-Mount Royal	•	69	4.4%	10.0%	0.43
St. Luke's Clinics	St Luke's Clinics-P.S. Rudie Medical Clinic	٠	129	5.4%	9.2%	0.59
Stellis Health, PA	Stellis Health - Albertville-St. Michael Clinic	•	121	7.4%	11.1%	0.67
Stellis Health, PA	Stellis Health-Buffalo Clinic		351	5.4%	10.7%	0.51
Stellis Health, PA	Stellis Health-Monticello Clinic		410	5.1%	10.8%	0.48
Synergy Family Physicians, P.A	Synergy Family Physicians, P.A.	•	47	4.3%	10.0%	0.43
The Emily Program	The Emily Program - St. Louis Park		81	1.2%	9.4%	0.13
The Emily Program	The Emily Program - St. Paul (Como)	▼	201	1.5%	9.3%	0.16
Tri-County Health Care	Tri-County Health Care - Henning Clinic	•	71	5.6%	9.2%	0.61
Tri-County Health Care	Tri-County Health Care - Wadena Clinic	•	274	9.5%	9.3%	1.02
United Family Medicine	United Family Medicine	•	596	5.5%	8.3%	0.67
Unity Family Healthcare, Family Medical Center	Family Medical Center	▼	462	5.8%	9.4%	0.62
Unity Family Healthcare, Family Medical Center	Randall Lakes Area Clinic	٠	60	5.0%	9.8%	0.51
University of Minnesota Physicians	University of Minnesota Health - Fairview Maple Grove Medical Center	•	153	3.3%	9.8%	0.33

▲ Above statewide average Average Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

215 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			120,344	10.1%		
University of Minnesota Physicians	University of Minnesota Health - Mill City Clinic	•	115	4.4%	9.4%	0.46
University of Minnesota Physicians	University of Minnesota Health - Primary Care Center	▼	252	2.4%	9.5%	0.25
University of Minnesota Physicians	University of Minnesota Health - Psychiatry Clinic	▼	815	2.9%	8.8%	0.33
University of Minnesota Physicians	University of Minnesota Health - Smiley's Family Medicine Clinic	•	205	3.9%	7.3%	0.53
University of Minnesota Physicians	University of Minnesota Physicians - Bethesda Family Medicine Clinic	•	196	6.6%	7.2%	0.92
University of Minnesota Physicians	University of Minnesota Physicians - Broadway Family Medicine Clinic	▼	319	0.3%	6.0%	0.05
University of Minnesota Physicians	University of Minnesota Physicians - Center for Sexual Health	•	44	2.3%	8.9%	0.26
University of Minnesota Physicians	University of Minnesota Physicians - Phalen Village Family Medicine Clinic	▼	125	0.8%	7.1%	0.11
Voyage Healthcare	Voyage Healthcare - Crystal		102	3.9%	12.0%	0.33
Voyage Healthcare	Voyage Healthcare - Maple Grove		313	5.1%	10.8%	0.47
Voyage Healthcare	Voyage Healthcare - Osseo		223	4.0%	11.3%	0.36
Voyage Healthcare	Voyage Healthcare - Plymouth		280	2.5%	11.0%	0.23
Welia Health	Welia Health Hinckley	•	90	8.9%	9.8%	0.91
Welia Health	Welia Health Mora	•	322	6.5%	9.7%	0.67
Welia Health	Welia Health Pine City	•	160	4.4%	9.4%	0.47
West Side Community Health Services	West Side Community Health Services - East Side Family Clinic	•	223	3.6%	7.0%	0.51
West Side Community Health Services	West Side Community Health Services - La Clinica	•	158	6.3%	7.9%	0.80
West Side Community Health Services	West Side Community Health Services - McDonough Homes Clinic	٠	38	0.0%	6.3%	0.00
Westfields Hospital and Clinic	Westfields Clinic		266	22.9%	10.9%	2.11
Williams Integracare Clinic	Integracare Ltd dba Williams Clinic		107	2.8%	9.1%	0.31
Winona Health Services	Winona Health - Winona Clinic	•	751	8.5%	10.1%	0.84
Woodland Centers	Woodland Centers - Litchfield	•	67	1.5%	8.5%	0.18
Woodland Centers	Woodland Centers - Montevideo	•	63	1.6%	8.6%	0.19
Woodland Centers	Woodland Centers - Willmar	•	123	4.9%	8.4%	0.58
Zumbro Valley Health Center	Zumbro Valley Health Center - Behavioral Health	•	59	1.7%	9.0%	0.19

▲ Above statewide average

Average

 Below statewide average NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

CI = Confidence interval

## Adolescent Depression - Six Month Follow-up

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	43.4%		-
Allina Health	Allina Health - Allina Mental Health - ANW	•	38	47.4%	44.7%	1.06
Allina Health	Allina Health - Allina Mental Health - United	*	47	66.0%	42.3%	1.56
Allina Health	Allina Health - Bloomington	•	46	50.0%	43.6%	1.15
Allina Health	Allina Health - Buffalo	•	55	58.2%	45.3%	1.28
Allina Health	Allina Health - Cambridge	•	108	44.4%	43.7%	1.02
Allina Health	Allina Health - Champlin	•	47	57.5%	45.4%	1.26
Allina Health	Allina Health - Coon Rapids	•	185	50.8%	44.3%	1.15
Allina Health	Allina Health - Cottage Grove	•	45	35.6%	45.4%	0.78
Allina Health	Allina Health - Eagan	•	43	65.1%	44.2%	1.47
Allina Health	Allina Health - Elk River	•	31	22.6%	44.5%	0.51
Allina Health	Allina Health - Faribault	•	69	52.2%	42.9%	1.22
Allina Health	Allina Health - Farmington	•	34	44.1%	46.4%	0.95
Allina Health	Allina Health - Forest Lake	•	37	51.4%	44.3%	1.16
Allina Health	Allina Health - Hastings	•	52	46.2%	46.1%	1.00
Allina Health	Allina Health - Inver Grove Heights	•	32	56.3%	44.8%	1.25
Allina Health	Allina Health - Isanti	•	33	48.5%	44.1%	1.10
Allina Health	Allina Health - Maple Grove	*	44	70.5%	44.7%	1.58
Allina Health	Allina Health - New Ulm Medical Center	•	67	41.8%	45.3%	0.92
Allina Health	Allina Health - Northfield	*	144	60.4%	45.3%	1.33
Allina Health	Allina Health - Ramsey		41	41.5%	44.6%	0.93
Allina Health	Allina Health - Richfield	•	39	46.2%	42.9%	1.08
Allina Health	Allina Health - West St. Paul		38	47.4%	41.9%	1.13
Allina Health	Allina Health - Woodbury	*	93	61.3%	45.1%	1.36
Alomere Health	Alexandria Clinic, A Service of Alomere Health	*	63	61.9%	44.0%	1.41
Amery Hospital and Clinic	AHC - Amery	•	31	38.7%	41.6%	0.93
Associated Clinic of Psychology	Associated Clinic of Psychology- Apple Valley	•	57	49.1%	45.2%	1.09
CentraCare Health	Carris Health - Willmar Main Clinic	*	83	57.8%	41.3%	1.40
CentraCare Health	CentraCare Clinic - Big Lake		31	51.6%	44.2%	1.17
CentraCare Health	Centracare Clinic - SCMG Northwest	٠	73	54.8%	42.2%	1.30
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South	•	30	60.0%	44.0%	1.36

★ Top performer

▲ Above statewide average Average Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

1 I 217 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	43.4%		
CentraCare Health	CentraCare Health Plaza - Pediatrics	•	69	55.1%	43.1%	1.28
CentraCare Health	St Cloud Hospital - Behavioral Health Clinic	*	389	69.2%	42.4%	1.63
Children's Minnesota	Children's MN Partners in Pediatrics Brooklyn Park	٠	47	36.2%	44.3%	0.82
Children's Minnesota	Children's MN Partners in Pediatrics Calhoun	٠	32	34.4%	45.3%	0.76
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	٠	75	45.3%	45.3%	1.00
Children's Minnesota	Children's MN Partners in Pediatrics Plymouth	•	45	28.9%	44.9%	0.64
Children's Minnesota	Children's MN Partners in Pediatrics Rogers	•	64	34.4%	45.9%	0.75
Essentia Health	EH Central Baxter Clinic	•	31	38.7%	45.5%	0.85
Essentia Health	EH East Duluth Clinic 1st St		47	12.8%	40.9%	0.31
Essentia Health	EH East West Duluth Clinic	•	33	18.2%	40.2%	0.45
Essentia Health	EH West South University Clinic		43	23.3%	43.0%	0.54
Fairview Health Services	M Health Fairview Clinic Andover	•	46	39.1%	45.9%	0.85
Fairview Health Services	M Health Fairview Clinic Cottage Grove	•	40	30.0%	44.3%	0.68
Fairview Health Services	M Health Fairview Clinic Elk River	•	59	64.4%	46.5%	1.39
Fairview Health Services	M Health Fairview Clinic Maplewood	•	51	27.5%	44.0%	0.62
Fairview Health Services	M Health Fairview Clinic Tamarack	•	83	33.7%	46.4%	0.73
Fairview Health Services	M Health Fairview Clinic Woodwinds	٠	52	36.5%	45.6%	0.80
Fairview Health Services	M Health Fairview Clinic Wyoming	•	31	48.4%	46.3%	1.05
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	•	35	57.1%	40.9%	1.40
Glencoe Regional Health Services	Glencoe Regional Health Services - Glencoe	•	42	57.1%	44.2%	1.29
Grand Itasca Clinic	Grand Itasca Clinic	•	55	38.2%	41.3%	0.93
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics	•	52	38.5%	42.6%	0.90
HealthPartners Clinics	HealthPartners - Anoka		41	24.4%	44.8%	0.54
HealthPartners Clinics	HealthPartners - Como	•	43	51.2%	41.5%	1.23
HealthPartners Clinics	HealthPartners - Curve Crest Clinic	٠	104	40.4%	45.3%	0.89
HealthPartners Clinics	HealthPartners - Elk River	•	37	43.2%	44.9%	0.96
HealthPartners Clinics	HealthPartners - Maplewood	•	35	42.9%	41.6%	1.03

▲ Above statewide average ● Average

🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		_	11,658	43.4%		
HealthPartners Clinics	HealthPartners - Regions BH Maplewood	•	33	66.7%	44.0%	1.52
HealthPartners Clinics	HealthPartners - Regions BH Woodbury	•	67	49.3%	43.7%	1.13
HealthPartners Clinics	HealthPartners - West Behav Hlth	•	43	55.8%	42.7%	1.31
HealthPartners Clinics	HealthPartners - Woodbury	•	39	48.7%	46.0%	1.06
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls	•	71	53.5%	43.4%	1.23
Lakeland Mental Health Center	Lakeland Mental Health Center - Detroit Lakes	•	34	26.5%	42.5%	0.62
Lakeland Mental Health Center	Lakeland Mental Health Center - Fergus Falls	•	63	36.5%	42.4%	0.86
Lakeland Mental Health Center	Lakeland Mental Health Center - Moorhead	•	42	42.9%	41.0%	1.04
Mankato Clinic, Ltd.	Mankato Clinic - Children's Health Center	•	39	59.0%	42.6%	1.38
Mankato Clinic, Ltd.	Mankato Clinic - Department of Psychiatry & Psychology	*	118	81.4%	42.7%	1.90
Mayo Clinic	Mayo Clinic - Baldwin Building, Pediatrics	*	80	62.5%	43.9%	1.42
Mayo Clinic	Mayo Clinic - Generose Building		37	8.1%	43.3%	0.19
Mayo Clinic	Mayo Clinic - Northeast	*	50	66.0%	45.0%	1.47
Mayo Clinic	Mayo Clinic - Northwest	•	40	55.0%	45.0%	1.22
Mayo Clinic	Mayo Clinic - Speciality Practice		58	15.5%	44.2%	0.35
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	•	72	51.4%	42.5%	1.21
Mayo Clinic Health System	Mayo Clinic Health System Austin	•	135	43.0%	43.0%	1.00
Mayo Clinic Health System	Mayo Clinic Health System Fairmont	•	38	42.1%	41.1%	1.03
Mayo Clinic Health System	Mayo Clinic Health System Faribault Campus Location	•	34	17.7%	44.1%	0.40
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge	•	46	28.3%	42.5%	0.67
Mayo Clinic Health System	Mayo Clinic Health System Mankato Specialty Clinic	*	32	65.6%	44.0%	1.49
Mayo Clinic Health System	Mayo Clinic Health System Owatonna	•	119	34.5%	43.9%	0.78
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	•	66	33.3%	44.2%	0.75

▲ Above statewide average

Average

 Below statewide average CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

219 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	43.4%		
Minnesota Mental Health Clinics						
	Minnesota Mental Health Clinics -	•	254	42.1%	43.4%	0.97
Lakeville, Maplewood,	Eagan Clinic	-	201	12.170	13.170	0.51
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
	Minnesota Mental Health Clinics-	*	45	80.0%	44.8%	1.78
Lakeville, Maplewood,	Lakeville Clinic					
Minneapolis, Woodbury) Minnesota Mental Health Clinics						
	Minnesota Mental Health Clinics-					
	Maplewood Clinic	•	50	40.0%	42.5%	0.94
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
	Minnesota Mental Health Clinics-					
	Woodbury Clinic	•	55	61.8%	44.8%	1.38
Minneapolis, Woodbury)	,					
NorthPoint Health & Wellness	NorthPoint Health & Wellness		06	20 50/	25.00/	1 1 2
Center	Center		86	39.5%	35.0%	1.13
Northwestern Mental Health Conter	Northwestern Mental Health Center	•	53	49.1%	42.3%	1.16
Northwestern Mental Health Center		•	55	49.170	42.370	1.10
Olmsted Medical Center	Olmsted Medical Center -	•	35	28.6%	39.6%	0.72
	Rochester Northwest	-		2010 / 0		
Olmsted Medical Center	Olmsted Medical Center -	•	45	33.3%	41.9%	0.80
	Rochester Southeast			40.00/	22.00/	1.00
	Park Nicollet Clinic - Brookdale	•	37	43.2%	39.6%	1.09
	Park Nicollet Clinic - Burnsville	•	33	51.5%	43.8%	1.18
	Park Nicollet Clinic - Chanhassen	•	64	42.2%	45.4%	0.93
	Park Nicollet Clinic - Eagan	•	53	54.7%	44.2%	1.24
	Park Nicollet Clinic - Lakeville	•	33	42.4%	46.2%	0.92
	Park Nicollet Clinic - Prior Lake	•	32	59.4%	46.7%	1.27
	Park Nicollet Clinic - Psychiatry	*	278	77.7%	45.2%	1.72
Park Nicollet Health Services	Park Nicollet Clinic - Shakopee	•	111	46.9%	45.2%	1.04
Sanford Health	Sanford Bemidji Main Clinic -	•	47	44.7%	40.7%	1.10
	Family Medicine					
Sanford Health	Sanford Fargo Children's Southwest Clinic	•	76	32.9%	45.6%	0.72
Sanford Health	Sanford Fargo Professional Building - Behavioral Health	٠	32	50.0%	45.5%	1.10
	Sanford Health Alexandria					
Sanford Health		•	35	22.9%	42.5%	0.54
Sanford Health	-	•	34	38.2%	43,4%	0.88
	-					
Sanford Health	Broadway Clinic Sanford Health Brookings Clinic Sanford Health Detroit Lakes Clinic	•	35 34 48	22.9% 38.2% 27.1%	42.5% 43.4% 42.6%	0.54 0.88 0.64

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio	
STATEWIDE AVERAGE			11,658	43.4%			
Sanford Health	Sanford Health Jamestown Clinic	•	34	38.2%	43.7%	0.87	
Sanford Health	Sanford Health Wahpeton Clinic		42	11.9%	42.5%	0.28	
Sanford Health	Sanford Health Watertown Clinic	•	38	36.8%	44.9%	0.82	
Sanford Health	Sanford Moorhead Clinic - Pediatrics	•	39	38.5%	43.2%	0.89	
South Lake Pediatrics	South Lake Pediatrics - Childrens West	•	39	56.4%	45.6%	1.24	
South Lake Pediatrics	South Lake Pediatrics - Maple Grove	•	39	38.5%	45.7%	0.84	
South Lake Pediatrics	South Lake Pediatrics - Minnetonka	٠	55	47.3%	45.3%	1.04	
South Lake Pediatrics	South Lake Pediatrics - Plymouth	•	32	46.9%	46.4%	1.01	
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville		120	29.2%	44.6%	0.65	
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Eden Prairie	•	82	34.2%	44.3%	0.77	
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina		139	33.8%	44.5%	0.76	
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic	•	43	39.5%	43.7%	0.90	
Stellis Health, PA	Stellis Health-Buffalo Clinic	•	55	32.7%	44.0%	0.74	
Stellis Health, PA	Stellis Health-Monticello Clinic	•	74	40.5%	45.4%	0.89	
Unity Family Healthcare, Family Medical Center	Family Medical Center	•	64	39.1%	41.9%	0.93	
Wayzata Children's Clinic	Wayzata Children's Clinic - Minnetonka	▼	33	21.2%	47.1%	0.45	

★ Top performer ▲ Above statewide average Average Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

### Adolescent Depression - Response at Six Months

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		<b>I</b>	11,658	15.5%		
Allina Health	Allina Health - Allina Mental Health - ANW	•	38	10.5%	15.8%	0.67
Allina Health	Allina Health - Allina Mental Health - United	•	47	12.8%	14.9%	0.85
Allina Health	Allina Health - Bloomington	٠	46	19.6%	15.6%	1.26
Allina Health	Allina Health - Buffalo	•	55	14.6%	15.9%	0.91
Allina Health	Allina Health - Cambridge	٠	108	14.8%	15.4%	0.96
Allina Health	Allina Health - Champlin	•	47	10.6%	16.1%	0.66
Allina Health	Allina Health - Coon Rapids	٠	185	18.4%	15.5%	1.19
Allina Health	Allina Health - Cottage Grove	•	45	11.1%	16.2%	0.69
Allina Health	Allina Health - Eagan	٠	43	20.9%	16.1%	1.30
Allina Health	Allina Health - Elk River	•	31	3.2%	15.7%	0.21
Allina Health	Allina Health - Faribault	٠	69	20.3%	15.4%	1.32
Allina Health	Allina Health - Farmington	•	34	11.8%	16.3%	0.72
Allina Health	Allina Health - Forest Lake	٠	37	24.3%	15.4%	1.58
Allina Health	Allina Health - Hastings	•	52	21.2%	16.5%	1.29
Allina Health	Allina Health - Inver Grove Heights	٠	32	15.6%	16.0%	0.98
Allina Health	Allina Health - Isanti	•	33	9.1%	15.5%	0.59
Allina Health	Allina Health - Maple Grove	٠	44	18.2%	15.6%	1.17
Allina Health	Allina Health - New Ulm Medical Center	•	67	16.4%	16.0%	1.03
Allina Health	Allina Health - Northfield	٠	144	23.6%	16.3%	1.45
Allina Health	Allina Health - Ramsey	•	41	19.5%	16.2%	1.20
Allina Health	Allina Health - Richfield	٠	39	7.7%	15.0%	0.51
Allina Health	Allina Health - West St. Paul	•	38	21.1%	15.4%	1.37
Allina Health	Allina Health - Woodbury	٠	93	19.4%	15.7%	1.23
Alomere Health	Alexandria Clinic, A Service of Alomere Health	•	63	23.8%	15.4%	1.55
Amery Hospital and Clinic	AHC - Amery	٠	31	16.1%	14.6%	1.11
Associated Clinic of Psychology	Associated Clinic of Psychology- Apple Valley	•	57	17.5%	15.8%	1.11
CentraCare Health	Carris Health - Willmar Main Clinic	٠	83	21.7%	15.0%	1.44
CentraCare Health	CentraCare Clinic - Big Lake	•	31	22.6%	15.9%	1.42
CentraCare Health	Centracare Clinic - SCMG Northwest	•	73	23.3%	15.0%	1.55
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South	•	30	30.0%	15.8%	1.90

📌 Top performer

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

 222 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC
 ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	15.5%		
CentraCare Health	CentraCare Health Plaza - Pediatrics	•	69	26.1%	15.4%	1.70
CentraCare Health	St Cloud Hospital - Behavioral Health Clinic	*	389	23.4%	14.8%	1.58
Children's Minnesota	Children's MN Partners in Pediatrics Brooklyn Park	•	47	10.6%	15.9%	0.67
Children's Minnesota	Children's MN Partners in Pediatrics Calhoun	•	32	12.5%	16.0%	0.78
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	•	75	16.0%	16.0%	1.00
Children's Minnesota	Children's MN Partners in Pediatrics Plymouth	•	45	20.0%	16.1%	1.24
Children's Minnesota	Children's MN Partners in Pediatrics Rogers	•	64	14.1%	15.7%	0.90
Essentia Health	EH Central Baxter Clinic	•	31	16.1%	16.5%	0.98
Essentia Health	EH East Duluth Clinic 1st St	•	47	4.3%	15.2%	0.28
Essentia Health	EH East West Duluth Clinic	•	33	6.1%	15.1%	0.40
Essentia Health	EH West South University Clinic	•	43	11.6%	15.8%	0.74
Fairview Health Services	M Health Fairview Clinic Andover	•	46	13.0%	16.6%	0.78
Fairview Health Services	M Health Fairview Clinic Cottage Grove	•	40	17.5%	15.7%	1.11
Fairview Health Services	M Health Fairview Clinic Elk River	•	59	22.0%	16.9%	1.31
Fairview Health Services	M Health Fairview Clinic Maplewood	•	51	11.8%	15.6%	0.75
Fairview Health Services	M Health Fairview Clinic Tamarack	•	83	14.5%	16.4%	0.88
Fairview Health Services	M Health Fairview Clinic Woodwinds	•	52	11.5%	16.5%	0.70
Fairview Health Services	M Health Fairview Clinic Wyoming	•	31	16.1%	16.7%	0.97
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	•	35	22.9%	15.0%	1.52
Glencoe Regional Health Services	Glencoe Regional Health Services - Glencoe	•	42	21.4%	15.6%	1.38
Grand Itasca Clinic	Grand Itasca Clinic	٠	55	14.6%	15.3%	0.95
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics	•	52	13.5%	15.2%	0.89
HealthPartners Clinics	HealthPartners - Anoka	٠	41	9.8%	16.1%	0.61
HealthPartners Clinics	HealthPartners - Como	•	43	18.6%	14.9%	1.25
HealthPartners Clinics	HealthPartners - Curve Crest Clinic	•	104	14.4%	16.3%	0.88
HealthPartners Clinics	HealthPartners - Elk River		37	18.9%	15.9%	1.19
HealthPartners Clinics	HealthPartners - Maplewood	•	35	14.3%	15.2%	0.94

▲ Above statewide average ● Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	15.5%		
HealthPartners Clinics	HealthPartners - Regions BH Maplewood	•	33	15.2%	15.8%	0.96
HealthPartners Clinics	HealthPartners - Regions BH Woodbury	•	67	13.4%	15.4%	0.87
HealthPartners Clinics	HealthPartners - West Behav Hlth	•	43	20.9%	15.0%	1.39
HealthPartners Clinics	HealthPartners - Woodbury	•	39	18.0%	16.5%	1.09
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls	•	71	16.9%	15.0%	1.12
Lakeland Mental Health Center	Lakeland Mental Health Center - Detroit Lakes	•	34	5.9%	15.2%	0.39
Lakeland Mental Health Center	Lakeland Mental Health Center - Fergus Falls	•	63	6.4%	15.1%	0.42
Lakeland Mental Health Center	Lakeland Mental Health Center - Moorhead	•	42	19.1%	14.4%	1.32
Mankato Clinic, Ltd.	Mankato Clinic - Children's Health Center	•	39	23.1%	15.1%	1.53
Mankato Clinic, Ltd.	Mankato Clinic - Department of Psychiatry & Psychology	*	118	30.5%	15.0%	2.03
Mayo Clinic	Mayo Clinic - Baldwin Building, Pediatrics	*	80	30.0%	15.4%	1.95
Mayo Clinic	Mayo Clinic - Generose Building		37	2.7%	16.1%	0.17
Mayo Clinic	Mayo Clinic - Northeast	•	50	20.0%	16.2%	1.24
Mayo Clinic	Mayo Clinic - Northwest	•	40	22.5%	16.3%	1.38
Mayo Clinic	Mayo Clinic - Speciality Practice		58	10.3%	15.9%	0.65
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	•	72	11.1%	14.8%	0.75
Mayo Clinic Health System	Mayo Clinic Health System Austin		135	20.0%	15.4%	1.30
Mayo Clinic Health System	Mayo Clinic Health System Fairmont	•	38	10.5%	14.1%	0.74
Mayo Clinic Health System	Mayo Clinic Health System Faribault Campus Location	•	34	8.8%	15.8%	0.56
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge	•	46	13.0%	15.2%	0.86
Mayo Clinic Health System	Mayo Clinic Health System Mankato Specialty Clinic	•	32	21.9%	15.1%	1.45
Mayo Clinic Health System	Mayo Clinic Health System Owatonna	•	119	14.3%	15.7%	0.91
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	•	66	9.1%	15.9%	0.57

★ Top performer ▲ Above statewide average Average Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

224 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	15.5%		
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics -	•	254	14.6%	15.7%	0.93
Lakeville, Maplewood,	Eagan Clinic	-	231	11.070	13.170	0.55
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-	•	45	20.0%	15.9%	1.26
Lakeville, Maplewood,	Lakeville Clinic					
Minneapolis, Woodbury) Minnesota Mental Health Clinics						
	Minnesota Mental Health Clinics-					
(Eagan, Apple Valley, Edina,	Maplewood Clinic	•	50	10.0%	15.5%	0.64
Lakeville, Maplewood, Minneapolis, Woodbury)	Maplewood Clinic					
Minneapolis, Woodbury) Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-					
Lakeville, Maplewood,	Woodbury Clinic	•	55	14.6%	15.9%	0.92
Minneapolis, Woodbury)						
NorthPoint Health & Wellness	NorthPoint Health & Wellness	-				
Center	Center	•	86	17.4%	12.9%	1.35
			50	24 50/	15 10/	1.60
Northwestern Mental Health Center	Northwestern Mental Health Center	•	53	24.5%	15.1%	1.62
Olmsted Medical Center	Olmsted Medical Center -		35	17.1%	14.3%	1.20
Offisted Medical Center	Rochester Northwest			11.170	14.570	1.20
Olmsted Medical Center	Olmsted Medical Center -	•	45	11.1%	14.9%	0.75
	Rochester Southeast	-				
Park Nicollet Health Services	Park Nicollet Clinic - Brookdale	•	37	16.2%	14.3%	1.14
Park Nicollet Health Services	Park Nicollet Clinic - Burnsville	•	33	15.2%	15.3%	0.99
Park Nicollet Health Services	Park Nicollet Clinic - Chanhassen	•	64	12.5%	16.2%	0.77
Park Nicollet Health Services	Park Nicollet Clinic - Eagan	•	53	24.5%	15.4%	1.59
Park Nicollet Health Services	Park Nicollet Clinic - Lakeville	•	33	15.2%	16.7%	0.91
Park Nicollet Health Services	Park Nicollet Clinic - Prior Lake	•	32	9.4%	16.9%	0.56
Park Nicollet Health Services	Park Nicollet Clinic - Psychiatry	•	278	22.3%	15.8%	1.41
Park Nicollet Health Services	Park Nicollet Clinic - Shakopee	•	111	18.0%	16.1%	1.12
Sanford Health	Sanford Bemidji Main Clinic -	•	47	12.8%	15.0%	0.85
Samora ricatti	Family Medicine	•		12.070	10.070	0.05
Sanford Health	Sanford Fargo Children's	•	76	18.4%	16.5%	1.12
	Southwest Clinic					
Sanford Health	Sanford Fargo Professional	•	32	15.6%	15.8%	0.99
	Building - Behavioral Health					-
Sanford Health	Sanford Health Alexandria	•	35	11.4%	15.7%	0.73
	Broadway Clinic					
Sanford Health	Sanford Health Brookings Clinic	•	34	17.7%	15.0%	1.18
Sanford Health	Sanford Health Detroit Lakes Clinic	•	48	12.5%	15.1%	0.83

▲ Above statewide average

🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	15.5%		
Sanford Health	Sanford Health Jamestown Clinic	•	34	17.7%	16.4%	1.07
Sanford Health	Sanford Health Wahpeton Clinic	•	42	4.8%	15.6%	0.31
Sanford Health	Sanford Health Watertown Clinic	•	38	21.1%	16.2%	1.30
Sanford Health	Sanford Moorhead Clinic - Pediatrics	•	39	10.3%	15.3%	0.67
South Lake Pediatrics	South Lake Pediatrics - Childrens West	•	39	23.1%	16.2%	1.42
South Lake Pediatrics	South Lake Pediatrics - Maple Grove	•	39	15.4%	16.1%	0.96
South Lake Pediatrics	South Lake Pediatrics - Minnetonka	•	55	9.1%	16.1%	0.56
South Lake Pediatrics	South Lake Pediatrics - Plymouth	•	32	12.5%	16.9%	0.74
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville	•	120	10.0%	15.9%	0.63
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Eden Prairie	•	82	14.6%	15.5%	0.95
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina	•	139	10.1%	16.0%	0.63
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic	•	43	14.0%	15.8%	0.88
Stellis Health, PA	Stellis Health-Buffalo Clinic	•	55	14.6%	15.7%	0.93
Stellis Health, PA	Stellis Health-Monticello Clinic	•	74	12.2%	16.2%	0.75
Unity Family Healthcare, Family Medical Center	Family Medical Center	٠	64	15.6%	14.6%	1.07
Wayzata Children's Clinic	Wayzata Children's Clinic - Minnetonka	٠	33	18.2%	17.2%	1.06

★ Top performer ▲ Above statewide average Average Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

### Adolescent Depression - Remission at Six Months

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	8.0%		
Allina Health	Allina Health - Allina Mental Health - ANW	•	38	5.3%	8.7%	0.60
Allina Health	Allina Health - Allina Mental Health - United	•	47	4.3%	8.2%	0.52
Allina Health	Allina Health - Bloomington	•	46	8.7%	7.6%	1.14
Allina Health	Allina Health - Buffalo	•	55	10.9%	8.5%	1.28
Allina Health	Allina Health - Cambridge	•	108	7.4%	8.0%	0.93
Allina Health	Allina Health - Champlin	•	47	6.4%	8.4%	0.76
Allina Health	Allina Health - Coon Rapids	•	185	8.1%	8.4%	0.97
Allina Health	Allina Health - Cottage Grove	•	45	2.2%	8.4%	0.26
Allina Health	Allina Health - Eagan	•	43	2.3%	7.4%	0.32
Allina Health	Allina Health - Elk River	•	31	0.0%	8.1%	0.00
Allina Health	Allina Health - Faribault	•	69	8.7%	7.5%	1.17
Allina Health	Allina Health - Farmington	•	34	8.8%	8.5%	1.04
Allina Health	Allina Health - Forest Lake	•	37	13.5%	8.0%	1.68
Allina Health	Allina Health - Hastings	•	52	11.5%	8.2%	1.40
Allina Health	Allina Health - Inver Grove Heights	•	32	6.3%	8.8%	0.71
Allina Health	Allina Health - Isanti	•	33	9.1%	7.7%	1.18
Allina Health	Allina Health - Maple Grove	•	44	11.4%	8.8%	1.29
Allina Health	Allina Health - New Ulm Medical Center	•	67	9.0%	8.5%	1.05
Allina Health	Allina Health - Northfield	•	144	9.0%	8.1%	1.11
Allina Health	Allina Health - Ramsey	•	41	7.3%	7.5%	0.98
Allina Health	Allina Health - Richfield	•	39	7.7%	7.6%	1.01
Allina Health	Allina Health - West St. Paul	•	38	13.2%	7.4%	1.77
Allina Health	Allina Health - Woodbury	•	93	11.8%	8.7%	1.37
Alomere Health	Alexandria Clinic, A Service of Alomere Health	•	63	17.5%	8.0%	2.19
Amery Hospital and Clinic	AHC - Amery	•	31	6.5%	7.6%	0.85
Associated Clinic of Psychology	Associated Clinic of Psychology- Apple Valley	•	57	8.8%	9.0%	0.98
CentraCare Health	Carris Health - Willmar Main Clinic	•	83	14.5%	8.1%	1.79
CentraCare Health	CentraCare Clinic - Big Lake	•	31	6.5%	7.4%	0.87
CentraCare Health	Centracare Clinic - SCMG Northwest	•	73	15.1%	8.1%	1.85
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South	•	30	23.3%	8.6%	2.71

★ Top performer

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

 227 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC
 ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	8.0%		
CentraCare Health	CentraCare Health Plaza - Pediatrics	•	69	10.1%	8.1%	1.25
CentraCare Health	St Cloud Hospital - Behavioral Health Clinic	•	389	11.3%	7.9%	1.44
Children's Minnesota	Children's MN Partners in Pediatrics Brooklyn Park	•	47	4.3%	8.5%	0.50
Children's Minnesota	Children's MN Partners in Pediatrics Calhoun	•	32	9.4%	8.9%	1.05
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	•	75	10.7%	8.7%	1.23
Children's Minnesota	Children's MN Partners in Pediatrics Plymouth	•	45	13.3%	8.1%	1.64
Children's Minnesota	Children's MN Partners in Pediatrics Rogers	•	64	6.3%	9.4%	0.66
Essentia Health	EH Central Baxter Clinic	•	31	9.7%	9.1%	1.06
Essentia Health	EH East Duluth Clinic 1st St	•	47	0.0%	7.4%	0.00
Essentia Health	EH East West Duluth Clinic	•	33	6.1%	7.1%	0.86
Essentia Health	EH West South University Clinic	•	43	11.6%	8.3%	1.40
Fairview Health Services	M Health Fairview Clinic Andover	•	46	6.5%	8.3%	0.79
Fairview Health Services	M Health Fairview Clinic Cottage Grove	•	40	5.0%	8.0%	0.62
Fairview Health Services	M Health Fairview Clinic Elk River	•	59	13.6%	8.7%	1.56
Fairview Health Services	M Health Fairview Clinic Maplewood	•	51	7.8%	8.8%	0.89
Fairview Health Services	M Health Fairview Clinic Tamarack	•	83	10.8%	9.2%	1.18
Fairview Health Services	M Health Fairview Clinic Woodwinds	٠	52	3.9%	8.6%	0.45
Fairview Health Services	M Health Fairview Clinic Wyoming	•	31	6.5%	8.5%	0.76
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	•	35	14.3%	7.7%	1.85
Glencoe Regional Health Services	Glencoe Regional Health Services - Glencoe	•	42	11.9%	8.3%	1.44
Grand Itasca Clinic	Grand Itasca Clinic	•	55	5.5%	7.6%	0.71
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics	•	52	7.7%	7.5%	1.03
HealthPartners Clinics	HealthPartners - Anoka	•	41	4.9%	7.8%	0.62
HealthPartners Clinics	HealthPartners - Como	•	43	9.3%	8.2%	1.14
HealthPartners Clinics	HealthPartners - Curve Crest Clinic	٠	104	4.8%	7.7%	0.62
HealthPartners Clinics	HealthPartners - Elk River		37	5.4%	8.0%	0.68
HealthPartners Clinics	HealthPartners - Maplewood	٠	35	5.7%	7.7%	0.75

▲ Above statewide average ● Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	8.0%		
HealthPartners Clinics	HealthPartners - Regions BH Maplewood	•	33	3.0%	8.3%	0.37
HealthPartners Clinics	HealthPartners - Regions BH Woodbury	•	67	9.0%	8.3%	1.08
HealthPartners Clinics	HealthPartners - West Behav Hlth	•	43	14.0%	7.7%	1.81
HealthPartners Clinics	HealthPartners - Woodbury	•	39	10.3%	8.7%	1.18
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls	•	71	12.7%	8.4%	1.52
Lakeland Mental Health Center	Lakeland Mental Health Center - Detroit Lakes	•	34	5.9%	7.7%	0.76
Lakeland Mental Health Center	Lakeland Mental Health Center - Fergus Falls	•	63	4.8%	7.4%	0.65
Lakeland Mental Health Center	Lakeland Mental Health Center - Moorhead	•	42	11.9%	7.5%	1.58
Mankato Clinic, Ltd.	Mankato Clinic - Children's Health Center	•	39	7.7%	7.7%	0.99
Mankato Clinic, Ltd.	Mankato Clinic - Department of Psychiatry & Psychology	*	118	18.6%	8.5%	2.19
Mayo Clinic	Mayo Clinic - Baldwin Building, Pediatrics	•	80	13.8%	8.4%	1.64
Mayo Clinic	Mayo Clinic - Generose Building	•	37	0.0%	7.3%	0.00
Mayo Clinic	Mayo Clinic - Northeast	•	50	14.0%	8.7%	1.61
Mayo Clinic	Mayo Clinic - Northwest	•	40	15.0%	8.6%	1.75
Mayo Clinic	Mayo Clinic - Speciality Practice	•	58	5.2%	8.3%	0.63
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	•	72	6.9%	8.0%	0.87
Mayo Clinic Health System	Mayo Clinic Health System Austin	•	135	7.4%	8.0%	0.93
Mayo Clinic Health System	Mayo Clinic Health System Fairmont	•	38	5.3%	7.2%	0.73
Mayo Clinic Health System	Mayo Clinic Health System Faribault Campus Location	•	34	2.9%	8.4%	0.35
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge	•	46	6.5%	7.7%	0.85
Mayo Clinic Health System	Mayo Clinic Health System Mankato Specialty Clinic	•	32	15.6%	9.1%	1.72
Mayo Clinic Health System	Mayo Clinic Health System Owatonna	•	119	7.6%	8.1%	0.93
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	•	66	1.5%	8.2%	0.19

★ Top performer ▲ Above statewide average Average Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

229 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	8.0%		
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics - Eagan Clinic	•	254	6.7%	7.8%	0.85
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Lakeville Clinic	•	45	11.1%	8.2%	1.36
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Maplewood Clinic	•	50	0.0%	7.4%	0.00
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Woodbury Clinic	•	55	9.1%	8.3%	1.09
NorthPoint Health & Wellness Center	NorthPoint Health & Wellness Center	٠	86	11.6%	6.6%	1.76
Northwestern Mental Health Center	Northwestern Mental Health Center	•	53	15.1%	7.6%	1.99
Olmsted Medical Center	Olmsted Medical Center - Rochester Northwest	•	35	2.9%	7.0%	0.41
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast	•	45	8.9%	8.1%	1.10
Park Nicollet Health Services	Park Nicollet Clinic - Brookdale	•	37	8.1%	6.9%	1.18
Park Nicollet Health Services	Park Nicollet Clinic - Burnsville	•	33	9.1%	7.4%	1.23
Park Nicollet Health Services	Park Nicollet Clinic - Chanhassen	•	64	3.1%	7.8%	0.40
Park Nicollet Health Services	Park Nicollet Clinic - Eagan	•	53	11.3%	7.8%	1.46
Park Nicollet Health Services	Park Nicollet Clinic - Lakeville	•	33	6.1%	7.9%	0.77
Park Nicollet Health Services	Park Nicollet Clinic - Prior Lake	•	32	0.0%	8.2%	0.00
Park Nicollet Health Services	Park Nicollet Clinic - Psychiatry	•	278	10.8%	8.7%	1.24
Park Nicollet Health Services	Park Nicollet Clinic - Shakopee	•	111	10.8%	8.2%	1.32
Sanford Health	Sanford Bemidji Main Clinic - Family Medicine	•	47	4.3%	7.5%	0.57
Sanford Health	Sanford Fargo Children's Southwest Clinic	•	76	7.9%	8.9%	0.89
Sanford Health	Sanford Fargo Professional Building - Behavioral Health	٠	32	6.3%	9.5%	0.66
Sanford Health	Sanford Health Alexandria Broadway Clinic	•	35	2.9%	7.3%	0.39
Sanford Health	Sanford Health Brookings Clinic	•	34	11.8%	7.6%	1.54
Sanford Health	Sanford Health Detroit Lakes Clinic	•	48	8.3%	7.6%	1.09

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE				8.0%		
Sanford Health	Sanford Health Jamestown Clinic	•	34	2.9%	7.8%	0.38
Sanford Health	Sanford Health Wahpeton Clinic	٠	42	2.4%	7.0%	0.34
Sanford Health	Sanford Health Watertown Clinic	•	38	13.2%	8.3%	1.59
Sanford Health	Sanford Moorhead Clinic - Pediatrics	•	39	10.3%	7.8%	1.32
South Lake Pediatrics	South Lake Pediatrics - Childrens West	•	39	7.7%	8.8%	0.88
South Lake Pediatrics	South Lake Pediatrics - Maple Grove	•	39	2.6%	8.9%	0.29
South Lake Pediatrics	South Lake Pediatrics - Minnetonka	•	55	5.5%	8.6%	0.64
South Lake Pediatrics	South Lake Pediatrics - Plymouth	•	32	6.3%	8.7%	0.72
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville	•	120	5.0%	8.8%	0.57
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Eden Prairie	•	82	4.9%	8.7%	0.56
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina	٠	139	5.0%	8.5%	0.59
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic	•	43	7.0%	8.0%	0.88
Stellis Health, PA	Stellis Health-Buffalo Clinic	٠	55	9.1%	7.9%	1.14
Stellis Health, PA	Stellis Health-Monticello Clinic	•	74	8.1%	8.1%	1.00
Unity Family Healthcare, Family Medical Center	Family Medical Center	٠	64	9.4%	7.8%	1.20
Wayzata Children's Clinic	Wayzata Children's Clinic - Minnetonka	•	33	12.1%	8.6%	1.41

★ Top performer ▲ Above statewide average Average Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

# Adolescent Depression - 12 Month Follow-up

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		Ī	11,658	38.9%		
Allina Health	Allina Health - Allina Mental Health - ANW	•	38	44.7%	40.6%	1.10
Allina Health	Allina Health - Allina Mental Health - United	•	47	48.9%	38.1%	1.28
Allina Health	Allina Health - Bloomington	٠	46	28.3%	38.8%	0.73
Allina Health	Allina Health - Buffalo	•	55	40.0%	41.5%	0.96
Allina Health	Allina Health - Cambridge	•	108	37.0%	39.5%	0.94
Allina Health	Allina Health - Champlin	•	47	42.6%	40.9%	1.04
Allina Health	Allina Health - Coon Rapids	•	185	41.1%	40.3%	1.02
Allina Health	Allina Health - Cottage Grove	•	45	37.8%	41.3%	0.92
Allina Health	Allina Health - Eagan	•	43	46.5%	39.7%	1.17
Allina Health	Allina Health - Elk River		31	38.7%	40.0%	0.97
Allina Health	Allina Health - Faribault	•	69	33.3%	38.2%	0.87
Allina Health	Allina Health - Farmington	•	34	32.4%	41.6%	0.78
Allina Health	Allina Health - Forest Lake	•	37	40.5%	40.0%	1.01
Allina Health	Allina Health - Hastings	•	52	30.8%	42.0%	0.73
Allina Health	Allina Health - Inver Grove Heights	•	32	34.4%	41.2%	0.83
Allina Health	Allina Health - Isanti	•	33	48.5%	39.9%	1.22
Allina Health	Allina Health - Maple Grove	٠	44	56.8%	40.3%	1.41
Allina Health	Allina Health - New Ulm Medical Center	•	67	29.9%	41.1%	0.73
Allina Health	Allina Health - Northfield	•	144	47.9%	41.0%	1.17
Allina Health	Allina Health - Ramsey		41	22.0%	40.0%	0.55
Allina Health	Allina Health - Richfield	٠	39	38.5%	38.0%	1.01
Allina Health	Allina Health - West St. Paul	•	38	29.0%	37.5%	0.77
Allina Health	Allina Health - Woodbury	٠	93	48.4%	41.1%	1.18
Alomere Health	Alexandria Clinic, A Service of Alomere Health	*	63	57.1%	39.7%	1.44
Amery Hospital and Clinic	AHC - Amery	•	31	41.9%	37.3%	1.13
Associated Clinic of Psychology	Associated Clinic of Psychology- Apple Valley	•	57	28.1%	40.8%	0.69
CentraCare Health	Carris Health - Willmar Main Clinic	•	83	36.1%	35.7%	1.01
CentraCare Health	CentraCare Clinic - Big Lake		31	61.3%	38.7%	1.58
CentraCare Health	Centracare Clinic - SCMG Northwest	•	73	45.2%	37.5%	1.21
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South	•	30	36.7%	39.7%	0.92

📌 Top performer

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	38.9%		
CentraCare Health	CentraCare Health Plaza - Pediatrics	•	69	47.8%	38.6%	1.24
CentraCare Health	St Cloud Hospital - Behavioral Health Clinic	*	389	57.1%	37.7%	1.51
Children's Minnesota	Children's MN Partners in Pediatrics Brooklyn Park	•	47	40.4%	40.0%	1.01
Children's Minnesota	Children's MN Partners in Pediatrics Calhoun	•	32	50.0%	41.4%	1.21
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	•	75	42.7%	41.1%	1.04
Children's Minnesota	Children's MN Partners in Pediatrics Plymouth	•	45	40.0%	40.4%	0.99
Children's Minnesota	Children's MN Partners in Pediatrics Rogers	•	64	43.8%	41.9%	1.05
Essentia Health	EH Central Baxter Clinic	•	31	19.4%	41.3%	0.47
Essentia Health	EH East Duluth Clinic 1st St	٠	47	25.5%	35.9%	0.71
Essentia Health	EH East West Duluth Clinic	•	33	51.5%	35.6%	1.45
Essentia Health	EH West South University Clinic	•	43	18.6%	38.2%	0.49
Fairview Health Services	M Health Fairview Clinic Andover		46	45.7%	41.6%	1.10
Fairview Health Services	M Health Fairview Clinic Cottage Grove	•	40	35.0%	40.1%	0.87
Fairview Health Services	M Health Fairview Clinic Elk River	٠	59	55.9%	42.1%	1.33
Fairview Health Services	M Health Fairview Clinic Maplewood	•	51	41.2%	40.0%	1.03
Fairview Health Services	M Health Fairview Clinic Tamarack	•	83	41.0%	42.4%	0.97
Fairview Health Services	M Health Fairview Clinic Woodwinds	*	52	61.5%	41.4%	1.49
Fairview Health Services	M Health Fairview Clinic Wyoming	•	31	38.7%	42.6%	0.91
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	•	35	51.4%	36.5%	1.41
Glencoe Regional Health Services	Glencoe Regional Health Services - Glencoe	•	42	42.9%	40.1%	1.07
Grand Itasca Clinic	Grand Itasca Clinic	•	55	20.0%	36.6%	0.55
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics	•	52	38.5%	38.4%	1.00
HealthPartners Clinics	HealthPartners - Anoka	٠	41	19.5%	40.4%	0.48
HealthPartners Clinics	HealthPartners - Como	*	43	60.5%	37.7%	1.61
HealthPartners Clinics	HealthPartners - Curve Crest Clinic	•	104	44.2%	40.7%	1.09
HealthPartners Clinics	HealthPartners - Elk River		37	37.8%	40.5%	0.93
HealthPartners Clinics	HealthPartners - Maplewood		35	37.1%	37.4%	0.99

▲ Above statewide average ● Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		-	11,658	38.9%		
HealthPartners Clinics	HealthPartners - Regions BH Maplewood	•	33	60.6%	40.1%	1.51
HealthPartners Clinics	HealthPartners - Regions BH Woodbury	•	67	55.2%	39.9%	1.38
HealthPartners Clinics	HealthPartners - West Behav Hlth	*	43	62.8%	38.4%	1.64
HealthPartners Clinics	HealthPartners - Woodbury	٠	39	33.3%	42.0%	0.79
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls	•	71	53.5%	39.0%	1.37
Lakeland Mental Health Center	Lakeland Mental Health Center - Detroit Lakes	•	34	29.4%	37.6%	0.78
Lakeland Mental Health Center	Lakeland Mental Health Center - Fergus Falls	•	63	34.9%	37.6%	0.93
Lakeland Mental Health Center	Lakeland Mental Health Center - Moorhead	•	42	50.0%	35.7%	1.40
Mankato Clinic, Ltd.	Mankato Clinic - Children's Health Center	•	39	51.3%	38.6%	1.33
Mankato Clinic, Ltd.	Mankato Clinic - Department of Psychiatry & Psychology	*	118	73.7%	38.6%	1.91
Mayo Clinic	Mayo Clinic - Baldwin Building, Pediatrics	*	80	56.3%	40.1%	1.40
Mayo Clinic	Mayo Clinic - Generose Building		37	16.2%	37.9%	0.43
Mayo Clinic	Mayo Clinic - Northeast	*	50	62.0%	40.8%	1.52
Mayo Clinic	Mayo Clinic - Northwest	٠	40	47.5%	40.5%	1.17
Mayo Clinic	Mayo Clinic - Speciality Practice		58	20.7%	39.7%	0.52
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	•	72	31.9%	38.7%	0.83
Mayo Clinic Health System	Mayo Clinic Health System Austin	٠	135	42.2%	38.8%	1.09
Mayo Clinic Health System	Mayo Clinic Health System Fairmont	•	38	47.4%	36.8%	1.29
Mayo Clinic Health System	Mayo Clinic Health System Faribault Campus Location	•	34	29.4%	39.9%	0.74
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge	•	46	23.9%	37.8%	0.63
Mayo Clinic Health System	Mayo Clinic Health System Mankato Specialty Clinic	•	32	62.5%	40.6%	1.54
Mayo Clinic Health System	Mayo Clinic Health System Owatonna	•	119	29.4%	39.6%	0.74
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	•	66	21.2%	39.9%	0.53

★ Top performer ▲ Above statewide average Average

 Below statewide average CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

234 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	38.9%		
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics -	•	254	32.3%	38.4%	0.84
Lakeville, Maplewood,	Eagan Clinic					
Minneapolis, Woodbury) Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-					
Lakeville, Maplewood,	Lakeville Clinic	*	45	71.1%	39.7%	1.79
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-		50	26.0%	37.4%	0.70
Lakeville, Maplewood,	Maplewood Clinic	•	50	20.070	51.470	0.70
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-	•	55	40.0%	40.0%	1.00
Lakeville, Maplewood,	Woodbury Clinic					
Minneapolis, Woodbury) NorthPoint Health & Wellness	NorthPoint Health & Wellness					
Center	Center	•	86	29.1%	30.3%	0.96
		-				
Northwestern Mental Health Center	Northwestern Mental Health Center	•	53	30.2%	37.9%	0.80
Olmsted Medical Center	Olmsted Medical Center -		35	25.7%	33.6%	0.77
Offisted Medical Center	Rochester Northwest			25.1%	33.0%	0.77
Olmsted Medical Center	Olmsted Medical Center -	•	45	44.4%	37.1%	1.20
	Rochester Southeast	-				
Park Nicollet Health Services	Park Nicollet Clinic - Brookdale	•	37	51.4%	35.3%	1.46
Park Nicollet Health Services	Park Nicollet Clinic - Burnsville		33	42.4%	39.8%	1.07
Park Nicollet Health Services	Park Nicollet Clinic - Chanhassen	•	64	53.1%	40.9%	1.30
Park Nicollet Health Services	Park Nicollet Clinic - Eagan	•	53	56.6%	39.9%	1.42
Park Nicollet Health Services	Park Nicollet Clinic - Lakeville	•	33	39.4%	41.4%	0.95
Park Nicollet Health Services	Park Nicollet Clinic - Prior Lake	-	32	56.3%	42.4%	1.33
Park Nicollet Health Services	Park Nicollet Clinic - Psychiatry	*	278	67.3%	41.1%	1.64
Park Nicollet Health Services	Park Nicollet Clinic - Shakopee	*	111	56.8%	41.2%	1.38
Sanford Health	Sanford Bemidji Main Clinic -	•	47	34.0%	35.1%	0.97
	Family Medicine					
Sanford Health	Sanford Fargo Children's Southwest Clinic		76	26.3%	41.6%	0.63
	Sanford Fargo Professional					
Sanford Health	Building - Behavioral Health	•	32	37.5%	41.5%	0.90
	Sanford Health Alexandria			<b>a a a a a a a a a a</b>		
Sanford Health	Broadway Clinic	•	35	28.6%	36.2%	0.79
Sanford Health	Sanford Health Brookings Clinic	•	34	29.4%	39.4%	0.75
Sanford Health	Sanford Health Detroit Lakes Clinic	•	48	31.3%	38.3%	0.82

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	38.9%		
Sanford Health	Sanford Health Jamestown Clinic	•	34	26.5%	39.2%	0.67
Sanford Health	Sanford Health Wahpeton Clinic		42	11.9%	37.7%	0.32
Sanford Health	Sanford Health Watertown Clinic	•	38	36.8%	41.1%	0.90
Sanford Health	Sanford Moorhead Clinic - Pediatrics	•	39	43.6%	39.2%	1.11
South Lake Pediatrics	South Lake Pediatrics - Childrens West	•	39	51.3%	41.1%	1.25
South Lake Pediatrics	South Lake Pediatrics - Maple Grove	•	39	48.7%	41.2%	1.18
South Lake Pediatrics	South Lake Pediatrics - Minnetonka	•	55	36.4%	40.6%	0.90
South Lake Pediatrics	South Lake Pediatrics - Plymouth	•	32	37.5%	42.0%	0.89
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville	•	120	36.7%	39.8%	0.92
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Eden Prairie	•	82	26.8%	39.3%	0.68
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina	▼	139	27.3%	39.8%	0.69
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic	•	43	37.2%	39.6%	0.94
Stellis Health, PA	Stellis Health-Buffalo Clinic		55	21.8%	39.4%	0.55
Stellis Health, PA	Stellis Health-Monticello Clinic	•	74	31.1%	41.0%	0.76
Unity Family Healthcare, Family Medical Center	Family Medical Center	٠	64	40.6%	37.5%	1.08
Wayzata Children's Clinic	Wayzata Children's Clinic - Minnetonka	•	33	39.4%	42.8%	0.92

★ Top performer ▲ Above statewide average Average Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

## Adolescent Depression - Response at 12 Months

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	14.5%		
Allina Health	Allina Health - Allina Mental Health - ANW	•	38	7.9%	15.1%	0.52
Allina Health	Allina Health - Allina Mental Health - United	•	47	12.8%	14.0%	0.91
Allina Health	Allina Health - Bloomington	•	46	8.7%	14.6%	0.60
Allina Health	Allina Health - Buffalo	•	55	5.5%	15.4%	0.36
Allina Health	Allina Health - Cambridge	•	108	7.4%	14.5%	0.51
Allina Health	Allina Health - Champlin	•	47	12.8%	15.3%	0.83
Allina Health	Allina Health - Coon Rapids	•	185	14.6%	14.8%	0.99
Allina Health	Allina Health - Cottage Grove	•	45	8.9%	15.3%	0.58
Allina Health	Allina Health - Eagan	•	43	11.6%	15.0%	0.78
Allina Health	Allina Health - Elk River	•	31	9.7%	14.8%	0.65
Allina Health	Allina Health - Faribault	•	69	14.5%	14.3%	1.01
Allina Health	Allina Health - Farmington	•	34	14.7%	15.1%	0.97
Allina Health	Allina Health - Forest Lake	•	37	8.1%	15.0%	0.54
Allina Health	Allina Health - Hastings	•	52	11.5%	15.9%	0.72
Allina Health	Allina Health - Inver Grove Heights	•	32	12.5%	15.0%	0.83
Allina Health	Allina Health - Isanti	•	33	12.1%	14.8%	0.82
Allina Health	Allina Health - Maple Grove	•	44	15.9%	15.1%	1.06
Allina Health	Allina Health - New Ulm Medical Center	•	67	10.5%	14.9%	0.70
Allina Health	Allina Health - Northfield	•	144	20.8%	15.4%	1.35
Allina Health	Allina Health - Ramsey	•	41	12.2%	15.2%	0.80
Allina Health	Allina Health - Richfield	•	39	15.4%	14.3%	1.07
Allina Health	Allina Health - West St. Paul	•	38	18.4%	14.0%	1.31
Allina Health	Allina Health - Woodbury	•	93	12.9%	15.1%	0.85
Alomere Health	Alexandria Clinic, A Service of Alomere Health	•	63	22.2%	14.5%	1.53
Amery Hospital and Clinic	AHC - Amery	•	31	22.6%	13.7%	1.65
Associated Clinic of Psychology	Associated Clinic of Psychology- Apple Valley	•	57	12.3%	15.0%	0.82
CentraCare Health	Carris Health - Willmar Main Clinic	•	83	15.7%	13.7%	1.14
CentraCare Health	CentraCare Clinic - Big Lake	٠	31	19.4%	14.3%	1.36
CentraCare Health	Centracare Clinic - SCMG Northwest	٠	73	19.2%	14.0%	1.37
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South	•	30	23.3%	14.8%	1.57

📌 Top performer

🔺 Above statewide average

🔻 Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

237 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC ©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	14.5%		-
CentraCare Health	CentraCare Health Plaza - Pediatrics	•	69	20.3%	14.2%	1.43
CentraCare Health	St Cloud Hospital - Behavioral Health Clinic	*	389	20.6%	13.8%	1.49
Children's Minnesota	Children's MN Partners in Pediatrics Brooklyn Park	•	47	10.6%	15.1%	0.71
Children's Minnesota	Children's MN Partners in Pediatrics Calhoun	•	32	18.8%	15.4%	1.22
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	•	75	16.0%	15.4%	1.04
Children's Minnesota	Children's MN Partners in Pediatrics Plymouth	•	45	20.0%	15.5%	1.29
Children's Minnesota	Children's MN Partners in Pediatrics Rogers	٠	64	10.9%	15.4%	0.71
Essentia Health	EH Central Baxter Clinic	•	31	9.7%	15.1%	0.64
Essentia Health	EH East Duluth Clinic 1st St	•	47	6.4%	13.4%	0.47
Essentia Health	EH East West Duluth Clinic	•	33	18.2%	13.3%	1.36
Essentia Health	EH West South University Clinic	•	43	11.6%	14.3%	0.82
Fairview Health Services	M Health Fairview Clinic Andover	•	46	6.5%	15.8%	0.41
Fairview Health Services	M Health Fairview Clinic Cottage Grove	•	40	10.0%	15.0%	0.67
Fairview Health Services	M Health Fairview Clinic Elk River	•	59	23.7%	15.9%	1.49
Fairview Health Services	M Health Fairview Clinic Maplewood	•	51	13.7%	14.6%	0.94
Fairview Health Services	M Health Fairview Clinic Tamarack	•	83	22.9%	15.8%	1.45
Fairview Health Services	M Health Fairview Clinic Woodwinds	•	52	28.9%	15.6%	1.85
Fairview Health Services	M Health Fairview Clinic Wyoming	•	31	22.6%	15.8%	1.43
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	•	35	14.3%	13.3%	1.08
Glencoe Regional Health Services	Glencoe Regional Health Services - Glencoe	•	42	16.7%	14.7%	1.13
Grand Itasca Clinic	Grand Itasca Clinic	•	55	9.1%	13.7%	0.66
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics	•	52	21.2%	14.0%	1.51
HealthPartners Clinics	HealthPartners - Anoka		41	2.4%	15.2%	0.16
HealthPartners Clinics	HealthPartners - Como	٠	43	18.6%	13.6%	1.37
HealthPartners Clinics	HealthPartners - Curve Crest Clinic	•	104	15.4%	15.7%	0.98
HealthPartners Clinics	HealthPartners - Elk River		37	21.6%	15.1%	1.43
HealthPartners Clinics	HealthPartners - Maplewood	•	35	14.3%	13.6%	1.05

▲ Above statewide average Average Below statewide average

CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		•	11,658	14.5%		
HealthPartners Clinics	HealthPartners - Regions BH Maplewood	•	33	18.2%	14.8%	1.23
HealthPartners Clinics	HealthPartners - Regions BH Woodbury	•	67	13.4%	14.6%	0.92
HealthPartners Clinics	HealthPartners - West Behav Hlth	•	43	16.3%	14.3%	1.14
HealthPartners Clinics	HealthPartners - Woodbury	•	39	15.4%	15.8%	0.97
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls	•	71	25.4%	14.2%	1.79
Lakeland Mental Health Center	Lakeland Mental Health Center - Detroit Lakes	•	34	14.7%	14.2%	1.04
Lakeland Mental Health Center	Lakeland Mental Health Center - Fergus Falls	•	63	11.1%	14.2%	0.78
Lakeland Mental Health Center	Lakeland Mental Health Center - Moorhead	*	42	31.0%	13.6%	2.28
Mankato Clinic, Ltd.	Mankato Clinic - Children's Health Center	•	39	28.2%	14.1%	2.00
Mankato Clinic, Ltd.	Mankato Clinic - Department of Psychiatry & Psychology	*	118	28.0%	13.9%	2.01
Mayo Clinic	Mayo Clinic - Baldwin Building, Pediatrics	*	80	26.3%	14.5%	1.81
Mayo Clinic	Mayo Clinic - Generose Building		37	2.7%	14.9%	0.18
Mayo Clinic	Mayo Clinic - Northeast	•	50	22.0%	15.4%	1.43
Mayo Clinic	Mayo Clinic - Northwest	•	40	22.5%	15.3%	1.47
Mayo Clinic	Mayo Clinic - Speciality Practice	•	58	15.5%	14.8%	1.05
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	•	72	11.1%	13.8%	0.81
Mayo Clinic Health System	Mayo Clinic Health System Austin	•	135	16.3%	14.3%	1.14
Mayo Clinic Health System	Mayo Clinic Health System Fairmont	•	38	18.4%	13.4%	1.38
Mayo Clinic Health System	Mayo Clinic Health System Faribault Campus Location	•	34	11.8%	14.9%	0.79
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge	•	46	8.7%	13.9%	0.63
Mayo Clinic Health System	Mayo Clinic Health System Mankato Specialty Clinic	•	32	25.0%	14.3%	1.75
Mayo Clinic Health System	Mayo Clinic Health System Owatonna	•	119	12.6%	14.8%	0.85
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	•	66	6.1%	14.9%	0.41

★ Top performer ▲ Above statewide average Average Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

239 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	14.5%		-
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics - Eagan Clinic	•	254	11.0%	14.8%	0.75
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Lakeville Clinic	•	45	20.0%	15.1%	1.33
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Maplewood Clinic	•	50	6.0%	14.5%	0.41
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	Minnesota Mental Health Clinics- Woodbury Clinic	•	55	12.7%	15.2%	0.84
NorthPoint Health & Wellness Center	NorthPoint Health & Wellness Center	•	86	12.8%	10.8%	1.18
Northwestern Mental Health Center	Northwestern Mental Health Center	•	53	11.3%	13.7%	0.83
Olmsted Medical Center	Olmsted Medical Center - Rochester Northwest	•	35	8.6%	12.5%	0.69
Olmsted Medical Center	Olmsted Medical Center - Rochester Southeast	•	45	15.6%	13.7%	1.13
Park Nicollet Health Services	Park Nicollet Clinic - Brookdale	•	37	16.2%	12.9%	1.26
Park Nicollet Health Services	Park Nicollet Clinic - Burnsville	•	33	12.1%	14.7%	0.83
Park Nicollet Health Services	Park Nicollet Clinic - Chanhassen	•	64	18.8%	15.5%	1.21
Park Nicollet Health Services	Park Nicollet Clinic - Eagan	•	53	20.8%	14.8%	1.40
Park Nicollet Health Services	Park Nicollet Clinic - Lakeville	•	33	15.2%	15.8%	0.96
Park Nicollet Health Services	Park Nicollet Clinic - Prior Lake	•	32	21.9%	16.0%	1.37
Park Nicollet Health Services	Park Nicollet Clinic - Psychiatry	•	278	21.2%	15.1%	1.40
Park Nicollet Health Services	Park Nicollet Clinic - Shakopee	*	111	27.0%	15.3%	1.76
Sanford Health	Sanford Bemidji Main Clinic - Family Medicine	•	47	10.6%	13.7%	0.78
Sanford Health	Sanford Fargo Children's Southwest Clinic	•	76	5.3%	15.6%	0.34
Sanford Health	Sanford Fargo Professional Building - Behavioral Health	٠	32	15.6%	15.4%	1.02
Sanford Health	Sanford Health Alexandria Broadway Clinic	•	35	14.3%	14.7%	0.97
Sanford Health	Sanford Health Brookings Clinic	•	34	11.8%	14.4%	0.82
Sanford Health	Sanford Health Detroit Lakes Clinic	•	48	10.4%	14.1%	0.74

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	14.5%		
Sanford Health	Sanford Health Jamestown Clinic	•	34	17.7%	15.0%	1.17
Sanford Health	Sanford Health Wahpeton Clinic	•	42	4.8%	14.5%	0.33
Sanford Health	Sanford Health Watertown Clinic	•	38	10.5%	15.3%	0.69
Sanford Health	Sanford Moorhead Clinic - Pediatrics	•	39	10.3%	14.1%	0.73
South Lake Pediatrics	South Lake Pediatrics - Childrens West	•	39	20.5%	15.5%	1.32
South Lake Pediatrics	South Lake Pediatrics - Maple Grove	•	39	18.0%	15.5%	1.16
South Lake Pediatrics	South Lake Pediatrics - Minnetonka	٠	55	9.1%	15.7%	0.58
South Lake Pediatrics	South Lake Pediatrics - Plymouth	•	32	12.5%	16.1%	0.77
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville	•	120	12.5%	15.1%	0.83
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Eden Prairie	•	82	6.1%	15.1%	0.41
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina	•	139	7.9%	15.3%	0.52
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic	•	43	14.0%	14.7%	0.95
Stellis Health, PA	Stellis Health-Buffalo Clinic	•	55	7.3%	15.0%	0.49
Stellis Health, PA	Stellis Health-Monticello Clinic	•	74	6.8%	15.4%	0.44
Unity Family Healthcare, Family Medical Center	Family Medical Center	•	64	17.2%	13.5%	1.27
Wayzata Children's Clinic	Wayzata Children's Clinic - Minnetonka	٠	33	18.2%	16.3%	1.12

★ Top performer ▲ Above statewide average Average Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

## Adolescent Depression - Remission at 12 Months

2020 report year (2019 dates of service)

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	7.8%		_
Allina Health	Allina Health - Allina Mental Health - ANW	•	38	5.3%	8.6%	0.61
Allina Health	Allina Health - Allina Mental Health - United	•	47	2.1%	8.1%	0.26
Allina Health	Allina Health - Bloomington	٠	46	6.5%	7.7%	0.85
Allina Health	Allina Health - Buffalo	•	55	5.5%	8.3%	0.65
Allina Health	Allina Health - Cambridge	•	108	2.8%	7.9%	0.35
Allina Health	Allina Health - Champlin	•	47	6.4%	8.3%	0.77
Allina Health	Allina Health - Coon Rapids	•	185	4.3%	8.2%	0.53
Allina Health	Allina Health - Cottage Grove	•	45	6.7%	8.2%	0.81
Allina Health	Allina Health - Eagan	•	43	0.0%	7.3%	0.00
Allina Health	Allina Health - Elk River	•	31	3.2%	8.1%	0.40
Allina Health	Allina Health - Faribault	•	69	7.3%	7.4%	0.98
Allina Health	Allina Health - Farmington	•	34	5.9%	8.7%	0.68
Allina Health	Allina Health - Forest Lake	•	37	2.7%	8.3%	0.33
Allina Health	Allina Health - Hastings	•	52	5.8%	8.2%	0.70
Allina Health	Allina Health - Inver Grove Heights	•	32	6.3%	8.3%	0.75
Allina Health	Allina Health - Isanti	•	33	6.1%	7.7%	0.79
Allina Health	Allina Health - Maple Grove	•	44	6.8%	8.8%	0.77
Allina Health	Allina Health - New Ulm Medical Center	•	67	7.5%	8.4%	0.89
Allina Health	Allina Health - Northfield	•	144	9.7%	8.0%	1.22
Allina Health	Allina Health - Ramsey	•	41	2.4%	7.5%	0.33
Allina Health	Allina Health - Richfield	•	39	5.1%	7.8%	0.65
Allina Health	Allina Health - West St. Paul	•	38	7.9%	7.0%	1.12
Allina Health	Allina Health - Woodbury	٠	93	6.5%	8.6%	0.75
Alomere Health	Alexandria Clinic, A Service of Alomere Health	•	63	12.7%	7.9%	1.61
Amery Hospital and Clinic	AHC - Amery	•	31	3.2%	7.6%	0.43
Associated Clinic of Psychology	Associated Clinic of Psychology- Apple Valley	•	57	5.3%	8.9%	0.59
CentraCare Health	Carris Health - Willmar Main Clinic	•	83	9.6%	7.6%	1.26
CentraCare Health	CentraCare Clinic - Big Lake	•	31	6.5%	7.6%	0.85
CentraCare Health	Centracare Clinic - SCMG Northwest	٠	73	15.1%	7.9%	1.90
CentraCare Health	Centracare Clinic - SCMG St. Cloud Medical Group - South	•	30	20.0%	8.2%	2.44

📌 Top performer

🔺 Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	7.8%		
CentraCare Health	CentraCare Health Plaza - Pediatrics	•	69	14.5%	7.8%	1.85
CentraCare Health	St Cloud Hospital - Behavioral Health Clinic	•	389	11.3%	7.7%	1.46
Children's Minnesota	Children's MN Partners in Pediatrics Brooklyn Park	•	47	10.6%	8.3%	1.28
Children's Minnesota	Children's MN Partners in Pediatrics Calhoun	•	32	9.4%	8.8%	1.06
Children's Minnesota	Children's MN Partners in Pediatrics Maple Grove	•	75	12.0%	8.7%	1.38
Children's Minnesota	Children's MN Partners in Pediatrics Plymouth	•	45	8.9%	8.2%	1.09
Children's Minnesota	Children's MN Partners in Pediatrics Rogers	•	64	3.1%	9.5%	0.33
Essentia Health	EH Central Baxter Clinic	•	31	3.2%	8.5%	0.38
Essentia Health	EH East Duluth Clinic 1st St	•	47	0.0%	6.8%	0.00
Essentia Health	EH East West Duluth Clinic	٠	33	6.1%	6.5%	0.94
Essentia Health	EH West South University Clinic	•	43	9.3%	7.5%	1.24
Fairview Health Services	M Health Fairview Clinic Andover	•	46	2.2%	8.0%	0.27
Fairview Health Services	M Health Fairview Clinic Cottage Grove	•	40	7.5%	8.0%	0.94
Fairview Health Services	M Health Fairview Clinic Elk River		59	13.6%	8.3%	1.64
Fairview Health Services	M Health Fairview Clinic Maplewood	•	51	5.9%	8.5%	0.69
Fairview Health Services	M Health Fairview Clinic Tamarack	٠	83	14.5%	9.0%	1.60
Fairview Health Services	M Health Fairview Clinic Woodwinds	•	52	15.4%	8.4%	1.83
Fairview Health Services	M Health Fairview Clinic Wyoming	٠	31	9.7%	8.0%	1.20
Fairview Mesaba Clinics	Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	•	35	8.6%	7.1%	1.21
Glencoe Regional Health Services	Glencoe Regional Health Services - Glencoe	•	42	9.5%	8.2%	1.17
Grand Itasca Clinic	Grand Itasca Clinic	•	55	5.5%	7.0%	0.78
HealthPartners Central Minnesota Clinics	HealthPartners Central Minnesota Clinics	•	52	11.5%	7.3%	1.59
HealthPartners Clinics	HealthPartners - Anoka	•	41	0.0%	7.9%	0.00
HealthPartners Clinics	HealthPartners - Como	٠	43	4.7%	7.7%	0.60
HealthPartners Clinics	HealthPartners - Curve Crest Clinic		104	6.7%	7.9%	0.86
HealthPartners Clinics	HealthPartners - Elk River		37	13.5%	8.1%	1.67
HealthPartners Clinics	HealthPartners - Maplewood	٠	35	5.7%	7.3%	0.79

▲ Above statewide average ● Average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	7.8%		
HealthPartners Clinics	HealthPartners - Regions BH Maplewood	•	33	9.1%	8.0%	1.14
HealthPartners Clinics	HealthPartners - Regions BH Woodbury	•	67	7.5%	8.1%	0.92
HealthPartners Clinics	HealthPartners - West Behav Hlth	•	43	11.6%	7.8%	1.49
HealthPartners Clinics	HealthPartners - Woodbury	•	39	7.7%	8.5%	0.90
Lake Region Healthcare	Lake Region Healthcare Clinic Services - Fergus Falls	•	71	11.3%	8.1%	1.39
Lakeland Mental Health Center	Lakeland Mental Health Center - Detroit Lakes	•	34	5.9%	7.5%	0.79
Lakeland Mental Health Center	Lakeland Mental Health Center - Fergus Falls	•	63	6.4%	7.3%	0.87
Lakeland Mental Health Center	Lakeland Mental Health Center - Moorhead	•	42	11.9%	7.5%	1.60
Mankato Clinic, Ltd.	Mankato Clinic - Children's Health Center	•	39	18.0%	7.3%	2.47
Mankato Clinic, Ltd.	Mankato Clinic - Department of Psychiatry & Psychology	•	118	15.3%	8.1%	1.89
Mayo Clinic	Mayo Clinic - Baldwin Building, Pediatrics	•	80	17.5%	8.1%	2.16
Mayo Clinic	Mayo Clinic - Generose Building	•	37	2.7%	7.3%	0.37
Mayo Clinic	Mayo Clinic - Northeast	•	50	10.0%	8.5%	1.18
Mayo Clinic	Mayo Clinic - Northwest	•	40	15.0%	8.3%	1.80
Mayo Clinic	Mayo Clinic - Speciality Practice	•	58	6.9%	8.1%	0.86
Mayo Clinic Health System	Mayo Clinic Health System Albert Lea	•	72	4.2%	7.7%	0.54
Mayo Clinic Health System	Mayo Clinic Health System Austin		135	6.7%	7.6%	0.87
Mayo Clinic Health System	Mayo Clinic Health System Fairmont	•	38	18.4%	7.3%	2.53
Mayo Clinic Health System	Mayo Clinic Health System Faribault Campus Location	•	34	8.8%	8.1%	1.09
Mayo Clinic Health System	Mayo Clinic Health System Mankato Eastridge	•	46	6.5%	7.6%	0.86
Mayo Clinic Health System	Mayo Clinic Health System Mankato Specialty Clinic	•	32	12.5%	8.6%	1.45
Mayo Clinic Health System	Mayo Clinic Health System Owatonna	•	119	8.4%	7.9%	1.06
Mayo Clinic Health System	Mayo Clinic Health System Red Wing	•	66	1.5%	7.9%	0.19

★ Top performer ▲ Above statewide average Average Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

244 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

©2020 MN Community Measurement. All Rights Reserved.

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	7.8%		
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics -		254	3.5%	7.8%	0.46
Lakeville, Maplewood,	Eagan Clinic	·				
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics	Minnesete Mentel Health Clinics					
(Eagan, Apple Valley, Edina, Lakeville, Maplewood,	Minnesota Mental Health Clinics- Lakeville Clinic	•	45	13.3%	8.2%	1.62
Minneapolis, Woodbury)						
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-	-				
Lakeville, Maplewood,	Maplewood Clinic	•	50	2.0%	7.3%	0.27
Minneapolis, Woodbury)	'					
Minnesota Mental Health Clinics						
(Eagan, Apple Valley, Edina,	Minnesota Mental Health Clinics-		55	7.3%	8.4%	0.87
Lakeville, Maplewood,	Woodbury Clinic	•	55	1.370	0.470	0.07
Minneapolis, Woodbury)						
NorthPoint Health & Wellness	NorthPoint Health & Wellness	•	86	7.0%	5.7%	1.22
Center	Center					
Northwestern Mental Health Center	Northwestern Mental Health Center	•	53	7.6%	7.2%	1.05
Olmsted Medical Center	Olmsted Medical Center -	•	35	8.6%	6.7%	1.29
	Rochester Northwest Olmsted Medical Center -					
Olmsted Medical Center	Rochester Southeast	•	45	8.9%	7.5%	1.18
Park Nicollet Health Services	Park Nicollet Clinic - Brookdale	•	37	5.4%	6.7%	0.81
Park Nicollet Health Services	Park Nicollet Clinic - Burnsville	•	33	6.1%	7.6%	0.80
Park Nicollet Health Services	Park Nicollet Clinic - Chanhassen	•	64	7.8%	8.0%	0.98
Park Nicollet Health Services	Park Nicollet Clinic - Eagan	•	53	13.2%	7.9%	1.68
Park Nicollet Health Services	Park Nicollet Clinic - Lakeville	•	33	3.0%	8.1%	0.38
Park Nicollet Health Services	Park Nicollet Clinic - Prior Lake	•	32	18.8%	8.1%	2.32
Park Nicollet Health Services	Park Nicollet Clinic - Psychiatry	•	278	13.7%	8.7%	1.58
Park Nicollet Health Services	Park Nicollet Clinic - Shakopee	•	111	13.5%	8.0%	1.68
Sanford Health	Sanford Bemidji Main Clinic -	•	47	8.5%	7.3%	1.16
	Family Medicine					
Sanford Health	Sanford Fargo Children's Southwest Clinic	•	76	2.6%	8.4%	0.31
	Southwest Clinic Sanford Fargo Professional					
Sanford Health	Building - Behavioral Health	•	32	9.4%	9.4%	1.00
	Sanford Health Alexandria					
Sanford Health	Broadway Clinic	•	35	5.7%	7.3%	0.78
Sanford Health	Sanford Health Brookings Clinic	•	34	2.9%	7.7%	0.38
Sanford Health	Sanford Health Detroit Lakes Clinic		48	4.2%	7.6%	0.55

▲ Above statewide average

Below statewide average

CI = Confidence interval

NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting

Average

245 • APPENDIX: DETAILED TABLES BY MEDICAL GROUP AND CLINIC

Medical Group Name	Clinic Name	Health Score	Denominator	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE			11,658	7.8%		
Sanford Health	Sanford Health Jamestown Clinic	•	34	5.9%	7.3%	0.81
Sanford Health	Sanford Health Wahpeton Clinic	•	42	0.0%	6.8%	0.00
Sanford Health	Sanford Health Watertown Clinic	•	38	5.3%	7.9%	0.67
Sanford Health	Sanford Moorhead Clinic - Pediatrics	•	39	5.1%	7.5%	0.69
South Lake Pediatrics	South Lake Pediatrics - Childrens West	•	39	18.0%	8.8%	2.04
South Lake Pediatrics	South Lake Pediatrics - Maple Grove	•	39	10.3%	9.0%	1.14
South Lake Pediatrics	South Lake Pediatrics - Minnetonka	•	55	9.1%	8.6%	1.06
South Lake Pediatrics	South Lake Pediatrics - Plymouth	•	32	6.3%	8.5%	0.74
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Burnsville	•	120	4.2%	8.6%	0.48
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Eden Prairie	•	82	3.7%	8.7%	0.42
Southdale Pediatric Associates, Ltd	Southdale Pediatric Associates, Ltd - Edina	•	139	5.0%	8.4%	0.60
St. Croix Regional Medical Center	St. Croix Regional Medical Center - St. Croix Falls Clinic	•	43	4.7%	7.6%	0.61
Stellis Health, PA	Stellis Health-Buffalo Clinic	•	55	1.8%	7.9%	0.23
Stellis Health, PA	Stellis Health-Monticello Clinic	•	74	1.4%	8.1%	0.17
Unity Family Healthcare, Family Medical Center	Family Medical Center	٠	64	10.9%	7.6%	1.44
Wayzata Children's Clinic	Wayzata Children's Clinic - Minnetonka	٠	33	15.2%	8.4%	1.80

★ Top performer ▲ Above statewide average Average Below statewide average CI = Confidence interval NOTE: Medical groups/clinics with fewer than 30 patients are not included in public reporting